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¿àÕÔØáÛÞÒØÕ

ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ßàØÝÐÔÛÕÖØâ Ú çØáÛã ÒÕÛØçÐÙèØå ÔÞáâØÖÕÝØÙ çÕÛÞÒÕçÕ-
áÚÞÙ ÜëáÛØ, ÚÞâÞàëÕ àÐÔØÚÐÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÛØ áÞÒàÕÜÕÝÝÞÕ ÝÐãçÝÞÕ ÜØàÞÒÞ×-
×àÕÝØÕ. ³ÛãÑÞÚÞÕ ×ÝÐÝØÕ çÐáâÝÞÙ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ áÞÒÕàèÕÝÝÞ ÝÕÞÑåÞÔØÜÞ,
ßÞ áãéÕáâÒã, ÔÛï ßÞÝØÜÐÝØï ÒáÕÙ áÞÒàÕÜÕÝÝÞÙ äØ×ØÚØ. ÃÝØÒÕàáØâÕâáÚÐï ßàÞÓàÐÜ-
ÜÐ ÚãàáÐ ÞÑéÕÙ äØ×ØÚØ ßàÕÔãáÜÐâàØÒÐÕâ ÔÞáâÐâÞçÝÞ ßÞÔàÞÑÝÞÕ Þ×ÝÐÚÞÜÛÕÝØÕ á
äØ×ØçÕáÚÞÙ áâÞàÞÝÞÙ çÐáâÝÞÙ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ãÖÕ ßàØ Ø×ãçÕÝØØ ÜÕåÐÝØÚØ
� ßÕàÒÞÓÞ Ø× àÐ×ÔÕÛÞÒ ÚãàáÐ. ¿àÕÔÛÐÓÐÕÜÐï ÔÕÙáâÒãîéÕÙ ßàÞÓàÐÜÜÞÙ ßÞáÛÕÔÞÒÐ-
âÕÛìÝÞáâì Ø×ãçÕÝØï ÜÐâÕàØÐÛÐ ÞßØàÐÕâáï ÝÕ ÝÐ ØáâÞàØçÕáÚØÙ åÞÔ àÐ×ÒØâØï âÕÞàØØ,
Ð ÝÐ ÒÝãâàÕÝÝîî ÛÞÓØÚã ÕÕ ßÞáâàÞÕÝØï. ÁÒÕÔÕÝØï ØáâÞàØçÕáÚÞÓÞ åÐàÐÚâÕàÐ áÞáâÐÒ-
Ûïîâ ÛØèì äÞÝ, ÝÕÞÑåÞÔØÜëÙ ÔÛï ßÞÝØÜÐÝØï ÜÕáâÐ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ò ÝÐ-
ãçÝÞÙ ÚÐàâØÝÕ Ø ÕÕ Ò×ÐØÜÞáÒï×ÕÙ á ÔàãÓØÜØ àÐ×ÔÕÛÐÜØ äØ×ØÚØ. ÂÐÚÞÙ ßÞÔåÞÔ ÔÞÛ-
ÖÕÝ áßÞáÞÑáâÒÞÒÐâì ÞÑÛÕÓçÕÝØî ßÞÝØÜÐÝØï âÕÞàØØ.

¾ÚàãÖÐîéØÙ ÝÐá ÝìîâÞÝÞÒáÚØÙ ÜØà áàÐÒÝØâÕÛìÝÞ ÜÕÔÛÕÝÝëå ÔÒØÖÕÝØÙ, ßÞ-
ÒáÕÔÝÕÒÝÞ ÔÞáâãßÝëå ÝÕßÞáàÕÔáâÒÕÝÝÞÜã ÝÐÑÛîÔÕÝØî, ÝÐáâÞÛìÚÞ ÓÛãÑÞÚÞ ÒÞèÕÛ Ò
ÝÐèØ ßàÕÔáâÐÒÛÕÝØï, çâÞ ßÞçâØ ÚÐÖÔëÙ ØáßëâëÒÐÕâ ÝÕÜÐÛëÕ âàãÔÝÞáâØ Ò ßÞÝØÜÐ-
ÝØØ ßàÞâØÒÞàÕçÐéØå ×ÔàÐÒÞÜã áÜëáÛã ØÔÕÙ ÍÙÝèâÕÙÝÐ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ
ßàØ ßÕàÒÞÜ ×ÝÐÚÞÜáâÒÕ á ÝØÜØ. ÍÙÝèâÕÙÝ, ßÞ-ÒØÔØÜÞÜã, ÔÞÒÞÛìÝÞ âÞçÝÞ ãÚÐ×ÐÛ
ÝÐ ßàÞØáåÞÖÔÕÝØÕ íâØå âàãÔÝÞáâÕÙ áÛÕÔãîéØÜØ áÛÞÒÐÜØ: �·ÔàÐÒëÙ áÜëáÛ � íâÞ
ßÛÐáâ ßàÕÔàÐááãÔÚÞÒ, ×ÐÛÞÖÕÝÝëå Ò áÞ×ÝÐÝØØ Ò ÒÞ×àÐáâÕ ÔÞ ÒÞáÕÜÝÐÔæÐâØ ÛÕâ�.
½ÕáÞÜÝÕÝÝÞ, çâÞ ßàØ âàÐÔØæØÞÝÝÞÜ Ø×ÛÞÖÕÝØØ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ, ØáßÞÛì-
×ãîéÕÜ áÝÐçÐÛÐ ßàÕÔáâÐÒÛÕÝØï Þ áÒÕâÞÝÞáÝÞÜ íäØàÕ, ÒÞ×ÜÞÖÝÞáâì áãéÕáâÒÞÒÐ-
ÝØï ÚÞâÞàÞÓÞ ×ÐâÕÜ ßÞÔÒÕàÓÐÕâáï ÚàØâØÚÕ, âàãÔÝÞáâØ, ØáßëâëÒÐÕÜëÕ ãçÐéØÜØáï, Ò
ÑÞÛìèØÝáâÒÕ áÛãçÐÕÒ ØÜÕîâ çØáâÞ ßáØåÞÛÞÓØçÕáÚãî ßàØàÞÔã Ø áÒï×ÐÝë á âÕÜ, çâÞ
Ø×ãçÕÝØÕ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÝÐçØÝÐÕâáï ÛØèì ßÞáÛÕ áàÐÒÝØâÕÛìÝÞ ßÞÛÝÞÓÞ
Þ×ÝÐÚÞÜÛÕÝØï á ÚÛÐááØçÕáÚÞÙ äØ×ØÚÞÙ. ÂÐÚÞÙ ßÞÔåÞÔ âàÕÑãÕâ ÑÞÛÕ×ÝÕÝÝÞÙ ÛÞÜÚØ
áÛÞÖØÒèØåáï ßàÕÔáâÐÒÛÕÝØÙ. ¿ÞíâÞÜã ÞçÕÝì ÒÐÖÝÞ, çâÞÑë ÑãÔãéØÕ äØ×ØÚØ ßÞ-
×ÝÐÚÞÜØÛØáì á ÞáÝÞÒÐÜØ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÚÐÚ ÜÞÖÝÞ àÐÝìèÕ Ø á áÐÜÞÓÞ
ÝÐçÐÛÐ ÝÐãçØÛØáì ÔãÜÐâì ÝÐ ÕÕ ï×ëÚÕ. Á âÐÚØå ßÞ×ØæØÙ Ø ßàÕÔÛÐÓÐÕâáï ßÞåÞÔØâì
Ú Ø×ãçÕÝØî âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ò ÔÐÝÝÞÜ ßÞáÞÑØØ. ºàÐâÚÞÕ áØáâÕÜÐâØçÕáÚÞÕ
Ø×ÛÞÖÕÝØÕ ÜÐâÕàØÐÛÐ áÞßàÞÒÞÖÔÐÕâáï ×ÔÕáì âÞçÝëÜØ ãÚÐ×ÐÝØïÜØ ÛØâÕàÐâãàë ßÞ
ÚÐÖÔÞÜã Ø× ÞÑáãÖÔÐÕÜëå ÒÞßàÞáÞÒ. ÂÐÚØÕ ãÚÐ×ÐÝØï ÝÕÞÑåÞÔØÜë ÓÛÐÒÝëÜ ÞÑàÐ-
×ÞÜ ßÞâÞÜã, çâÞ Ò àÐáßàÞáâàÐÝÕÝÝëå ã ÝÐá ßÞáÞÑØïå ßÞ ÞÑéÕÙ äØ×ØÚÕ áÒÕÔÕÝØï
ßÞ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ßàØÒÞÔïâáï ÓÛÐÒÝëÜ ÞÑàÐ×ÞÜ Ò ÚÐçÕáâÒÕ ÔÞßÞÛÝÕÝØÙ Ø
ÚÐÚ ßàÐÒØÛÞ ØÜÕîâ ÞâàëÒÞçÝëÙ åÐàÐÚâÕà. ² ááëÛÚØ ÒÚÛîçÕÝë âÐÚÖÕ ÚÝØÓØ ÐÚÐÔ.
². °. ÄÞÚÐ [7] Ø ÐÚÐÔ. ». ¸. ¼ÐÝÔÕÛìèâÐÜÐ [8], ÚÞâÞàëÕ Ò ßÞÛÝÞÜ ÞÑêÕÜÕ ÝÕÔÞáâãß-
Ýë áâãÔÕÝâÐÜ ÜÛÐÔèØå ÚãàáÞÒ, ÝÞ Ø×ãçÕÝØÕ ÞâÔÕÛìÝëå ÜÕáâ, ãÚÐ×ÐÝÝëå Ò ßÞáÞÑØØ,
ÝÕáÞÜÝÕÝÝÞ ßàØÝÕáÕâ ØÜ ÑÞÛìèãî ßÞÛì×ã.
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³ÛÐÒÐ 1

¾áÝÞÒÝëÕ ßÞÛÞÖÕÝØï âÕÞàØØ
ÞâÝÞáØâÕÛìÝÞáâØ Ø àÕÛïâØÒØáâáÚÐï
ÚØÝÕÜÐâØÚÐ

¿àØ Ø×ÛÞÖÕÝØØ ÞáÝÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ø àÕÛïâØÒØáâáÚÞÙ ÚØÝÕÜÐâØÚØ Ò ÔÐÝ-
ÝÞÜ ãçÕÑÝÞÜ ßÞáÞÑØØ ßàÕÔÛÐÓÐÕâáï áÛÕÔãîéÐï ßÞáÛÕÔÞÒÐâÕÛìÝÞáâì Ø×ãçÕÝØï ÜÐ-
âÕàØÐÛÐ. ¿ÞáÛÕ ÝÐßÞÜØÝÐÝØï ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ
Ø ÒëàÐÖÐîéØå ÕÓÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï ÞÑáãÖÔÐÕâáï ÞÓàÐÝØçÕÝÝëÙ åÐàÐÚ-
âÕà ÚÛÐááØçÕáÚØå ßàÕÔáâÐÒÛÕÝØÙ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ Ø ÝÕÞÑåÞÔØÜÞáâì Þâ-
ÚÐ×Ð Þâ ÝØå Ò ÞÑéÕÜ áÛãçÐÕ. ·ÐâÕÜ äÞàÜãÛØàãîâáï ÞáÝÞÒÝëÕ ßÞÛÞÖÕÝØï çÐáâ-
ÝÞÙ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ. ¿àØ ÞÑáãÖÔÕÝØØ äØ×ØçÕáÚÞÓÞ áÞÔÕàÖÐÝØï ßÞáâãÛÐ-
âÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÞáÝÞÒÝÞÙ ÐÚæÕÝâ áÔÕÛÐÝ ÝÐ Øå âàÐÚâÞÒÚÕ ÚÐÚ ÞÑÞÑéÕ-
ÝØï ÞßëâÝëå äÐÚâÞÒ.

½Ð ÞáÝÞÒÕ ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÞÑáãÖÔÐîâáï ÒÞßàÞáë Ø×ÜÕ-
àÕÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ Ò àÐ×Ýëå áØáâÕÜÐå
ÞâáçÕâÐ Ø ßÞïáÝïÕâáï ÞâÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà ÞÔÝÞÒàÕÜÕÝÝÞáâØ ßàÞáâàÐÝáâÒÕÝÝÞ
ãÔÐÛÕÝÝëå áÞÑëâØÙ.

ÀÕÛïâØÒØáâáÚØÕ äÞàÜãÛë ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝ-
áâÒÕÝÝëå àÐááâÞïÝØÙ ÜÕÖÔã áÞÑëâØïÜØ ÒëÒÞÔïâáï Ò ßÞáÞÑØØ ÝÕßÞáàÕÔáâÒÕÝÝÞ Ø×
ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ. ¿àØÒÞÔïâáï íÚáßÕàØÜÕÝâÐÛìÝëÕ äÐÚâë, ßÞÔ-
âÒÕàÖÔÐîéØÕ íâØ àÕÛïâØÒØáâáÚØÕ ÚØÝÕÜÐâØçÕáÚØÕ ×ÐÚÞÝë. ·ÐâÕÜ ÝÐ íâÞÙ ÞáÝÞÒÕ
ÒëÒÞÔïâáï äÞàÜãÛë ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ.

´ÐÛÕÕ àÐááÜÐâàØÒÐîâáï áÛÕÔáâÒØï ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ, Ò çÐáâÝÞáâØ, àÕ-
ÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛì-
ÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ, ßàØÒÞÔïâáï ßàØÜÕàë ÕÓÞ ßàØÜÕÝÕÝØï Ø íÚáßÕàØÜÕÝ-
âÐÛìÝëÕ ßÞÔâÒÕàÖÔÕÝØï.

²ÒÞÔØâáï ßÞÝïâØÕ ßàÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝ �ÞÓÞ ØÝâÕàÒÐÛÐ ÜÕÖÔã áÞÑëâØïÜØ
Ø ßÞÚÐ×ëÒÐÕâáï ÕÓÞ ØÝÒÐàØÐÝâÝÞáâì ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ. ¾Ñ-
áãÖÔÐÕâáï ÚÛÐááØäØÚÐæØï ØÝâÕàÒÐÛÞÒ Ø ÕÕ áÒï×ì á ÒÞ×ÜÞÖÝÞáâìî ßàØçØÝÝÞÙ áÒï×Ø
ÜÕÖÔã áÞÑëâØïÜØ. ·ÐâÕÜ ßàÕÞÑàÐ×ÞÒÐÝØÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕ-
âÐ Ú ÔàãÓÞÙ àÐááÜÐâàØÒÐÕâáï ÚÐÚ ÓÕÞÜÕâàØçÕáÚÞÕ ßàÕÞÑàÐ×ÞÒÐÝØÕ Ò çÕâëàÕåÜÕà-
ÝÞÜ ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ (ßàÞáâàÐÝáâÒÕ ¼ØÝÚÞÒáÚÞÓÞ). ²ÒÞÔØâáï ßàÕÔáâÐÒÛÕÝØÕ
Þ çÕâëàÕåÜÕàÝëå ÒÕÚâÞàÐå Ø àÐááÜÐâàØÒÐÕâáï ×ÐÚÞÝ Øå ßàÕÞÑàÐ×ÞÒÐÝØï ßàØ ßÕàÕ-
åÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ.
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² ßÕàÒÞÙ ÓÛÐÒÕ ãçÕÑÝÞÓÞ ßÞáÞÑØï àÐááÜÐâàØÒÐîâáï áÛÕÔãîéØÕ ÒÞßàÞáë:

• ºÛÐááØçÕáÚØÙ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ø ßàÕÞÑàÐ×ÞÒÐÝØï ³ÐÛØÛÕï

• ¾ÓàÐÝØçÕÝÝÞáâì ÚÛÐááØçÕáÚØå ßàÕÔáâÐÒÛÕÝØÙ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ

• ¿ÞáâãÛÐâë âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ø Øå äØ×ØçÕáÚÞÕ áÞÔÕàÖÐÝØÕ

• ¸×ÜÕàÕÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ

• ¾âÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà ÞÔÝÞÒàÕÜÕÝÝÞáâØ ãÔÐÛÕÝÝëå áÞÑëâØÙ

• ÀÕÛïâØÒØáâáÚØÕ ×ÐÚÞÝë ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ

• ¿àÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ Ø ßàÕÞÑàÐ×ÞÒÐÝØÕ áÚÞàÞáâØ

• ¸ÝÒÐàØÐÝâÝëÙ ßàÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝ �ÞÙ ØÝâÕàÒÐÛ ÜÕÖÔã áÞÑëâØïÜØ

• ¿áÕÒÔÞÕÒÚÛØÔÞÒÐ ÓÕÞÜÕâàØï çÕâëàÕåÜÕàÝÞÓÞ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ (ßàÞáâ-
àÐÝáâÒÐ ¼ØÝÚÞÒáÚÞÓÞ) Ø çÕâëàÕåÜÕàÝëÕ ÒÕÚâÞàë

¿Þ ÚÐÖÔÞÜã Ø× àÐááÜÐâàØÒÐÕÜëå ÒÞßàÞáÞÒ Ò ãçÕÑÝÞÜ ßÞáÞÑØØ ßàÕÔÛÐÓÐîâáï
×ÐÔÐçØ Ø ÔÐîâáï ßÞÔàÞÑÝëÕ ãÚÐ×ÐÝØï áÞ ááëÛÚÐÜØ ÝÐ ãçÕÑÝãî ÛØâÕàÐâãàã, áÞÔÕà-
ÖÐéãî Ø×ãçÐÕÜëÙ ÜÐâÕàØÐÛ. ºàÞÜÕ âÞÓÞ, ßàØÒÞÔïâáï ááëÛÚØ ÝÐ ÞâÔÕÛìÝëÕ ÜÕáâÐ
Ø× ÜÞÝÞÓàÐäØØ ÐÚÐÔ. ². °. ÄÞÚÐ �ÂÕÞàØï ßàÞáâàÐÝáâÒÐ, ÒàÕÜÕÝØ Ø âïÓÞâÕÝØï� [7]
Ø �»ÕÚæØÙ ßÞ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ� ÐÚÐÔ. ». ¸. ¼ÐÝÔÕÛìèâÐÜÐ [8]. ² ßÞÛÝÞÜ
ÞÑêÕÜÕ íâØ ÚÝØÓØ ÒàïÔ ÛØ ÔÞáâãßÝë áâãÔÕÝâÐÜ ÜÛÐÔèØå ÚãàáÞÒ, ÝÞ ÜÝÞÓØÕ ßàØÝ-
æØßØÐÛìÝëÕ ÒÞßàÞáë Ø×ÛÞÖÕÝë Ò ÝØå á ØáÚÛîçØâÕÛìÝÞÙ ïáÝÞáâìî Ø ÓÛãÑØÝÞÙ ÝÐ
ÒßÞÛÝÕ ÔÞáâãßÝÞÜ ÔÛï áâãÔÕÝâÞÒ ãàÞÒÝÕ.

1.1 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ò ÚÛÐááØçÕáÚÞÙ
ÜÕåÐÝØÚÕ. ¿àÕÞÑàÐ×ÞÒÐÝØï ³ÐÛØÛÕï

1.1.1 ¸ÝÕàæØÐÛìÝëÕ áØáâÕÜë ÞâáçÕâÐ.
¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ ³ÐÛØÛÕï

·ÐÚÞÝë äØ×ØÚØ ÔÞÛÖÝë ÞÑÛÐÔÐâì ÞßàÕÔÕÛÕÝÝÞÙ ÓÛãÑØÝÞÙ Ø ÞÑéÝÞáâìî. ¾ÔÝÞ Ø×
ßàÞïÒÛÕÝØÙ íâÞÙ ÞÑéÝÞáâØ � ÝÕ×ÐÒØáØÜÞáâì äØ×ØçÕáÚØå ×ÐÚÞÝÞÒ Þâ âÐÚØå çÐáâ-
Ýëå ÞÑáâÞïâÕÛìáâÒ, ÚÐÚ ßÞÛÞÖÕÝØÕ Ò ßàÞáâàÐÝáâÒÕ Ø ÒëÑÞà ÜÞÜÕÝâÐ ÒàÕÜÕÝØ. ½Õ×Ð-
ÒØáØÜÞáâì ×ÐÚÞÝÞÒ äØ×ØÚØ Þâ ßÞÛÞÖÕÝØï Ò ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ ÞÑÕáßÕçØÒÐÕâ
ÒÞáßàÞØ×ÒÞÔØÜÞáâì ÛÐÑÞàÐâÞàÝëå ÞßëâÞÒ, ßÞÔâÒÕàÖÔÐîéØå íâØ ×ÐÚÞÝë. ½Õ×ÐÒØ-
áØÜÞáâì äØ×ØçÕáÚØå ïÒÛÕÝØÙ Þâ ÜÕáâÐ Ø ÜÞÜÕÝâÐ ÒàÕÜÕÝØ ÞâàÐÖÐÕâ ÞÔÝÞàÞÔÝÞáâì Ø
Ø×ÞâàÞßÝÞáâì äØ×ØçÕáÚÞÓÞ ßàÞáâàÐÝáâÒÐ Ø ÞÔÝÞàÞÔÝÞáâì ÒàÕÜÕÝØ. ÄÞàÜØàÞÒÐÝØÕ
ïáÝëå ßàÕÔáâÐÒÛÕÝØÙ ÞÑ íâØå äãÝÔÐÜÕÝâÐÛìÝëå áÒÞÙáâÒÐå áØÜÜÕâàØØ ßàÞáâàÐÝ-
áâÒÐ Ø ÒàÕÜÕÝØ ÞÑëçÝÞ ÝÕ Òë×ëÒÐÕâ ×ÐâàãÔÝÕÝØÙ.

·ÝÐçØâÕÛìÝÞ âàãÔÝÕÕ áÞÓÛÐáÞÒÐâì á ÝÐèÕÙ ØÝâãØæØÕÙ, áäÞàÜØàÞÒÐÒèÕÙáï ÝÐ
ÞáÝÞÒÕ ßÞÒáÕÔÝÕÒÝÞÓÞ ÞßëâÐ, ÞÓàÐÝØçÕÝÝãî ÝÕ×ÐÒØáØÜÞáâì ×ÐÚÞÝÞÒ äØ×ØÚØ Þâ áÞ-
áâÞïÝØï ÔÒØÖÕÝØï. ÍâÐ ÝÕ×ÐÒØáØÜÞáâì ×ÐÚÛîçÐÕâáï Ò àÐÒÝÞßàÐÒØØ (íÚÒØÒÐÛÕÝâÝÞ-
áâØ) ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ ÞâáçÕâÐ � ×ÐÚÞÝë äØ×ØÚØ ÔÞÛÖÝë Ñëâì ÞÔØÝÐÚÞÒë
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ÒÞ ÒáÕå âÐÚØå áØáâÕÜÐå. ÍÚÒØÒÐÛÕÝâÝÞáâì ØÝÕàæØÐÛìÝëå áØáâÕÜ ÞâáçÕâÐ Þ×ÝÐçÐÕâ,
çâÞ àÐÒÝÞÜÕàÝÞÕ ßàïÜÞÛØÝÕÙÝÞÕ ÔÒØÖÕÝØÕ ×ÐÜÚÝãâÞÙ áØáâÕÜë ÜÐâÕàØÐÛìÝëå âÕÛ
ÝÕ ÒÛØïÕâ ÝÐ åÞÔ ßàÞæÕááÞÒ, ßàÞØáåÞÔïéØå ÒÝãâàØ äØ×ØçÕáÚÞÙ áØáâÕÜë. ½ÐåÞÔïáì
Ò ×ÐÚàëâÞÙ ÛÐÑÞàÐâÞàØØ, ÝØÚÐÚØÜØ ÞßëâÐÜØ ÝÕÒÞ×ÜÞÖÝÞ ãáâÐÝÞÒØâì, ßÞÚÞØâáï ÛÐ-
ÑÞàÐâÞàØï ÞâÝÞáØâÕÛìÝÞ ÒëÑàÐÝÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ ØÛØ ÔÒØÖÕâáï
ÞâÝÞáØâÕÛìÝÞ ÝÕÕ á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî. ¿ÞÔçÕàÚÝÕÜ, çâÞ ÔÒØÖÕÝØÕ ÛÐÑÞàÐâÞ-
àØØ á ãáÚÞàÕÝØÕÜ (Ò çÐáâÝÞáâØ, ÒàÐéÕÝØÕ) áàÐ×ã ÞÑÝÐàãÖØÒÐÕâ áÕÑï ßÞ ÒÛØïÝØî ÝÐ
ÜÝÞÓØÕ ïÒÛÕÝØï, ÝÐÑÛîÔÐÕÜëÕ Ò âÐÚÞÙ ÛÐÑÞàÐâÞàØØ.

ÃâÒÕàÖÔÕÝØÕ Þ äØ×ØçÕáÚÞÙ íÚÒØÒÐÛÕÝâÝÞáâØ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ ÞâáçÕ-
âÐ áÞáâÐÒÛïÕâ áÞÔÕàÖÐÝØÕ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ. ¿àØÝæØß ÞâÝÞáØâÕÛì-
ÝÞáâØ ÒßÕàÒëÕ ÑëÛ áäÞàÜãÛØàÞÒÐÝ ³ÐÛØÛÕÕÜ ÔÛï ÜÕåÐÝØçÕáÚØå ïÒÛÕÝØÙ. ´Þ áÞ×ÔÐ-
ÝØï âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ áçØâÐÛÞáì, çâÞ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ áßàÐÒÕÔÛØÒ
âÞÛìÚÞ ÔÛï ÜÕåÐÝØçÕáÚØå ïÒÛÕÝØÙ, Ø ÝÕ àÐáßàÞáâàÐÝïÕâáï ÝÐ íÛÕÚâàÞÜÐÓÝØâÝëÕ (Ò
çÐáâÝÞáâØ ÞßâØçÕáÚØÕ) ïÒÛÕÝØï. ¾ÑÞÑéÕÝØÕ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ, áäÞàÜã-
ÛØàÞÒÐÝÝÞÕ °. ÍÙÝèâÕÙÝÞÜ Ò 1905 ÓÞÔã, ×ÐÚÛîçÐÕâáï Ò àÐáßàÞáâàÐÝÕÝØØ ÕÓÞ ÝÐ
ÛîÑëÕ ïÒÛÕÝØï. ÍÙÝèâÕÙÝÞÒáÚØÙ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ ßÞÔâÒÕàÖÔÐÕâáï ÒáÕÙ
áÞÒÞÚãßÝÞáâìî ÝÐèØå ×ÝÐÝØÙ Þ ßàØàÞÔÕ.

1.1.2 ¼ÐâÕÜÐâØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ßàØÝæØßÐ
ÞâÝÞáØâÕÛìÝÞáâØ ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ

¼ÝÞÓØÕ ×ÐÚÞÝë äØ×ØÚØ äÞàÜãÛØàãîâáï ßàØ ßÞÜÞéØ ÔØääÕàÕÝæØÐÛìÝëå ãàÐÒÝÕ-
ÝØÙ, ÒØÔ ÚÞâÞàëå ÝÕ ×ÐÒØáØâ Þâ ÝÐçÐÛìÝÞÓÞ áÞáâÞïÝØï äØ×ØçÕáÚÞÙ áØáâÕÜë. ÂÐÚÞ-
Òë, Ò çÐáâÝÞáâØ, ãàÐÒÝÕÝØï ÔÒØÖÕÝØï ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ (ÒâÞàÞÙ ×ÐÚÞÝ ½ìî-
âÞÝÐ). ¸× ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÒëâÕÚÐÕâ, çâÞ ÜÐâÕÜÐâØçÕáÚÐï äÞàÜÐ âÐÚØå
×ÐÚÞÝÞÒ ÔÞÛÖÝÐ Ñëâì ÞÔØÝÐÚÞÒÐ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ´àãÓØÜØ
áÛÞÒÐÜØ, ãàÐÒÝÕÝØï ×ÐÚÞÝÞÒ ÔÞÛÖÝë áÞåàÐÝïâì áÒÞÙ ÒØÔ ßàØ ßÕàÕåÞÔÕ Þâ ÞßØáÐ-
ÝØï ïÒÛÕÝØï Ò ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ Ú ÔàãÓÞÙ. ¾Ñ íâÞÜ âàÕÑÞÒÐÝØØ
ÓÞÒÞàïâ ÚÐÚ ÞÑ ØÝÒÐàØÐÝâÝÞáâØ ãàÐÒÝÕÝØÙ ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØï Ú ÔàãÓÞÙ
áØáâÕÜÕ ÞâáçÕâÐ.

ÀÐááÜÞâàØÜ ÞßØáÐÝØÕ ÝÕÚÞâÞàÞÓÞ ïÒÛÕÝØï Ò ÔÒãå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå Þâ-
áçÕâÐ: Ò áØáâÕÜÕ K Ø Ò áØáâÕÜÕ K ′, ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ K á ßÞáâÞïÝÝÞÙ ßÞ
ÒÕÛØçØÝÕ Ø ÝÐßàÐÒÛÕÝØî áÚÞàÞáâìî ~v. ÃáÛÞÒØÜáï ÝÐßàÐÒÛÕÝØï ÞÔÝÞØÜÕÝÝëå ÞáÕÙ
ÚÞÞàÔØÝÐâ Ò áØáâÕÜÐå K Ø K ′ ÒëÑØàÐâì áÞÒßÐÔÐîéØÜØ, Ð ÞáØ Ox Ø Ox′ ÝÐßàÐÒØÜ
ÒÔÞÛì ÒÕÚâÞàÐ áÚÞàÞáâØ ~v áØáâÕÜë K ′ ÞâÝÞáØâÕÛìÝÞ K (àØá. 1.1).

¿àØÜÕÜ ×Ð ÝÐçÐÛÞ ÞâáçÕâÐ ÒàÕÜÕÝØ t = 0 âÞâ ÜÞÜÕÝâ, ÚÞÓÔÐ âÞçÚÐ O′ áÞÒßÐÔÐÕâ á
O, â. Õ. ÚÞÓÔÐ ÚÞÞàÔØÝÐâÝëÕ ÞáØ ÔÒãå áØáâÕÜ ÞâáçÕâÐ áÞÒßÐÔÐîâ. ¿ÞÛÞÖÕÝØÕ ÝÕÚÞ-
âÞàÞÙ ÜÐâÕàØÐÛìÝÞÙ âÞçÚØ (çÐáâØæë) ÞßàÕÔÕÛïÕâáï ÚÞÞàÔØÝÐâÐÜØ x, y, z Ø ÜÞÜÕÝ-
âÞÜ ÒàÕÜÕÝØ t Ò áØáâÕÜÕ ÞâáçÕâÐ K Ø ÚÞÞàÔØÝÐâÐÜØ x′, y′, z′ Ø ÒàÕÜÕÝÕÜ t′ Ò áØáâÕÜÕ
ÞâáçÕâÐ K ′. ² ÞÑéÕÜ áÛãçÐÕ áÞÒÞÚãßÝÞáâì âàÕå ßàÞáâàÐÝáâÒÕÝÝëå ÚÞÞàÔØÝÐâ x, y, z
Ø ÒàÕÜÕÝØ t åÐàÐÚâÕàØ×ãÕâ ÝÕÚÞâÞàÞÕ áÞÑëâØÕ. ² ÒëÑàÐÝÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ Ûî-
ÑÞÕ áÞÑëâØÕ, ÝÕ×ÐÒØáØÜÞ Þâ âÞÓÞ Ò çÕÜ ØÜÕÝÝÞ ÞÝÞ ×ÐÚÛîçÐÕâáï (ÚÞàÞâÚÐï Òáßëè-
ÚÐ áÒÕâÐ, áâÞÛÚÝÞÒÕÝØÕ ÔÒãå çÐáâØæ Ø â.ß.) ÞßàÕÔÕÛïÕâáï ÜÕáâÞÜ, ÓÔÕ íâÞ áÞÑëâØÕ
ßàÞØ×ÞèÛÞ, Ø ÜÞÜÕÝâÞÜ ÒàÕÜÕÝØ, ÚÞÓÔÐ ÞÝÞ ßàÞØ×ÞèÛÞ. »îÑÞÕ äØ×ØçÕáÚÞÕ ïÒÛÕ-
ÝØÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÝÕÚÞâÞàãî áÞÒÞÚãßÝÞáâì íÛÕÜÕÝâÐàÝëå áÞÑëâØÙ. ¿ÞíâÞÜã
ÞßØáÐÝØÕ ÞâÔÕÛìÝÞÓÞ áÞÑëâØï áÛãÖØâ ÞáÝÞÒÞÙ ÔÛï ÞßØáÐÝØï ÛîÑÞÓÞ ïÒÛÕÝØï.
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ÀØá. 1.1: ÁØáâÕÜÐ ÞâáçÕâÐ K ′ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ K á ßÞáâÞïÝÝÞÙ ßÞ ÒÕÛØçØÝÕ
Ø ÝÐßàÐÒÛÕÝØî áÚÞàÞáâìî ~v ÒÔÞÛì ÞáØ Ox

ºÛÐááØçÕáÚØÕ ßàÕÔáâÐÒÛÕÝØï Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ.
¿àÕÞÑàÐ×ÞÒÐÝØï ³ÐÛØÛÕï
¿ÞáâÐÒØÜ ÒÞßàÞá Þ âÞÜ, ÚÐÚ áÒï×ÐÝë ÜÕÖÔã áÞÑÞÙ ÚÞÞàÔØÝÐâë Ø ÒàÕÜï ÞÔÝÞÓÞ Ø
âÞÓÞ ÖÕ áÞÑëâØï, ÞßàÕÔÕÛÕÝÝëÕ Ò ÔÒãå àÐ×Ýëå áØáâÕÜÐå ÞâáçÕâÐ K Ø K ′. ² ÚÛÐá-
áØçÕáÚÞÙ ÔÞàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ ßàØÝØÜÐÛÞáì ÚÐÚ ÞçÕÒØÔÝëÙ äÐÚâ áãéÕáâÒÞ-
ÒÐÝØÕ ÕÔØÝÞÓÞ ÜØàÞÒÞÓÞ ÒàÕÜÕÝØ t, ÞÔØÝÐÚÞÒÞÓÞ ÔÛï ÒáÕå áØáâÕÜ ÞâáçÕâÐ; ßÞíâÞÜã
ßÞ ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ ÔÛï ÞÔÝÞÓÞ Ø âÞÓÞ ÖÕ áÞÑëâØï t = t′. ² ÔÕÙáâÒØ-
âÕÛìÝÞáâØ âÐÚÐï ÒÞ×ÜÞÖÝÞáâì ÞßàÕÔÕÛïâì ÒàÕÜï ÝÐáâãßÛÕÝØï áÞÑëâØÙ ÒÞ ÒáÕå áØ-
áâÕÜÐå ÞâáçÕâÐ ßÞ ÞÔÝØÜ Ø âÕÜ ÖÕ çÐáÐÜ ÝÕïÒÝÞ áÒï×ÐÝÐ, ÚÐÚ ÑãÔÕâ ßÞÚÐ×ÐÝÞ ÝØÖÕ,
á ßàÕÔßÞÛÞÖÕÝØÕÜ Þ áãéÕáâÒÞÒÐÝØØ áØÓÝÐÛÞÒ, àÐáßàÞáâàÐÝïîéØåáï á ÑÕáÚÞÝÕçÝÞ
ÑÞÛìèÞÙ áÚÞàÞáâìî. ¿àØÝæØßØÐÛìÝÞÕ ÞâàØæÐÝØÕ âÐÚÞÙ ÒÞ×ÜÞÖÝÞáâØ, â. Õ. ÞâÚÐ× Þâ
ÕÔØÝÞÓÞ ÜØàÞÒÞÓÞ ÒàÕÜÕÝØ � íâÞ ÚàÐÕãÓÞÛìÝëÙ ÚÐÜÕÝì Ò ×ÔÐÝØØ âÕÞàØØ ÞâÝÞáØ-
âÕÛìÝÞáâØ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, áÞÓÛÐáÝÞ ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ Þ ÒàÕÜÕÝØ, ÕáÛØ ÔÒÐ
áÞÑëâØï ßàÞØáåÞÔïâ ÞÔÝÞÒàÕÜÕÝÝÞ á âÞçÚØ ×àÕÝØï ÝÕÚÞâÞàÞÙ áØáâÕÜë ÞâáçÕâÐ, âÞ
íâØ áÞÑëâØï ÑãÔãâ ÞÔÝÞÒàÕÜÕÝÝëÜØ Ø ÔÛï ÝÐÑÛîÔÐâÕÛï Ò ÛîÑÞÙ ÔàãÓÞÙ áØáâÕÜÕ
ÞâáçÕâÐ. ÂÞçÝÞ âÐÚ ÖÕ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÔÒãÜï áÞÑëâØïÜØ, Ò áØÛã ÐÑáÞ-
ÛîâÝÞÓÞ åÐàÐÚâÕàÐ ÒàÕÜÕÝØ, ßÞ ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ ÔÞÛÖÕÝ Ñëâì ÞÔØ-
ÝÐÚÞÒëÜ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. °ÝÐÛÞÓØçÝÞ, Ò ÔÞàÕÛïâØÒØáâáÚÞÙ
äØ×ØÚÕ ßàÕÔßÞÛÐÓÐÛÞáì (ÒÕàÝÕÕ, áçØâÐÛÞáì ÞçÕÒØÔÝëÜ), çâÞ ßàÞáâàÐÝáâÒÕÝÝÞÕ àÐá-
áâÞïÝØÕ ÜÕÖÔã ÔÒãÜï âÞçÚÐÜØ, Ø×ÜÕàÕÝÝÞÕ Ò ÞÔØÝ Ø âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ, ÒÞ ÒáÕå
áØáâÕÜÐå ÞâáçÕâÐ ÔÞÛÖÝÞ Ñëâì ÞÔØÝÐÚÞÒëÜ, â. Õ. ÐÑáÞÛîâÝëÜ, ÝÕ ×ÐÒØáïéØÜ Þâ áØ-
áâÕÜë ÞâáçÕâÐ.

½Ð ÞáÝÞÒÕ íâØå ÚÛÐááØçÕáÚØå ßàÕÔáâÐÒÛÕÝØÙ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ áàÐ×ã
ãáâÐÝÐÒÛØÒÐÕâáï ÒØÔ ßàÕÞÑàÐ×ÞÒÐÝØï, áÒï×ëÒÐîéÕÓÞ ÚÞÞàÔØÝÐâë x, y, z Ø ÒàÕÜï
t ÝÕÚÞâÞàÞÓÞ áÞÑëâØï, ×ÐäØÚáØàÞÒÐÝÝëÕ Ò áØáâÕÜÕ ÞâáçÕâÐ K, á ÚÞÞàÔØÝÐâÐÜØ Ø
ÒàÕÜÕÝÕÜ x′, y′, z′, t′ íâÞÓÞ ÖÕ áÞÑëâØï, ×ÐäØÚáØàÞÒÐÝÝëÜØ Ò ÔàãÓÞÙ áØáâÕÜÕ Þâ-
áçÕâÐ K ′, ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ K á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî ~v Ò ÝÐßàÐÒÛÕÝØØ
ÞáØ Ox:

x = x′ + vt, y = y′, z = z′, t = t′. (1.1)
ÍâØ ßàÞáâëÕ äÞàÜãÛë ÝÞáïâ ÝÐ×ÒÐÝØÕ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï. ²ÒÞÔï àÐ-

ÔØãáë-ÒÕÚâÞàë ~r Ø ~r′, ãÚÐ×ëÒÐîéØÕ Ò ÚÐÖÔÞÙ Ø× áØáâÕÜ K Ø K ′ ßÞÛÞÖÕÝØÕ âÞÙ
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âÞçÚØ, Ò ÚÞâÞàÞÙ ßàÞØ×ÞèÛÞ àÐááÜÐâàØÒÐÕÜÞÕ áÞÑëâØÕ, ÜÞÖÝÞ ×ÐßØáÐâì ßÕàÒëÕ
âàØ áÞÞâÝÞèÕÝØï ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï (1.1) Ò ÒÕÚâÞàÝÞÜ ÒØÔÕ: ~r = ~r′ + ~vt.

¸× ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï áàÐ×ã áÛÕÔãÕâ ÚÛÐááØçÕáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐ-
ÝØï áÚÞàÞáâØ çÐáâØæë ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ. ¿ãáâì
àÐÔØãá-ÒÕÚâÞà ~r(t) ×ÐÔÐÕâ ßÞÛÞÖÕÝØÕ ÔÒØÖãéÕÙáï çÐáâØæë Ò áØáâÕÜÕ K, Ð ~r′(t′) �
ßÞÛÞÖÕÝØÕ âÞÙ ÖÕ çÐáâØæë Ò áØáâÕÜÕ K ′. ÂÞÓÔÐ ~u = d~r/dt � áÚÞàÞáâì íâÞÙ çÐáâØæë
ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë K, Ð ~u′ = d~r′/dt′ � áÚÞàÞáâì âÞÙ ÖÕ çÐáâØæë ÞâÝÞáØâÕÛìÝÞ
áØáâÕÜë ÞâáçÕâÐ K ′. ÂÐÚ ÚÐÚ t = t′, áÚÞàÞáâì Ò áØáâÕÜÕ K ′ ÜÞÖÝÞ ÝÐåÞÔØâì ÔØä-
äÕàÕÝæØàÞÒÐÝØÕÜ áÞÞâÒÕâáâÒãîéÕÓÞ àÐÔØãáÐ-ÒÕÚâÞàÐ çÐáâØæë ~r′ ßÞ t, Ð ÝÕ ßÞ t′:
~u′ = d~r′/dt. ¿ÞíâÞÜã ßÞçÛÕÝÝëÜ ÔØääÕàÕÝæØàÞÒÐÝØÕÜ ãàÐÒÝÕÝØÙ (1.1), ÒëàÐÖÐî-
éØå ßàÕÞÑàÐ×ÞÒÐÝØï ³ÐÛØÛÕï, ßÞÛãçÐÕÜ

ux = u′x + v, uy = u′y, uz = u′z. (1.2)
ÂÐÚØÜ ÞÑàÐ×ÞÜ, ßàÕÞÑàÐ×ÞÒÐÝØÕ áÚÞàÞáâØ çÐáâØæë ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØ-

áâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ Ò ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ áÒÞÔØâáï ßàÞáâÞ Ú ÒÕÚâÞàÝÞÜã
áÛÞÖÕÝØî ÞâÝÞáØâÕÛìÝÞÙ (~u′ = d~r′/dt′) Ø ßÕàÕÝÞáÝÞÙ (~v) áÚÞàÞáâÕÙ: ~u = ~u′ + ~v.

¸ÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ
ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï
»ÕÓÚÞ ÒØÔÕâì, çâÞ ãàÐÒÝÕÝØï ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìîâÞÝÐ

mẍ = Fx, mÿ = Fy, mz̈ = Fz (1.3)
ÝÕ ÜÕÝïîâ áÒÞÕÓÞ ÒØÔÐ ßàØ ßÕàÕåÞÔÕ Þâ áØáâÕÜë ÞâáçÕâÐ K Ú áØáâÕÜÕ K ′ ßÞ äÞàÜã-
ÛÐÜ (1.1), â. Õ. ãàÐÒÝÕÝØï ÔÒØÖÕÝØï âÕÛÐ Ò ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ ØÝÒÐàØÐÝâÝë Þâ-
ÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï. ´ÕÙáâÒØâÕÛìÝÞ, ÔØääÕàÕÝæØàãï ßÞ ÒàÕÜÕÝØ
ßÞçÛÕÝÝÞ ãàÐÒÝÕÝØï (1.2) ×ÐÚÞÝÐ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ, ßÞÛãçÐÕÜ, çâÞ ãáÚÞàÕ-
ÝØÕ çÐáâØæë ÞÔØÝÐÚÞÒÞ Ò áØáâÕÜÐå ÞâáçÕâÐ K Ø K ′:

ẍ = ẍ′, ÿ = ÿ′, z̈ = z̈′, (1.4)
â. Õ. ÛÕÒëÕ çÐáâØ ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï (1.3) ÝÕ Ø×ÜÕÝïîâáï. ¿àÐÒëÕ çÐáâØ âÐÚÖÕ
ÞáâÐîâáï ÑÕ× Ø×ÜÕÝÕÝØï ßàØ ßÕàÕåÞÔÕ Þâ K Ú K ′, âÐÚ ÚÐÚ Ò ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ
áØÛë, ÔÕÙáâÒãîéØÕ ÝÐ çÐáâØæë, � íâÞ áØÛë Ò×ÐØÜÞÔÕÙáâÒØï á ÔàãÓØÜØ çÐáâØæÐÜØ,
Ø ÞÝØ ×ÐÒØáïâ ÛØèì Þâ ÞâÝÞáØâÕÛìÝÞÓÞ àÐáßÞÛÞÖÕÝØï çÐáâØæ Ø Þâ Øå ÞâÝÞáØâÕÛìÝëå
áÚÞàÞáâÕÙ. ½Þ ÞâÝÞáØâÕÛìÝëÕ ßÞÛÞÖÕÝØï çÐáâØæ Ø Øå ÞâÝÞáØâÕÛìÝëÕ áÚÞàÞáâØ, ßÞ
ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ, ÞáâÐîâáï ÝÕØ×ÜÕÝÝëÜØ
ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ãàÐÒÝÕÝØï ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ ØÝÒÐàØÐÝâÝë ÞâÝÞáØâÕÛìÝÞ
ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï. ¸ÝÐçÕ ÓÞÒÞàï, ×ÐÚÞÝë ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ ãÔÞÒÛÕ-
âÒÞàïîâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, ÕáÛØ ßÕàÕåÞÔ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕ-
Üë ÞâáçÕâÐ Ú ÔàãÓÞÙ ÜÐâÕÜÐâØçÕáÚØ ßàÞØ×ÒÞÔØâáï á ßÞÜÞéìî ßàÕÞÑàÐ×ÞÒÐÝØÙ ³Ð-
ÛØÛÕï (1.1), ÚÞâÞàëÕ áÞÞâÒÕâáâÒãîâ ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ ÞÑ ÐÑáÞÛîâÝÞÜ
åÐàÐÚâÕàÕ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 88�94, [2], áâà. 511�514, [3], áâà. 28�
36, [7], áâà. 32�34.
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1.1.3 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ø íÛÕÚâàÞÔØÝÐÜØÚÐ.
¾ßëâ ¼ÐÙÚÕÛìáÞÝÐ Ø ¼ÞàÛØ

²Þ ÒâÞàÞÙ ßÞÛÞÒØÝÕ 19 áâÞÛÕâØï ¼ÐÚáÒÕÛÛÞÜ ÑëÛØ áäÞàÜãÛØàÞÒÐÝë ×ÐÚÞÝë íÛÕÚ-
âàÞÔØÝÐÜØÚØ, â. Õ. ×ÐÚÞÝë Ò×ÐØÜÞÔÕÙáâÒØï ×ÐàïÖÕÝÝëå çÐáâØæ Ø ×ÐÚÞÝë àÐáßàÞ-
áâàÐÝÕÝØï íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ. ¸× ãàÐÒÝÕÝØÙ ¼ÐÚáÒÕÛÛÐ áÛÕÔÞÒÐÛÐ, Ò çÐáâ-
ÝÞáâØ, ÒÞ×ÜÞÖÝÞáâì áãéÕáâÒÞÒÐÝØï íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ, ÔÛï àÐáßàÞáâàÐÝÕÝØï
ÚÞâÞàëå ÝØÚÐÚÐï áàÕÔÐ ÝÕ ÝãÖÝÐ. ÍÛÕÚâàÞÜÐÓÝØâÝëÕ ÒÞÛÝë Ò ÒÐÚããÜÕ àÐáßàÞáâàÐ-
Ýïîâáï á ÚÞÝÕçÝÞÙ áÚÞàÞáâìî c = 1/

√
ε0µ0, ÓÔÕ ε0 Ø µ0 � áÞÞâÒÕâáâÒÕÝÝÞ íÛÕÚâàØ-

çÕáÚÐï Ø ÜÐÓÝØâÝÐï ßÞáâÞïÝÝëÕ, ÒåÞÔïéØÕ Ò ãàÐÒÝÕÝØï ¼ÐÚáÒÕÛÛÐ Ò ÚÐçÕáâÒÕ ÚÞ-
íääØæØÕÝâÞÒ. ÍâÐ áÚÞàÞáâì ßàØÑÛØ×ØâÕÛìÝÞ àÐÒÝÐ 3 · 108 Ü/á Ø ÞÔØÝÐÚÞÒÐ ßÞ ÒáÕÜ
ÝÐßàÐÒÛÕÝØïÜ. ÁÞÒßÐÔÕÝØÕ âÕÞàÕâØçÕáÚÞÓÞ ×ÝÐçÕÝØï c á Ø×ÜÕàÕÝÝÞÙ àÐÝÕÕ áÚÞàÞ-
áâìî áÒÕâÐ ÝÐÒÕÛÞ ¼ÐÚáÒÕÛÛÐ ÝÐ ÜëáÛì, çâÞ áÒÕâ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ àÐ×ÝÞÒØÔ-
ÝÞáâì íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ. ÂÐÚØÜ ÞÑàÐ×ÞÜ ÑëÛÞ ÝÐÙÔÕÝÞ àÕèÕÝØÕ æÕÝâàÐÛìÝÞÙ
ÔÛï ÞßâØÚØ ×ÐÔÐçØ Þ ßàØàÞÔÕ áÒÕâÐ.

²Þ×ÝØÚÐÕâ ÒÞßàÞá: áÞÒÜÕáâØÜ ÛØ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ, â. Õ. àÐÒÝÞßàÐÒØÕ
ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ ÞâáçÕâÐ, á ×ÐÚÞÝÐÜØ íÛÕÚâàÞÔØÝÐÜØÚØ?

ÁÛÕÔãÕâ àÐ×ÛØçÐâì ÔÒÐ ÐáßÕÚâÐ ßÞáâÐÒÛÕÝÝÞÓÞ ÒÞßàÞáÐ.
1) ÇâÞ ÓÞÒÞàØâ Þßëâ Þ àÐáßàÞáâàÐÝÕÝØØ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÝÐ íÛÕÚ-

âàÞÜÐÓÝØâÝëÕ ïÒÛÕÝØï? ¿àÞâÕÚÐîâ ÛØ íÛÕÚâàÞÜÐÓÝØâÝëÕ Ø ÞßâØçÕáÚØÕ ßàÞæÕááë
(â. Õ. Ò×ÐØÜÞÔÕÙáâÒØÕ ×ÐàïÔÞÒ Ø âÞÚÞÒ, àÐáßàÞáâàÐÝÕÝØÕ áÒÕâÐ) ÞÔØÝÐÚÞÒÞ ÒÞ ÒáÕå
ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ, ØÛØ ÖÕ àÐÒÝÞÜÕàÝÞÕ ßàïÜÞÛØÝÕÙÝÞÕ ÔÒØÖÕÝØÕ
ÛÐÑÞàÐâÞàØØ, ÝÕ ÞÚÐ×ëÒÐï ÒÛØïÝØï ÝÐ ÜÕåÐÝØçÕáÚØÕ ïÒÛÕÝØï, áÚÐ×ëÒÐÕâáï ÝÐ íÛÕÚ-
âàÞÜÐÓÝØâÝëå Ø ÞßâØçÕáÚØå ïÒÛÕÝØïå?

²áï áÞÒÞÚãßÝÞáâì Ø×ÒÕáâÝëå íÚáßÕàØÜÕÝâÐÛìÝëå ÔÐÝÝëå ÓÞÒÞàØâ Þ âÞÜ, çâÞ
ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ àÐáßàÞáâàÐÝïÕâáï ÝÐ ÒáÕ äØ×ØçÕáÚØÕ ïÒÛÕÝØï: ÚÐÚ ÜÕ-
åÐÝØçÕáÚØÕ, âÐÚ Ø íÛÕÚâàÞÜÐÓÝØâÝëÕ, Ø ÞßâØçÕáÚØÕ ßàÞæÕááë ßàÞâÕÚÐîâ áÞÒÕàèÕÝ-
ÝÞ ÞÔØÝÐÚÞÒÞ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ¸áâÞàØçÕáÚØ ÝÐØÑÞÛÕÕ ÒÐÖ-
ÝëÕ Þßëâë, ßÞÔâÒÕàÖÔÐîéØÕ ãÝØÒÕàáÐÛìÝëÙ åÐàÐÚâÕà ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ,
� íâÞ ÞßâØçÕáÚØÙ Þßëâ ¼ÐÙÚÕÛìáÞÝÐ Ø ¼ÞàÛØ á ØÝâÕàäÕàÞÜÕâàÞÜ áßÕæØÐÛìÝÞÙ
ÚÞÝáâàãÚæØØ (áÜ. [1], [4]) Ø íÛÕÚâàÞÔØÝÐÜØçÕáÚØÙ Þßëâ ÂàÞãâÞÝÐ Ø ½ÞÑÛï á ×Ðàï-
ÖÕÝÝëÜ ÚÞÝÔÕÝáÐâÞàÞÜ, ßÞÔÒÕèÕÝÝëÜ ÝÐ ãßàãÓÞÙ ÝØâØ (ÚÞÝÕæ 19 ÒÕÚÐ). ½Õ ãÓÛãÑ-
Ûïïáì ×ÔÕáì Ò ÔÕâÐÛØ, ÞâÜÕâØÜ, çâÞ íâØ Þßëâë ÑëÛØ ßÞáâÐÒÛÕÝë áßÕæØÐÛìÝÞ ÔÛï
ÞÑÝÐàãÖÕÝØï ÒÛØïÝØï ÔÒØÖÕÝØï ÝÐåÞÔïéÕÙáï ÝÐ ·ÕÜÛÕ ÛÐÑÞàÐâÞàØØ ÞâÝÞáØâÕÛì-
ÝÞ �ÝÕßÞÔÒØÖÝÞÓÞ íäØàÐ� (â. Õ. ÞâÝÞáØâÕÛìÝÞ äØ×ØçÕáÚØ ÒëÔÕÛÕÝÝÞÙ ØÝÕàæØÐÛì-
ÝÞÙ áØáâÕÜë ÞâáçÕâÐ) ÝÐ àÐáßàÞáâàÐÝÕÝØÕ áÒÕâÐ Ø ÝÐ Ò×ÐØÜÞÔÕÙáâÒØÕ íÛÕÚâàØçÕ-
áÚØå ×ÐàïÔÞÒ. ²Þ ÒáÕå íâØå ÞßëâÐå ÑëÛ ßÞÛãçÕÝ ÞâàØæÐâÕÛìÝëÙ àÕ×ãÛìâÐâ, â. Õ.
ÝØÚÐÚÞÓÞ ÒÛØïÝØï ÔÒØÖÕÝØï áØáâÕÜë ÝÐ ÞßâØçÕáÚØÕ Ø íÛÕÚâàÞÜÐÓÝØâÝëÕ ïÒÛÕÝØï
ÞÑÝÐàãÖÕÝÞ ÝÕ ÑëÛÞ.

2) ÃÔÞÒÛÕâÒÞàïîâ ÛØ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ ãàÐÒÝÕÝØï íÛÕÚâàÞÔØÝÐÜØ-
ÚØ, â. Õ. ÞáâÐîâáï ÛØ ÞÝØ ÝÕØ×ÜÕÝÝëÜØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕ-
Üë ÞâáçÕâÐ Ú ÔàãÓÞÙ ßÞÔÞÑÝÞ âÞÜã, ÚÐÚ ÒÕÔãâ áÕÑï ãàÐÒÝÕÝØï ÔØÝÐÜØÚØ ½ìîâÞÝÐ?

¿àÞáâëÕ áÞÞÑàÐÖÕÝØï ßÞÚÐ×ëÒÐîâ, çâÞ ãàÐÒÝÕÝØï íÛÕÚâàÞÔØÝÐÜØÚØ ÝÕ ãÔÞÒÛÕ-
âÒÞàïîâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, ÕáÛØ ßÕàÕåÞÔ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú Ôàã-
ÓÞÙ ßàÞØ×ÒÞÔØâì ßÞ äÞàÜãÛÐÜ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï (1.1). ² áÐÜÞÜ ÔÕÛÕ, áÚÞ-
àÞáâì àÐáßàÞáâàÐÝÕÝØï íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ (áÒÕâÐ) Ò ÒÐÚããÜÕ áÞÓÛÐáÝÞ ãàÐÒ-
ÝÕÝØïÜ ¼ÐÚáÒÕÛÛÐ ÞÔØÝÐÚÞÒÐ ßÞ ÒáÕÜ ÝÐßàÐÒÛÕÝØïÜ Ø àÐÒÝÐ íÛÕÚâàÞÔØÝÐÜØçÕ-
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áÚÞÙ ßÞáâÞïÝÝÞÙ c. ½Þ, á ÔàãÓÞÙ áâÞàÞÝë, Ò áÞÞâÒÕâáâÒØØ á ÚÛÐááØçÕáÚØÜ ×ÐÚÞÝÞÜ
ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (1.2), ÒëâÕÚÐîéØÜ Ø× ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï, áÚÞàÞáâì
áÒÕâÐ ßÞ ÒáÕÜ ÝÐßàÐÒÛÕÝØïÜ ÜÞÖÕâ Ñëâì àÐÒÝÐ c âÞÛìÚÞ Ò ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØ-
áâÕÜÕ ÞâáçÕâÐ (áØáâÕÜÕ �ÝÕßÞÔÒØÖÝÞÓÞ íäØàÐ�). ½ÐßàØÜÕà, ÕáÛØ áÚÞàÞáâì áÒÕâÐ
àÐÒÝÐ c Ò áØáâÕÜÕ ÞâáçÕâÐ K, âÞ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ áÒÕâ ÔÞÛÖÕÝ àÐáßàÞáâàÐÝïâì-
áï Ò ßÞÛÞÖØâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox áÞ áÚÞàÞáâìî c−v, Ð Ò ÞâàØæÐâÕÛìÝÞÜ �
áÞ áÚÞàÞáâìî c + v.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÜÕÖÔã íÛÕÚâàÞÔØÝÐÜØÚÞÙ Ø ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÞÙ ØÜÕîâ ÜÕ-
áâÞ ÞßàÕÔÕÛÕÝÝëÕ ßàÞâØÒÞàÕçØï: ãàÐÒÝÕÝØï ÝìîâÞÝÞÒáÚÞÙ ÜÕåÐÝØÚØ ãÔÞÒÛÕâÒÞàï-
îâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ßÞ
ßàÕÞÑàÐ×ÞÒÐÝØïÜ ³ÐÛØÛÕï (1.1), Ð ãàÐÒÝÕÝØï íÛÕÚâàÞÔØÝÐÜØÚØ Ø ÞßâØÚØ � ÝÕ ãÔÞ-
ÒÛÕâÒÞàïîâ, åÞâï Þßëâ ÓÞÒÞàØâ Þ âÞÜ, çâÞ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ ÒëßÞÛÝïÕâ-
áï ÔÛï ÛîÑëå ïÒÛÕÝØÙ. ½Ð àãÑÕÖÕ 19 Ø 20 áâÞÛÕâØÙ äØ×ØÚÐ ßÕàÕÖØÒÐÛÐ ÓÛãÑÞÚØÙ
ÚàØ×Øá. ¼ÝÞÓÞçØáÛÕÝÝëÕ ßÞßëâÚØ �ßÞÔßàÐÒØâì� ãàÐÒÝÕÝØï áàÐÒÝØâÕÛìÝÞ ÜÞÛÞ-
ÔÞÙ Ò âÕ ÔÝØ íÛÕÚâàÞÔØÝÐÜØÚØ ¼ÐÚáÒÕÛÛÐ á âÕÜ, çâÞÑë ÞÑÕáßÕçØâì Øå ØÝÒÐàØÐÝâ-
ÝÞáâì ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï, ãáßÕåÞÜ ÝÕ ãÒÕÝçÐÛØáì, ØÑÞ ÒáÕ âÐÚØÕ
ßÞßëâÚØ ßàØÒÞÔØÛØ Ú ßàÕÔáÚÐ×ÐÝØî ïÒÛÕÝØÙ, ÚÞâÞàëÕ ÝÐ ÞßëâÕ ÝÕ ÝÐÑÛîÔÐÛØáì.
±ÞàìÑÐ ØÔÕÙ Ò ßÞØáÚÐå ÒëåÞÔÐ Ø× âãßØÚÐ ÞáâÐÒØÛÐ ÝÐØÑÞÛÕÕ ÓÛãÑÞÚØÙ áÛÕÔ Ò ÞßâØ-
ÚÕ, ßÞíâÞÜã ×ÝÐÚÞÜáâÒÞ á ØáâÞàØÕÙ ÒÞßàÞáÐ àÐ×ãÜÝÞ ÞâÛÞÖØâì ÔÞ Ø×ãçÕÝØï ÚãàáÐ
ÞßâØÚØ.

µÔØÝáâÒÕÝÝÞ ÒÞ×ÜÞÖÝëÙ ÒëåÞÔ Ø× áÞ×ÔÐÒèÕÓÞáï Ò äØ×ØÚÕ ßàÞâØÒÞàÕçØÒÞÓÞ ßÞ-
ÛÞÖÕÝØï ÑëÛ ÝÐÙÔÕÝ Ò 1905 Ó. °. ÍÙÝèâÕÙÝÞÜ. ÀÐ×àÕèØâì ÒÞ×ÝØÚèØÕ ßàÞâØÒÞàÕ-
çØï ãÔÐÛÞáì âÞÛìÚÞ æÕÝÞÙ ÞâÚÐ×Ð Þâ ÚÐ×ÐÒèØåáï ÝÕ×ëÑÛÕÜëÜØ ÚÛÐááØçÕáÚØå ßàÕÔ-
áâÐÒÛÕÝØÙ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ, áÛÞÖØÒèØåáï ÝÐ ÞáÝÞÒÕ ÜÝÞÓÞÛÕâÝÕÓÞ ÞßëâÐ
ÝÐÑÛîÔÕÝØÙ ×Ð áàÐÒÝØâÕÛìÝÞ ÜÕÔÛÕÝÝëÜØ ÔÒØÖÕÝØïÜØ. ¾âÚÐ× Þâ ßàÕÞÑàÐ×ÞÒÐÝØÙ
³ÐÛØÛÕï Ø ÒÒÕÔÕÝØÕ ÒÜÕáâÞ ÝØå ÝÞÒëå ßàÕÞÑàÐ×ÞÒÐÝØÙ � ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ,
ÞáâÐÒÛïîéØå ÝÕØ×ÜÕÝÝëÜØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ãàÐÒ-
ÝÕÝØï íÛÕÚâàÞÔØÝÐÜØÚØ, Ð ÝÕ ãàÐÒÝÕÝØï ÜÕåÐÝØÚØ, ßÞâàÕÑÞÒÐÛ ßÕàÕáÜÞâàÐ Ø ãâÞç-
ÝÕÝØï ×ÐÚÞÝÞÒ ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ, Ð ÓÛÐÒÝÞÕ � ßÞâàÕÑÞÒÐÛ ÚÞàÕÝÝÞÙ ÛÞÜÚØ
áÛÞÖØÒèØåáï ßàÕÔáâÐÒÛÕÝØÙ Þ áÒÞÙáâÒÐå ßàÞáâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 353�360, [3], áâà. 26�29, [4], áâà. 9�12,
[7], áâà. 29�32.

1.2 ¿ÞáâãÛÐâë âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ
ÇÐáâÝÐï âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÑÐ×ØàãÕâáï ÝÕ ÝÐ ÓØßÞâÕ×Ðå, Ð ÝÐ âÒÕàÔÞ ãáâÐÝÞÒ-
ÛÕÝÝëå ÝÐ ÞßëâÕ ßàØÝæØßÐå. ² ÕÕ ÞáÝÞÒÕ ÛÕÖÐâ ÔÒÐ ßàØÝæØßÐ, ØÛØ ßÞáâãÛÐâÐ, ÚÞ-
âÞàëÕ ÝãÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ÞÑÞÑéÕÝØÕ ÑÞÛìèÞÓÞ çØáÛÐ íÚáßÕàØÜÕÝâÐÛìÝëå
äÐÚâÞÒ:

• ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ, àÐáßàÞáâàÐÝÕÝÝëÙ ÝÐ ÒáÕ ïÒÛÕÝØï;

• ßàØÝæØß áãéÕáâÒÞÒÐÝØï ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙ-
áâÒØÙ.

ÍâØ ßàØÝæØßë áÞÔÕàÖÐâ ÝÐáâÞÛìÚÞ áØÛìÝëÕ Ø ÞÑéØÕ ãâÒÕàÖÔÕÝØï, çâÞ ÕÔÒÐ
ÛØ ÜÞÖÝÞ ÓÞÒÞàØâì Þ ÚÐÚØå-ÛØÑÞ �àÕèÐîéØå� ÞßëâÐå, ÔÞÚÐ×ëÒÐîéØå Øå áßàÐ-
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ÒÕÔÛØÒÞáâì. ÃÑÕÖÔÕÝØÕ Ò áßàÐÒÕÔÛØÒÞáâØ íâØå ßàØÝæØßÞÒ ×ØÖÔÕâáï ÝÐ ÑÕáçØáÛÕÝ-
Ýëå ÞßëâÝëå ßàÞÒÕàÚÐå áÛÕÔáâÒØÙ Ø× ÞáÝÞÒÐÝÝÞÙ ÝÐ ÝØå âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.
±ÞÛìèãî àÞÛì Ò áâÐÝÞÒÛÕÝØØ ßàØÝæØßÞÒ áëÓàÐÛØ ãÖÕ ãßÞÜØÝÐÒèØÕáï ÒëèÕ Þß-
âØçÕáÚØÕ Þßëâë á ÔÒØÖãéØÜØáï âÕÛÐÜØ Ø ßÞßëâÚØ âÕÞàÕâØçÕáÚÞÙ ØÝâÕàßàÕâÐæØØ
Øå àÕ×ãÛìâÐâÞÒ. ½Þ ÝÐØÑÞÛÕÕ ãÑÕÔØâÕÛìÝë Ò íâÞÜ ÞâÝÞèÕÝØØ Þßëâë, ÞâÝÞáïéØÕ-
áï Ú äØ×ØÚÕ ÒëáÞÚØå íÝÕàÓØÙ, Ò çÐáâÝÞáâØ, Þßëâë ßÞ Ø×ãçÕÝØî ÔÒØÖÕÝØï Ñëáâàëå
×ÐàïÖÕÝÝëå çÐáâØæ Ò ãáÚÞàØâÕÛïå, ïÔÕàÝëÕ àÕÐÚæØØ Ø ßàÕÒàÐéÕÝØï íÛÕÜÕÝâÐà-
Ýëå çÐáâØæ. ² âÐÚØå ïÒÛÕÝØïå íääÕÚâë âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ßàÞïÒÛïîâáï ÚÐÚ
ÞáÝÞÒÝëÕ, Ð ÝÕ ÚÐÚ ÜÐÛëÕ ßÞßàÐÒÚØ, ÝÐÑÛîÔÐÕÜëÕ ÝÐ ßàÕÔÕÛÕ íÚáßÕàØÜÕÝâÐÛìÝëå
ÒÞ×ÜÞÖÝÞáâÕÙ. ² ÔÐÛìÝÕÙèÕÜ ÑãÔÕâ àÐááÜÞâàÕÝ àïÔ ßÞÔÞÑÝëå ßàØÜÕàÞÒ.

¿ÕàÒëÙ ßÞáâãÛÐâ � ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ � ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ, ÚÐÚ ãÖÕ
ÞâÜÕçÐÛÞáì ÒëèÕ, ãâÒÕàÖÔÕÝØÕ ÞÑ íÚÒØÒÐÛÕÝâÝÞáâØ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ Þâ-
áçÕâÐ. ÀÐÒÝÞßàÐÒØÕ ØÝÕàæØÐÛìÝëå áØáâÕÜ àÐáßàÞáâàÐÝïÕâáï ÝÐ ÒáÕ ïÒÛÕÝØï, ÝÐ
Òáî äØ×ØÚã. ½ÐßÞÜÝØÜ, çâÞ ÒÞ ÒâÞàÞÙ ßÞÛÞÒØÝÕ 19 áâÞÛÕâØï áçØâÐÛÞáì, çâÞ ßàØÝ-
æØß ÞâÝÞáØâÕÛìÝÞáâØ áßàÐÒÕÔÛØÒ âÞÛìÚÞ ÔÛï ÜÕåÐÝØçÕáÚØå ïÒÛÕÝØÙ, Ð Ò íÛÕÚâàÞ-
ÔØÝÐÜØÚÕ Ø ÞßâØÚÕ ÝØÚÐÚÞÓÞ àÐÒÝÞßàÐÒØï ÜÕÖÔã ØÝÕàæØÐÛìÝëÜØ áØáâÕÜÐÜØ Þâ-
áçÕâÐ ÝÕâ, âÐÚ ÚÐÚ áÞÓÛÐáÝÞ ÓÞáßÞÔáâÒÞÒÐÒèÕÙ Ò âÞ ÒàÕÜï âÞçÚÕ ×àÕÝØï áÚÞàÞáâì
áÒÕâÐ àÐÒÝÐ c âÞÛìÚÞ ÞâÝÞáØâÕÛìÝÞ �áÒÕâÞÝÞáÝÞÓÞ íäØàÐ�, â. Õ. ÞâÝÞáØâÕÛìÝÞ ÝÕÚÞ-
âÞàÞÙ ÒëÔÕÛÕÝÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ. ÂÐÚØÜØ ßàÕÔáâÐÒÛÕÝØïÜØ àãÚÞ-
ÒÞÔáâÒÞÒÐÛØáì ßàØ ßÞáâÐÝÞÒÚÕ íÚáßÕàØÜÕÝâÞÒ ÔÛï ÞÑÝÐàãÖÕÝØï �íäØàÝÞÓÞ ÒÕâàÐ�
(â. Õ. ÔÒØÖÕÝØï ×ÕÜÝÞÙ ÛÐÑÞàÐâÞàØØ ÞâÝÞáØâÕÛìÝÞ �íäØàÐ�), ÚÞâÞàëÕ ÝÕØ×ÜÕÝÝÞ
ÔÐÒÐÛØ ÞâàØæÐâÕÛìÝëÙ àÕ×ãÛìâÐâ. Á áÞÒàÕÜÕÝÝÞÙ âÞçÚØ ×àÕÝØï áÐÜ âÐÚÞÙ ÞÓàÐÝØ-
çÕÝÝëÙ ßÞÔåÞÔ Ú âàÐÚâÞÒÚÕ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ßàÕÔáâÐÒÛïÕâáï ÝÕãÔÞÒÛÕ-
âÒÞàØâÕÛìÝëÜ, âÐÚ ÚÐÚ ßàÞâØÒÞàÕçØâ ÚÞÝæÕßæØØ ÕÔØÝáâÒÐ äØ×ØÚØ: Ò ÛîÑÞÜ äØ×Ø-
çÕáÚÞÜ ïÒÛÕÝØØ ßàØáãâáâÒãîâ íÛÕÜÕÝâë Ø× àÐ×Ýëå �àÐ×ÔÕÛÞÒ� äØ×ØÚØ; ÝØÚÐÚØå
�çØáâÞ ÜÕåÐÝØçÕáÚØå� ïÒÛÕÝØÙ ÝÕ áãéÕáâÒãÕâ. ¸ ÕáÛØ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ
ÝÕ àÐáßàÞáâàÐÝØâì ÝÐ Òáî äØ×ØÚã, âÞ ÞÝ ÞÚÐ×ëÒÐÕâáï ÛØèÕÝÝëÜ áÞÔÕàÖÐÝØï.

ÀÐáßàÞáâàÐÝÕÝØÕ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÝÐ íÛÕÚâàÞÜÐÓÝØâÝëÕ Ø ÞßâØçÕ-
áÚØÕ ïÒÛÕÝØï ßàØÒÞÔØâ Ú ÒëÒÞÔã Þ âÞÜ, çâÞ áÚÞàÞáâì áÒÕâÐ (íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ)
Ò ÒÐÚããÜÕ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ ÞÔØÝÐÚÞÒÐ. ¾âáîÔÐ áàÐ×ã ÒØÔ-
ÝÐ ÝÕÞÑåÞÔØÜÞáâì àÐÔØÚÐÛìÝÞÓÞ ßÕàÕáÜÞâàÐ ÚÛÐááØçÕáÚØå ßàÕÔáâÐÒÛÕÝØÙ Þ ßàÞ-
áâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ, âÐÚ ÚÐÚ ÞáÝÞÒÐÝÝëÙ ÝÐ ÝØå ÚÛÐááØçÕáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐ-
ÝØï áÚÞàÞáâØ (1.2) ÝÐåÞÔØâáï Ò ßàÞâØÒÞàÕçØØ á ÝÕØ×ÜÕÝÝÞáâìî áÚÞàÞáâØ áÒÕâÐ.

²âÞàÞÙ ßÞáâãÛÐâ, ÛÞÓØçÕáÚØ áÒï×ÐÝÝëÙ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ, ãâÒÕà-
ÖÔÐÕâ, çâÞ ÛîÑëÕ Ò×ÐØÜÞÔÕÙáâÒØï ÜÕÖÔã âÕÛÐÜØ àÐáßàÞáâàÐÝïîâáï Ò ßãáâÞâÕ á
ãÝØÒÕàáÐÛìÝÞÙ ÚÞÝÕçÝÞÙ áÚÞàÞáâìî, ÝÕ ×ÐÒØáïéÕÙ Þâ ÔÒØÖÕÝØï âÕÛ Ø àÐÒÝÞÙ áÚÞ-
àÞáâØ áÒÕâÐ Ò ÒÐÚããÜÕ c = 3 · 108 Ü/á. ² áÞÞâÒÕâáâÒØØ á ßÕàÒëÜ ßÞáâãÛÐâÞÜ íâÐ
áÚÞàÞáâì ÞÔØÝÐÚÞÒÐ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ¾ÝÐ ÞßàÕÔÕÛïÕâ âÞâ
ÜØÝØÜÐÛìÝëÙ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ, ßÞ ØáâÕçÕÝØØ ÚÞâÞàÞÓÞ ÔÞ âÕÛÐ ÜÞÖÕâ ÔÞÙâØ
ßÕàÒëÙ áØÓÝÐÛ, ÔÐîéØÙ ×ÝÐâì ÞÑ Ø×ÜÕÝÕÝØØ, ÚÞâÞàÞÕ ßàÞØ×ÞèÛÞ á ÔàãÓØÜ âÕÛÞÜ.
·ÝÐçÕÝØÕ ÒâÞàÞÓÞ ßÞáâãÛÐâÐ áÒï×ÐÝÞ á âÕÜ, çâÞ Ò ÞßàÕÔÕÛÕÝØØ àÕÛïâØÒØáâáÚØå ßÞ-
ÝïâØÙ, ÞâÝÞáïéØåáï Ú ßàÞáâàÐÝáâÒã Ø ÒàÕÜÕÝØ, äãÝÔÐÜÕÝâÐÛìÝãî àÞÛì ØÓàÐÕâ ßÕ-
àÕÔÐçÐ áØÓÝÐÛÞÒ á ßàÕÔÕÛìÝÞÙ áÚÞàÞáâìî.

¿ÕàÕÔÐçÐ áØÓÝÐÛÞÒ Ò ßàØÝæØßÕ ÒÞ×ÜÞÖÝÐ ßàØ ßÞÜÞéØ ÝÕ âÞÛìÚÞ íÛÕÚâàÞÜÐÓ-
ÝØâÝëå ÒÞÛÝ (áÒÕâÐ), ÝÞ Ø ÒÞÛÝ ÔàãÓÞÙ ßàØàÞÔë. ÂÕÞàÕâØçÕáÚØ ÜëáÛØÜÞ, åÞâï Ø
ßàÐÚâØçÕáÚØ ÝÕÞáãéÕáâÒØÜÞ, ØáßÞÛì×ÞÒÐÝØÕ á íâÞÙ æÕÛìî ÓàÐÒØâÐæØÞÝÝëå ÒÞÛÝ.
² ßàØÝæØßÕ ÝÕ ØáÚÛîçÕÝÞ ÞâÚàëâØÕ ÚÐÚØå-ÛØÑÞ ÝÞÒëå ßÞÛÕÙ, áßÞáÞÑÝëå ßÕàÕÔÐ-
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ÒÐâì áØÓÝÐÛë. ¼ÞÖÝÞ, ÝÐÚÞÝÕæ, ßàÕÔáâÐÒØâì áÕÑÕ ßÕàÕÔÐçã áØÓÝÐÛÞÒ ßàØ ßÞÜÞéØ
ßàÕÔÕÛìÝÞ Ñëáâàëå çÐáâØæ. ÁÞÔÕàÖÐéØÙáï ÒÞ ÒâÞàÞÜ ßÞáâãÛÐâÕ ßàØÝæØß áãéÕ-
áâÒÞÒÐÝØï ãÝØÒÕàáÐÛìÝÞÙ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙáâÒØÙ
ãâÒÕàÖÔÐÕâ ÝÐÛØçØÕ ÞÑéÕÓÞ ßàÕÔÕÛÐ ÔÛï áÚÞàÞáâØ ßÕàÕÔÐçØ ÚÐÚØå-ÛØÑÞ ÔÕÙáâÒØÙ Ø
áØÓÝÐÛÞÒ, ÛîÑëå áØÛÞÒëå ßÞÛÕÙ ÝÕ×ÐÒØáØÜÞ Þâ Øå äØ×ØçÕáÚÞÙ ßàØàÞÔë. ¾Ý ßàØÔÐ-
Õâ áÚÞàÞáâØ áÒÕâÐ Ò ÒÐÚããÜÕ ãÝØÒÕàáÐÛìÝÞÕ ×ÝÐçÕÝØÕ, ÝÕ áÒï×ÐÝÝÞÕ á ÚÞÝÚàÕâÝëÜ
ÒØÔÞÜ ÝÞáØâÕÛï áØÓÝÐÛÐ � íÛÕÚâàÞÜÐÓÝØâÝëÜØ ÒÞÛÝÐÜØ, Ð ÞâàÐÖÐîéÕÕ ÝÕÚÞâÞàÞÕ
ÞÑéÕÕ, äãÝÔÐÜÕÝâÐÛìÝÞÕ áÒÞÙáâÒÞ ßàÞáâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ. ¾çÕÒØÔÝÞ, çâÞ ÒâÞàÞÙ
ßÞáâãÛÐâ ãâÒÕàÖÔÐÕâ âÐÚÖÕ, çâÞ ÝÕÒÞ×ÜÞÖÝÞ ÔÒØÖÕÝØÕ âÕÛ áÞ áÚÞàÞáâìî, ßàÕÒë-
èÐîéÕÙ ßàÕÔÕÛìÝãî ãÝØÒÕàáÐÛìÝãî áÚÞàÞáâì c = 3 · 108 Ü/á.

½Ð ßÕàÒëÙ Ò×ÓÛïÔ ÜÞÖÕâ ßÞÚÐ×Ðâìáï, çâÞ ãâÒÕàÖÔÐÕÜÞÕ ÒâÞàëÜ ßÞáâãÛÐâÞÜ áã-
éÕáâÒÞÒÐÝØÕ ãÝØÒÕàáÐÛìÝÞÙ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ ßàÞâØÒÞàÕçØâ ßÕàÒÞÜã ßÞáâãÛÐ-
âã Þ àÐÒÝÞßàÐÒØØ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ. ´ÕÙáâÒØâÕÛìÝÞ, áÚÞàÞáâØ Ø×ÜÕÝïîâ-
áï ßàØ ßÕàÕåÞÔÕ Ú ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ. ¿ÞíâÞÜã áÚÞàÞáâì ßÕàÕÔÐçØ Ò×ÐØÜÞÔÕÙ-
áâÒØÙ, ÚÐ×ÐÛÞáì Ñë, ÝÕ ÜÞÖÕâ ØÜÕâì ÞÔÝÞ Ø âÞ ÖÕ ×ÝÐçÕÝØÕ ÒÞ ÒáÕå áØáâÕÜÐå ÞâáçÕ-
âÐ. ¸×ÜÕÝÕÝØÕ íâÞÙ áÚÞàÞáâØ ßàØ ßÕàÕåÞÔÕ Ò ÔàãÓãî áØáâÕÜã ÞâáçÕâÐ ÝÐàãèÐÛÞ Ñë
ÔÕÚÛÐàØàãÕÜãî ßÕàÒëÜ ßÞáâãÛÐâÞÜ íÚÒØÒÐÛÕÝâÝÞáâì ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜ.
¾ÔÝÐÚÞ ÔÕÛÞ ×ÔÕáì ÝÕ Ò ÝÕáÞÒÜÕáâØÜÞáâØ ßÕàÒÞÓÞ Ø ÒâÞàÞÓÞ ßÞáâãÛÐâÞÒ ÔàãÓ á Ôàã-
ÓÞÜ, Ð Ò Øå ÝÕáÞÒÜÕáâØÜÞáâØ á ÚÛÐááØçÕáÚØÜØ ßàÕÔáâÐÒÛÕÝØïÜØ ÞÑ ÐÑáÞÛîâÝÞÜ åÐ-
àÐÚâÕàÕ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ. ¿ÞíâÞÜã ÞÑêÕÔØÝÕÝØÕ íâØå ßÞ-
áâãÛÐâÞÒ Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ßÞâàÕÑÞÒÐÛÞ ÚÞàÕÝÝÞÓÞ ßÕàÕáÜÞâàÐ ÞáÝÞÒÝëå
ÚÛÐááØçÕáÚØå ßÞÝïâØÙ, ÞâÝÞáïéØåáï Ú ßàÞáâàÐÝáâÒã Ø ÒàÕÜÕÝØ.

¾âÜÕâØÜ, çâÞ ÒâÞàÞÙ ßÞáâãÛÐâ ÝÐåÞÔØâáï Ò ßàÞâØÒÞàÕçØØ á ßàØÝïâëÜ Ò ÚÛÐááØ-
çÕáÚÞÙ ÜÕåÐÝØÚÕ áßÞáÞÑÞÜ ÞßØáÐÝØï Ò×ÐØÜÞÔÕÙáâÒØï ÜÐâÕàØÐÛìÝëå çÐáâØæ, ÚÞâÞ-
àëÙ ÝÕïÒÝÞ ÒÚÛîçÐÕâ ßàÕÔßÞÛÞÖÕÝØÕ Þ ÜÓÝÞÒÕÝÝÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙ-
áâÒØÙ. ² áÐÜÞÜ ÔÕÛÕ, Ò ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ áçØâÐÕâáï, çâÞ áØÛë, ÔÕÙáâÒãîéØÕ
ÝÐ ÚÐÖÔãî çÐáâØæã áÞ áâÞàÞÝë ÞáâÐÛìÝëå, ×ÐÒØáïâ Þâ ßÞÛÞÖÕÝØï çÐáâØæ Ò íâÞâ ÖÕ
ÜÞÜÕÝâ ÒàÕÜÕÝØ. ¸×ÜÕÝÕÝØÕ ßÞÛÞÖÕÝØï ÚÐÚÞÙ-ÛØÑÞ Ø× çÐáâØæ ÜÓÝÞÒÕÝÝÞ ÞâàÐÖÐ-
Õâáï ÝÐ ÞáâÐÛìÝëå. ¿ÞíâÞÜã ÒâÞàÞÙ ßÞáâãÛÐâ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÝÕØ×ÑÕÖÝÞ
âàÕÑãÕâ ßÕàÕáÜÞâàÐ Ø ãâÞçÝÕÝØï ×ÐÚÞÝÞÒ ÜÕåÐÝØÚØ.

¼ÕåÐÝØÚÐ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ßÕàÕåÞÔØâ Ò ÚÛÐááØçÕáÚãî ÜÕåÐÝØÚã, ÞáÝÞ-
ÒÐÝÝãî ÝÐ ÜÓÝÞÒÕÝÝÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙáâÒØÙ, Ò ßàÕÔÕÛìÝÞÜ áÛãçÐÕ,
ÚÞÓÔÐ áÚÞàÞáâØ âÕÛ ÜÐÛë ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî áÒÕâÐ c. ² íâÞÜ ÞâÝÞèÕÝØØ
ÝÞÒÐï � àÕÛïâØÒØáâáÚÐï � ÜÕåÐÝØÚÐ ãÔÞÒÛÕâÒÞàïÕâ ßàØÝæØßã áÞÞâÒÕâáâÒØï,
áÞÓÛÐáÝÞ ÚÞâÞàÞÜã ÝÞÒÐï âÕÞàØï, ßàØåÞÔïéÐï ÝÐ áÜÕÝã áâÐàÞÙ, ÔÞÛÖÝÐ áÒÞÔØâáï
Ú áâÐàÞÙ âÕÞàØØ Ò âÞÙ ÞÑÛÐáâØ ïÒÛÕÝØÙ, ÓÔÕ áâÐàÐï âÕÞàØï ÒëÔÕàÖÐÛÐ áÕàìÕ×Ýãî
ßàÞÒÕàÚã ÝÐ ÞßëâÕ. ÂÞÛìÚÞ ÑÞÛìèÞÙ ÒÕÛØçØÝÞÙ áÚÞàÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØ-
ÜÞÔÕÙáâÒØÙ ÞÑêïáÝïÕâáï âÞâ äÐÚâ, çâÞ ÔÛï ÜÐÚàÞáÚÞßØçÕáÚØå âÕÛ çÐáâÞ ÔÞáâÐâÞçÝÞ
âÞçÝÞÙ ÞÚÐ×ëÒÐÕâáï ÚÛÐááØçÕáÚÐï ÜÕåÐÝØÚÐ. ² âÞ ÒàÕÜï, ÚÞÓÔÐ áÞ×ÔÐÒÐÛÐáì âÕÞàØï
ÞâÝÞáØâÕÛìÝÞáâØ, ÕÕ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ ÜÞÖÝÞ ÑëÛÞ ÝÐÙâØ ÛØèì
Ò ØáÚÛîçØâÕÛìÝÞ âÞÝÚØå ÞßâØçÕáÚØå Ø íÛÕÚâàÞÔØÝÐÜØçÕáÚØå ÞßëâÐå. ² ÝÐáâÞïéÕÕ
ÒàÕÜï Ò ÑÞÛìèØå ãáÚÞàØâÕÛïå ×ÐàïÖÕÝÝëÕ çÐáâØæë ÝÕàÕÔÚÞ àÐ×ÓÞÝïîâáï ÔÞ áÚÞ-
àÞáâÕÙ, áÞáâÐÒÛïîéØå 99% Ø ÑÞÛÕÕ Þâ áÚÞàÞáâØ áÒÕâÐ. ´Ûï àÐáçÕâÐ âàÐÕÚâÞàØÙ
áâÞÛì Ñëáâàëå çÐáâØæ ßÞÛì×ÞÒÐâìáï ÜÕåÐÝØÚÞÙ ½ìîâÞÝÐ ãÖÕ ÝÕÛì×ï. ² íâÞÜ áÜëá-
ÛÕ ÜÞÖÝÞ áÚÐ×Ðâì, çâÞ Ò ÝÐèØ ÔÝØ âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ áâÐÛÐ ØÝÖÕÝÕàÝÞÙ ÝÐã-
ÚÞÙ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [7], áâà. 29�32, [1], áâà. 358�360.
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1.3 ÀÕÛïâØÒØáâáÚÐï ÚØÝÕÜÐâØÚÐ. ¸×ÜÕàÕÝØÕ
ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ.
ÁØÝåàÞÝØ×ÐæØï çÐáÞÒ

¿ÞáâãÛÐâë âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ âàÕÑãîâ ÒÝÕáÕÝØï àÐÔØÚÐÛìÝëå Ø×ÜÕÝÕÝØÙ Ò
ÞáÝÞÒÝëÕ äØ×ØçÕáÚØÕ ßÞÝïâØï, ÞâÝÞáïéØÕáï Ú ßàÞáâàÐÝáâÒã Ø ÒàÕÜÕÝØ. ¿àÕÖÔÕ
ÒáÕÓÞ ÝÕÞÑåÞÔØÜ ÓÛãÑÞÚØÙ ÐÝÐÛØ× ÞáÝÞÒÝëå Ø×ÜÕàØâÕÛìÝëå ÞßÕàÐæØÙ, ÞßàÕ-
ÔÕÛïîéØå ßàÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝëÕ áÞÞâÝÞèÕÝØï ÜÕÖÔã áÞÑëâØïÜØ. ·ÔÕáì Üë
ÛØèì ÚàÐâÚÞ ÞáâÐÝÞÒØÜáï ÝÐ íâÞÜ ÒÞßàÞáÕ. ¿ÞÔàÞÑÝÞÕ Ø ÞçÕÝì ïáÝÞÕ ÞÑáãÖÔÕÝØÕ
ÜÞÖÝÞ ÝÐÙâØ Ò ÚÝØÓÕ ÐÚÐÔ. ». ¸. ¼ÐÝÔÕÛìèâÐÜÐ �»ÕÚæØØ ßÞ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞ-
áâØ� [8], áâà. 164�195.

³ÛÐÒÝÞÕ Ø×ÜÕÝÕÝØÕ, ÒÝÕáÕÝÝÞÕ âÕÞàØÕÙ ÞâÝÞáØâÕÛìÝÞáâØ Ò ßÞáâÐÝÞÒÚã ÒÞßàÞáÐ
ÞÑ Ø×ÜÕàØâÕÛìÝëå ÞßÕàÐæØïå, áÞáâÞØâ Ò âÞÜ, çâÞ ÛîÑÞÕ äØ×ØçÕáÚÞÕ ßÞÝïâØÕ, ÞâÝÞ-
áïéÕÕáï Ú ßàÞáâàÐÝáâÒã Ø ÒàÕÜÕÝØ (ÝÐßàØÜÕà, ÞÔÝÞÒàÕÜÕÝÝÞáâì áÞÑëâØÙ) Ø ÛîÑÐï
Ø×ÜÕàØâÕÛìÝÐï ÞßÕàÐæØï (ÝÐßàØÜÕà, Ø×ÜÕàÕÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞï-
ÝØÙ) ÝãÖÔÐÕâáï Ò ÞßàÕÔÕÛÕÝØØ.

1.3.1 ¾ÔÝÞÒàÕÜÕÝÝÞáâì áÞÑëâØÙ Ø Ø×ÜÕàÕÝØÕ ÒàÕÜÕÝØ
¸×ÜÕàÕÝØÕ ÒàÕÜÕÝØ ÜÞÖÕâ Ñëâì, Ò ßàØÝæØßÕ, ßàÞØ×ÒÕÔÕÝÞ ßàØ ßÞÜÞéØ ÛîÑÞÓÞ ßÕ-
àØÞÔØçÕáÚÞÓÞ ßàÞæÕááÐ. ½ÐØÑÞÛìèÕÙ âÞçÝÞáâìî Ò ÝÐáâÞïéÕÕ ÒàÕÜï ÞÑÛÐÔÐîâ çÐ-
áë, ÞáÝÞÒÐÝÝëÕ ÝÐ ØáßÞÛì×ÞÒÐÝØØ áÞÑáâÒÕÝÝëå ÚÞÛÕÑÐÝØÙ ÜÞÛÕÚãÛ ÐÜÜØÐÚÐ (ÜÞ-
ÛÕÚãÛïàÝëÕ çÐáë) ØÛØ ÐâÞÜÞÒ æÕ×Øï (ÐâÞÜÝëÕ çÐáë). ¸×ÜÕàÕÝØÕ ÒàÕÜÕÝØ, ÞáÝÞ-
ÒÐÝÝÞÕ ÝÐ ÒÝãâàØÜÞÛÕÚãÛïàÝëå ØÛØ ÐâÞÜÝëå ßàÞæÕááÐå, ÞáÞÑÕÝÝÞ ãÔÞÑÝÞ âÕÜ, çâÞ
×ÔÕáì ßàØàÞÔÐ ßàÕÔÞáâÐÒØÛÐ ÝÐÜ, Ò áØÛã âÞÖÔÕáâÒÕÝÝÞáâØ ÐâÞÜÞÒ ÞÔÝÞÓÞ Ø âÞÓÞ ÖÕ
Ø×ÞâÞßÐ, ÒÞ×ÜÞÖÝÞáâì ØÜÕâì ÝÐÑÞà áÞÒÕàèÕÝÝÞ ØÔÕÝâØçÝëå çÐáÞÒ.

¸×ÜÕàÕÝØÕ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ Þ×ÝÐçÐÕâ áàÐÒÝÕÝØÕ ÜÕÖ-
Ôã áÞÑÞÙ ßÞÚÐ×ÐÝØÙ ÒëÑàÐÝÝëå Ò ÚÐçÕáâÒÕ íâÐÛÞÝÐ çÐáÞÒ Ò ÜÞÜÕÝâë ÝÐáâãßÛÕÝØï
íâØå áÞÑëâØÙ. ´Ûï íâÞÓÞ ßàÕÖÔÕ ÒáÕÓÞ ÝãÖÝÞ ãáâÐÝÞÒØâì ÞÔÝÞÒàÕÜÕÝÝÞáâì àÐá-
áÜÐâàØÒÐÕÜÞÓÞ áÞÑëâØï á ÔàãÓØÜ áÞÑëâØÕÜ � ßàÞåÞÖÔÕÝØÕÜ áâàÕÛÚØ çÐáÞÒ çÕàÕ×
ÞßàÕÔÕÛÕÝÝÞÕ ÔÕÛÕÝØÕ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÒáÕ ÝÐèØ áãÖÔÕÝØï, Ò ÚÞâÞàëå ÒàÕÜï ØÓàÐÕâ
ÚÐÚãî-ÛØÑÞ àÞÛì, ßÞ áãâØ ÔÕÛÐ ÒáÕÓÔÐ Õáâì áãÖÔÕÝØï ÞÑ ÞÔÝÞÒàÕÜÕÝÝëå áÞÑëâØïå.

½Þ çâÞ ×ÝÐçØâ, çâÞ ÔÒÐ áÞÑëâØï ÞÔÝÞÒàÕÜÕÝÝë? ¿ÞÝïâØÕ ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞ-
ÑëâØÙ, ßàÞØáåÞÔïéØå Ò ÞÔÝÞÜ Ø âÞÜ ÖÕ ÜÕáâÕ, �àïÔÞÜ�, ßÞ-ÒØÔØÜÞÜã ÝÕ ÝãÖÔÐÕâáï
Ò ÞßàÕÔÕÛÕÝØØ. ¿ÞíâÞÜã ÔÛï Ø×ÜÕàÕÝØï ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ ÜÕÖÔã ÔÒãÜï áÞÑëâØ-
ïÜØ, ßàÞØáåÞÔïéØÜØ Ò ÞÔÝÞÜ ÜÕáâÕ, ÔÞáâÐâÞçÝÞ ØÜÕâì Ò íâÞÜ ÖÕ ÜÕáâÕ çÐáë. ½Þ ÚÐÚ
Ñëâì á ãÔÐÛÕÝÝëÜØ áÞÑëâØïÜØ, ßàÞØáåÞÔïéØÜØ Ò àÐ×Ýëå ÜÕáâÐå? ´Ûï Ø×ÜÕàÕÝØï
ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ ÜÕÖÔã âÐÚØÜØ áÞÑëâØïÜØ ÝãÖÝÞ ØÜÕâì Ò âÕå âÞçÚÐå, ÓÔÕ ÞÝØ
ßàÞØáåÞÔïâ, áØÝåàÞÝÝÞ ØÔãéØÕ ØÔÕÝâØçÝëÕ çÐáë.

ºÐÚ ã×ÝÐâì, çâÞ ÝÐåÞÔïéØÕáï Ò àÐ×Ýëå âÞçÚÐå A Ø B çÐáë ØÔãâ áØÝåàÞÝÝÞ, ØÛØ,
çâÞ âÞ ÖÕ áÐÜÞÕ, çâÞ ÔÒÐ ÞßàÕÔÕÛÕÝÝëå áÞÑëâØï Ò âÞçÚÐå A Ø B ßàÞØáåÞÔïâ ÞÔÝÞ-
ÒàÕÜÕÝÝÞ? �Ã×ÝÐâì� íâÞ ÝÕÛì×ï, ÝãÖÝÞ áÝÐçÐÛÐ ÔÐâì ÞßàÕÔÕÛÕÝØÕ, çâÞ âÐÚÞÕ ÞÔ-
ÝÞÒàÕÜÕÝÝÞáâì ÔÛï áÞÑëâØÙ, ßàÞØáåÞÔïéØå Ò ßàÞáâàÐÝáâÒÕÝÝÞ ãÔÐÛÕÝÝëå âÞçÚÐå.
±Õ× âÐÚÞÓÞ ÞßàÕÔÕÛÕÝØï ÝÕÒÞ×ÜÞÖÝÞ áàÐÒÝØÒÐâì ßÞ ÒàÕÜÕÝØ áÞÑëâØï, ßàÞØáåÞÔï-
éØÕ Ò àÐ×ÛØçÝëå âÞçÚÐå.
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ÍÙÝèâÕÙÝÞÒáÚÞÕ ÞßàÕÔÕÛÕÝØÕ ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ ÞáÝÞÒÐÝÞ ÝÐ ÝÕ×ÐÒØ-
áØÜÞáâØ áÚÞàÞáâØ áØÓÝÐÛÐ Þâ ÝÐßàÐÒÛÕÝØï. ¿ãáâì Ø× âÞçÚØ A Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t1
ßÞ çÐáÐÜ Ò A ÞâßàÐÒÛïÕâáï áØÓÝÐÛ (àØá. 1.2). ¿ãáâì ÜÞÜÕÝâ ßàØåÞÔÐ áØÓÝÐÛÐ Ò âÞç-
Úã B Ø ÕÓÞ ÞâàÐÖÕÝØï ÝÐ×ÐÔ Õáâì t′ ßÞ çÐáÐÜ Ò âÞçÚÕ B. ½ÐÚÞÝÕæ, ßãáâì ÞâàÐÖÕÝÝëÙ
áØÓÝÐÛ ßàØåÞÔØâ Ò âÞçÚã A Ò ÜÞÜÕÝâ t2 ßÞ çÐáÐÜ Ò A. ÂÞÓÔÐ ßÞ ÞßàÕÔÕÛÕÝØî çÐáë
Ò âÞçÚÐå A Ø B ØÔãâ áØÝåàÞÝÝÞ, ÕáÛØ t′ = 1

2
(t1 + t2).

A B

t t'
t t' =  t + t

1tt

12 2
( )
1

2

ÀØá. 1.2: º ÞßàÕÔÕÛÕÝØî ßÞÝïâØï ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ

¿ÞÔçÕàÚÝÕÜ, çâÞ Ò ÝÕàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ ßàØÝØÜÐÛÞáì ÚÐÚ ÝÕçâÞ áÐÜÞ áÞ-
ÑÞÙ àÐ×ãÜÕîéÕÕáï áãéÕáâÒÞÒÐÝØÕ ÕÔØÝÞÓÞ ÜØàÞÒÞÓÞ ÒàÕÜÕÝØ, ÝÕ ×ÐÒØáïéÕÓÞ Þâ
áØáâÕÜë ÞâáçÕâÐ, Ø ßÞâÞÜã ÝÕïÒÝÞ ÔÞßãáÚÐÛÞáì, çâÞ ßÞÝïâØÕ ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞ-
ÑëâØÙ, ßàÞØáåÞÔïéØå Ò àÐ×Ýëå âÞçÚÐå ßàÞáâàÐÝáâÒÐ, ÝÕ ÝãÖÔÐÕâáï Ò ÞßàÕÔÕÛÕÝØØ,
Ø ÛîÑÞÙ áßÞáÞÑ áØÝåàÞÝØ×ÐæØØ çÐáÞÒ (ßãâÕÜ áÒÕâÞÒëå áØÓÝÐÛÞÒ ØÛØ ßãâÕÜ ßÕàÕ-
ÒÞ×ÚØ åàÞÝÞÜÕâàÞÒ) ÔÞÛÖÕÝ ÔÐâì ÞÔÝÞ Ø âÞ ÖÕ. ¼ë ãÒØÔØÜ, çâÞ ÝÐ áÐÜÞÜ ÔÕÛÕ íâÞ
ÝÕ âÐÚ. µáÛØ çÐáë Ò âÞçÚÐå A Ø B áØÝåàÞÝØ×ØàÞÒÐÝë ßãâÕÜ áÒÕâÞÒëå áØÓÝÐÛÞÒ, ÚÐÚ
ÑëÛÞ ÞßØáÐÝÞ ÒëèÕ, Ø åàÞÝÞÜÕâà, áÒÕàÕÝÝëÙ á çÐáÐÜØ Ò A, ßÕàÕÒÞ×Øâáï Ò âÞçÚã
B, âÞ ÕÓÞ ßÞÚÐ×ÐÝØï, ÒÞÞÑéÕ ÓÞÒÞàï, ÝÕ áÞÒßÐÔãâ á ßÞÚÐ×ÐÝØïÜØ ÝÐåÞÔïéØåáï âÐÜ
çÐáÞÒ, Ð ÑãÔãâ ×ÐÒØáÕâì Þâ áÚÞàÞáâØ ßÕàÕÒÞ×ÚØ. ÁÞÒßÐÔÕÝØÕ ÑãÔÕâ ÛØèì ßàØ ÑÕáÚÞ-
ÝÕçÝÞ ÜÐÛÞÙ áÚÞàÞáâØ ßÕàÕÒÞ×ÚØ åàÞÝÞÜÕâàÐ.

²ÒÞÔØÜÐï ßÞ ÞßàÕÔÕÛÕÝØî ßàÞæÕÔãàÐ áØÝåàÞÝØ×ÐæØØ çÐáÞÒ ÔÞÛÖÝÐ ãÔÞÒÛÕâÒÞ-
àïâì àïÔã âàÕÑÞÒÐÝØÙ, Ò çÐáâÝÞáâØ, ÔÞÛÖÝÞ ÒëßÞÛÝïâìáï áÒÞÙáâÒÞ âàÐÝ×ØâØÒÝÞáâØ:
ÕáÛØ ÒëßÞÛÝÕÝÐ áØÝåàÞÝØ×ÐæØï çÐáÞÒ, ÝÐåÞÔïéØåáï Ò âÞçÚÐå A Ø B, Ø âÐÚÖÕ çÐáÞÒ
Ò âÞçÚÐå A Ø C, âÞ çÐáë Ò âÞçÚÐå B Ø C ÐÒâÞÜÐâØçÕáÚØ ÔÞÛÖÝë ÞÚÐ×Ðâìáï áØÝåàÞ-
ÝØ×ØàÞÒÐÝÝëÜØ ÜÕÖÔã áÞÑÞÙ.

1.3.2 ¸×ÜÕàÕÝØÕ ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ
ºÐÚ Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ÒÒÕáâØ ßàÞæÕÔãàã Ø×ÜÕàÕÝØï àÐááâÞïÝØÙ ÜÕÖÔã âÞç-
ÚÐÜØ ßàÞáâàÐÝáâÒÐ? Á âÞçÚØ ×àÕÝØï àÕÛïâØÒØáâáÚØå ßÞáâãÛÐâÞÒ ÞßÕàÐæØî Ø×ÜÕàÕ-
ÝØï àÐááâÞïÝØÙ àÐ×ãÜÝÞ ßÞ ÞßàÕÔÕÛÕÝØî ÒëÑàÐâì ÝÐ ÞáÝÞÒÕ �àÐÔØÞÛÞÚÐæØÞÝÝÞÓÞ�
áßÞáÞÑÐ: Ø× ÝÕÚÞâÞàÞÓÞ ßãÝÚâÐ ßÞáëÛÐîâáï áÒÕâÞÒëÕ ØÛØ àÐÔØÞáØÓÝÐÛë, ÚÞâÞàëÕ
ßÞáÛÕ ÞâàÐÖÕÝØï Þâ ÝÐÑÛîÔÐÕÜÞÓÞ ßàÕÔÜÕâÐ ÒÞ×ÒàÐéÐîâáï Ò âÞçÚã ÞâßàÐÒÛÕÝØï.
¿àØ íâÞÜ Ø×ÜÕàïÕâáï ÒàÕÜï ßàÞåÞÖÔÕÝØï áØÓÝÐÛÐ âãÔÐ Ø ÞÑàÐâÝÞ ßÞ çÐáÐÜ, áÒï×ÐÝ-
ÝëÜ á àÐÔØÞÛÞÚÐâÞàÞÜ. ÀÐááâÞïÝØÕ l ÔÞ ßàÕÔÜÕâÐ ßÞÛãçÐîâ, ãÜÝÞÖÐï ÞÔØÝÐÚÞÒãî
ßÞ ÒáÕÜ ÝÐßàÐÒÛÕÝØïÜ (ãÝØÒÕàáÐÛìÝãî) áÚÞàÞáâì c ÝÐ ßÞÛÞÒØÝã ÒàÕÜÕÝØ ßàÞåÞ-
ÖÔÕÝØï áØÓÝÐÛÐ âãÔÐ Ø ÞÑàÐâÝÞ: l = 1

2
c (t2 − t1).

µáÛØ àÕçì ØÔÕâ ÞÑ Ø×ÜÕàÕÝØØ àÐááâÞïÝØï ÔÞ ÔÒØÖãéÕÓÞáï ÞâÝÞáØâÕÛìÝÞ àÐÔØÞ-
ÛÞÚÐâÞàÐ ÞÑêÕÚâÐ, â. Õ. Ø×ÜÕàïÕÜÞÕ àÐááâÞïÝØÕ l(t) Ø×ÜÕÝïÕâáï áÞ ÒàÕÜÕÝÕÜ, âÞ ÒÞ×-
ÝØÚÐÕâ ÒÞßàÞá: Ú ÚÐÚÞÜã ÜÞÜÕÝâã ÒàÕÜÕÝØ ÞâÝÞáØâáï ßÞÛãçÕÝÝÞÕ àÐÔØÞÛÞÚÐæØÞÝ-
ÝëÜ ÜÕâÞÔÞÜ ×ÝÐçÕÝØÕ àÐááâÞïÝØï? ·ÔÕáì, âÐÚ ÖÕ ÚÐÚ Ø Ò ÒÞßàÞáÕ áØÝåàÞÝØ×ÐæØØ
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ÝÕßÞÔÒØÖÝëå çÐáÞÒ, áÛÕÔãÕâ ßàØÝïâì, çâÞ Ø×ÜÕàÕÝÝëÕ ×ÝÐçÕÝØï ÚÞÞàÔØÝÐâ Ø àÐá-
áâÞïÝØï l = 1

2
c (t2 − t1) ÞâÝÞáïâáï Ú ÜÞÜÕÝâã ÒàÕÜÕÝØ t = 1

2
(t1 + t2) ßÞ çÐáÐÜ

àÐÔØÞÛÞÚÐâÞàÐ, ÓÔÕ t1 Õáâì ÜÞÜÕÝâ ÞâßàÐÒÛÕÝØï áØÓÝÐÛÐ, t2 � ÜÞÜÕÝâ ÒÞ×ÒàÐéÕ-
ÝØï ÞâàÐÖÕÝÝÞÓÞ áØÓÝÐÛÐ. ÍâÞ ÞßàÕÔÕÛÕÝØÕ âÐÚÖÕ ÞáÝÞÒëÒÐÕâáï ÝÐ ÝÕ×ÐÒØáØÜÞáâØ
áÚÞàÞáâØ áØÓÝÐÛÐ Þâ ÝÐßàÐÒÛÕÝØï.

² ßàØÝæØßØÐÛìÝÞÜ ÞâÝÞèÕÝØØ âÐÚÞÙ áßÞáÞÑ ÒÐÖÕÝ ßÞâÞÜã, çâÞ Ò ÝÕÜ Ø×ÜÕàÕÝØÕ
àÐááâÞïÝØÙ áÒÞÔØâáï Ú Ø×ÜÕàÕÝØî ÒàÕÜÕÝØ, Ø ÞâßÐÔÐÕâ ÝÕÞÑåÞÔØÜÞáâì Ò ÞâÔÕÛìÝÞÜ
íâÐÛÞÝÕ ÔÛØÝë. ½Ð íâÞÙ ÞáÝÞÒÕ Ò ÜÕâàÞÛÞÓØØ Ò ÚÞÝæÕ 1980-å ÓÞÔÞÒ ßÕàÕèÛØ Þâ áã-
éÕáâÒÞÒÐÒèØå àÐÝÕÕ ÝÕ×ÐÒØáØÜëå íâÐÛÞÝÞÒ ÔÛØÝë Ø ÒàÕÜÕÝØ Ú ÕÔØÝÞÜã íâÐÛÞÝã.
¿àØ ßÕàÕåÞÔÕ Ú ÕÔØÝÞÜã íâÐÛÞÝã ÔÛØÝë Ø ÒàÕÜÕÝØ ØÝâÕàäÕàÕÝæØÞÝÝëÕ ÜÕâÞÔë Ø×-
ÜÕàÕÝØï àÐááâÞïÝØÙ, ØáßÞÛì×ãÕÜëÕ Ò ÜÕâàÞÛÞÓØØ, ßàØÝæØßØÐÛìÝÞ ßÕàÕáâÐÛØ ÞâÛØ-
çÐâìáï Þâ ÞßØáÐÝÝÞÓÞ ÒëèÕ �àÐÔØÞÛÞÚÐæØÞÝÝÞÓÞ� ÜÕâÞÔÐ. ´ÛØÝÐ ÒÞÛÝë Ø×ÛãçÕÝØï
íâÐÛÞÝÝÞÓÞ ØáâÞçÝØÚÐ ÛÕÖØâ Ò ÞáÝÞÒÕ ÕÔØÝØæë ÔÛØÝë, Ð ÕÓÞ çÐáâÞâÐ (ßÕàØÞÔ) �
Ò ÞáÝÞÒÕ ÞßàÕÔÕÛÕÝØï ÕÔØÝØæë ÒàÕÜÕÝØ. ¿ÞÔçÕàÚÝÕÜ, çâÞ ßàØ ßÕàÕåÞÔÕ Ú ÕÔØÝÞÜã
íâÐÛÞÝã çØáÛÞÒÞÕ ×ÝÐçÕÝØÕ áÚÞàÞáâØ áÒÕâÐ c ßÞÛãçÐÕâáï ÝÕ ÚÐÚ àÕ×ãÛìâÐâ Ø×ÜÕàÕ-
ÝØÙ (ÝÕØ×ÑÕÖÝÞ áÞÔÕàÖÐéØÙ ÝÕÚÞâÞàãî ßÞÓàÕèÝÞáâì), Ð ÒÒÞÔØâáï ßÞ ÞßàÕÔÕÛÕ-
ÝØî (â. Õ. âÞçÝÞ) ÝÐ ÞáÝÞÒÕ ÜÕÖÔãÝÐàÞÔÝÞÓÞ áÞÓÛÐèÕÝØï. ÀÐ×ãÜÕÕâáï, íâÞ ×ÝÐçÕ-
ÝØÕ ÒëÑàÐÝÞ âÐÚ, çâÞÑë ÞÑÕáßÕçØÒÐÛÐáì ßàÕÕÜáâÒÕÝÝÞáâì á ßàÕÖÝØÜØ íâÐÛÞÝÐÜØ
ÔÛØÝë Ø ÒàÕÜÕÝØ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [8], áâà. 164�195.

1.4 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ
Ø àÐááâÞïÝØÙ

´Þ áØå ßÞà ÒáÕ àÐááãÖÔÕÝØï, ÚÐáÐîéØÕáï ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ, Ø×ÜÕàÕÝØï
ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ, ÞâÝÞáØÛØáì Ú ÚÐÚÞÙ-ÛØÑÞ ÞÔÝÞÙ ØÝÕàæØÐÛì-
ÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ. ´ÐÛÕÕ áÞÑëâØï, ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ Ø àÐááâÞïÝØï ÑãÔãâ àÐá-
áÜÞâàÕÝë á âÞçÚØ ×àÕÝØï àÐ×Ýëå áØáâÕÜ ÞâáçÕâÐ.

1.4.1 ¾âÝÞáØâÕÛìÝÞáâì ÞÔÝÞÒàÕÜÕÝÝÞáâØ
² ÝÕàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ ßÞÝïâØÕ ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ, Ò áÞÞâÒÕâáâÒØØ á
ÚÛÐááØçÕáÚØÜØ ßàÕÔáâÐÒÛÕÝØïÜØ Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ, ßàÕÔßÞÛÐÓÐÛÞáì ÐÑ-
áÞÛîâÝëÜ, ÝÕ ×ÐÒØáïéØÜ Þâ áØáâÕÜë ÞâáçÕâÐ: ÕáÛØ ÔÒÐ áÞÑëâØï ßàÞØáåÞÔïâ ÞÔ-
ÝÞÒàÕÜÕÝÝÞ ÔÛï ÚÐÚÞÓÞ-ÝØÑãÔì ÝÐÑÛîÔÐâÕÛï, âÞ ÞÝØ ÑãÔãâ ÞÔÝÞÒàÕÜÕÝÝëÜØ Ø ÔÛï
ÛîÑÞÓÞ ÔàãÓÞÓÞ. ¾ÔÝÐÚÞ íâÞ ãâÒÕàÖÔÕÝØÕ ÞÑ ÐÑáÞÛîâÝÞÜ åÐàÐÚâÕàÕ ÞÔÝÞÒàÕÜÕÝÝÞ-
áâØ ÞáÝÞÒÐÝÞ ÝÐ ßàÕÔßÞÛÞÖÕÝØØ Þ áãéÕáâÒÞÒÐÝØØ áØÓÝÐÛÞÒ, àÐáßàÞáâàÐÝïîéØåáï
ÜÓÝÞÒÕÝÝÞ, á ÑÕáÚÞÝÕçÝÞ ÑÞÛìèÞÙ áÚÞàÞáâìî.

²âÞàÞÙ ßÞáâãÛÐâ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ, ãâÒÕàÖÔÐîéØÙ áãéÕáâÒÞÒÐÝØÕ ÚÞ-
ÝÕçÝÞÙ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ áØÓÝÐÛÞÒ, ßàØÒÞÔØâ Ú âÞÜã, çâÞ Ò àÕÛïâØÒØáâáÚÞÙ ÚØ-
ÝÕÜÐâØÚÕ ßÞÝïâØÕ ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ ßàØÝØÜÐÕâ ÞâÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà.
ÃâÒÕàÖÔÕÝØÕ, çâÞ ÔÒÐ ßàÞáâàÐÝáâÒÕÝÝÞ ãÔÐÛÕÝÝëå áÞÑëâØï ßàÞØáåÞÔïâ ÞÔÝÞÒàÕ-
ÜÕÝÝÞ, ØÜÕÕâ áÜëáÛ âÞÛìÚÞ âÞÓÔÐ, ÚÞÓÔÐ ãÚÐ×ÐÝÞ, Ú ÚÐÚÞÙ áØáâÕÜÕ ÞâáçÕâÐ íâÞ ãâÒÕà-
ÖÔÕÝØÕ ÞâÝÞáØâáï.
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² âÞÜ, çâÞ ÞÔÝÞÒàÕÜÕÝÝëÕ Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ ßàÞáâàÐÝáâÒÕÝÝÞ ãÔÐ-
ÛÕÝÝëÕ áÞÑëâØï ãÖÕ ÝÕ ïÒÛïîâáï ÞÔÝÞÒàÕÜÕÝÝëÜØ á âÞçÚØ ×àÕÝØï ÔàãÓÞÙ áØáâÕÜë
ÞâáçÕâÐ, ÜÞÖÝÞ ãÑÕÔØâìáï á ßÞÜÞéìî áÛÕÔãîéÕÓÞ ÜëáÛÕÝÝÞÓÞ íÚáßÕàØÜÕÝâÐ.

y y'

z z'

x x'
O O'

K K'

*

AB C

ÀØá. 1.3: ¾âÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ

ÀÐááÜÞâàØÜ Þßïâì ÔÒÕ ØÝÕàæØÐÛìÝëÕ áØáâÕÜë ÞâáçÕâÐ K Ø K ′, ßàØçÕÜ K ′ ÔÒØ-
ÖÕâáï ÞâÝÞáØâÕÛìÝÞ K Ò ßÞÛÞÖØâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox. ¿ãáâì Ø× ÝÕÚÞâÞàÞÙ
âÞçÚØ A ÝÐ ÞáØ Ox′ ÞÔÝÞÒàÕÜÕÝÝÞ ÞâßàÐÒÛïîâáï áØÓÝÐÛë ÒÞ Ò×ÐØÜÝÞ ßàÞâØÒÞßÞ-
ÛÞÖÝëå ÝÐßàÐÒÛÕÝØïå (àØá. 1.3). ÀÐááÜÞâàØÜ á âÞçÚØ ×àÕÝØï áØáâÕÜë K ′ ßàØåÞÔ
íâØå áØÓÝÐÛÞÒ Ò âÞçÚØ B Ø C áØáâÕÜë K ′, àÐÒÝÞãÔÐÛÕÝÝëÕ Þâ âÞçÚØ A (ÜÞÖÝÞ áçØ-
âÐâì, çâÞ Ò íâØå âÞçÚÐå áØáâÕÜë K ′ ÝÐåÞÔïâáï ßàØÕÜÝØÚØ áØÓÝÐÛÞÒ). ¾çÕÒØÔÝÞ, çâÞ
áØÓÝÐÛë ÔÞáâØÓÝãâ âÞçÕÚ B Ø C ÞÔÝÞÒàÕÜÕÝÝÞ ßÞ çÐáÐÜ áØáâÕÜë K ′, âÐÚ ÚÐÚ ßàÕ-
ÞÔÞÛÕÒÐîâ ÝÐ ßãâØ Ú B Ø C ÞÔØÝÐÚÞÒëÕ àÐááâÞïÝØï. »ÕÓÚÞ ÒØÔÕâì, ÞÔÝÐÚÞ, çâÞ íâØ
ÖÕ ÔÒÐ áÞÑëâØï, Ð ØÜÕÝÝÞ ÔÞáâØÖÕÝØÕ áØÓÝÐÛÐÜØ ßàØÕÜÝØÚÞÒ Ò âÞçÚÐå B Ø C, ÞÔÝÞ-
ÒàÕÜÕÝÝëÕ Ò K ′, ÞâÝîÔì ÝÕ ÑãÔãâ ÞÔÝÞÒàÕÜÕÝÝëÜØ ÔÛï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ K.
² áÐÜÞÜ ÔÕÛÕ, áÞÓÛÐáÝÞ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, áÚÞàÞáâì áØÓÝÐÛÞÒ Ò K âÐÚÖÕ
ÝÕ ×ÐÒØáØâ Þâ ÝÐßàÐÒÛÕÝØï, ÝÞ âÞçÚÐ B ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ K ÒßàÐÒÞ, ÝÐÒáâàÕ-
çã ßÞáÛÐÝÝÞÜã Ò ÝÕÕ áØÓÝÐÛã, Ð âÞçÚÐ C ÔÒØÖÕâáï ßÞ ÝÐßàÐÒÛÕÝØî Þâ ßÞáÛÐÝÝÞÓÞ
Ò ÝÕÕ áØÓÝÐÛÐ. ¿ÞíâÞÜã á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ K áØÓÝÐÛã, àÐáßàÞ-
áâàÐÝïîéÕÜãáï á ÞÔÝÞÙ Ø âÞÙ ÖÕ ÚÞÝÕçÝÞÙ áÚÞàÞáâìî, ßàØåÞÔØâáï ÝÐ ßãâØ Ò B ßàÕ-
ÞÔÞÛÕÒÐâì ÜÕÝìèÕÕ àÐááâÞïÝØÕ, ÝÕÖÕÛØ ÝÐ ßãâØ Ò C. ÁÛÕÔÞÒÐâÕÛìÝÞ, Ò áØáâÕÜÕ K
áØÓÝÐÛ Ò âÞçÚã B ßàØåÞÔØâ àÐÝìèÕ, çÕÜ Ò C. ÍâØ áÞÑëâØï, ÑãÔãçØ ÞÔÝÞÒàÕÜÕÝÝëÜØ
Ò K ′, ÝÕ ÞÔÝÞÒàÕÜÕÝÝë Ò K, çâÞ áÒØÔÕâÕÛìáâÒãÕâ ÞÑ ÞâÝÞáØâÕÛìÝÞÜ åÐàÐÚâÕàÕ
ßÞÝïâØï ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ.

1.4.2 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ
¿ãáâì ÔÒÐ áÞÑëâØï ßàÞØáåÞÔïâ á âÞçÚØ ×àÕÝØï ÝÕÚÞâÞàÞÙ áØáâÕÜë ÞâáçÕâÐ, áÚÐÖÕÜ,
áØáâÕÜë K ′, Ò ÞÔÝÞÜ Ø âÞÜ ÖÕ ÜÕáâÕ, Ø ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÝØÜØ àÐÒÕÝ τ0 ßÞ
çÐáÐÜ áØáâÕÜë ÞâáçÕâÐ K ′. ÍâÞâ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0 ÝÐ×ëÒÐÕâáï áÞÑáâÒÕÝÝëÜ
ÒàÕÜÕÝÕÜ ÜÕÖÔã ÔÐÝÝëÜØ áÞÑëâØïÜØ.1 ¿ÞáâÐÒØÜ ÒÞßàÞá: ÚÐÚØÜ ÑãÔÕâ ßàÞÜÕÖãâÞÚ
ÒàÕÜÕÝØ ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ, ÕáÛØ ÕÓÞ Ø×ÜÕàïâì Ò áØáâÕÜÕ ÞâáçÕâÐ K, Þâ-
ÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ K ′ ÔÒØÖÕâáï áÞ áÚÞàÞáâìî v?

1² ÞÑéÕÜ áÛãçÐÕ áÞÑáâÒÕÝÝëÜ ÒàÕÜÕÝÕÜ ÔÛï ÝÕÚÞâÞàÞÙ ßÐàë áÞÑëâØÙ ÑãÔÕÜ ÝÐ×ëÒÐâì ßàÞÜÕ-
ÖãâÞÚ ÒàÕÜÕÝØ, Ø×ÜÕàÕÝÝëÙ Ò âÞÙ áØáâÕÜÕ ÞâáçÕâÐ, ÓÔÕ íâØ áÞÑëâØï ßàÞØáåÞÔïâ Ò ÞÔÝÞÜ ÜÕáâÕ. ¾â-
ÜÕâØÜ, çâÞ ÝÕ ÔÛï ÛîÑÞÙ ßÐàë áÞÑëâØÙ ÜÞÖÝÞ ÝÐÙâØ âÐÚãî áØáâÕÜã ÞâáçÕâÐ.
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¾âÜÕâØÜ, çâÞ áÞÑáâÒÕÝÝëÙ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0 Ø×ÜÕàïÕâáï ßÞ ÞÔÝØÜ Ø âÕÜ
ÖÕ çÐáÐÜ (Ò áØáâÕÜÕ K ′ ÞÑÐ áÞÑëâØï ßàÞØáåÞÔïâ Ò ÞÔÝÞÙ Ø âÞÜ ÖÕ ÜÕáâÕ), ÝÞ Ò áØ-
áâÕÜÕ K íâØ áÞÑëâØï ßàÞØáåÞÔïâ Ò àÐ×Ýëå ÜÕáâÐå, Ø ÔÛï Ø×ÜÕàÕÝØï ßàÞÜÕÖãâÚÐ
ÒàÕÜÕÝØ ÜÕÖÔã ÝØÜØ Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÝÕÞÑåÞÔØÜÞ ßÞÛì×ÞÒÐâìáï ßÞÚÐ×ÐÝØ-
ïÜØ àÐ×Ýëå çÐáÞÒ, ÝÐåÞÔïéØåáï Ò âÕå âÞçÚÐå, ÓÔÕ ßàÞØáåÞÔïâ íâØ áÞÑëâØï (çÐáë,
àÐ×ãÜÕÕâáï, ÔÞÛÖÝë Ñëâì ßàÕÔÒÐàØâÕÛìÝÞ áØÝåàÞÝØ×ØàÞÒÐÝë).

y y'

z z'

x x'
O O'

K K'

l

vτ1

2

ÀØá. 1.4: º ÒëÒÞÔã ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ

¾âÒÕâ ÝÐ ßÞáâÐÒÛÕÝÝëÙ ÒëèÕ ÒÞßàÞá Þ ßàÕÞÑàÐ×ÞÒÐÝØØ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ
ÜÞÖÝÞ ßÞÛãçØâì, ØáåÞÔï ÝÕßÞáàÕÔáâÒÕÝÝÞ Ø× ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.
ÀÐááÜÞâàØÜ áÛÕÔãîéØÙ ÜëáÛÕÝÝëÙ Þßëâ áÞ �áÒÕâÞÒëÜØ çÐáÐÜØ�, ãáâàÞÕÝÝëÜØ
áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ (àØá. 1.4). ½Ð ÚÞÝæÐå áâÕàÖÝï ÔÛØÝÞÙ l ×ÐÚàÕßÛÕÝë ÔÒÐ ßÐàÐÛ-
ÛÕÛìÝëå ×ÕàÚÐÛÐ. ¼ÕÖÔã ×ÕàÚÐÛÐÜØ ÔÒØÖÕâáï ÚÞàÞâÚØÙ áÒÕâÞÒÞÙ ØÜßãÛìá, ßÞÞçÕ-
àÕÔÝÞ ÞâàÐÖÐïáì Þâ ÚÐÖÔÞÓÞ Ø× ×ÕàÚÐÛ. ¿ãáâì íâÞâ ßàØÑÞà ÝÕßÞÔÒØÖÕÝ Ò áØáâÕÜÕ
K ′, Ð ÕÓÞ áâÕàÖÕÝì àÐáßÞÛÞÖÕÝ ßÕàßÕÝÔØÚãÛïàÝÞ áÚÞàÞáâØ ~v áØáâÕÜë K ′ ÞâÝÞáØ-
âÕÛìÝÞ K. ÀÐááÜÞâàØÜ ÞÔØÝ æØÚÛ âÐÚØå çÐáÞÒ, â. Õ. ÒëåÞÔ áÒÕâÞÒÞÓÞ ØÜßãÛìáÐ Þâ
ÝØÖÝÕÓÞ ×ÕàÚÐÛÐ Ø ÕÓÞ ÒÞ×ÒàÐéÕÝØÕ ßÞáÛÕ ÞâàÐÖÕÝØï Þâ ÒÕàåÝÕÓÞ ×ÕàÚÐÛÐ, á âÞç-
ÚØ ×àÕÝØï ÚÐÖÔÞÙ Ø× áØáâÕÜ ÞâáçÕâÐ. ² áØáâÕÜÕ K ′ ÞÑÐ àÐááÜÐâàØÒÐÕÜëÕ áÞÑëâØï
ßàÞØáåÞÔïâ Ò ÞÔÝÞÙ Ø âÞÜ ÖÕ ÜÕáâÕ, ßÞíâÞÜã ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÝØÜØ Ò K ′

àÐÒÕÝ áÞÑáâÒÕÝÝÞÜã ÒàÕÜÕÝØ τ0. ÂÐÚ ÚÐÚ áÚÞàÞáâì áØÓÝÐÛÐ àÐÒÝÐ c, âÞ τ0 = 2l/c. Á
âÞçÚØ ×àÕÝØï áØáâÕÜë K çÐáë ÝÐåÞÔïâáï Ò ÔÒØÖÕÝØØ, Ø áÒÕâÞÒÞÙ ØÜßãÛìá ÔÒØÖÕâáï
ÜÕÖÔã ×ÕàÚÐÛÐÜØ ×ØÓ×ÐÓÞÞÑàÐ×ÝÞ (áÜ. àØá. 1.4). ÁÒÕâ ßàØ íâÞÜ ßàÞåÞÔØâ ÑÞÛìèØÙ
ßãâì ×Ð ÞÔØÝ æØÚÛ, Ø, áÛÕÔÞÒÐâÕÛìÝÞ, ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ ÜÕÖÔã âÕÜØ ÖÕ áÞÑë-
âØïÜØ, Ø×ÜÕàÕÝÝëÙ Ò áØáâÕÜÕ K, ÑÞÛìèÕ, çÕÜ Ò K ′: τ > τ0. ² íâÞÜ àÐááãÖÔÕÝØØ
Üë ÞßØàÐÕÜáï ÝÐ âÞ, çâÞ, áÞÓÛÐáÝÞ ÒâÞàÞÜã ßÞáâãÛÐâã, áÚÞàÞáâì áÒÕâÐ c ÞÔØÝÐÚÞÒÐ
Ò áØáâÕÜÐå ÞâáçÕâÐ K ′ Ø K.

½ÐÙÔÕÜ ÚÞÛØçÕáâÒÕÝÝãî áÒï×ì τ Ø τ0. ºÐÚ ÒØÔÝÞ Ø× àØá. 1.4, ßàÞÙÔÕÝÝëÙ áÒÕâÞÜ
×Ð ßÞÛÞÒØÝã ÞÔÝÞÓÞ æØÚÛÐ ßãâì àÐÒÕÝ

√
l2 + (vτ/2)2, Ø ÔÛï ÞßàÕÔÕÛÕÝØï τ ÜÞÖÝÞ

ÝÐßØáÐâì áÛÕÔãîéÕÕ ãàÐÒÝÕÝØÕ:

cτ = 2
√

l2 + (vτ/2)2, ÞâÚãÔÐ τ =
2l

c

1√
1− v2/c2

. (1.5)
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½Þ, ÚÐÚ ÑëÛÞ ÞâÜÕçÕÝÞ ÒëèÕ, 2l/c = τ0. ¿ÞíâÞÜã Ø× (1.5) ßÞÛãçÐÕÜ ØáÚÞÜãî áÒï×ì
ÜÕÖÔã τ Ø τ0:

τ =
τ0√

1− v2/c2
. (1.6)

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÒÕÛØçØÝÐ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ ×ÐÒØáØâ Þâ
áØáâÕÜë ÞâáçÕâÐ, Ò ÚÞâÞàÞÙ ÞÝÐ Ø×ÜÕàïÕâáï, â. Õ. ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÒÕÛØçØÝã Þâ-
ÝÞáØâÕÛìÝãî. ÂÐÚ ÚÐÚ τ > τ0 ßàØ ÛîÑÞÙ v 6= 0, âÞ áÞÑáâÒÕÝÝÞÕ ÒàÕÜï ÒáÕÓÔÐ ÜÕÝì-
èÕ, çÕÜ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ, Ø×ÜÕàÕÝÝëÙ Ò ÛîÑÞÙ
ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ. ÍâÞâ ÚØÝÕÜÐâØçÕáÚØÙ àÕÛïâØÒØáâáÚØÙ íääÕÚâ ÝÐ×ëÒÐîâ
×ÐÜÕÔÛÕÝØÕÜ, ØÛØ �àÐáâïÖÕÝØÕÜ�, ÒàÕÜÕÝØ. Á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï K ØÔÕÝ-
âØçÝëÕ ßÞ ãáâàÞÙáâÒã ÔÒØÖãéØÕáï çÐáë (â. Õ. çÐáë Ò K ′) ØÔãâ ÜÕÔÛÕÝÝÕÕ, çÕÜ ÕÓÞ
áÞÑáâÒÕÝÝëÕ. ÀÕçì ×ÔÕáì ØÔÕâ Þ áàÐÒÝÕÝØØ ßÞÚÐ×ÐÝØÙ ÞÔÝØå Ø âÕå ÖÕ ÔÒØÖãéØåáï
çÐáÞÒ á ßÞÚÐ×ÐÝØïÜØ ØÔÕÝâØçÝëå, ÝÞ àÐ×Ýëå (ÝÐåÞÔïéØåáï Ò àÐ×Ýëå âÞçÚÐå) ÝÕßÞ-
ÔÒØÖÝëå çÐáÞÒ. ÁØÝåàÞÝØ×ØàÞÒÐÝÝëÕ ÔÛï ÝÕßÞÔÒØÖÝÞÓÞ Ò K ÝÐÑÛîÔÐâÕÛï, íâØ çÐ-
áë ãÖÕ ÝÕ ÑãÔãâ áØÝåàÞÝØ×ØàÞÒÐÝë ÔÛï ÔÒØÖãéÕÓÞáï (â. Õ. ÝÐåÞÔïéÕÓÞáï Ò K ′) ÝÐ-
ÑÛîÔÐâÕÛï. ÍâÞ ÞâáãâáâÒØÕ áØÝåàÞÝØ×ÐæØØ ÜÕÖÔã çÐáÐÜØ, ÝÐåÞÔïéØÜØáï Ò àÐ×Ýëå
áØáâÕÜÐå ÞâáçÕâÐ, ÞâàÐÖÐÕâ ÞâÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ.

¿ÞÔçÕàÚÝÕÜ, çâÞ ÒëàÐÖÐÕÜëÙ äÞàÜãÛÞÙ (1.6) íääÕÚâ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ áÒï-
×ÐÝ á âÕÜ, çâÞ áÚÞàÞáâì áÒÕâÐ ØÜÕÕâ ÞÔÝÞ Ø âÞ ÖÕ ×ÝÐçÕÝØÕ ÒÞ ÒáÕå áØáâÕÜÐå ÞâáçÕâÐ.

ÀÐááÜÞâàÕÝÝëÙ àÕÛïâØÒØáâáÚØÙ íääÕÚâ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ ïÒÛïÕâáï Ò×ÐØÜ-
ÝëÜ, ÚÐÚ âÞÓÞ âàÕÑãÕâ ßàØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ, â. Õ. ßÞáâãÛÐâ Þ àÐÒÝÞßàÐÒØØ ØÝÕà-
æØÐÛìÝëå áØáâÕÜ ÞâáçÕâÐ K Ø K ′: á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ K ′ ÜÕÔ-
ÛÕÝÝÕÕ ØÔãâ çÐáë, áÒï×ÐÝÝëÕ á áØáâÕÜÞÙ K.

¾âÜÕâØÜ, çâÞ Ò ßàØÒÕÔÕÝÝëå ÒëèÕ àÐááãÖÔÕÝØïå ÔÛØÝã l áÞÕÔØÝïîéÕÓÞ ×ÕàÚÐ-
ÛÐ áâÕàÖÝï, ÞàØÕÝâØàÞÒÐÝÝÞÓÞ ßÕàßÕÝÔØÚãÛïàÝÞ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØ-
áâÕÜ ÞâáçÕâÐ K Ø K ′, Üë áçØâÐÛØ ÞÔØÝÐÚÞÒÞÙ Ò ÞÑÕØå áØáâÕÜÐå ÞâáçÕâÐ. µáÛØ ßàÕÔ-
ßÞÛÞÖØâì, çâÞ íâÞ ÝÕ âÐÚ, âÞ ÜÞÖÝÞ áàÐ×ã ßàØÙâØ Ú ßàÞâØÒÞàÕçØî á àÐÒÝÞßàÐÒØÕÜ
áØáâÕÜ K Ø K ′. ² áÐÜÞÜ ÔÕÛÕ, àÐááÜÞâàØÜ áÛÕÔãîéØÙ ÜëáÛÕÝÝëÙ Þßëâ. ÀÐáßÞÛÞ-
ÖØÜ ÒÔÞÛì ÞáØ Oy′ áØáâÕÜë K ′ ÖÕáâÚØÙ áâÕàÖÕÝì, ÔÛØÝÐ ÚÞâÞàÞÓÞ Ò íâÞÙ áØáâÕÜÕ
àÐÒÝÐ l, Ø ÒÔÞÛì ÞáØ Oy áØáâÕÜë K àÐáßÞÛÞÖØÜ âÞçÝÞ âÐÚÞÙ ÖÕ áâÕàÖÕÝì, â. Õ.
ÔÛØÝÐ íâÞÓÞ áâÕàÖÝï àÐÒÝÐ l Ò áØáâÕÜÕ K. ² ÝÕÚÞâÞàëÙ ÜÞÜÕÝâ (t = 0) íâØ áâÕàÖ-
ÝØ ÞÚÐ×ëÒÐîâáï àïÔÞÜ, Ø ßàÕÔáâÐÒÛïÕâáï ÒÞ×ÜÞÖÝÞáâì áàÐÒÝØâì Øå ÔÛØÝë ÝÕßÞ-
áàÕÔáâÒÕÝÝÞ � ÚÞÝÕæ ÞÔÝÞÓÞ Ø× áâÕàÖÝÕÙ ÜÞÖÕâ áÔÕÛÐâì ÜÕâÚã ÝÐ ÔàãÓÞÜ áâÕàÖÝÕ.
ÁÞÒßÐÔÕâ ÛØ íâÐ ÜÕâÚÐ á ÚÞÝæÞÜ áâÕàÖÝï? ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ ÔÐÕâ ßÞÛÞÖØ-
âÕÛìÝëÙ ÞâÒÕâ ÝÐ íâÞâ ÒÞßàÞá: ÜÕâÚÐ áÞÒßÐÔÕâ á ÚÞÝæÞÜ áâÕàÖÝï, â. Õ. ÔÛØÝÐ áâÕàÖ-
Ýï Ò ÝÐßàÐÒÛÕÝØØ, ßÕàßÕÝÔØÚãÛïàÝÞÜ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØáâÕÜ ÞâáçÕâÐ
K ′ Ø K, ÞÔØÝÐÚÞÒÐ Ò ÞÑÕØå áØáâÕÜÐå. µáÛØ Ñë âÐÚÞÓÞ áÞÒßÐÔÕÝØï ÝÕ ÑëÛÞ, âÞ ÞÔØÝ
Ø× áâÕàÖÝÕÙ ÞÚÐ×ÐÛáï Ñë ÔÛØÝÝÕÕ ÔàãÓÞÓÞ á âÞçÚØ ×àÕÝØï ÞÑÕØå áØáâÕÜ ÞâáçÕâÐ, çâÞ
ßàÞâØÒÞàÕçØâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ.

1.4.3 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ
¿ÞÚÐÖÕÜ âÕßÕàì, çâÞ ÔÛØÝÐ âÒÕàÔÞÓÞ áâÕàÖÝï, àÐáßÞÛÞÖÕÝÝÞÓÞ ÒÔÞÛì ÞâÝÞáØâÕÛì-
ÝÞÙ áÚÞàÞáâØ áØáâÕÜ ÞâáçÕâÐ K Ø K ′, ÑãÔÕâ àÐ×ÝÞÙ Ò íâØå áØáâÕÜÐå ÞâáçÕâÐ. ÀÐá-
áÜÞâàØÜ áÛÕÔãîéØÙ ÜëáÛÕÝÝëÙ Þßëâ, áåÕÜÐ ÚÞâÞàÞÓÞ ßÞÚÐ×ÐÝÐ ÝÐ àØá. 1.5.
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ÀØá. 1.5: º ÒëÒÞÔã ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ

¿ãáâì ÖÕáâÚØÙ áâÕàÖÕÝì ßÞÚÞØâáï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. µÓÞ ÔÛØÝã, Ø×ÜÕàÕÝ-
Ýãî Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ, ÝÐ×ëÒÐîâ áÞÑáâÒÕÝÝÞÙ ÔÛØÝÞÙ, ØÛØ ÔÛØÝÞÙ ßÞÚÞï.
¾ÑÞ×ÝÐçØÜ ÕÕ l0, Ð ÔÛØÝã Ò áØáâÕÜÕ K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ áâÕàÖÕÝì ÔÒØÖÕâáï
ßÐàÐÛÛÕÛìÝÞ áÐÜÞÜã áÕÑÕ áÞ áÚÞàÞáâìî v, ÞÑÞ×ÝÐçØÜ l. ½ÐÙÔÕÜ áÒï×ì ÜÕÖÔã l Ø l0.
´Ûï íâÞÓÞ àÐááÜÞâàØÜ ÔÒÐ áÞÑëâØï: Ð) ßàÞåÞÖÔÕÝØÕ ÝÐçÐÛÐ áâÕàÖÝï ÜØÜÞ âÞçÚØ A
ÝÐ ÞáØ Ox áØáâÕÜë K, Ò ÚÞâÞàÞÙ ÝÐåÞÔïâáï çÐáë, Ø Ñ) ßàÞåÞÖÔÕÝØÕ ÚÞÝæÐ áâÕàÖÝï
ÜØÜÞ íâÞÙ ÖÕ âÞçÚØ. ² áØáâÕÜÕ ÞâáçÕâÐ K íâØ áÞÑëâØï ßàÞØáåÞÔïâ Ò ÞÔÝÞÜ ÜÕáâÕ
� Ò âÞçÚÕ A. ¿ÞíâÞÜã ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÝØÜØ Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ K
ïÒÛïÕâáï áÞÑáâÒÕÝÝëÜ ÒàÕÜÕÝÕÜ τ0 Ø Ø×ÜÕàïÕâáï ßÞ ÞÔÝØÜ Ø âÕÜ ÖÕ çÐáÐÜ, ÝÐåÞÔï-
éØÜáï Ò âÞçÚÕ A. ¾âÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K áâÕàÖÕÝì ÔÒØÖÕâáï áÞ áÚÞàÞ-
áâìî v. ÃÜÝÞÖØÒ íâã áÚÞàÞáâì ÝÐ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0, ßÞÛãçØÜ ÔÛØÝã áâÕàÖÝï
l Ò áØáâÕÜÕ K: l = vτ0.

½Þ á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ âÞçÚÐ A ÔÒØÖÕâáï ÒÔÞÛì
ÝÕßÞÔÒØÖÝÞÓÞ áâÕàÖÝï ÒÛÕÒÞ á âÐÚÞÙ ÖÕ ßÞ ÜÞÔãÛî áÚÞàÞáâìî v. ¿ÞíâÞÜã ÔÛï ÔÛØ-
Ýë áâÕàÖÝï l0 Ò áØáâÕÜÕ K ′ ÜÞÖÝÞ ÝÐßØáÐâì áÞÞâÝÞèÕÝØÕ l0 = vτ , ÓÔÕ τ Õáâì ßàÞÜÕ-
ÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã âÕÜØ ÖÕ áÞÑëâØïÜØ Ð) Ø Ñ), Ø×ÜÕàÕÝÝëÙ ßÞ çÐáÐÜ Ò áØáâÕÜÕ
ÞâáçÕâÐ K ′. ÁÞÓÛÐáÝÞ äÞàÜãÛÕ (1.6) ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ áÒï×ÐÝ á áÞÑáâÒÕÝÝëÜ
ÒàÕÜÕÝÕÜ τ0 ÜÕÖÔã âÕÜØ ÖÕ áÞÑëâØïÜØ áÞÞâÝÞèÕÝØÕÜ τ = τ0/

√
1− v2/c2. ÂÞÓÔÐ,

àÐ×ÔÕÛØÒ ßÞçÛÕÝÝÞ áÞÞâÝÞèÕÝØÕ l = vτ0 ÝÐ l0 = vτ , ÝÐåÞÔØÜ

l = l0
√

1− v2/c2. (1.7)
¼ë ßàØåÞÔØÜ Ú ÒëÒÞÔã, çâÞ Ò ÞÑéÕÜ áÛãçÐÕ ÔÛØÝÐ áâÕàÖÝï, Ð âÕÜ áÐÜëÜ Ø ßàÞ-

áâàÐÝáâÒÕÝÝÞÕ àÐááâÞïÝØÕ ÜÕÖÔã âÞçÚÐÜØ, ×ÐÒØáØâ Þâ áØáâÕÜë ÞâáçÕâÐ, Ò ÚÞâÞàÞÙ
ßàÞØ×ÒÞÔØâáï Ø×ÜÕàÕÝØÕ, â. Õ. àÐááâÞïÝØÕ Ò àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ ßàÕÔáâÐÒÛïÕâ
áÞÑÞÙ ÒÕÛØçØÝã ÞâÝÞáØâÕÛìÝãî. 2

2´Ûï ÝÐÓÛïÔÝÞáâØ ÞßØáÐÝÝëÙ ×ÔÕáì ÜëáÛÕÝÝëÙ íÚáßÕàØÜÕÝâ ÜÞÖÝÞ ßàÕÔáâÐÒØâì áÕÑÕ ÚÐÚ Ø×ÜÕ-
àÕÝØÕ ÔÛØÝë ßÞÕ×ÔÐ l ÝÐÑÛîÔÐâÕÛÕÜ á çÐáÐÜØ, ÚÞâÞàëÙ ÝÐåÞÔØâáï ÝÐ ßÛÐâäÞàÜÕ Ò âÞçÚÕ A, Ø ÔÒã-
Üï ÝÐÑÛîÔÐâÕÛïÜØ Ò ßÞÕ×ÔÕ. ½ÐÑÛîÔÐâÕÛì ÝÐ ßÛÐâäÞàÜÕ ÝÐåÞÔØâ ÔÛØÝã ßÞÕ×ÔÐ, ãÜÝÞÖÐï áÚÞàÞáâì
ßÞÕ×ÔÐ ÝÐ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0, Ò âÕçÕÝØÕ ÚÞâÞàÞÓÞ ßÞÕ×Ô ßàÞåÞÔØâ ÜØÜÞ ÝÕÓÞ. ÍâÞ ÒàÕÜï ÞÝ Ø×-
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´ÛØÝÐ áâÕàÖÝï ÑãÔÕâ ÝÐØÑÞÛìèÕÙ ßàØ Ø×ÜÕàÕÝØØ Ò âÞÙ áØáâÕÜÕ ÞâáçÕâÐ, ÓÔÕ
áâÕàÖÕÝì ßÞÚÞØâáï (áÞÑáâÒÕÝÝÐï ÔÛØÝÐ). ´ÒØÖãéØÕáï ÞâÝÞáØâÕÛìÝÞ ÝÐÑÛîÔÐâÕ-
Ûï âÕÛÐ áÞÚàÐéÐîâáï Ò ÝÐßàÐÒÛÕÝØØ áÒÞÕÓÞ ÔÒØÖÕÝØï. ÍâÞâ ÚØÝÕÜÐâØçÕáÚØÙ àÕÛï-
âØÒØáâáÚØÙ íääÕÚâ ÝÐ×ëÒÐîâ �ÛÞàÕÝæÕÒëÜ áÞÚàÐéÕÝØÕÜ� (áÞÚàÐéÕÝØÕÜ »ÞàÕÝ-
æÐ � ÄØâæÔÖÕàÐÛìÔÐ). »ÞàÕÝæÕÒÞ áÞÚàÐéÕÝØÕ ÔÒØÖãéØåáï âÕÛ ÞâàÐÖÐÕâ ÞâÝÞáØ-
âÕÛìÝëÙ åÐàÐÚâÕà àÐááâÞïÝØï ÜÕÖÔã ßàÞáâàÐÝáâÒÕÝÝëÜØ âÞçÚÐÜØ Ò âÕÞàØØ ÞâÝÞ-
áØâÕÛìÝÞáâØ, â. Õ. ×ÐÒØáØÜÞáâì àÕ×ãÛìâÐâÞÒ Ø×ÜÕàÕÝØï àÐááâÞïÝØï Þâ áØáâÕÜë Þâ-
áçÕâÐ, Ò ÚÞâÞàÞÙ íâÞ Ø×ÜÕàÕÝØÕ ßàÞØ×ÒÞÔØâáï. ¿ÞÔçÕàÚÝÕÜ, çâÞ ÛÞàÕÝæÕÒÞ áÞÚàÐ-
éÕÝØÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ çØáâÞ ÚØÝÕÜÐâØçÕáÚØÙ íääÕÚâ ×ÐÒØáØÜÞáâØ àÕ×ãÛìâÐâÞÒ
Ø×ÜÕàÕÝØÙ Þâ áØáâÕÜë ÞâáçÕâÐ: ÞÝÞ ÝÕ áÒï×ÐÝÞ á ÚÐÚØÜØ-ÛØÑÞ ïÒÛÕÝØïÜØ ØÛØ ßàÞ-
æÕááÐÜØ Ò áÐÜÞÜ áâÕàÖÝÕ (ÒàÞÔÕ ßÞïÒÛÕÝØï ÚÐÚØå-ÛØÑÞ ÒÝãâàÕÝÝØå ÝÐßàïÖÕÝØÙ)
ßàØ ßÕàÕåÞÔÕ Ò ÔÒØÖãéãîáï áØáâÕÜã ÞâáçÕâÐ.

² ßÞÛÝÞÜ áÞÞâÒÕâáâÒØØ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ íääÕÚâ áÞÚàÐéÕÝØï ÔÛØ-
Ýë áâÕàÖÝï ïÒÛïÕâáï Ò×ÐØÜÝëÜ: ÕáÛØ âÐÚÞÙ ÖÕ áâÕàÖÕÝì ßÞÚÞØâáï Ò áØáâÕÜÕ Þâ-
áçÕâÐ K, âÞ ÔÛØÝÐ áâÕàÖÝï Ò íâÞÙ áØáâÕÜÕ àÐÒÝÐ áÞÑáâÒÕÝÝÞÙ ÔÛØÝÕ l0, Ð ÕÓÞ ÔÛØÝÐ l
á âÞçÚØ ×àÕÝØï ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ áâÕàÖÝï áØáâÕÜë ÞâáçÕâÐ K ′ ÑãÔÕâ ÜÕÝì-
èÕ Ò áÞÞâÒÕâáâÒØØ á äÞàÜãÛÞÙ (1.7).

²ÒØÔã ÒÐÖÝÞáâØ ×ÐÚÞÝÐ ßàÕÞÑàÐ×ÞÒÐÝØï ÔÛØÝë ÔÛï ÔÐÛìÝÕÙèÕÓÞ Ø×ÛÞÖÕÝØï, ßàØÒÕÔÕÜ
ÕéÕ ÞÔØÝ ßàÞáâÞÙ ÒëÒÞÔ äÞàÜãÛë (1.7) ÛÞàÕÝæÕÒÐ áÞÚàÐéÕÝØï Ø× ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞ-
áØâÕÛìÝÞáâØ. ²Þ×ÜÞÖÝÞ, ÝÕÚÞâÞàëÜ çØâÐâÕÛïÜ ÞÝ ßàÕÔáâÐÒØâáï ÜÕÝÕÕ ØáÚãááâÒÕÝÝëÜ ßÞ
áàÐÒÝÕÝØî á ßàØÒÕÔÕÝÝëÜ ÒëèÕ. ÀÐááÜÞâàØÜ Þßïâì ÜëáÛÕÝÝëÙ íÚáßÕàØÜÕÝâ á âÐÚØÜØ ÖÕ
�áÒÕâÞÒëÜØ çÐáÐÜØ�, ÚÐÚ Ø ßàØ ÒëÒÞÔÕ ×ÐÚÞÝÐ ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ, ÝÞ
âÕßÕàì àÐáßÞÛÞÖØÜ áâÕàÖÕÝì çÐáÞÒ ÒÔÞÛì ÝÐßàÐÒÛÕÝØï áÚÞàÞáâØ áØáâÕÜë K ′ ÞâÝÞáØâÕÛìÝÞ
áØáâÕÜë K, â. Õ. ÒÔÞÛì ÞáØ Ox′. ÁÞÕÔØÝïîéØÙ ×ÕàÚÐÛÐ áâÕàÖÕÝì ßÞÚÞØâáï Ò K ′, Ø ÕÓÞ ÔÛØÝÐ
Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ (áÞÑáâÒÕÝÝÐï ÔÛØÝÐ) àÐÒÝÐ l0. ¿ãáâì τ0 � ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ßÞ
çÐáÐÜ áØáâÕÜë K ′ ÜÕÖÔã ÒëåÞÔÞÜ áÒÕâÞÒÞÓÞ ØÜßãÛìáÐ Ø× ÝÐçÐÛÐ áâÕàÖÝï Ø ÒÞ×ÒàÐéÕÝØÕÜ
ÕÓÞ ßÞáÛÕ ÞâàÐÖÕÝØï Þâ ×ÕàÚÐÛÐ ÝÐ ÔàãÓÞÜ ÚÞÝæÕ. ¾ÑÐ àÐááÜÐâàØÒÐÕÜëÕ áÞÑëâØï ßàÞØáåÞ-
Ôïâ Ò K ′ Ò ÞÔÝÞÜ ÜÕáâÕ, ßÞíâÞÜã τ0 � íâÞ áÞÑáâÒÕÝÝÞÕ ÒàÕÜï. »ÕÓÚÞ ÒØÔÕâì, çâÞ cτ0 = 2l0.
¾ÑÞ×ÝÐçØÜ çÕàÕ× τ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ, Ø×ÜÕàÕÝÝëÙ ßÞ çÐ-
áÐÜ áØáâÕÜë K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ áâÕàÖÕÝì çÐáÞÒ ÔÒØÖÕâáï. ¾Ý áÒï×ÐÝ á áÞÑáâÒÕÝÝëÜ
ÒàÕÜÕÝÕÜ τ0 áÞÞâÝÞèÕÝØÕÜ (1.6). ¸áÚÞÜãî ÔÛØÝã áâÕàÖÝï Ò áØáâÕÜÕ K ÞÑÞ×ÝÐçØÜ çÕàÕ× l.

¿àÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ ÜÞÖÝÞ ßàÕÔáâÐÒØâì ÚÐÚ τ1 + τ2, ÓÔÕ τ1 � ÒàÕÜï ÔÒØÖÕÝØï áÒÕ-
âÞÒÞÓÞ ØÜßãÛìáÐ ÒßÕàÕÔ (Þâ ÝÐçÐÛÐ áâÕàÖÝï Ú ×ÕàÚÐÛã ÝÐ ÚÞÝæÕ), Ð τ2 � ÝÐ×ÐÔ. ·Ð ÒàÕÜï
τ1 ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë K áâÕàÖÕÝì ßàÞÙÔÕâ àÐááâÞïÝØÕ vτ1, âÐÚ çâÞ ÝÐ ßãâØ ÒßÕàÕÔ ÔÞ
ßàÐÒÞÓÞ ÚÞÝæÐ áâÕàÖÝï áÒÕâ ÔÞÛÖÕÝ ßàÕÞÔÞÛÕâì Ò áØáâÕÜÕ K àÐááâÞïÝØÕ l + vτ1, ÓÔÕ l �
ÔÛØÝÐ áâÕàÖÝï Ò áØáâÕÜÕ K. ÂÐÚ ÚÐÚ áÒÕâ ßàÞåÞÔØâ íâÞ àÐááâÞïÝØÕ ×Ð ÒàÕÜï τ1, Ð áÚÞàÞáâì
áÒÕâÐ Ò K (ÚÐÚ Ø Ò ÛîÑÞÙ ÔàãÓÞÙ áØáâÕÜÕ) àÐÒÝÐ c, âÞ ÜÞÖÝÞ ÝÐßØáÐâì

l + vτ1 = cτ1, ÞâÚãÔÐ τ1 =
l

c− v
. (1.8)

°ÝÐÛÞÓØçÝÞÕ àÐááãÖÔÕÝØÕ ÔÛï ÒàÕÜÕÝØ ÔÒØÖÕÝØï ØÜßãÛìáÐ ÝÐ×ÐÔ ÔÐÕâ áÛÕÔãîéÕÕ áÞ-
ÞâÝÞèÕÝØÕ:

l − vτ2 = cτ2, ÞâÚãÔÐ τ2 =
l

c + v
. (1.9)

ÜÕàïÕâ ßÞ ÞÔÝØÜ çÐáÐÜ. ´Ûï ÝÐåÞÖÔÕÝØï ÔÛØÝë ßÞÕ×ÔÐ l0 Ò áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ßÞÕ×ÔÞÜ,
ÝãÖÝÞ áÚÞàÞáâì v ãÜÝÞÖØâì ÝÐ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ ÜÕÖÔã ßàÞåÞÖÔÕÝØÕÜ ÓÞÛÞÒë Ø åÒÞáâÐ ßÞÕ×-
ÔÐ ÜØÜÞ ÝÐåÞÔïéÕÙáï ÝÐ ßÛÐâäÞàÜÕ âÞçÚØ A. ÏáÝÞ, çâÞ ÔÛï Ø×ÜÕàÕÝØï τ ÝãÖÝë çÐáë Ø Ò ÓÞÛÞÒÕ, Ø Ò
åÒÞáâÕ ßÞÕ×ÔÐ, áØÝåàÞÝØ×ØàÞÒÐÝÝëÕ ÔàãÓ á ÔàãÓÞÜ.
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ÂÐÚØÜ ÞÑàÐ×ÞÜ,

τ = τ1 + τ2 = l

(
1

c− v
+

1
c + v

)
=

2l

c

1
(1− v2/c2)

. (1.10)

½Þ, á ÔàãÓÞÙ áâÞàÞÝë, Ò áÞÞâÒÕâáâÒØØ á àÕÛïâØÒØáâáÚØÜ ×ÐÜÕÔÛÕÝØÕÜ ÒàÕÜÕÝØ,

τ =
τ0√

1− v2/c2
=

2l0
c

1√
1− v2/c2

. (1.11)

¿àØàÐÒÝØÒÐï ßàÐÒëÕ çÐáâØ ÒëàÐÖÕÝØÙ (1.10) Ø (1.11), ÕéÕ àÐ× ßÞÛãçÐÕÜ àÕÛïâØÒØáâ-
áÚãî äÞàÜãÛã áÞÚàÐéÕÝØï ÔÛØÝë (1.7):

l = l0
√

1− v2/c2.

1.4.4 ÍÚáßÕàØÜÕÝâÐÛìÝëÕ ßÞÔâÒÕàÖÔÕÝØï àÕÛïâØÒØáâáÚØå
ÚØÝÕÜÐâØçÕáÚØå íääÕÚâÞÒ

² ÚÐçÕáâÒÕ ÝÕßÞáàÕÔáâÒÕÝÝÞÓÞ íÚáßÕàØÜÕÝâÐÛìÝÞÓÞ ßÞÔâÒÕàÖÔÕÝØï àÐááÜÞâàÕÝ-
Ýëå ÒëèÕ àÕÛïâØÒØáâáÚØå ÚØÝÕÜÐâØçÕáÚØå íääÕÚâÞÒ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ Ø áÞÚàÐ-
éÕÝØï ÔÛØÝë ÜÞÖÝÞ ßàØÒÕáâØ, ÝÐßàØÜÕà, Þßëâë ´ÐàÑØÝÐ, »ÞÐàÐ Ø ÅÕÒÕÝáÐ (ÁÈ°,
1952 Ó.), Ò ÚÞâÞàëå Ø×ãçÐÛáï àÐáßÐÔ ÔÒØÖãéØåáï π+-ÜÕ×ÞÝÞÒ (ßØÞÝÞÒ). ÁàÕÔÝÕÕ
ÒàÕÜï ÖØ×ÝØ ßÞÚÞïéÕÓÞáï ßØÞÝÐ τ0 àÐÒÝÞ 2,5·10−8 á. µáÛØ Ñë ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ
ÝÕ ÑëÛÞ, âÞ ÔÒØÖãéØÙáï ÜÕ×ÞÝ ßàØ áÚÞàÞáâØ v, ÔÐÖÕ ÑÛØ×ÚÞÙ Ú ßàÕÔÕÛìÝÞÙ áÚÞàÞ-
áâØ c = 3·108 Ü/á, ßàÞåÞÔØÛ Ñë ÔÞ àÐáßÐÔÐ Ò áàÕÔÝÕÜ àÐááâÞïÝØÕ ÒáÕÓÞ vτ0 ≈ cτ0 =
7,5 Ü. ² ÞßØáëÒÐÕÜëå ÞßëâÐå ßàØÕÜÝØÚ π+-ÜÕ×ÞÝÞÒ ÝÐåÞÔØÛáï ÝÐ àÐááâÞïÝØØ ÞÚÞ-
ÛÞ 100 Ü Þâ ØáâÞçÝØÚÐ, Ò ÚÞâÞàÞÜ ßØÞÝë ÞÑàÐ×ÞÒëÒÐÛØáì ßàØ ÑÞÜÑÐàÔØàÞÒÚÕ ÜØ-
èÕÝØ ßãçÚÞÜ ßàÞâÞÝÞÒ ÒëáÞÚÞÙ íÝÕàÓØØ, ÒëåÞÔïéØÜ Ø× ãáÚÞàØâÕÛï. ¿ÞÛãçÐÕÜëÕ
âÐÚØÜ áßÞáÞÑÞÜ π+-ÜÕ×ÞÝë ÔÒØÖãâáï áÞ áÚÞàÞáâìî v, ÞçÕÝì ÑÛØ×ÚÞÙ Ú áÚÞàÞáâØ
áÒÕâÐ: ÔÛï ÝØå v/c = 1− 5 · 10−5. ±ÛÐÓÞÔÐàï àÕÛïâØÒØáâáÚÞÜã ×ÐÜÕÔÛÕÝØî ÒàÕÜÕÝØ
áàÕÔÝÕÕ ÒàÕÜï ÖØ×ÝØ âÐÚÞÓÞ ÑëáâàÞÓÞ ßØÞÝÐ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ

τ =
τ0√

1− v2/c2
=

τ0

10−2
= 100 τ0

ÞÚÐ×ëÒÐÕâáï Ò 100 àÐ× ÑÞÛìèÕ, çÕÜ ÒàÕÜï ÖØ×ÝØ ßÞÚÞïéÕÓÞáï ßØÞÝÐ. ¿ÞíâÞÜã àÐá-
áâÞïÝØÕ, ßàÞåÞÔØÜÞÕ ßØÞÝÐÜØ ÔÞ àÐáßÐÔÐ, ßÞ ÛÐÑÞàÐâÞàÝëÜ ÜÐáèâÐÑÐÜ áÞáâÐÒÛï-
Õâ vτ ≈ cτ = 100 τ0 = 750 Ü. ¸×ÜÕàÕÝØÕ íâÞÓÞ àÐááâÞïÝØï Ò ãßÞÜØÝÐÕÜëå ÞßëâÐå
ÔÐÛÞ åÞàÞèÕÕ áÞÓÛÐáØÕ á ßàÕÔáÚÐ×ÐÝØïÜØ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ. ·ÐÜÕçÐâÕÛìÝÞ,
çâÞ âÕÞàØï ßÞ×ÒÞÛïÕâ áÔÕÛÐâì âÐÚÞÕ ßàÕÔáÚÐ×ÐÝØÕ ÝÕáÜÞâàï ÝÐ âÞ, çâÞ ÝÐÜ ÝØçÕ-
ÓÞ ÝÕ Ø×ÒÕáâÝÞ Þ ßàØçØÝÐå àÐáßÐÔÐ ßØÞÝÐ. ÃÝØÒÕàáÐÛìÝÞáâì ßàÕÔáÚÐ×ÐÝØÙ âÕÞàØØ
ÞâÝÞáØâÕÛìÝÞáâØ áÒï×ÐÝÐ á âÕÜ, çâÞ ÞÝÐ ÒëàÐÖÐÕâ ÝÐØÑÞÛÕÕ ÞÑéØÕ áÒÞÙáâÒÐ ßàÞ-
áâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ.

ÍâØ ÖÕ Þßëâë ßÞ àÐáßÐÔã ßØÞÝÞÒ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì Ø ÚÐÚ íÚáßÕàØÜÕÝâÐÛì-
ÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ àÕÛïâØÒØáâáÚÞÓÞ íääÕÚâÐ áÞÚàÐéÕÝØï àÐááâÞïÝØÙ. ´Ûï íâÞÓÞ
ÝãÖÝÞ ØÝâÕàßàÕâØàÞÒÐâì àÕ×ãÛìâÐâë ÞßëâÞÒ á âÞçÚØ ×àÕÝØï áØáâÕÜë ÞâáçÕâÐ, áÒï-
×ÐÝÝÞÙ á ÔÒØÖãéØÜáï ßØÞÝÞÜ. ² íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ áàÕÔÝÕÕ ÒàÕÜï ÖØ×ÝØ ßØÞÝÐ
Õáâì áÞÑáâÒÕÝÝÞÕ ÒàÕÜï τ0 = 2,5·10−8 á, ÝÞ ÛÐÑÞàÐâÞàØï ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ
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ßØÞÝÐ á ãÛìâàÐàÕÛïâØÒØáâáÚÞÙ áÚÞàÞáâìî v. ¿ÞíâÞÜã àÐááâÞïÝØÕ ÜÕÖÔã ØáâÞçÝØ-
ÚÞÜ Ø ßàØÕÜÝØÚÞÜ Ò áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ßØÞÝÞÜ, ÒáÛÕÔáâÒØÕ àÕÛïâØÒØáâ-
áÚÞÓÞ áÞÚàÐéÕÝØï ÔÛØÝë ÞÚÐ×ëÒÐÕâáï ÜÕÝìèÕ, çÕÜ áÞÑáâÒÕÝÝÞÕ àÐááâÞïÝØÕ, â. Õ.
çÕÜ àÐááâÞïÝØÕ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ. ¿àØ v/c = 1 − 5 · 10−5 ×ÝÐçÕÝØÕ√

1− v2/c2 = 0,01, â. Õ. àÐááâÞïÝØÕ áÞÚàÐéÐÕâáï Ò 100 àÐ×.

1.4.5 ÀÕÛïâØÒØáâáÚØÙ íääÕÚâ ´ÞßÛÕàÐ
µéÕ ÞÔÝÞ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ ÚØÝÕÜÐâØçÕáÚØå íääÕÚâÞÒ âÕÞàØØ Þâ-
ÝÞáØâÕÛìÝÞáâØ ÔÐÕâ íääÕÚâ ´ÞßÛÕàÐ, ÚÞâÞàëÙ ×ÐÚÛîçÐÕâáï Ò ×ÐÒØáØÜÞáâØ çÐáâÞ-
âë ßàØÝØÜÐÕÜëå ßÕàØÞÔØçÕáÚØå áØÓÝÐÛÞÒ Þâ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ØáâÞçÝØÚÐ Ø
ßàØÕÜÝØÚÐ.

ÀÐááÜÞâàØÜ áÝÐçÐÛÐ ßàÞÔÞÛìÝëÙ íääÕÚâ ´ÞßÛÕàÐ, áçØâÐï, çâÞ ÞâÝÞáØâÕÛì-
ÝÐï áÚÞàÞáâì ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ ÝÐßàÐÒÛÕÝÐ ÒÔÞÛì ÛØÝØØ, Øå áÞÕÔØÝïîéÕÙ.
¿ãáâì, ÝÐßàØÜÕà, ØáâÞçÝØÚ ÝÐåÞÔØâáï Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ áØáâÕÜë ÞâáçÕâÐ K ′, âÐÚ
çâÞ ÕÓÞ ÚÞÞàÔØÝÐâÐ x′ = 0. ¿ãáâì ßàØÕÜÝØÚ ÝÐåÞÔØâáï Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ áØáâÕÜë
K, âÐÚ çâÞ ÕÓÞ ÚÞÞàÔØÝÐâÐ x = 0. ¸áâÞçÝØÚ ßÞáëÛÐÕâ áØÓÝÐÛë çÕàÕ× ÞÔØÝÐÚÞÒëÕ
ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ, ÚÞâÞàëÕ àÐÒÝë τ0 ßÞ çÐáÐÜ, áÒï×ÐÝÝëÜ á ØáâÞçÝØÚÞÜ. ÇÕÜã
àÐÒÝë ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ T ÜÕÖÔã ßÞáÛÕÔÞÒÐâÕÛìÝëÜØ ßàØÝØÜÐÕÜëÜØ áØÓÝÐÛÐ-
ÜØ ßÞ çÐáÐÜ, áÒï×ÐÝÝëÜ á ßàØÕÜÝØÚÞÜ?

±ãÔÕÜ ÔÛï ÞßàÕÔÕÛÕÝÝÞáâØ áçØâÐâì, çâÞ ßÕàÒëÙ Ø× áØÓÝÐÛÞÒ, ÝÐßàØÜÕà ÚàÐâÚÞ-
ÒàÕÜÕÝÝÐï ÒáßëèÚÐ áÒÕâÐ, ßÞáëÛÐÕâáï ØáâÞçÝØÚÞÜ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0, ÚÞÓÔÐ
ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ áØáâÕÜ K Ø K ′ áÞÒßÐÔÐîâ. ÍâÞâ áØÓÝÐÛ ÔÞáâØÓÝÕâ ÝÐåÞÔïéÕÓÞáï
àïÔÞÜ ßàØÕÜÝØÚÐ Ò âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0. ²âÞàÞÙ áØÓÝÐÛ ßÞáëÛÐÕâáï Ø×
âÞçÚØ x′ = 0 áßãáâï ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0 ßÞ çÐáÐÜ Ò K ′, áÒï×ÐÝÝëÜ á ØáâÞçÝØ-
ÚÞÜ, â. Õ. Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ τ = τ0/

√
1− v2/c2 ßÞ çÐáÐÜ Ò áØáâÕÜÕ K. ÍâÞâ áØÓÝÐÛ

ÝÐ ßãâØ Ú ßàØÕÜÝØÚã ÔÞÛÖÕÝ ßàÕÞÔÞÛÕâì àÐááâÞïÝØÕ x, ÓÔÕ x = vτ � ÚÞÞàÔØÝÐâÐ
ØáâÞçÝØÚÐ Ò áØáâÕÜÕ K Ò ÜÞÜÕÝâ ÞâßàÐÒÛÕÝØï ÒâÞàÞÓÞ áØÓÝÐÛÐ. ¿ÞíâÞÜã ÞÝ ÔÞáâØÓ-
ÝÕâ ßàØÕÜÝØÚÐ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ T (ßÞ çÐáÐÜ Ò K), àÐÒÝëÙ τ +x/c. ÂÐÚØÜ ÞÑàÐ×ÞÜ,
ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÔÒãÜï ßÞáÛÕÔÞÒÐâÕÛìÝëÜØ áØÓÝÐÛÐÜØ, ßàØåÞÔïéØÜØ Ú
ßàØÕÜÝØÚã, Ø×ÜÕàÕÝÝëÙ ßÞ çÐáÐÜ Ò áØáâÕÜÕ ßàØÕÜÝØÚÐ K, ÞÚÐ×ëÒÐÕâáï àÐÒÝëÜ

T = τ
(
1 +

v

c

)
= τ0

√
1 + v/c

1− v/c
.

¾âáîÔÐ áÛÕÔãÕâ, çâÞ ßàØ ÞâÝÞáØâÕÛìÝÞÜ ÔÒØÖÕÝØØ ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ çÐ-
áâÞâÐ ßàØÝØÜÐÕÜëå áØÓÝÐÛÞÒ ν = 1/T áÒï×ÐÝÐ á áÞÑáâÒÕÝÝÞÙ çÐáâÞâÞÙ ν0 = 1/τ0

(â. Õ. çÐáâÞâÞÙ Ò áØáâÕÜÕ ÞâáçÕâÐ, Ò ÚÞâÞàÞÙ ßàØÕÜÝØÚ ßÞÚÞØâáï ÞâÝÞáØâÕÛìÝÞ Øá-
âÞçÝØÚÐ) áÞÞâÝÞèÕÝØÕÜ:

ν = ν0

√
1− v/c

1 + v/c
= ν0

√
c− v

c + v
. (1.12)

² äÞàÜãÛÕ (1.12) ÝãÖÝÞ ÞâÝÞáØâÕÛìÝãî áÚÞàÞáâì v ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ áçØâÐâì
ßÞÛÞÖØâÕÛìÝÞÙ, ÕáÛØ ÞÝØ ãÔÐÛïîâáï ÔàãÓ Þâ ÔàãÓÐ, Ø ÞâàØæÐâÕÛìÝÞÙ, ÕáÛØ ØáâÞçÝØÚ
Ø ßàØÕÜÝØÚ áÑÛØÖÐîâáï.
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¿àØ ÜÐÛëå ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî áÒÕâÐ ×ÝÐçÕÝØïå ÞâÝÞáØâÕÛìÝÞÙ áÚÞ-
àÞáâØ (ßàØ v/c ¿ 1) äÞàÜãÛã (1.12) ÜÞÖÝÞ ãßàÞáâØâì, ÞÓàÐÝØçØÒèØáì çÛÕÝÐÜØ
ßÕàÒÞÓÞ ßÞàïÔÚÐ ßÞ v/c:

ν = ν0

(
1− v

c

)
, ØÛØ ∆ν

ν0

= −v

c
, (1.13)

ÓÔÕ ∆ν = ν − ν0 � áÔÒØÓ çÐáâÞâë, â. Õ. àÐ×ÝÞáâì çÐáâÞâ ßàØÝØÜÐÕÜëå Ø ßÞáëÛÐÕ-
Üëå áØÓÝÐÛÞÒ. ÄÞàÜãÛÐ (1.13) áÞÞâÒÕâáâÒãÕâ àÕ×ãÛìâÐâã ÝÕàÕÛïâØÒØáâáÚÞÙ âÕÞàØØ
íääÕÚâÐ ´ÞßÛÕàÐ, Ò ÚÞâÞàÞÙ ÒàÕÜï àÐááÜÐâàØÒÐÕâáï ÚÐÚ ÐÑáÞÛîâÝÞÕ.

¿àÐÒØÛìÝÞáâì áÛÐÓÐÕÜÞÓÞ ßÞàïÔÚÐ (v/c)2 ßàØ àÐ×ÛÞÖÕÝØØ àÕÛïâØÒØáâáÚÞÙ äÞà-
ÜãÛë (1.12) Ò áâÕßÕÝÝÞÙ àïÔ ÑëÛÐ íÚáßÕàØÜÕÝâÐÛìÝÞ ßÞÔâÒÕàÖÔÕÝÐ °ÙÒáÞÜ Ø ÁâØ-
ÛãíÛÛÞÜ Ò 1938�1941 ÓÓ. ² íâØå ÞßëâÐå Ø×ãçÐÛÞáì Ø×ÜÕÝÕÝØÕ çÐáâÞâë áÒÕâÐ ÞßàÕ-
ÔÕÛÕÝÝÞÙ áßÕÚâàÐÛìÝÞÙ ÛØÝØØ, Ø×ÛãçÐÒèÕÓÞáï ÑëáâàÞ ÔÒØÖãéØÜØáï ÐâÞÜÐÜØ ÒÞ-
ÔÞàÞÔÐ (v/c ∼ 5 · 10−3) Ò ßãçÚÕ ÚÐÝÐÛÞÒëå ÛãçÕÙ. ´Ûï ÒëÔÕÛÕÝØï íääÕÚâÐ ÒâÞàÞÓÞ
ßÞàïÔÚÐ ßÞ v/c ÛãçØ áÒÕâÐ, ØáßãáÚÐÕÜëÕ ÒÔÞÛì Ø ßàÞâØÒ ÝÐßàÐÒÛÕÝØï ÔÒØÖÕÝØï
ÐâÞÜÞÒ, áÞÒÜÕéÐÛØáì á ßÞÜÞéìî ×ÕàÚÐÛ Ø ÝÐßàÐÒÛïÛØáì Ò áßÕÚâàÞÓàÐä. ¸×ÜÕàï-
ÛÞáì áÜÕéÕÝØÕ áàÕÔÝÕÙ çÐáâÞâë íâØå ÛãçÕÙ ÞâÝÞáØâÕÛìÝÞ çÐáâÞâë áÒÕâÐ, Ø×ÛãçÐÕ-
ÜÞÓÞ ÝÕßÞÔÒØÖÝëÜØ ÐâÞÜÐÜØ. ÁÞÓÛÐáÝÞ àÕÛïâØÒØáâáÚÞÙ äÞàÜãÛÕ íääÕÚâÐ ´ÞßÛÕ-
àÐ (1.12), áàÕÔÝïï çÐáâÞâÐ àÐÒÝÐ

1

2
(ν1 + ν2) =

1

2
ν0

(√
1 + v/c

1− v/c
+

√
1− v/c

1 + v/c

)
=

ν0√
1− v2/c2

≈ ν0

(
1 +

1

2

v2

c2

)

(ÝÕàÕÛïâØÒØáâáÚØÙ àÕ×ãÛìâÐâ ÔÐÛ Ñë ÔÛï áàÕÔÝÕÙ çÐáâÞâë 1
2
(ν1+ν2) = ν0). ÁÞÓÛÐáØÕ

íÚáßÕàØÜÕÝâÐÛìÝëå àÕ×ãÛìâÐâÞÒ á ÒëçØáÛÕÝØïÜØ ßÞ àÕÛïâØÒØáâáÚÞÙ äÞàÜãÛÕ Ñë-
ÛÞ ÞçÕÝì åÞàÞèØÜ. ÍâØ Þßëâë ïÒØÛØáì ØáâÞàØçÕáÚØ ßÕàÒëÜ íÚáßÕàØÜÕÝâÐÛìÝëÜ
ßÞÔâÒÕàÖÔÕÝØÕÜ àÕÛïâØÒØáâáÚÞÓÞ ×ÐÚÞÝÐ ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ.

¿àÞÔÞÛìÝëÙ íääÕÚâ ´ÞßÛÕàÐ ØÓàÐÕâ ÑÞÛìèãî àÞÛì Ò ÞßâØÚÕ. ¿Þ Òë×ëÒÐÕÜÞÜã
ØÜ áÔÒØÓã çÐáâÞâ áßÕÚâàÐÛìÝëå ÛØÝØÙ ÜÞÖÝÞ ÞßàÕÔÕÛØâì ÞâÝÞáØâÕÛìÝãî áÚÞàÞáâì
ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ Ø×ÛãçÕÝØï. ² ÐáâàÞäØ×ØÚÕ Òë×ëÒÐÕÜÞÕ íääÕÚâÞÜ ´ÞßÛÕàÐ
ÚàÐáÝÞÕ áÜÕéÕÝØÕ áßÕÚâàÐÛìÝëå ÛØÝØÙ Ò áßÕÚâàÐå ãÔÐÛÕÝÝëå ÓÐÛÐÚâØÚ ßàØÒÕÛÞ Ú
íÚáßÕàØÜÕÝâÐÛìÝÞÜã ÞâÚàëâØî ÅÐÑÑÛÞÜ ×ÐÚÞÝÐ àÐáèØàÕÝØï ²áÕÛÕÝÝÞÙ. ÀÐáéÕß-
ÛÕÝØÕ áßÕÚâàÐÛìÝëå ÛØÝØÙ ÝÕÚÞâÞàëå ×ÒÕ×Ô ÝÐ ÔÒÕ ÚÞÜßÞÝÕÝâë ßÞ×ÒÞÛïÕâ áÔÕÛÐâì
ÒëÒÞÔ Þ âÞÜ, çâÞ ÝÐÑÛîÔÐÕâáï áØáâÕÜÐ ÔÒãå ×ÒÕ×Ô, ÞÑàÐéÐîéØåáï ÒÞÚàãÓ æÕÝâàÐ
ÜÐáá. µáÛØ ÞÑëçÝëÜØ ÞßâØçÕáÚØÜØ ØÛØ ØÝâÕàäÕàÕÝæØÞÝÝëÜØ ÜÕâÞÔÐÜØ íâØ ×ÒÕ×Ôë
àÐ×àÕèØâì ÝÕ ãÔÐÕâáï, âÞ áØáâÕÜã ÝÐ×ëÒÐîâ áßÕÚâàÐÛìÝÞ-ÔÒÞÙÝÞÙ ×ÒÕ×ÔÞÙ. ² áßÕÚ-
âàÞáÚÞßØØ ßàÞïÒÛÕÝØÕ íääÕÚâÐ ´ÞßÛÕàÐ áÞáâÞØâ Ò âÞÜ, çâÞ åÐÞâØçÕáÚÞÕ âÕßÛÞÒÞÕ
ÔÒØÖÕÝØÕ Ø×ÛãçÐîéØå áÒÕâ ÐâÞÜÞÒ ØÛØ ØÞÝÞÒ Ò ØáâÞçÝØÚÕ ßàØÒÞÔØâ Ú ÝÐÑÛîÔÐÕ-
ÜÞÜã ãèØàÕÝØî áßÕÚâàÐÛìÝëå ÛØÝØÙ.

ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ßàÕÔáÚÐ×ëÒÐÕâ ÝÐàïÔã á ßàÞÔÞÛìÝëÜ íääÕÚâÞÜ âÐÚÖÕ
áãéÕáâÒÞÒÐÝØÕ ßÞßÕàÕçÝÞÓÞ íääÕÚâÐ ´ÞßÛÕàÐ, áÞáâÞïéÕÓÞ Ò Ø×ÜÕÝÕÝØØ çÐáâÞ-
âë áÒÕâÐ, Ø×ÛãçÐÕÜÞÓÞ ÔÒØÖãéØÜáï ØáâÞçÝØÚÞÜ, ßàØ ÝÐÑÛîÔÕÝØØ áÒÕâÐ ßÞÔ ßàï-
ÜëÜ ãÓÛÞÜ Ú ÝÐßàÐÒÛÕÝØî ßÕàÕÜÕéÕÝØï ØáâÞçÝØÚÐ. µáÛØ ÝÐÑÛîÔÐâÕÛì ÒØÔØâ Øá-
âÞçÝØÚ ßÞÔ ßàïÜëÜ ãÓÛÞÜ Ú ÝÐßàÐÒÛÕÝØî ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï (ãÓÞÛ ÔÞÛÖÕÝ
Ñëâì ßàïÜëÜ Ò áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ßàØÕÜÝØÚÞÜ), âÞ çÐáâÞâÐ ßàØÝØÜÐÕ-
Üëå áØÓÝÐÛÞÒ ÑãÔÕâ ÜÕÝìèÕ áÞÑáâÒÕÝÝÞÙ çÐáâÞâë ØáâÞçÝØÚÐ.
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¿ÞßÕàÕçÝëÙ íääÕÚâ ´ÞßÛÕàÐ Õáâì ßàïÜÞÕ áÛÕÔáâÒØÕ àÕÛïâØÒØáâáÚÞÓÞ ×ÐÜÕÔÛÕ-
ÝØï ÒàÕÜÕÝØ. ÀÐááÜÐâàØÒÐï ßÞáëÛÐîéØÙ áØÓÝÐÛë ÔÒØÖãéØÙáï ØáâÞçÝØÚ ÚÐÚ çÐáë,
ÜÞÖÝÞ ÞÑêïáÝØâì ãÜÕÝìèÕÝØÕ çÐáâÞâë ßàØÝØÜÐÕÜëå áØÓÝÐÛÞÒ âÕÜ, çâÞ ÝÕßÞÔÒØÖ-
ÝÞÜã ÝÐÑÛîÔÐâÕÛî ÔÒØÖãéØÕáï ÞâÝÞáØâÕÛìÝÞ ÝÕÓÞ çÐáë ßàÕÔáâÐÒÛïîâáï ØÔãéØÜØ
ÜÕÔÛÕÝÝÕÕ, çÕÜ âÞçÝÞ âÐÚØÕ ÖÕ ÝÕßÞÔÒØÖÝëÕ çÐáë. ÂÐÚ ÚÐÚ ÝÐÑÛîÔÐÕÜëÙ ßàÞÜÕ-
ÖãâÞÚ ÒàÕÜÕÝØ τ ÜÕÖÔã ÔÒãÜï áÞÑëâØïÜØ áÒï×ÐÝ á áÞÑáâÒÕÝÝëÜ ßàÞÜÕÖãâÚÞÜ ÒàÕ-
ÜÕÝØ τ0 ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ áÞÞâÝÞèÕÝØÕÜ (1.6), ÔÛï ÝÐÑÛîÔÐÕÜÞÙ çÐáâÞâë
ØÜÕÕÜ:

ν = ν0

√
1− v2/c2. (1.14)

¿ÞßÕàÕçÝëÙ íääÕÚâ ´ÞßÛÕàÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íääÕÚâ ÒâÞàÞÓÞ ßÞàïÔÚÐ ßÞ
v/c Ø, Ò ÞâÛØçØÕ Þâ ßàÞÔÞÛìÝÞÓÞ íääÕÚâÐ ´ÞßÛÕàÐ, ÒÞÞÑéÕ ÞâáãâáâÒãÕâ Ò ÝÕàÕÛï-
âØÒØáâáÚÞÙ âÕÞàØØ.

∗ ∗ ∗
¿ÞÔçÕàÚÝÕÜ, çâÞ àÕÛïâØÒØáâáÚØÕ íääÕÚâë ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ Ø áÞÚàÐéÕÝØï

ÔÛØÝë Þ×ÝÐçÐîâ ÛØèì, çâÞ Ø×ÜÕàïÕÜëÙ ÝÐ ÞßëâÕ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã áÞ-
ÑëâØïÜØ Ø Ø×ÜÕàïÕÜÞÕ àÐááâÞïÝØÕ ×ÐÒØáïâ Þâ ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï. ÂÕÞàØï
ÞâÝÞáØâÕÛìÝÞáâØ àÐááÜÐâàØÒÐÕâ àÕ×ãÛìâÐâë ÒàÕÜÕÝÝ �ëå Ø ßàÞáâàÐÝáâÒÕÝÝëå Ø×ÜÕ-
àÕÝØÙ, Ð ÔÒØÖÕÝØÕ ÝÐÑÛîÔÐâÕÛï ÒÛØïÕâ ÝÐ àÕ×ãÛìâÐâë Ø×ÜÕàÕÝØÙ. ÁÞÑáâÒÕÝÝÞÕ
ÒàÕÜï Ø áÞÑáâÒÕÝÝÐï ÔÛØÝÐ � ßÞ ÞßàÕÔÕÛÕÝØî ßÞÝïâØï ÐÑáÞÛîâÝëÕ. ´Ûï ÞÑêïáÝÕ-
ÝØï ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ Ø áÞÚàÐéÕÝØï ÔÛØÝë ÝÕâ ÝÕÞÑåÞÔØÜÞáâØ ØáÚÐâì ÚÐÚØÕ-âÞ
ßàÞæÕááë ØÛØ Ø×ÜÕÝÕÝØï Ò ÔÒØÖãéØåáï çÐáÐå Ø Ò ÔÒØÖãéÕÜáï áâÕàÖÝÕ: íâØ çØáâÞ
ÚØÝÕÜÐâØçÕáÚØÕ íääÕÚâë ÝÕßÞáàÕÔáâÒÕÝÝÞ áÛÕÔãîâ Ø× ÐÝÐÛØ×Ð áÐÜÞÓÞ ßàÞæÕááÐ
Ø×ÜÕàÕÝØï.

¸ÝÞÓÔÐ ×ÐÔÐîâ ÒÞßàÞá: àÕÐÛìÝëÜØ ØÛØ ÚÐÖãéØÜØáï ïÒÛïîâáï ×ÐÜÕÔÛÕÝØÕ ÒàÕ-
ÜÕÝØ Ø áÞÚàÐéÕÝØÕ ÔÛØÝë? ¾âÒÕâ ×ÐÒØáØâ Þâ âÞÓÞ, ÚÐÚÞÙ áÜëáÛ ÒÚÛÐÔëÒÐÕâáï Ò
ßÞÝïâØÕ �àÕÐÛìÝëÙ íääÕÚâ�. °ÝÐÛÞÓØçÝÞ ÜÞÖÝÞ áßàÞáØâì, àÕÐÛìÝëÜ ØÛØ ÚÐÖã-
éØÜáï ïÒÛïÕâáï áÔÒØÓ çÐáâÞâë Ò íääÕÚâÕ ´ÞßÛÕàÐ. ¾âÝÞáØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ Øá-
âÞçÝØÚÐ Ø ÝÐÑÛîÔÐâÕÛï, ÑÕ×ãáÛÞÒÝÞ, ÝØÚÐÚ ÝÕ áÚÐ×ëÒÐÕâáï ÝÐ áÞÑáâÒÕÝÝÞÙ çÐáâÞâÕ
ØáâÞçÝØÚÐ. ½Þ ÝÐÑÛîÔÐâÕÛì ßàØ Ø×ÜÕàÕÝØØ çÐáâÞâë áÞÒÕàèÕÝÝÞ ÞßàÕÔÕÛÕÝÝÞ ÞÑ-
ÝÐàãÖØâ áÔÒØÓ çÐáâÞâë Ò áÛãçÐÕ ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ.

ÂÐÚ ÖÕ ÞÑáâÞØâ ÔÕÛÞ á ×ÐÜÕÔÛÕÝØÕÜ ÒàÕÜÕÝØ Ø áÞÚàÐéÕÝØÕÜ ÔÛØÝë. ÁÞÑáâÒÕÝ-
ÝÞÕ ÒàÕÜï Ø áÞÑáâÒÕÝÝÐï ÔÛØÝÐ ÞâÝîÔì ÝÕ ÜÕÝïîâáï Ø×-×Ð ÔÒØÖÕÝØï á ßÞáâÞïÝ-
ÝÞÙ áÚÞàÞáâìî, ÝÕáÜÞâàï ÝÐ âÞ, çâÞ âÐÚÞÕ ÔÒØÖÕÝØÕ áÚÐ×ëÒÐÕâáï ÝÐ àÕ×ãÛìâÐâÐå
Ø×ÜÕàÕÝØÙ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ. ÍâØ íääÕÚâë ÜÞÖÝÞ ÝÐ×ÒÐâì ÚÐ-
ÖãéØÜØáï Ò âÞÜ áÜëáÛÕ, çâÞ áÞÞâÒÕâáâÒãîéØÕ áÞÑáâÒÕÝÝëÕ ÒÕÛØçØÝë ÞáâÐîâáï
ÝÕØ×ÜÕÝÝëÜØ. ½Þ íâØ íääÕÚâë ïÒÛïîâáï àÕÐÛìÝëÜØ Ò âÐÚÞÜ ÖÕ áÜëáÛÕ, Ò ÚÐÚÞÜ
àÕÐÛìÝëÜØ ïÒÛïîâáï àÕ×ãÛìâÐâë Ø×ÜÕàÕÝØÙ. ¾âÛØçØÕ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ Ø áÞ-
ÚàÐéÕÝØï ÔÛØÝë Þâ íääÕÚâÐ ´ÞßÛÕàÐ Ò íâÞÜ ÞâÝÞèÕÝØØ ×ÐÚÛîçÐÕâáï âÞÛìÚÞ Ò âÞÜ,
çâÞ ÔÒØÖÕÝØÕ áÚÐ×ëÒÐÕâáï ÝÐ àÕ×ãÛìâÐâÐå Ø×ÜÕàÕÝØï çÐáâÞâë ãÖÕ Ø Ò ÚÛÐááØçÕáÚÞÙ
äØ×ØÚÕ, Ð ÝÐ àÕ×ãÛìâÐâÐå Ø×ÜÕàÕÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ � âÞÛìÚÞ
Ò àÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ.

ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ßÕàÕÒÕÛÐ íâØ ÒÕÛØçØÝë � ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ ÜÕÖÔã
áÞÑëâØïÜØ Ø àÐááâÞïÝØï ÜÕÖÔã âÞçÚÐÜØ � Ø× ÐÑáÞÛîâÝëå Ò ÞâÝÞáØâÕÛìÝëÕ. ½Þ Ò
çÕÜ âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÑÕ×ãáÛÞÒÝÞ ÑÞÛÕÕ �ÐÑáÞÛîâÝÐ�, ÝÕÖÕÛØ ÚÛÐááØçÕáÚÐï
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äØ×ØÚÐ, âÐÚ íâÞ Ò áÐÜ �ÞÜ ßàØÝæØßÕ ÞâÝÞáØâÕÛìÝÞáâØ: áÞÓÛÐáÝÞ ßàØÝæØßã ÞâÝÞáØ-
âÕÛìÝÞáâØ ×ÐÚÞÝë äØ×ØÚØ ÐÑáÞÛîâÝë, â. Õ. ÒëßÞÛÝïîâáï ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå
áØáâÕÜÐå ÞâáçÕâÐ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
723, 724, 726, 728, 729, 731, 733, 736.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 376�383, [8], áâà. 12�16.

1.5 ¿àÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ
ÀÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ ßàÞØ×ÒÞÛìÝÞÓÞ áÞÑë-
âØï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ÜÞÖÝÞ ßÞÛã-
çØâì Ø× äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ (1.6) Ø ßàÞáâàÐÝáâÒÕÝÝëå
àÐááâÞïÝØÙ (1.7), ÚÞâÞàëÕ ÑëÛØ ÒëÒÕÔÕÝë ÒëèÕ ÝÕßÞáàÕÔáâÒÕÝÝÞ Ø× ßÞáâãÛÐâÞÒ
âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ á ßÞÜÞéìî ßàÞáâëå ÜëáÛÕÝÝëå ÞßëâÞÒ. ÀÕÛïâØÒØáâáÚØÕ
ßàÕÞÑàÐ×ÞÒÐÝØï ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ áÞÑëâØï ÔÞÛÖÝë ×ÐÜÕÝØâì âÕßÕàì ßàÕÞÑàÐ-
×ÞÒÐÝØï ³ÐÛØÛÕï (1.1), ÚÞâÞàëÕ ÑëÛØ ÞáÝÞÒÐÝë ÝÐ ÚÛÐááØçÕáÚØå ßàÕÔáâÐÒÛÕÝØïå ÞÑ
ÐÑáÞÛîâÝÞÜ åÐàÐÚâÕàÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ.

1.5.1 ²ëÒÞÔ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ
ÀÐááÜÞâàØÜ ÞßØáÐÝØÕ ÝÕÚÞâÞàÞÓÞ áÞÑëâØï A Ò ÔÒãå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå Þâ-
áçÕâÐ K Ø K ′, áçØâÐï, ÚÐÚ Ø ßàÕÖÔÕ, çâÞ áØáâÕÜÐ K ′ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ K Ò
ßÞÛÞÖØâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox áÞ áÚÞàÞáâìî v, Ø çâÞ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0
ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ áØáâÕÜ ÞâáçÕâÐ K Ø K ′ áÞÒßÐÔÐîâ. ¿ãáâì ÚÞÞàÔØÝÐâë Ø ÒàÕÜï
áÞÑëâØï A Ò áØáâÕÜÕ K Õáâì x, y, z Ø t, Ð Ò áØáâÕÜÕ K ′ � áÞÞâÒÕâáâÒÕÝÝÞ x′, y′, z′ Ø
t′ (àØá. 1.6).

y y'

z z'

x x'

v

O O'

K K'

*
A

L

l

0

0

ÀØá. 1.6: º ÒëÒÞÔã ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ

ÀÐááâÞïÝØï Ò ÝÐßàÐÒÛÕÝØïå, ßÕàßÕÝÔØÚãÛïàÝëå Ú ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ~v
áØáâÕÜ ÞâáçÕâÐ, ÚÐÚ ãÖÕ ÑëÛÞ ßÞÚÐ×ÐÝÞ ÒëèÕ (áÜ. áâà. 17), ÞÔØÝÐÚÞÒë Ò K Ø Ò
K ′, ßÞíâÞÜã y = y′ Ø z = z′. ÇâÞÑë ÒëàÐ×Øâì ÚÞÞàÔØÝÐâã x áÞÑëâØï A çÕàÕ× x′

Ø t′, àÐáßÞÛÞÖØÜ ÜëáÛÕÝÝÞ ÖÕáâÚØÙ áâÕàÖÕÝì ÒÔÞÛì ÞáØ Ox Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ
ÔÞ âÞçÚØ x. ¾çÕÒØÔÝÞ, çâÞ ÚÞÞàÔØÝÐâÐ x áÞÑëâØï A Õáâì ßàÞáâÞ áÞÑáâÒÕÝÝÐï ÔÛØ-
ÝÐ íâÞÓÞ áâÕàÖÝï. ¾ÑÞ×ÝÐçØÜ ÕÕ çÕàÕ× L0. ´ÛØÝÐ L íâÞÓÞ ÖÕ áâÕàÖÝï Ò áØáâÕÜÕ
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ÞâáçÕâÐ K ′, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ áâÕàÖÕÝì ÔÒØÖÕâáï áÞ áÚÞàÞáâìî−v, Ò áÞÞâÒÕâ-
áâÒØØ á àÕÛïâØÒØáâáÚÞÙ äÞàÜãÛÞÙ (1.7) ßàÕÞÑàÐ×ÞÒÐÝØï ÔÛØÝë, ÔÐÕâáï ÒëàÐÖÕÝØ-
ÕÜ L = L0

√
1− v2/c2. Á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò K ′, ÔÛØÝã áâÕàÖÝï L ÜÞÖÝÞ

ßàÕÔáâÐÒØâì ÚÐÚ áãÜÜã àÐááâÞïÝØï vt′ ÜÕÖÔã âÞçÚÐÜØ O Ø O′ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t′,
ÚÞÓÔÐ ßÞ ÕÓÞ çÐáÐÜ ßàÞØáåÞÔØâ áÞÑëâØÕ A, Ø ÚÞÞàÔØÝÐâë x′ áÞÑëâØï A (áÜ. àØá. 1.6).
ÂÐÚØÜ ÞÑàÐ×ÞÜ, L0

√
1− v2/c2 = x′ + vt′. ÃçØâëÒÐï, çâÞ L0 = x, ßÞÛãçÐÕÜ Þâáî-

ÔÐ áÛÕÔãîéãî äÞàÜãÛã, ÒëàÐÖÐîéãî ÚÞÞàÔØÝÐâã x áÞÑëâØï A Ò áØáâÕÜÕ K çÕàÕ×
ÚÞÞàÔØÝÐâã x′ Ø ÒàÕÜï t′ íâÞÓÞ ÖÕ áÞÑëâØï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′:

x =
x′ + vt′√
1− v2/c2

. (1.15)

ÇâÞÑë ßÞÛãçØâì ÝÕÔÞáâÐîéãî äÞàÜãÛã ÔÛï ÜÞÜÕÝâÐ ÒàÕÜÕÝØ t çÕàÕ× x′ Ø t′,
ÜëáÛÕÝÝÞ àÐáßÞÛÞÖØÜ âÕßÕàì ÖÕáâÚØÙ áâÕàÖÕÝì Ò áØáâÕÜÕ K ′ ßàÞâïÖÕÝÝÞáâìî Þâ
ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ O′ ÔÞ âÞçÚØ x′. ¾çÕÒØÔÝÞ, çâÞ ÚÞÞàÔØÝÐâÐ x′ áÞÑëâØï A Õáâì ÚÐÚ
àÐ× áÞÑáâÒÕÝÝÐï ÔÛØÝÐ íâÞÓÞ áâÕàÖÝï. ¾ÑÞ×ÝÐçØÜ ÕÕ l0. ¾âÝÞáØâÕÛìÝÞ áØáâÕÜë K
íâÞâ áâÕàÖÕÝì ÔÒØÖÕâáï (ÒÜÕáâÕ á áØáâÕÜÞÙ K ′) áÞ áÚÞàÞáâìî v, Ø ÕÓÞ ÔÛØÝÐ l Ò
K, áÞÓÛÐáÝÞ (1.7), àÐÒÝÐ l0

√
1− v2/c2, â. Õ. x′

√
1− v2/c2. ÂÕßÕàì ÝÐÑÛîÔÐâÕÛì Ò K

ÜÞÖÕâ ßàÕÔáâÐÒØâì ÚÞÞàÔØÝÐâã x áÞÑëâØï A ÚÐÚ áãÜÜã àÐááâÞïÝØï OO′ = vt ÜÕÖ-
Ôã âÞçÚÐÜØ O Ø O′ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t, ÚÞÓÔÐ ßÞ ÕÓÞ çÐáÐÜ ßàÞØáåÞÔØâ áÞÑëâØÕ A,
Ø ÔÛØÝë áâÕàÖÝï l0

√
1− v2/c2. ÂÐÚ ÚÐÚ l0 = x′, ßÞÛãçÐÕÜ x = vt + x′

√
1− v2/c2.

²ëàÐ×ØÜ ×ÔÕáì x çÕàÕ× x′ Ø t′ á ßÞÜÞéìî (1.15). ² àÕ×ãÛìâÐâÕ ßÞáÛÕ ßàÞáâëå ßàÕ-
ÞÑàÐ×ÞÒÐÝØÙ ßÞÛãçÐÕÜ ÞÚÞÝçÐâÕÛìÝÞÕ ÒëàÐÖÕÝØÕ ÔÛï t çÕàÕ× x′ Ø t′:

t =
t′ + (v/c2)x′√

1− v2/c2
. (1.16)

ÄÞàÜãÛë (1.15) Ø (1.16) ÔÐîâ ØáÚÞÜëÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï ÚÞÞàÔØÝÐâ Ø ÒàÕ-
ÜÕÝØ ßàÞØ×ÒÞÛìÝÞÓÞ áÞÑëâØï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕ-
âÐ Ú ÔàãÓÞÙ. ¾ÝØ ÝÞáïâ ÝÐ×ÒÐÝØÕ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ. ²ëßØèÕÜ Øå ÕéÕ àÐ×
ÒÜÕáâÕ:

x =
x′ + vt′√
1− v2/c2

, y = y′, z = z′, t =
t′ + (v/c2)x′√

1− v2/c2
. (1.17)

¾ÑàÐâÝëÕ ßàÕÞÑàÐ×ÞÒÐÝØï Þâ áØáâÕÜë K Ú K ′ ÜÞÖÝÞ ßÞÛãçØâì, àÐ×àÕèÐï ãàÐÒ-
ÝÕÝØï (1.17) ÞâÝÞáØâÕÛìÝÞ x′ Ø t′:

x′ =
x− vt√
1− v2/c2

, y′ = y, z′ = z, t′ =
t− (v/c2)x√

1− v2/c2
. (1.18)

ÀÐ×ãÜÕÕâáï, ÞÑàÐâÝëÕ ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ (1.18) ÞâÛØçÐîâáï Þâ ßàïÜëå
(1.17) ÛØèì ×ÐÜÕÝÞÙ v → −v Ò ßÞÛÝÞÜ áÞÞâÒÕâáâÒØØ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ,
ãâÒÕàÖÔÐîéØÜ àÐÒÝÞßàÐÒØÕ áØáâÕÜ ÞâáçÕâÐ K Ø K ′.

µáÛØ ÞâÝÞáØâÕÛìÝÐï áÚÞàÞáâì v áØáâÕÜ ÞâáçÕâÐ K Ø K ′ ÜÝÞÓÞ ÜÕÝìèÕ áÚÞàÞáâØ
áÒÕâÐ c, ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ (1.17), ÚÐÚ ÛÕÓÚÞ ßàÞÒÕàØâì, ßÕàÕåÞÔïâ Ò ßàÕÞÑ-
àÐ×ÞÒÐÝØï ³ÐÛØÛÕï (1.1). ÍâÞ Þ×ÝÐçÐÕâ, çâÞ âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÝÕ ÞâÒÕàÓÐÕâ
ßàÕÞÑàÐ×ÞÒÐÝØï ³ÐÛØÛÕï ÚÐÚ ÝÕßàÐÒØÛìÝëÕ, Ð ÒÚÛîçÐÕâ Øå Ò ßàÐÒØÛìÝëÕ ßàÕÞÑ-
àÐ×ÞÒÐÝØï � ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ � ÚÐÚ ßàÕÔÕÛìÝëÙ áÛãçÐÙ, áßàÐÒÕÔÛØÒëÙ
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ßàØ ÞâÝÞáØâÕÛìÝëå áÚÞàÞáâïå áØáâÕÜ ÞâáçÕâÐ K Ø K ′, ÜÐÛëå ßÞ áàÐÒÝÕÝØî áÞ áÚÞ-
àÞáâìî áÒÕâÐ (ßàØ v ¿ c). ¸ÝëÜØ áÛÞÒÐÜØ, âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÝÕ ÞâÒÕàÓÐ-
Õâ ÚÛÐááØçÕáÚØÕ ßàÕÔáâÐÒÛÕÝØï Þ ßàÞáâàÐÝáâÒÕ Ø ÒàÕÜÕÝØ Ø ÞßØàÐîéãîáï ÝÐ íâØ
ßàÕÔáâÐÒÛÕÝØï ÚÛÐááØçÕáÚãî (ÝÕàÕÛïâØÒØáâáÚãî) äØ×ØÚã, Ð ãáâÐÝÐÒÛØÒÐÕâ ÓàÐÝØ-
æë ßàØÜÕÝØÜÞáâØ ÝÕàÕÛïâØÒØáâáÚØå ßàÕÔáâÐÒÛÕÝØÙ. ² íâÞÜ ÜÞÖÝÞ ÒØÔÕâì ßàÞïÒ-
ÛÕÝØÕ ÞÑéÕÝÐãçÝÞÓÞ ßàØÝæØßÐ áÞÞâÒÕâáâÒØï, áÞÓÛÐáÝÞ ÚÞâÞàÞÜã ÝÞÒÐï âÕÞàØï,
ßàØåÞÔïéÐï ÝÐ áÜÕÝã áâÐàÞÙ, ÔÞÛÖÝÐ áÒÞÔØâìáï Ú áâÐàÞÙ Ò âÞÙ ÞÑÛÐáâØ ïÒÛÕÝØÙ,
ÓÔÕ áâÐàÐï âÕÞàØï ßÞÛãçØÛÐ ãÑÕÔØâÕÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ ÝÐ ÞßëâÕ. ¿àØ íâÞÜ ÝÞ-
ÒÐï âÕÞàØï ãáâÐÝÐÒÛØÒÐÕâ ÓàÐÝØæë ßàØÜÕÝØÜÞáâØ áâÐàÞÙ âÕÞàØØ.

1.5.2 ÁÛÕÔáâÒØï ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ
¿ÞÚÐÖÕÜ, ÚÐÚ Ø× äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ ÜÞÖÝÞ ßÞÛãçØâì ÞáÝÞÒÝëÕ àÕ-
ÛïâØÒØáâáÚØÕ ÚØÝÕÜÐâØçÕáÚØÕ íääÕÚâë, ØááÛÕÔÞÒÐÝÝëÕ ÒëèÕ ÝÕßÞáàÕÔáâÒÕÝÝÞ ÝÐ
ÞáÝÞÒÕ ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.

• ¾âÝÞáØâÕÛìÝÞáâì ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ (â. Õ. ÞâÝÞáØâÕÛìÝëÙ åÐàÐÚ-
âÕà áØÝåàÞÝØ×ÐæØØ çÐáÞÒ). ÀÐááÜÞâàØÜ áÞÒÞÚãßÝÞáâì áÞÑëâØÙ, ÞÔÝÞÒàÕÜÕÝÝëå á
âÞçÚØ ×àÕÝØï áØáâÕÜë ÞâáçÕâÐ K, ÝÞ ßàÞØáåÞÔïéØå Ò àÐ×Ýëå âÞçÚÐå ÞáØ x. ¿ãáâì,
ÝÐßàØÜÕà, íâØ áÞÑëâØï ×ÐÚÛîçÐîâáï Ò ßàÞåÞÖÔÕÝØØ çÕàÕ× ÝãÛÕÒÞÕ ÔÕÛÕÝØÕ áâàÕ-
ÛÞÚ àÐ×Ýëå çÐáÞÒ, ÝÕßÞÔÒØÖÝëå Ø ßàÕÔÒÐàØâÕÛìÝÞ áØÝåàÞÝØ×ØàÞÒÐÝÝëå Ò áØáâÕÜÕ
ÞâáçÕâÐ K (àØá. 1.7, Ð).

O

O'

x

x'

y

y'

а

б

ÀØá. 1.7: ¾âÝÞáØâÕÛìÝÞáâì áØÝåàÞÝØ×ÐæØØ çÐáÞÒ

¿ÞáâÐÒØÜ ÒÞßàÞá: ÚÐÚØÜØ ÑãÔãâ ßÞÚÐ×ÐÝØï íâØå çÐáÞÒ á âÞçÚØ ×àÕÝØï ÝÐÑÛî-
ÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ò ÞÔØÝ Ø âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ t′ = 0? ¿ÞÔçÕàÚÝÕÜ,
çâÞ àÕçì âÕßÕàì ØÔÕâ Þ áÞÑëâØïå, ÞÔÝÞÒàÕÜÕÝÝëå Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. ¿ÞÔáâÐÒÛïï
t′ = 0 Ò ßÞáÛÕÔÝîî Ø× äÞàÜãÛ (1.17) ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ, ÝÐåÞÔØÜ, çâÞ ÞÔÝÞ-
ÒàÕÜÕÝÝëÜ á âÞçÚØ ×àÕÝØï áØáâÕÜë K ′ áÞÑëâØïÜ, ßàÞØáåÞÔïéØÜ Ò àÐ×Ýëå âÞçÚÐå
ÞáØ x′, áÞÞâÒÕâáâÒãîâ ÝÕ áÞÒßÐÔÐîéØÕ ÜÞÜÕÝâë ÒàÕÜÕÝØ Ò áØáâÕÜÕ ÞâáçÕâÐ K:

t =
v/c2

√
1− v2/c2

x′. (1.19)

Á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ áâàÕÛÚØ âÞÛìÚÞ âÕå çÐáÞÒ (ÝÕßÞ-
ÔÒØÖÝëå Ò áØáâÕÜÕ ÞâáçÕâÐ K), çâÞ ÝÐåÞÔïâáï Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ (â. Õ. ßàØ x′ = 0),
ßÞÚÐ×ëÒÐîâ Ò ÜÞÜÕÝâ t′ = 0 ÝÐ ÝãÛÕÒÞÕ ÔÕÛÕÝØÕ t = 0. ¿ÞÚÐ×ÐÝØï ÒáÕå ÞáâÐÛìÝëå
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çÐáÞÒ, Ò áÞÞâÒÕâáâÒØØ á (1.19), ÑãÔãâ àÐ×ÛØçÐâìáï Ò ×ÐÒØáØÜÞáâØ Þâ ÚÞÞàÔØÝÐâë x′,
ãÚÐ×ëÒÐîéÕÙ Øå ßÞÛÞÖÕÝØÕ ÝÐ ÞáØ x′ Ò íâÞâ ÜÞÜÕÝâ ÒàÕÜÕÝØ t′ = 0 (áÜ. àØá. 1.7,
Ñ). ² íâÞÜ ßàÞïÒÛïÕâáï ÞâÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà ÞÔÝÞÒàÕÜÕÝÝÞáâØ áÞÑëâØÙ Ø áØÝ-
åàÞÝØ×ÐæØØ çÐáÞÒ: ÝÕßÞÔÒØÖÝëÕ Ø áØÝåàÞÝØ×ØàÞÒÐÝÝëÕ Ò áØáâÕÜÕ ÞâáçÕâÐ K çÐáë
á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′ (ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÓÞ
ÒáÕ íâØ çÐáë ÔÒØÖãâáï) ãÖÕ ÝÕ ÑãÔãâ áØÝåàÞÝØ×ØàÞÒÐÝÝëÜØ.

• ¾âÝÞáØâÕÛìÝÞáâì ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ. ¿ãáâì ÔÒÐ áÞ-
ÑëâØï ßàÞØáåÞÔïâ Ò ÞÔÝÞÜ Ø âÞÜ ÖÕ ÜÕáâÕ ÞáØ Ox′ á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò
áØáâÕÜÕ ÞâáçÕâÐ K ′ (â. Õ. x′1 = x′2), ÝÞ Ò àÐ×ÝëÕ ÜÞÜÕÝâë ÒàÕÜÕÝØ t′1 Ø t′2. ÍâØ ÜÞ-
ÜÕÝâë ÒàÕÜÕÝØ Ø×ÜÕàïîâáï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ßÞ ÞÔÝØÜ Ø âÕÜ ÖÕ çÐáÐÜ, ßÞíâÞÜã
àÐ×ÝÞáâì t′2 − t′1 àÐÒÝÐ áÞÑáâÒÕÝÝÞÜã ÒàÕÜÕÝØ τ0 ÔÛï ÔÐÝÝÞÙ ßÐàë áÞÑëâØÙ. ºÐÚÞÙ
ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ = t2−t1 ßàÞèÕÛ ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ á âÞçÚØ ×àÕÝØï
ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K? ² áØáâÕÜÕ ÞâáçÕâÐ K íâØ áÞÑëâØï ßàÞØáåÞÔïâ Ò
àÐ×Ýëå ÜÕáâÐå, Ø ÜÞÜÕÝâë ÒàÕÜÕÝØ t1 Ø t2 Ø×ÜÕàïîâáï á ßÞÜÞéìî àÐ×Ýëå (áØÝåàÞ-
ÝØ×ØàÞÒÐÝÝëå ÜÕÖÔã áÞÑÞÙ) çÐáÞÒ. ÁÞÓÛÐáÝÞ ßàÕÞÑàÐ×ÞÒÐÝØïÜ »ÞàÕÝæÐ (1.17)

t1 =
t′1 + (v/c2)x′√

1− v2/c2
, t2 =

t′2 + (v/c2)x′√
1− v2/c2

.

·ÔÕáì Üë ãçÛØ, çâÞ x′1 = x′2 = x′. ¾âáîÔÐ ÔÛï àÐ×ÝÞáâØ τ = t2 − t1 ßÞÛãçÐÕÜ

t2 − t1 =
t′2 − t′1√
1− v2/c2

, τ =
τ0√

1− v2/c2
,

çâÞ áÞÒßÐÔÐÕâ á äÞàÜãÛÞÙ (1.6), ßÞÛãçÕÝÝÞÙ ÒëèÕ ÝÕßÞáàÕÔáâÒÕÝÝÞ Ø× ßÞáâãÛÐâÞÒ
âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ßàØ ÐÝÐÛØ×Õ ÜëáÛÕÝÝÞÓÞ ÞßëâÐ áÞ �áÒÕâÞÒëÜØ çÐáÐÜØ�.

• ¾âÝÞáØâÕÛìÝÞáâì ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ (áÞÚàÐéÕÝØÕ »ÞàÕÝæÐ �
ÄØâæÔÖÕàÐÛìÔÐ). ¿àÕÔßÞÛÞÖØÜ, çâÞ ÖÕáâÚØÙ áâÕàÖÕÝì, ÞàØÕÝâØàÞÒÐÝÝëÙ ÒÔÞÛì
ÞáØ Ox′, ßÞÚÞØâáï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. µÓÞ ÔÛØÝÐ ßÞÚÞï l0 (áÞÑáâÒÕÝÝÐï ÔÛØÝÐ)
àÐÒÝÐ àÐ×ÝÞáâØ ÚÞÞàÔØÝÐâ ÚÞÝæÐ áâÕàÖÝï Ø ÕÓÞ ÝÐçÐÛÐ: l0 = x′2 − x′1. ½ÐÑÛîÔÐâÕÛì
Ò áØáâÕÜÕ ÞâáçÕâÐ K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÓÞ áâÕàÖÕÝì ÔÒØÖÕâáï, ßàØ Ø×ÜÕàÕÝØØ
ÔÛØÝë áâÕàÖÝï l âÞÖÕ ÔÞÛÖÕÝ Ò×ïâì àÐ×ÝÞáâì ÚÞÞàÔØÝÐâ ÚÞÝæÐ áâÕàÖÝï Ø ÕÓÞ ÝÐ-
çÐÛÐ: l = x2−x1, ÝÞ ×ÔÕáì ÒÐÖÝÞ, çâÞÑë ÚÞÞàÔØÝÐâë x1 Ø x2 ÑëÛØ Ø×ÜÕàÕÝë Ò ÞÔØÝ Ø
âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ t ßÞ çÐáÐÜ Ò áØáâÕÜÕ ÞâáçÕâÐ K. ÁÞÓÛÐáÝÞ äÞàÜãÛÐÜ (1.18)
ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ

x′1 =
x1 − vt√
1− v2/c2

, x′2 =
x2 − vt√
1− v2/c2

,

ÞâÚãÔÐ
x2 − x1 = (x′2 − x′1)

√
1− v2/c2, l = l0

√
1− v2/c2,

çâÞ áÞÒßÐÔÐÕâ á äÞàÜãÛÞÙ (1.7) áÞÚàÐéÕÝØï »ÞàÕÝæÐ � ÄØâæÔÖÕàÐÛìÔÐ, ßÞÛãçÕÝ-
ÝÞÙ ÒëèÕ ßàØ ÐÝÐÛØ×Õ ÜëáÛÕÝÝëå ÞßëâÞÒ ÝÐ ÞáÝÞÒÕ ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØ-
âÕÛìÝÞáâØ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
730, 733, 734, 737.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 366�376, [2], áâà. 519�526.
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1.6 ÀÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ
ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ

¸× ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17) ÔÛï ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ áÞÑëâØï ßàØ ßÕàÕåÞ-
ÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ÜÞÖÝÞ ßÞÛãçØâì ×ÐÚÞÝ ßàÕÞÑ-
àÐ×ÞÒÐÝØï áÚÞàÞáâØ çÐáâØæë. ¿ãáâì àÐÔØãá-ÒÕÚâÞà ~r(t) ×ÐÔÐÕâ ßÞÛÞÖÕÝØÕ ÔÒØÖã-
éÕÙáï çÐáâØæë Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t Ò áØáâÕÜÕ K, Ð ~r′(t′) � ßÞÛÞÖÕÝØÕ âÞÙ ÖÕ çÐ-
áâØæë Ò áØáâÕÜÕ K ′ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t′. ÂÞÓÔÐ ~u = d~r/dt � áÚÞàÞáâì íâÞÙ çÐáâØæë
ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë K, Ð ~u′ = d~r′/dt′ � áÚÞàÞáâì âÞÙ ÖÕ çÐáâØæë ÞâÝÞáØâÕÛìÝÞ
áØáâÕÜë ÞâáçÕâÐ K ′. ÀÐááÜÐâàØÒÐï ÔÒØÖÕÝØÕ çÐáâØæë ÚÐÚ ÝÕßàÕàëÒÝãî ßÞáÛÕÔÞ-
ÒÐâÕÛìÝÞáâì áÞÑëâØÙ, ÜÞÖÝÞ ÝÐÙâØ áÒï×ì ÜÕÖÔã ßàÞÕÚæØïÜØ ÒÕÚâÞàÐ áÚÞàÞáâØ ~u Ø
~u′ Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

~u =
d~r

dt
=

d~r

dt′
dt′

dt
=

d~r

dt′
1

(dt/dt′)
. (1.20)

¿àÞØ×ÒÞÔÝëÕ d~r/dt′ Ø dt/dt′ Ò ßàÐÒÞÙ çÐáâØ (1.20) ÝÐÙÔÕÜ á ßÞÜÞéìî ßàÕÞÑàÐ-
×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17). ¿àØ ÔØääÕàÕÝæØàÞÒÐÝØØ ÝãÖÝÞ ßàØÝØÜÐâì ÒÞ ÒÝØÜÐÝØÕ
âÞ, çâÞ ~r(t) Ø t ×ÐÒØáïâ Þâ t′ ÝÕ âÞÛìÚÞ ïÒÝÞ, ÝÞ Ø çÕàÕ× ~r′(t′). ² àÕ×ãÛìâÐâÕ ßÞÛãçÐÕÜ:

dx

dt′
=

1√
1− v2/c2

(
dx′

dt′
+ v

)
,

dy

dt′
=

dy′

dt′
,

dz

dt′
=

dz′

dt′
, (1.21)

Ø, ÝÐÚÞÝÕæ,

dt

dt′
=

1√
1− v2/c2

(
1 +

v

c2

dx′

dt′

)
. (1.22)

¿ÞÔáâÐÒÛïï ÒëàÐÖÕÝØï (1.21) Ø (1.22) Ò (1.20), ßÞÛãçÐÕÜ ØáÚÞÜëÙ àÕÛïâØÒØáâ-
áÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ çÐáâØæë:

ux =
u′x + v

1 + vu′x/c2
, uy =

u′y
√

1− v2/c2

1 + vu′x/c2
, uz =

u′z
√

1− v2/c2

1 + vu′x/c2
. (1.23)

² ßàÕÔÕÛìÝÞÜ áÛãçÐÕ ÜÕÔÛÕÝÝëå ÔÒØÖÕÝØÙ, ÚÞÓÔÐ Ø áÚÞàÞáâì çÐáâØæë, Ø ÞâÝÞ-
áØâÕÛìÝÐï áÚÞàÞáâì ÔÒãå áØáâÕÜ ÞâáçÕâÐ ÜÝÞÓÞ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ (â. Õ. ßàØ
v ¿ c, |u′x| ¿ c) ÒëàÐÖÕÝØï (1.23) ßÕàÕåÞÔïâ Ò ÚÛÐááØçÕáÚØÕ äÞàÜãÛë ßàÕÞÑàÐ-
×ÞÒÐÝØï áÚÞàÞáâØ (1.2), ÒëâÕÚÐîéØÕ Ø× ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï (1.1). ¾âÜÕâØÜ,
çâÞ àÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ çÐáâØæë (1.23) ßàØ ßÕàÕåÞÔÕ
Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ÞâÝîÔì ÝÕ áÒÞÔØâáï Ú ÒÕÚâÞàÝÞÜã
áÛÞÖÕÝØî ÞâÝÞáØâÕÛìÝÞÙ (~u′) Ø ßÕàÕÝÞáÝÞÙ (~v) áÚÞàÞáâÕÙ. ²ßàÞçÕÜ, íâÞ ÝÕ Þ×ÝÐçÐ-
Õâ, çâÞ Ò àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ áÚÞàÞáâì çÐáâØæë ÒÞÞÑéÕ ÝÕÛì×ï àÐááÜÐâàØÒÐâì
ÚÐÚ ÒÕÚâÞàÝãî ÒÕÛØçØÝã: ßàØ àÐ×ÛÞÖÕÝØØ ÝÐ áÞáâÐÒÛïîéØÕ Ò àÐÜÚÐå ÚÐÚÞÙ-ÛØÑÞ
ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ áÚÞàÞáâì ÒÕÔÕâ áÕÑï ÚÐÚ ÞÑëçÝëÙ ÒÕÚâÞà, â. Õ. ßÞÛÝÐï áÚÞ-
àÞáâì àÐÒÝÐ ÒÕÚâÞàÝÞÙ áãÜÜÕ áÚÞàÞáâÕÙ ÞâÔÕÛìÝëå ÔÒØÖÕÝØÙ, ÝÐ ÚÞâÞàëÕ Üë àÐ×-
ÛÐÓÐÕÜ ÔÒØÖÕÝØÕ çÐáâØæë.

ÄÞàÜãÛë ÔÛï ÞÑàÐâÝÞÓÞ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ ßàØ ßÕàÕåÞÔÕ Þâ áØáâÕÜë Þâ-
áçÕâÐ K Ú K ′ ÜÞÖÝÞ ßÞÛãçØâì Ø× (1.23) Ø×ÜÕÝÕÝØÕÜ ×ÝÐÚÐ áÚÞàÞáâØ v ÞÔÝÞÙ áØáâÕÜë
ÞâáçÕâÐ ÞâÝÞáØâÕÛìÝÞ ÔàãÓÞÙ:
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u′x =
ux − v

1− vux/c2
, u′y =

uy

√
1− v2/c2

1− vux/c2
, u′z =

uz

√
1− v2/c2

1− vux/c2
. (1.24)

1.6.1 ¿àÕÞÑàÐ×ÞÒÐÝØÕ áÚÞàÞáâØ Ø ßàÕÔÕÛìÝÐï áÚÞàÞáâì
ÀÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ áÞÓÛÐáãÕâáï, àÐ×ãÜÕÕâáï, á ØáåÞÔ-
ÝëÜ ßÞáâãÛÐâÞÜ ÞÑ ÐÑáÞÛîâÝÞÜ åÐàÐÚâÕàÕ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ (áÚÞàÞáâØ áÒÕâÐ c).
ÇâÞÑë ãÑÕÔØâìáï Ò íâÞÜ, àÐááÜÞâàØÜ, ÝÐßàØÜÕà, áÒÕâÞÒÞÙ ØÜßãÛìá, àÐáßàÞáâàÐÝï-
îéØÙáï ÒÔÞÛì ÞáØ Ox′ áÞ áÚÞàÞáâìî c ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K ′. ÇâÞÑë
ÝÐÙâØ ÕÓÞ áÚÞàÞáâì ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K, Ò äÞàÜãÛÐå (1.23) ßÞÛÞÖØÜ
u′x = c. ¿àØ íâÞÜ ßÕàÒÐï Ø× äÞàÜãÛ (1.23) ÔÐÕâ

ux =
c + v

1 + v/c
= c,

â. Õ. áÒÕâÞÒÞÙ ØÜßãÛìá Ø ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K àÐáßàÞáâàÐÝïÕâáï á âÞÙ
ÖÕ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâìî c.

·ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (1.23) ÝÐåÞÔØâáï âÐÚÖÕ Ò ßÞÛÝÞÜ áÞÞâÒÕâáâÒØØ
á âÕÜ, çâÞ áÚÞàÞáâì c áâÐÒØâ ßàÕÔÕÛ ÔÞáâØÖØÜëÜ áÚÞàÞáâïÜ ÔÒØÖÕÝØï ÜÐâÕàØÐÛì-
Ýëå âÕÛ: ÝØÚÐÚÐï ÜÐâÕàØÐÛìÝÐï çÐáâØæÐ ÝØ Ò ÚÐÚÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÝÕ ÜÞÖÕâ ØÜÕâì
áÚÞàÞáâì, ßàÕÒëèÐîéãî áÚÞàÞáâì áÒÕâÐ c. ¿ÞÚÐÖÕÜ íâÞ. ÀÐááÜÞâàØÜ ÔÛï ÞßàÕÔÕ-
ÛÕÝÝÞáâØ çÐáâØæã, ÔÒØÖãéãîáï ÒÔÞÛì ÞáØ Ox′. µÕ áÚÞàÞáâì u′ ÞâÝÞáØâÕÛìÝÞ áØáâÕ-
Üë ÞâáçÕâÐ K ′ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ: u′ < c. ÂÞÓÔÐ Ø× äÞàÜãÛ (1.23) áÛÕÔãÕâ, çâÞ
Ø Ò áØáâÕÜÕ ÞâáçÕâÐ K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ K ′ ÔÒØÖÕâáï áÞ áÚÞàÞáâìî v, áÚÞÛì
ãÓÞÔÝÞ ÑÛØ×ÚÞÙ Ú áÚÞàÞáâØ áÒÕâÐ (ÝÞ, àÐ×ãÜÕÕâáï, v < c), áÚÞàÞáâì çÐáâØæë ÒáÕÓÔÐ
ÑãÔÕâ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ: u < c. ² áÐÜÞÜ ÔÕÛÕ, Ò íâÞÜ áÛãçÐÕ (1.23) áÒÞÔØâáï Ò
ÒëàÐÖÕÝØî

u =
u′ + v

1 + u′v/c2
, (1.25)

Ø× ÚÞâÞàÞÓÞ Ò àÕ×ãÛìâÐâÕ ßàÞáâëå ßàÕÞÑàÐ×ÞÒÐÝØÙ ßÞÛãçÐÕÜ:

u− c =
u′ + v

1 + u′v/c2
− c =

(u′ − c)(1− v/c)

1 + u′v/c2
< 0.

¾âáîÔÐ áÛÕÔãÕâ, çâÞ ÔÐÖÕ ßàØ áÚÞÛì ãÓÞÔÝÞ ÑÞÛìèÞÙ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ v
(ÝÞ v < c) áÚÞàÞáâì çÐáâØæë Ò áØáâÕÜÕ ÞâáçÕâÐ K ÑãÔÕâ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ:
u < c (âÐÚ ÚÐÚ u′ < c). ½ÐßàØÜÕà, ÕáÛØ çÐáâØæÐ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë
ÞâáçÕâÐ K ′ áÞ áÚÞàÞáâìî u′ = 3

4
c, Ð áØáâÕÜÐ ÞâáçÕâÐ K ′ á âÐÚÞÙ ÖÕ áÚÞàÞáâìî v = 3

4
c

ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K, âÞ, Ò áÞÞâÒÕâáâÒØØ á (1.25), íâÐ çÐáâØæÐ ÔÒØÖÕâáï
ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K áÞ áÚÞàÞáâìî u = 3

2
c/(1 + 9

16
) = 24

25
c.

1.6.2 ¾âÝÞáØâÕÛìÝÐï áÚÞàÞáâì Ø áÚÞàÞáâì àÐ×ÛÕâÐ
ÀÐááÜÞâàØÜ ÜëáÛÕÝÝëÙ Þßëâ, Ò ÚÞâÞàÞÜ ßÞÚÞïéÐïáï àÐÔØÞÐÚâØÒÝÐï çÐáâØæÐ àÐá-
ßÐÔÐÕâáï ÝÐ ÔÒÐ ÞÔØÝÐÚÞÒëå ÞáÚÞÛÚÐ, àÐ×ÛÕâÐîéØåáï á ÑÞÛìèØÜØ áÚÞàÞáâïÜØ. ¸×
áÞåàÐÝÕÝØï ØÜßãÛìáÐ áÛÕÔãÕâ, çâÞ ÞâÝÞáØâÕÛìÝÞ ÛÐÑÞàÐâÞàØØ áÚÞàÞáâØ ÞáÚÞÛÚÞÒ
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ÞÔØÝÐÚÞÒë ßÞ ÜÞÔãÛî Ø ÝÐßàÐÒÛÕÝë Ò ßàÞâØÒÞßÞÛÞÖÝëÕ áâÞàÞÝë (àØá. 1.8). ¿ãáâì,
ÝÐßàØÜÕà, íâØ áÚÞàÞáâØ àÐÒÝë 3/4 áÚÞàÞáâØ áÒÕâÐ. Á ÚÐÚÞÙ áÚÞàÞáâìî àÐ×ÛÕâÐîâáï
ÞáÚÞÛÚØ?

y y'

z z'

x x'

v

O O'

K K'

v

vt2

−

1 2

ÀØá. 1.8: ´ÒØÖÕÝØÕ ÞÔØÝÐÚÞÒëå ÞáÚÞÛÚÞÒ ÞâÝÞáØâÕÛìÝÞ ÛÐÑÞàÐâÞàØØ.

ÇâÞÑë ÔÐâì ÞßàÕÔÕÛÕÝÝëÙ ÞâÒÕâ ÝÐ ßÞáâÐÒÛÕÝÝëÙ ÒÞßàÞá, ÝÕÞÑåÞÔØÜÞ ãâÞçÝØâì
áÐÜã ßÞáâÐÝÞÒÚã ÒÞßàÞáÐ. ºÐÚãî ØÜÕÝÝÞ ÒÕÛØçØÝã Üë ØÜÕÕÜ Ò ÒØÔã, ÚÞÓÔÐ ÓÞÒÞ-
àØÜ ßàÞ áÚÞàÞáâì àÐ×ÛÕâÐ ÞáÚÞÛÚÞÒ? µáÛØ àÐááÜÐâàØÒÐâì àÐááâÞïÝØÕ l(t) ÜÕÖÔã
ÞáÚÞÛÚÐÜØ, Ø×ÜÕàÕÝÝÞÕ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ, âÞ ÜÞÖÝÞ ÓÞÒÞàØâì Þ áÚÞ-
àÞáâØ, á ÚÞâÞàÞÙ íâÞ àÐááâÞïÝØÕ ÒÞ×àÐáâÐÕâ áÞ ÒàÕÜÕÝÕÜ. µáÛØ ØÜÕÝÝÞ íâã ÒÕÛØçØ-
Ýã u = dl/dt ÝÐ×ëÒÐâì áÚÞàÞáâìî àÐ×ÛÕâÐ ÞáÚÞÛÚÞÒ ÞâÝÞáØâÕÛìÝÞ ÛÐÑÞàÐâÞàÝÞÙ
áØáâÕÜë ÞâáçÕâÐ, âÞ ßàØ áÚÞàÞáâïå áÐÜØå ÞáÚÞÛÚÞÒ v = 3

4
c ÔÛï áÚÞàÞáâØ àÐ×ÛÕ-

âÐ ßÞÛãçØÜ ×ÝÐçÕÝØÕ u = 2v = 3
2
c, Ò ßÞÛâÞàÐ àÐ×Ð ßàÕÒëèÐîéÕÕ áÚÞàÞáâì áÒÕâÐ.

¿àÞâØÒÞàÕçØâ ÛØ âÐÚÞÕ ×ÐÚÛîçÕÝØÕ ßÞáâãÛÐâã âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Þ áãéÕáâÒÞ-
ÒÐÝØØ ÚÞÝÕçÝÞÓÞ ßàÕÔÕÛÐ c = 3 · 108 Ü/á ÔÛï áÚÞàÞáâÕÙ ÛîÑëå ÔÒØÖÕÝØÙ?

² ÛØâÕàÐâãàÕ çÐáâÞ ãßÞÜØÝÐîâáï ïÒÛÕÝØï, ÔÛï ÚÞâÞàëå ÜÞÖÝÞ ÒÒÕáâØ ßÞÝïâØÕ
áÚÞàÞáâØ, ßàØçÕÜ âÐÚÞÓÞ àÞÔÐ áÚÞàÞáâì ÜÞÖÕâ ØÜÕâì áÚÞÛì ãÓÞÔÝÞ ÑÞÛìèãî ÒÕ-
ÛØçØÝã. ¸ÝÞÓÔÐ áãéÕáâÒÞÒÐÝØÕ âÐÚØå ïÒÛÕÝØÙ ßàØÒÞÔØâáï Ò ÚÐçÕáâÒÕ ÐàÓãÜÕÝâÐ,
ÞßàÞÒÕàÓÐîéÕÓÞ âÕÞàØî ÞâÝÞáØâÕÛìÝÞáâØ. ½Þ Ò ÔÕÙáâÒØâÕÛìÝÞáâØ ßÞáâãÛÐâ âÕÞàØØ
ÞâÝÞáØâÕÛìÝÞáâØ ãâÒÕàÖÔÐÕâ ÛØèì ÝÕÒÞ×ÜÞÖÝÞáâì ßÕàÕÔÐçØ áØÓÝÐÛÐ, ÚÐÚÞÓÞ Ñë
âÞ ÝØ ÑëÛÞ ÒÞ×ÔÕÙáâÒØï, ÚÐÚÞÙ-ÛØÑÞ ØÝäÞàÜÐæØØ áÞ áÚÞàÞáâìî, ßàÕÒëèÐîéÕÙ
áÚÞàÞáâì áÒÕâÐ. °ÝÐÛØ× ÒáÕå ßÞÔÞÑÝëå ßàØÜÕàÞÒ á ßÞÛÝÞÙ ÞßàÕÔÕÛÕÝÝÞáâìî ßÞÚÐ-
×ëÒÐÕâ, çâÞ ãßÞÜØÝÐÕÜëÕ Ò ÝØå ÔÒØÖÕÝØï áÞ áÚÞàÞáâïÜØ, ßàÕÒëèÐîéØÜØ áÚÞàÞáâì
áÒÕâÐ, ÝÕ ÜÞÓãâ Ñëâì ØáßÞÛì×ÞÒÐÝë ÔÛï ßÕàÕÔÐçØ áØÓÝÐÛÞÒ. ÂÐÚÞÕ ×ÐÚÛîçÕÝØÕ ÞâÝÞ-
áØâáï Ø Ú ÒÒÕÔÕÝÝÞÙ ÒëèÕ áÚÞàÞáâØ àÐ×ÛÕâÐ ÞáÚÞÛÚÞÒ, Ø×ÜÕàïÕÜÞÙ Ò ÛÐÑÞàÐâÞàÝÞÙ
áØáâÕÜÕ ÞâáçÕâÐ.

½Þ áÞÒáÕÜ ÔàãÓÞÕ ÔÕÛÞ, ÕáÛØ Üë ÑãÔÕÜ ÓÞÒÞàØâì Þ áÚÞàÞáâØ, á ÚÞâÞàÞÙ ÛîÑÞÙ Ø×
ÞáÚÞÛÚÞÒ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ ÔàãÓÞÓÞ, â. Õ. Þ ÒÕÛØçØÝÕ, ÚÞâÞàãî ÜÞÖÝÞ ÝÐ×ÒÐâì
ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâìî àÐ×ÛÕâÐîéØåáï ÞáÚÞÛÚÞÒ. ÁÚÞàÞáâì ÞÔÝÞÙ çÐáâØæë
ÞâÝÞáØâÕÛìÝÞ ÔàãÓÞÙ ÔÞÛÖÝÐ ãÔÞÒÛÕâÒÞàïâì àÕÛïâØÒØáâáÚØÜ ßÞáâãÛÐâÐÜ Ø ßÞíâÞÜã
ÝÕ ÜÞÖÕâ ßàÕÒëèÐâì áÚÞàÞáâì áÒÕâÐ. ÇâÞÑë ÝÐÙâØ ÞâÝÞáØâÕÛìÝãî áÚÞàÞáâì, ÝãÖÝÞ
ßÕàÕÙâØ Ø× ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜë ÞâáçÕâÐ (ßãáâì íâÞ ÑãÔÕâ áØáâÕÜÐ K), ÓÔÕ áÚÞàÞ-
áâØ ÞáÚÞÛÚÞÒ 1 Ø 2 àÐÒÝë −~v Ø ~v áÞÞâÒÕâáâÒÕÝÝÞ, Ò áØáâÕÜã ÞâáçÕâÐ, áÒï×ÐÝÝãî á
ÞÔÝØÜ Ø× ÞáÚÞÛÚÞÒ, ÝÐßàØÜÕà, Ò áØáâÕÜã ÞâáçÕâÐ K ′, áÒï×ÐÝÝãî á ÞáÚÞÛÚÞÜ 2 (áÜ.
àØá. 1.8). ¾âÝÞáØâÕÛìÝÞ K ′ áÚÞàÞáâì ÒâÞàÞÓÞ ÞáÚÞÛÚÐ v′2 = 0, Ð ÔÛï ÝÐåÞÖÔÕÝØï
áÚÞàÞáâØ ÞáÚÞÛÚÐ 1 (â. Õ. ÒÕÛØçØÝë v′1) ÝãÖÝÞ ÞÑàÐâØâìáï Ú ßÕàÒÞÙ Ø× äÞàÜãÛ (1.24),
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ßÞÔáâÐÒØÒ Ò ÝÕÕ ux = −v (áÚÞàÞáâì ÞáÚÞÛÚÐ 1 ÞâÝÞáØâÕÛìÝÞ K). ² àÕ×ãÛìâÐâÕ ßÞ-
ÛãçÐÕÜ v′1 = −2v/(1 + v2/c2) = −24

25
c (ßàØ v = 3

4
c) � ÞâÝÞáØâÕÛìÝÐï áÚÞàÞáâì

àÐ×ÛÕâÐîéØåáï çÐáâØæ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ, Ò ßÞÛÝÞÜ áÞÓÛÐáØØ á ßÞáâãÛÐâÐÜØ
âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.

´Ûï ÝÐåÞÖÔÕÝØï ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÜÞÖÝÞ ßÕàÕÙâØ Ø Ò áØáâÕÜã ÞâáçÕâÐ,
áÒï×ÐÝÝãî á ÞáÚÞÛÚÞÜ 1. ÂÐÚ ÚÐÚ íâÐ áØáâÕÜÐ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ ÛÐÑÞàÐâÞà-
ÝÞÙ áÞ áÚÞàÞáâìî v Ò ÞâàØæÐâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox, Ò äÞàÜãÛÐå (1.24) ÝãÖ-
ÝÞ ×ÐÜÕÝØâì v ÝÐ −v. ¿ÞÔáâÐÒÛïï Ò ßÕàÒãî Ø× äÞàÜãÛ (1.24) áÚÞàÞáâì ÞáÚÞÛÚÐ 2
Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ux = v, ßÞÛãçÐÕÜ âÐÚãî ÖÕ (ßÞ ÜÞÔãÛî) ÞâÝÞáØâÕÛìÝãî
áÚÞàÞáâì ÞáÚÞÛÚÞÒ v′2 = 2v/(1 + v2/c2) = 24

25
c.

¿ÞÝïâØÕ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÜÞÖÝÞ, àÐ×ãÜÕÕâáï, ßàØÜÕÝïâì ÝÕ âÞÛìÚÞ Ú
çÐáâØæÐÜ, ÝÞ Ø Ú áØáâÕÜÐÜ ÞâáçÕâÐ. ²ÒÕÔÕÜ ÚàÞÜÕ áØáâÕÜë K ′, ÔÒØÖãéÕÙáï ÞâÝÞ-
áØâÕÛìÝÞ K áÞ áÚÞàÞáâìî v1, ÕéÕ ÞÔÝã áØáâÕÜã ÞâáçÕâÐ K ′′, ÚÞâÞàÐï ÔÒØÖÕâáï Þâ-
ÝÞáØâÕÛìÝÞ K ′ áÞ áÚÞàÞáâìî v2. ¼ÞÖÝÞ ßÞÚÐ×Ðâì (áÜ., ÝÐßàØÜÕà, ×ÐÔÐçã 737 Ò [6]),
çâÞ àÕ×ãÛìâÐâ ßÞáÛÕÔÞÒÐâÕÛìÝÞ ÒëßÞÛÝÕÝÝëå ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17) ÔÛï
ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ ÝÕÚÞâÞàÞÓÞ áÞÑëâØï áÝÐçÐÛÐ Þâ K Ú K ′, Ð ×ÐâÕÜ Þâ K ′ Ú K ′′ íÚ-
ÒØÒÐÛÕÝâÕÝ ÞÔÝÞÜã ßàÕÞÑàÐ×ÞÒÐÝØî »ÞàÕÝæÐ ÝÕßÞáàÕÔáâÒÕÝÝÞ Þâ áØáâÕÜë K Ú K ′′,
ßàØçÕÜ ÞâÝÞáØâÕÛìÝÐï áÚÞàÞáâì v áØáâÕÜ K ′′ Ø K ÒëàÐÖÐÕâáï çÕàÕ× v1 Ø v2 áÛÕÔã-
îéØÜ áÞÞâÝÞèÕÝØÕÜ, áÞÞâÒÕâáâÒãîéØÜ àÕÛïâØÒØáâáÚÞÜã ×ÐÚÞÝã ßàÕÞÑàÐ×ÞÒÐÝØï
áÚÞàÞáâØ (1.23):

v =
v1 + v2

1 + v1v2/c2
. (1.26)

ÀÕ×ãÛìâÐâ âÐÚÞÓÞ áÛÞÖÕÝØï ÞâÝÞáØâÕÛìÝëå áÚÞàÞáâÕÙ ÝØÚÞÓÔÐ ÝÕ ßàÕÒëèÐÕâ
áÚÞàÞáâØ áÒÕâÐ c.

1.6.3 ´ÒØÖãéØÙáï Ø×ÞâàÞßÝëÙ ØáâÞçÝØÚ áÒÕâÐ
² ÚÐçÕáâÒÕ ßàØÜÕàÐ ßàØÜÕÝÕÝØï àÕÛïâØÒØáâáÚÞÓÞ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ, ×Ð-
âàÐÓØÒÐîéÕÓÞ áÞáâÐÒÛïîéØÕ áÚÞàÞáâØ, ßÞßÕàÕçÝëÕ Ú ÞâÝÞáØâÕÛìÝÞÜã ÔÒØÖÕÝØî
áØáâÕÜ ÞâáçÕâÐ, àÐááÜÞâàØÜ ÜëáÛÕÝÝëÙ Þßëâ á âÞçÕçÝëÜ ØáâÞçÝØÚÞÜ áÒÕâÐ, ßÞÚÞ-
ïéØÜáï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ø àÐÒÝÞÜÕàÝÞ Ø×ÛãçÐîéØÜ áÒÕâ ßÞ ÒáÕÜ ÝÐßàÐÒÛÕÝØ-
ïÜ (àØá. 1.9, Ð).

ÀÐááÜÞâàØÜ âÕ 50% áÒÕâÞÒÞÓÞ ßÞâÞÚÐ, ÚÞâÞàëÕ ØáâÞçÝØÚ Ø×ÛãçÐÕâ Ò ßÕàÕÔÝîî
ßÞÛãáäÕàã Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. Á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K,
ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ ØáâÞçÝØÚ ÔÒØÖÕâáï áÞ áÚÞàÞáâìî v, Ø×ÛãçÕÝØÕ ãÖÕ ÞâÝîÔì
ÝÕ ÑãÔÕâ Ø×ÞâàÞßÝëÜ: íâØ 50% áÒÕâÞÒÞÓÞ ßÞâÞÚÐ ÑãÔãâ Ø×ÛãçÐâìáï ßàÕØÜãéÕáâÒÕÝ-
ÝÞ ÒßÕàÕÔ ßÞ ÝÐßàÐÒÛÕÝØî ÔÒØÖÕÝØï Ò ÚÞÝãá á ãÓÛÞÒëÜ ßÞÛãàÐáâÒÞàÞÜ δ (àØá. 1.9,
Ñ), ßàØçÕÜ cos δ = v/c.

² áÐÜÞÜ ÔÕÛÕ, Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ûãç áÒÕâÐ, ÞÓàÐÝØçØÒÐîéØÙ àÐááÜÐâàØÒÐÕ-
ÜëÙ ßÞâÞÚ, ÝÐßàÐÒÛÕÝ ÒÔÞÛì ÞáØ Oy′ Ø ÔÛï ÝÕÓÞ u′x = 0, u′y = c, u′z = 0. ¿ÕàÕåÞÔï Ò
áØáâÕÜã ÞâáçÕâÐ K ßÞ äÞàÜãÛÐÜ (1.23), ßÞÛãçØÜ ÔÛï íâÞÓÞ ÛãçÐ áÛÕÔãîéØÕ ×ÝÐçÕ-
ÝØï ßàÞÕÚæØÙ áÚÞàÞáâØ:

ux = v, uy = c
√

1− v2/c2, uz = 0, (1.27)
ÞâÚãÔÐ
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ÀØá. 1.9: ½ÕßÞÔÒØÖÝëÙ Ò K ′ ØáâÞçÝØÚ áÒÕâÐ, Ø×ÛãçÐîéØÙ áÒÕâ àÐÒÝÞÜÕàÝÞ ßÞ ÒáÕÜ
ÝÐßàÐÒÛÕÝØïÜ (Ð), Ø àÐáßàÕÔÕÛÕÝØÕ áÒÕâÞÒÞÓÞ ßÞâÞÚÐ ÔÛï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ
ÞâáçÕâÐ K (Ñ)

cos δ =
ux√

u2
x + u2

y

=
v

c
.

¿àØ áÚÞàÞáâØ ØáâÞçÝØÚÐ, ÑÛØ×ÚÞÙ Ú áÚÞàÞáâØ áÒÕâÐ, 50% Ø×ÛãçÕÝØï ØáâÞçÝØ-
ÚÐ áÚÞÝæÕÝâàØàãÕâáï Ò ã×ÚØÙ ÚÞÝãá, ÝÐßàÐÒÛÕÝÝëÙ ÒßÕàÕÔ ßÞ ÔÒØÖÕÝØî, á Þáìî,
áÞÒßÐÔÐîéÕÙ á ÝÐßàÐÒÛÕÝØÕÜ ÔÒØÖÕÝØï ØáâÞçÝØÚÐ.

1.6.4 °ÑÕààÐæØï áÒÕâÐ ×ÒÕ×Ô
ÀÐááÜÞâàØÜ ÕéÕ ÞÔØÝ ßàØÜÕà ßàØÜÕÝÕÝØï àÕÛïâØÒØáâáÚÞÓÞ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞ-
àÞáâØ, ÐÝÐÛØ×Øàãï ïÒÛÕÝØÕ ×ÒÕ×ÔÝÞÙ ÐÑÕààÐæØØ, ÞâÚàëâÞÕ ÐÝÓÛØÙáÚØÜ ÐáâàÞÝÞ-
ÜÞÜ ±àíÔÛØ ÕéÕ Ò 1725 Ó. ÏÒÛÕÝØÕ ×ÒÕ×ÔÝÞÙ ÐÑÕààÐæØØ áÞáâÞØâ Ò âÞÜ, çâÞ ÒáÛÕÔ-
áâÒØÕ ÞàÑØâÐÛìÝÞÓÞ ÔÒØÖÕÝØï ·ÕÜÛØ ÒØÔØÜÞÕ ÝÐßàÐÒÛÕÝØÕ ÝÐ ãÔÐÛÕÝÝãî ×ÒÕ×Ôã Ò
ÞÑéÕÜ áÛãçÐÕ ÝÕ áÞÒßÐÔÐÕâ á ØáâØÝÝëÜ. ´ÒØÖãéØÙáï ÒÜÕáâÕ á ·ÕÜÛÕÙ ÝÐÑÛîÔÐ-
âÕÛì ÒØÔØâ ØáÚÐÖÕÝÝãî ÚÐàâØÝã ×ÒÕ×ÔÝÞÓÞ ÝÕÑÐ: ÔÛï ÝÕÓÞ ÒáÕÛÕÝÝÐï �áÖÐâÐ� Ò ÝÐ-
ßàÐÒÛÕÝØØ ÔÒØÖÕÝØï ·ÕÜÛØ ßÞ áàÐÒÝÕÝØî á ÚÐàâØÝÞÙ, ÚÞâÞàãî ãÒØÔÕÛ Ñë Ò âÞÜ ÖÕ
ÝÐßàÐÒÛÕÝØØ ÝÕßÞÔÒØÖÝëÙ ÞâÝÞáØâÕÛìÝÞ ×ÒÕ×Ô ÝÐÑÛîÔÐâÕÛì. µáÛØ ÝÐÑÛîÔÐâÕÛì
ÑãÔÕâ ÜÕÝïâì áÒÞî áÚÞàÞáâì, âÞ ÞÝ ÞÑÝÐàãÖØâ, çâÞ ×ÒÕ×ÔÝÞÕ ÝÕÑÞ �ßÕàÕÛØÒÐÕâáï�
ÒÞÚàãÓ ÝÕÓÞ: ÝÐßàÐÒÛÕÝØï, Ò ÚÞâÞàëå ÞÝ ÒØÔØâ ×ÒÕ×Ôë, ÑãÔãâ Ø×ÜÕÝïâìáï, ÝÕ ÞÑàÐ×ãï
ßÞáâÞïÝÝëå ãÓÛÞÒ ÔàãÓ á ÔàãÓÞÜ. ¸ÜÕÝÝÞ Ò âÐÚÞÜ ßÞÛÞÖÕÝØØ ÝÐåÞÔØâáï ÝÐÑÛîÔÐ-
âÕÛì ÝÐ ·ÕÜÛÕ, ÞÑàÐéÐîéÕÙáï ÒÞÚàãÓ ÁÞÛÝæÐ: ÚÐÖÔëÕ ßÞÛÓÞÔÐ áÚÞàÞáâì ·ÕÜÛØ
Ò ÕÕ ÞàÑØâÐÛìÝÞÜ ÔÒØÖÕÝØØ (30 ÚÜ/á, â. Õ. 10−4c) Ø×ÜÕÝïÕâ áÒÞÕ ÝÐßàÐÒÛÕÝØÕ ÝÐ
ßàÞâØÒÞßÞÛÞÖÝÞÕ. ² ÝÐÑÛîÔÐÕÜÞÜ ïÒÛÕÝØØ ×ÒÕ×ÔÝÞÙ ÐÑÕààÐæØØ ÞÑÝÐàãÖØÒÐÕâáï,
ÚÞÝÕçÝÞ, ÝÕ áÐÜÐ áÚÞàÞáâì ·ÕÜÛØ, Ð âÞâ äÐÚâ, çâÞ ßàØ ÔÒØÖÕÝØØ ßÞ ÞàÑØâÕ íâÐ áÚÞ-
àÞáâì Ø×ÜÕÝïÕâ ÝÐßàÐÒÛÕÝØÕ: Ò àÐ×ÝÞÕ ÒàÕÜï ÓÞÔÐ ÝÐÑÛîÔÐÕÜëÕ ßÞÛÞÖÕÝØï ×ÒÕ×Ô
áÔÒØÝãâë ßÞ-àÐ×ÝÞÜã.

ÁÔÕÛÐÕÜ ÚÞÛØçÕáâÒÕÝÝëÙ àÐáçÕâ ÞâÚÛÞÝÕÝØï ÒØÔØÜÞÓÞ ÝÐßàÐÒÛÕÝØï ÝÐ ãÔÐÛÕÝ-
Ýãî ×ÒÕ×Ôã Þâ �ØáâØÝÝÞÓÞ� ÝÐßàÐÒÛÕÝØï. ¿ãáâì, ÝÐßàØÜÕà, �ÝÕßÞÔÒØÖÝëÙ� ÝÐ-
ÑÛîÔÐâÕÛì (áÒï×ÐÝÝëÙ á ÓÕÛØÞæÕÝâàØçÕáÚÞÙ áØáâÕÜÞÙ ÞâáçÕâÐ K) ÒØÔØâ ãÔÐÛÕÝÝãî
×ÒÕ×Ôã Ò �×ÕÝØâÕ� S, â. Õ. ßÞÔ ßàïÜëÜ ãÓÛÞÜ Ú ßÛÞáÚÞáâØ ÞàÑØâë ·ÕÜÛØ (àØá. 1.10).
² ÚÐÚÞÜ ÝÐßàÐÒÛÕÝØØ ÒØÔØâ íâã ×ÒÕ×Ôã ÝÐåÞÔïéØÙáï ÝÐ ·ÕÜÛÕ (Ò áØáâÕÜÕ ÞâáçÕâÐ
K ′) ÝÐÑÛîÔÐâÕÛì?
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ÀØá. 1.10: º ÞÑêïáÝÕÝØî ïÒÛÕÝØï ×ÒÕ×ÔÝÞÙ ÐÑÕààÐæØØ: ÔÒØÖãéØÙáï ÒÜÕáâÕ á ·ÕÜ-
ÛÕÙ ÝÐÑÛîÔÐâÕÛì ÒØÔØâ ×ÒÕ×Ôã S Ò ßÞÛÞÖÕÝØØ S ′

²ëÑÕàÕÜ Þáì Ox Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ ·ÕÜÛØ, Ð Þáì Oy ßÕàßÕÝ-
ÔØÚãÛïàÝÞ ßÛÞáÚÞáâØ ÞàÑØâë. ÂÞÓÔÐ Ûãç áÒÕâÐ Þâ ×ÒÕ×Ôë Ò áØáâÕÜÕ ÞâáçÕâÐ K ØÜÕÕâ
áÛÕÔãîéØÕ ßàÞÕÚæØØ:

ux = 0, uy = −c, uz = 0.

²ÞáßÞÛì×ÞÒÐÒèØáì ×ÐÚÞÝÞÜ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (1.23), ßÞÛãçØÜ ÔÛï íâÞÓÞ
ÛãçÐ áÛÕÔãîéØÕ ×ÝÐçÕÝØï ßàÞÕÚæØÙ áÚÞàÞáâØ ÔÛï ÝÐÑÛîÔÐâÕÛï ÝÐ ·ÕÜÛÕ:

u′x = −v, u′y = −c
√

1− v2/c2, u′z = 0.

ÁÚÛÐÔëÒÐï ÚÒÐÔàÐâë ßàÞÕÚæØÙ áÚÞàÞáâØ, ãÑÕÖÔÐÕÜáï, çâÞ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′,
ÚÐÚ Ø Ò K, áÚÞàÞáâì áÒÕâÐ ØÜÕÕâ ÒÕÛØçØÝã c, â. Õ. àÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ-
×ÞÒÐÝØï áÚÞàÞáâØ Ø Ò íâÞÜ ßàØÜÕàÕ áÞÓÛÐáãÕâáï á ßÞáâãÛÐâÞÜ ÞÑ ãÝØÒÕàáÐÛìÝÞÜ
åÐàÐÚâÕàÕ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ. ºÐÚ ÒØÔÝÞ Ø× (àØá. 1.10), ÔÛï áØÝãáÐ ãÓÛÐ ÐÑÕààÐ-
æØØ θ ÜÞÖÝÞ ÝÐßØáÐâì:

sin θ =
|u′x|
c

=
v

c
. (1.28)

ÏÒÛÕÝØÕ ×ÒÕ×ÔÝÞÙ ÐÑÕààÐæØØ ßÞÛãçÐÕâ ÞÑêïáÝÕÝØÕ á åÞàÞèÕÙ âÞçÝÞáâìî Ø Ò
àÐÜÚÐå ÝÕàÕÛïâØÒØáâáÚÞÙ äØ×ØÚØ (çâÞ ÑëÛÞ áÔÕÛÐÝÞ ±àíÔÛØ Ò 1727 Ó.), ÕáÛØ ßàØ-
Ýïâì ÒÞ ÒÝØÜÐÝØÕ âÞ, çâÞ áÒÕâ àÐáßàÞáâàÐÝïÕâáï á ÚÞÝÕçÝÞÙ áÚÞàÞáâìî. ² ÚÛÐá-
áØçÕáÚÞÜ ÞÑêïáÝÕÝØØ ÐÑÕààÐæØØ ÚÐÖãéÕÕáï ÝÐßàÐÒÛÕÝØÕ ÝÐ ×ÒÕ×Ôã ÞâÛØçÐÕâáï Þâ
ØáâØÝÝÞÓÞ ßÞ âÞÙ ÖÕ ßàØçØÝÕ, ßÞ ÚÞâÞàÞÙ ÞâÒÕáÝÞ ßÐÔÐîéØÙ ÔÞÖÔì ÚÐÖÕâáï ÚÞáëÜ
ÝÐÑÛîÔÐâÕÛî Ò ÔÒØÖãéÕÜáï ÒÐÓÞÝÕ. ºÛÐááØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ãÓÛÐ ÐÑÕààÐæØØ
ÞâÛØçÐÕâáï Þâ àÕÛïâØÒØáâáÚÞÙ äÞàÜãÛë (1.28) ÛØèì âÕÜ, çâÞ ÞâÝÞèÕÝØÕ v/c ÒÜÕáâÞ
áØÝãáÐ ãÓÛÐ ÐÑÕààÐæØØ ÔÐÕâ âÐÝÓÕÝá íâÞÓÞ ãÓÛÐ. ½Þ âÐÚ ÚÐÚ Ò áÛãçÐÕ ïÒÛÕÝØï ÐÑÕà-
àÐæØØ v/c = 10−4, ãÚÐ×ÐÝÝÞÕ àÐ×ÛØçØÕ ÛÕÖØâ ×Ð ßàÕÔÕÛÐÜØ íÚáßÕàØÜÕÝâÐÛìÝëå
ÒÞ×ÜÞÖÝÞáâÕÙ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
739, 740, 741, 742 (ßàØ àÕèÕÝØØ íâÞÙ ×ÐÔÐçØ áÛÕÔãÕâ ÞÑàÐâØâì ÒÝØÜÐÝØÕ ÝÐ âÞ, çâÞ
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áÚÞàÞáâì áÑÛØÖÕÝØï ØÛØ àÐ×ÛÕâÐ çÐáâØæ Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÜÞÖÕâ
ßàÕÒÞáåÞÔØâì áÚÞàÞáâì áÒÕâÐ � íâÞ ÝÕ ßàÞâØÒÞàÕçØâ ßÞáâãÛÐâã Þ ßàÕÔÕÛìÝÞÜ åÐ-
àÐÚâÕàÕ áÚÞàÞáâØ áÒÕâÐ; ÒÐÖÝÞ ßÞÝØÜÐâì, çâÞ ßàØ íâÞÜ ÞâÝÞáØâÕÛìÝÐï áÚÞàÞáâì
çÐáâØæ ÒáÕÓÔÐ ÜÕÝìèÕ c), 743.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 369�373, [2], áâà. 526�529, [4], áâà.
28�31.

1.7 ¿àÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝÞÙ ØÝâÕàÒÐÛ
ÜÕÖÔã áÞÑëâØïÜØ

ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÞßàÞÒÕàÓÛÐ ØÝâãØâØÒÝëÕ ßàÕÔáâÐÒÛÕÝØï ÚÛÐááØçÕáÚÞÙ äØ-
×ØÚØ ÞÑ ÐÑáÞÛîâÝÞÜ åÐàÐÚâÕàÕ ßàÞáâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ. ÂÞçÝÕÕ, âÕÞàØï ÞâÝÞáØ-
âÕÛìÝÞáâØ ßÞÚÐ×ÐÛÐ ßàØÑÛØÖÕÝÝëÙ åÐàÐÚâÕà íâØå ßàÕÔáâÐÒÛÕÝØÙ Ø ãáâÐÝÞÒØÛÐ ÓàÐ-
ÝØæë Øå ßàØÜÕÝØÜÞáâØ. ²ëèÕ ÑëÛÞ ßÞÚÐ×ÐÝÞ (ÝÐ ÞáÝÞÒÕ ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞ-
áØâÕÛìÝÞáâØ, Ð âÐÚÖÕ á ßÞÜÞéìî ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ), çâÞ âÐÚØÕ ÒÕÛØçØÝë
ÚÐÚ àÐááâÞïÝØÕ ÜÕÖÔã âÞçÚÐÜØ Ø ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ, áçØâÐÒ-
èØÕáï Ò ÚÛÐááØçÕáÚÞÙ äØ×ØÚÕ ÐÑáÞÛîâÝëÜØ, ÝÕ ×ÐÒØáïéØÜØ Þâ áØáâÕÜë ÞâáçÕâÐ,
Ò ÔÕÙáâÒØâÕÛìÝÞáâØ ÞâÝÞáØâÕÛìÝë, â. Õ. Ø×ÜÕÝïîâáï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕà-
æØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ. ¾ÔÝÐÚÞ ÝÐØÑÞÛÕÕ åÐàÐÚâÕàÝÐï çÕàâÐ âÕÞàØï
ÞâÝÞáØâÕÛìÝÞáâØ ×ÐÚÛîçÐÕâáï ÝÕ Ò ãâÒÕàÖÔÕÝØØ ÞâÝÞáØâÕÛìÝÞáâØ ßàÞáâàÐÝáâÒÐ Ø
ÒàÕÜÕÝØ, Ð Ò ãáâÐÝÞÒÛÕÝØØ ÐÑáÞÛîâÝëå, ÝÕ ×ÐÒØáïéØå Þâ ÒëÑÞàÐ áØáâÕÜë ÞâáçÕâÐ
×ÐÚÞÝÞÒ ßàØàÞÔë.

1.7.1 ¾ßàÕÔÕÛÕÝØÕ ØÝâÕàÒÐÛÐ ÜÕÖÔã áÞÑëâØïÜØ
Ø ØÝÒÐàØÐÝâÝÞáâì ØÝâÕàÒÐÛÐ

·ÐÔÐçÐ ÝÐåÞÖÔÕÝØï ÐÑáÞÛîâÝÞÓÞ, â. Õ. ÝÕ×ÐÒØáØÜÞÓÞ Þâ âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï
ÒëàÐÖÕÝØï ×ÐÚÞÝÞÒ ßàØàÞÔë âÕáÝÞ áÒï×ÐÝÐ á ÝÐåÞÖÔÕÝØÕÜ ÐÑáÞÛîâÝëå, ØÝÒÐàØ-
ÐÝâÝëå ÒÕÛØçØÝ. ¾ÔÝÐ Ø× âÐÚØå ÒÕÛØçØÝ ãßÞÜØÝÐÕâáï ãÖÕ Ò ÞáÝÞÒÝëå ßÞáâãÛÐâÐå
âÕÞàØØ � íâÞ ÜÐÚáØÜÐÛìÝÐï áÚÞàÞáâì àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙáâÒØÙ, àÐÒÝÐï
áÚÞàÞáâØ áÒÕâÐ Ò ßãáâÞâÕ. ´àãÓÐï ØÝÒÐàØÐÝâÝÐï ÒÕÛØçØÝÐ � ßàÞáâàÐÝáâÒÕÝÝÞ-
ÒàÕÜÕÝÝÞÙ ØÝâÕàÒÐÛ ÜÕÖÔã áÞÑëâØïÜØ, ÞÑÞÑéÐîéØÙ ßÞÝïâØï àÐááâÞïÝØï Ò
ßàÞáâàÐÝáâÒÕ Ø ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ. ¸ÝâÕàÒÐÛ ÔÛï ßàÞØ×ÒÞÛìÝÞÙ ßÐàë áÞÑëâØÙ
ÞßàÕÔÕÛïÕâáï áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

s12 =
√

c2t212 − l212, (1.29)
ÓÔÕ t12 = t2 − t1 � ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã àÐááÜÐâàØÒÐÕÜëÜØ áÞÑëâØïÜØ,
Ø×ÜÕàÕÝÝëÙ Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ, Ð

l12 =
√

(x2 − x1)2 + (y2 − y1)2 + (z2 − z1)2

� ßàÞáâàÐÝáâÒÕÝÝÞÕ àÐááâÞïÝØÕ ÜÕÖÔã âÞçÚÐÜØ, Ò ÚÞâÞàëå ßàÞØ×ÞèÛØ íâØ áÞÑë-
âØï, Ø×ÜÕàÕÝÝÞÕ Ò âÞÙ ÖÕ áØáâÕÜÕ ÞâáçÕâÐ. ² çÐáâÝÞáâØ, ÕáÛØ ÞÔÝÞ Ø× áÞÑëâØÙ ßàÞ-
ØáåÞÔØâ ßàØ t = 0 Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ x = y = z = 0, Ð ÒâÞàÞÕ � Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ
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t Ò âÞçÚÕ x, y, z, âÞ, Ò áÞÞâÒÕâáâÒØØ á ÞßàÕÔÕÛÕÝØÕÜ (1.29), ØÝâÕàÒÐÛ ÜÕÖÔã ÝØÜØ
ÒëàÐÖÐÕâáï çÕàÕ× ÚÞÞàÔØÝÐâë Ø ÒàÕÜï ÒâÞàÞÓÞ áÞÑëâØï áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

s =
√

c2t2 − x2 − y2 − z2. (1.30)
¿ãáâì, ÝÐßàØÜÕà, ßÕàÒÞÕ áÞÑëâØÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÒáßëèÚã áÒÕâÐ, ßàÞØá-

åÞÔïéãî ßàØ t = t′ = 0 Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ (ÚÞâÞàÞÕ Ò íâÞâ ÜÞÜÕÝâ áÞÒßÐÔÐÕâ ÔÛï
áØáâÕÜ ÞâáçÕâÐ K Ø K ′), Ð ÒâÞàÞÕ áÞÑëâØÕ � ßàØåÞÔ äàÞÝâÐ íâÞÙ áÒÕâÞÒÞÙ ÒÞÛÝë
Ò ÝÕÚÞâÞàãî âÞçÚã. ´ÞßãáâØÜ, çâÞ á âÞçÚØ ×àÕÝØï áØáâÕÜë ÞâáçÕâÐ K ÒâÞàÞÕ áÞ-
ÑëâØÕ ßàÞØ×ÞèÛÞ Ò âÞçÚÕ á ÚÞÞàÔØÝÐâÐÜØ x, y, z Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t. ÂÐÚ ÚÐÚ áÒÕâ
àÐáßàÞáâàÐÝïÕâáï áÞ áÚÞàÞáâìî c, ØÝâÕàÒÐÛ s ÔÛï âÐÚÞÙ ßÐàë áÞÑëâØÙ, ÚÐÚ áÛÕÔã-
Õâ Ø× ÞßàÕÔÕÛÕÝØï (1.30), àÐÒÕÝ ÝãÛî: s = 0. ² áØáâÕÜÕ ÞâáçÕâÐ K ′ ÚÞÞàÔØÝÐâë Ø
ÒàÕÜï ÒâÞàÞÓÞ áÞÑëâØï x′, ′y, z′ Ø t′ ÑãÔãâ ØÝëÜØ, ÝÞ Ø ÔÛï ÝØå Ò áØÛã ØÝÒÐàØÐÝâ-
ÝÞáâØ áÚÞàÞáâØ áÒÕâÐ ÑãÔÕâ ÒëßÞÛÝïâìáï áÞÞâÝÞèÕÝØÕ x′2 + y′2 + z′2 = c2t′2, â. Õ. Ø
Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ØÝâÕàÒÐÛ ÜÕÖÔã àÐááÜÐâàØÒÐÕÜëÜØ áÞÑëâØïÜØ àÐÒÕÝ ÝãÛî:
s′ = 0. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÕáÛØ ÔÒÐ áÞÑëâØï áÒï×ÐÝë ÜÕÖÔã áÞÑÞÙ áÒÕâÞÒëÜ áØÓÝÐÛÞÜ,
âÞ ØÝâÕàÒÐÛ ÜÕÖÔã ÝØÜØ àÐÒÕÝ ÝãÛî ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ÍâÞâ
àÕ×ãÛìâÐâ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ÜÐâÕÜÐâØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ÐÑáÞÛîâÝÞÓÞ åÐ-
àÐÚâÕàÐ áÚÞàÞáâØ áÒÕâÐ.

´Ûï ÛîÑÞÙ ÔàãÓÞÙ ßÐàë áÞÑëâØÙ, ÝÕ áÒï×ÐÝÝëå áÒÕâÞÒëÜ áØÓÝÐÛÞÜ, ØÝâÕàÒÐÛ
ÞâÛØçÕÝ Þâ ÝãÛï, ÝÞ ÕÓÞ ÒÕÛØçØÝÐ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ ÞÔØÝÐÚÞ-
ÒÐ:

√
c2t2 − x2 − y2 − z2 =

√
c2t′2 − x′2 − y′2 − z′2. (1.31)

² íâÞÜ ÛÕÓÚÞ ãÑÕÔØâìáï á ßÞÜÞéìî ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17), ÒëàÐ×ØÒ Ò ÛÕ-
ÒÞÙ çÐáâØ (1.31) x, y, z Ø t çÕàÕ× ÚÞÞàÔØÝÐâë Ø ÒàÕÜï x′, y′, z′ Ø t′ íâÞÓÞ ÖÕ áÞÑëâØï
Ò ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′.

¿ÞÝïâØÕ ØÝÒÐàØÐÝâÝÞÓÞ ßàÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝ �ÞÓÞ ØÝâÕàÒÐÛÐ ÜÕÖÔã áÞÑë-
âØïÜØ ÞÑÞÑéÐÕâ ßÞÝïâØï ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ Ø ßàÞáâàÐÝáâÒÕÝÝÞÓÞ àÐááâÞïÝØï,
ÚÞâÞàëÕ ØÝÒÐàØÐÝâÝë ßÞ ÚÛÐááØçÕáÚØÜ ßàÕÔáâÐÒÛÕÝØïÜ, ÝÞ ÝÕ ïÒÛïîâáï âÐÚÞÒëÜØ
Ò àÕÛïâØÒØáâáÚÞÙ âÕÞàØØ.

1.7.2 ºÛÐááØäØÚÐæØï ØÝâÕàÒÐÛÞÒ
² ×ÐÒØáØÜÞáâØ Þâ âÞÓÞ, ÚÐÚÐï áÞáâÐÒÛïîéÐï � ÒàÕÜÕÝÝ �Ðï ØÛØ ßàÞáâàÐÝáâÒÕÝÝÐï
� ßàÕÞÑÛÐÔÐÕâ Ò ØÝâÕàÒÐÛÕ ÜÕÖÔã àÐááÜÐâàØÒÐÕÜëÜØ áÞÑëâØïÜØ, ÒÞ×ÝØÚÐÕâ ÔÕ-
ÛÕÝØÕ ØÝâÕàÒÐÛÞÒ ÝÐ ÒàÕÜÕÝØßÞÔÞÑÝëÕ Ø ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëÕ. ´Ûï ÒàÕÜÕ-
ÝØßÞÔÞÑÝÞÓÞ ØÝâÕàÒÐÛÐ c2t212 > l212 (ØÛØ c2t2 > x2 + y2 + z2, ÕáÛØ ÞÔÝÞ Ø× ßÐàë
áÞÑëâØÙ ßàÞØáåÞÔØâ Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ Ò ÝÐçÐÛìÝëÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ), â. Õ. ÚÒÐÔ-
àÐâ âÐÚÞÓÞ ØÝâÕàÒÐÛÐ ßÞÛÞÖØâÕÛÕÝ: s2

12 > 0. ² áÛãçÐÕ ÒàÕÜÕÝØßÞÔÞÑÝÞÓÞ ØÝâÕàÒÐÛÐ
ÒáÕÓÔÐ ÜÞÖÝÞ ÝÐÙâØ âÐÚãî áØáâÕÜã ÞâáçÕâÐ K ′, Ò ÚÞâÞàÞÙ ßàÞáâàÐÝáâÒÕÝÝÐï áÞ-
áâÐÒÛïîéÐï ØÝâÕàÒÐÛÐ ÞÑàÐéÐÕâáï Ò ÝãÛì: l′12 = 0, â. Õ. Ò K ′ àÐááÜÐâàØÒÐÕÜëÕ áÞ-
ÑëâØï ßàÞØáåÞÔïâ Ò ÞÔÝÞÜ ÜÕáâÕ. ¿àÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã ÝØÜØ, Ø×ÜÕàÕÝÝëÙ
Ò âÐÚÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′, ßàÕÔáâÐÒÛïÕâ ÔÛï ÔÐÝÝÞÙ ßÐàë áÞÑëâØÙ áÞÑáâÒÕÝÝÞÕ
ÒàÕÜï: t′12 = τ0. ¸ÝÐçÕ ÓÞÒÞàï, ÔÛï áÞÑëâØÙ, àÐ×ÔÕÛÕÝÝëå ÒàÕÜÕÝØßÞÔÞÑÝëÜ ØÝâÕà-
ÒÐÛÞÜ, ÒáÕÓÔÐ áãéÕáâÒãÕâ âÐÚÐï áØáâÕÜÐ ÞâáçÕâÐ, Ò ÚÞâÞàÞÙ ØÝâÕàÒÐÛ ßàÕÔáâÐÒÛïÕâ
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áÞÑÞÙ (á âÞçÝÞáâìî ÔÞ ßÞáâÞïÝÝÞÓÞ ÜÝÞÖØâÕÛï c) ßàÞáâÞ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ0

ÜÕÖÔã íâØÜØ áÞÑëâØïÜØ:

s12 =
√

c2t212 − l212 =
√

c2t′212 − l′212 =
√

c2t′212 = cτ0.

² áÛãçÐÕ ßÐàë áÞÑëâØÙ, àÐ×ÔÕÛÕÝÝëå ÒàÕÜÕÝØßÞÔÞÑÝëÜ ØÝâÕàÒÐÛÞÜ, ßÞÝïâØï
�àÐÝìèÕ� ØÛØ �ßÞ×ÖÕ� ØÜÕîâ ÐÑáÞÛîâÝëÙ åÐàÐÚâÕà, ÝÕ ×ÐÒØáïéØÙ Þâ áØáâÕÜë Þâ-
áçÕâÐ. ÏáÝÞ, çâÞ ÜÕÖÔã âÐÚØÜØ áÞÑëâØïÜØ Ò ßàØÝæØßÕ ÜÞÖÕâ ØÜÕâì ÜÕáâÞ ßàØçØÝÝÞ-
áÛÕÔáâÒÕÝÝÐï áÒï×ì.

´Ûï áÞÑëâØÙ, àÐ×ÔÕÛÕÝÝëå ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëÜ ØÝâÕàÒÐÛÞÜ, c2t212 < l212

(ØÛØ c2t2 < x2 + y2 + z2, ÕáÛØ ÞÔÝÞ Ø× ßÐàë áÞÑëâØÙ ßàÞØáåÞÔØâ Ò ÝÐçÐÛÕ ÚÞÞà-
ÔØÝÐâ Ò ÝÐçÐÛìÝëÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ), â. Õ. ÚÒÐÔàÐâ âÐÚÞÓÞ ØÝâÕàÒÐÛÐ ÞâàØæÐâÕÛÕÝ:
s2
12 < 0. ÁÐÜ ØÝâÕàÒÐÛ Ò íâÞÜ áÛãçÐÕ ÒëàÐÖÐÕâáï ÜÝØÜëÜ çØáÛÞÜ. ² áÛãçÐÕ ßàÞ-

áâàÐÝáâÒÕÝÝÞßÞÔÞÑÝÞÓÞ ØÝâÕàÒÐÛÐ ÒáÕÓÔÐ ÜÞÖÝÞ ÝÐÙâØ âÐÚãî áØáâÕÜã ÞâáçÕâÐ K ′,
Ò ÚÞâÞàÞÙ ÒàÕÜÕÝÝ �Ðï áÞáâÐÒÛïîéÐï ÞÑàÐéÐÕâáï Ò ÝãÛì: t′12 = 0, â. Õ. Ò K ′ àÐááÜÐâ-
àØÒÐÕÜëÕ áÞÑëâØï ßàÞØáåÞÔïâ ÞÔÝÞÒàÕÜÕÝÝÞ. ÍâÞ ×ÝÐçØâ, çâÞ ÐÑáÞÛîâÝÐï ÒÕÛØ-
çØÝÐ ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝÞÓÞ ØÝâÕàÒÐÛÐ |s12| Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ áÒÞÔØâáï Ú
ßàÞáâàÐÝáâÒÕÝÝÞÜã àÐááâÞïÝØî ÜÕÖÔã âÞçÚÐÜØ, Ò ÚÞâÞàëå ßàÞØ×ÞèÛØ àÐááÜÐâàØ-
ÒÐÕÜëÕ áÞÑëâØï:

|s12| =
√

l212 − c2t212 =
√

l′212 − c2t′212 =
√

l′212 = l′12.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÜÞÔãÛì ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝÞÓÞ ØÝâÕàÒÐÛÐ |s12| àÐÒÕÝ ßàÞ-
áâàÐÝáâÒÕÝÝÞÜã àÐááâÞïÝØî l′12 = l0 ÜÕÖÔã áÞÑëâØïÜØ, Ø×ÜÕàÕÝÝÞÜã Ò âÞÙ áØáâÕÜÕ
ÞâáçÕâÐ, ÓÔÕ íâØ áÞÑëâØï ßàÞØáåÞÔïâ ÞÔÝÞÒàÕÜÕÝÝÞ (�áÞÑáâÒÕÝÝÞÕ àÐááâÞïÝØÕ�).

´Ûï ßÐàë áÞÑëâØÙ, àÐ×ÔÕÛÕÝÝëå ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëÜ ØÝâÕàÒÐÛÞÜ, ßÞÝï-
âØï �ÞÔÝÞÒàÕÜÕÝÝÞ�, �àÐÝìèÕ�, �ßÞ×ÖÕ� ÞâÝÞáØâÕÛìÝë: ÒáÕÓÔÐ ÜÞÖÝÞ ãÚÐ×Ðâì âÐ-
ÚØÕ áØáâÕÜë ÞâáçÕâÐ, Ò ÚÞâÞàëå ßÕàÒÞÕ áÞÑëâØÕ ßàÞØáåÞÔØâ àÐÝìèÕ ÒâÞàÞÓÞ, Ø âÐ-
ÚØÕ, Ò ÚÞâÞàëå ÒâÞàÞÕ ßàÞØáåÞÔØâ àÐÝìèÕ ßÕàÒÞÓÞ. ¾çÕÒØÔÝÞ, çâÞ ÜÕÖÔã áÞÑëâØï-
ÜØ, ÒàÕÜÕÝÝ �Ðï ßÞáÛÕÔÞÒÐâÕÛìÝÞáâì ÚÞâÞàëå ×ÐÒØáØâ Þâ áØáâÕÜë ÞâáçÕâÐ, ßàØçØÝÝÞ-
áÛÕÔáâÒÕÝÝëÕ áÒï×Ø ÝÕÒÞ×ÜÞÖÝë. ²ßàÞçÕÜ, ÝÕÒÞ×ÜÞÖÝÞáâì áãéÕáâÒÞÒÐÝØï ßàØ-
çØÝÝÞÙ áÒï×Ø ÜÕÖÔã áÞÑëâØïÜØ, àÐ×ÔÕÛÕÝÝëÜØ ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëÜ ØÝâÕà-
ÒÐÛÞÜ, ÚÞÓÔÐ l12 > ct12, ÝÕßÞáàÕÔáâÒÕÝÝÞ ÒØÔÝÐ Ø× âÞÓÞ, çâÞ ÝØÚÐÚÞÙ áØÓÝÐÛ, ÝØÚÐÚÞÕ
Ò×ÐØÜÞÔÕÙáâÒØÕ ÝÕ ÜÞÖÕâ àÐáßàÞáâàÐÝïâìáï áÞ áÚÞàÞáâìî, ßàÕÒëèÐîéÕÙ c.

ÀÐÒÝëÙ ÝãÛî ØÝâÕàÒÐÛ ÜÕÖÔã áÞÑëâØïÜØ, áÒï×ÐÝÝëÜØ áÒÕâÞÒëÜ áØÓÝÐÛÞÜ, ÝÐ-
×ëÒÐîâ áÒÕâÞßÞÔÞÑÝëÜ. ² íâÞÜ ÞâÝÞèÕÝØØ ßÞÝïâØÕ ØÝâÕàÒÐÛÐ ÚÐÚ ØÝÒÐàØÐÝâÝÞ-
ÓÞ àÐááâÞïÝØï ÜÕÖÔã áÞÑëâØïÜØ Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ áãéÕáâÒÕÝÝÞ ÞâÛØçÐÕâáï
Þâ ßÞÝïâØï àÐááâÞïÝØï ÜÕÖÔã âÞçÚÐÜØ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ: àÐááâÞïÝØÕ Ò ÓÕÞ-
ÜÕâàØØ àÐÒÝÞ ÝãÛî âÞÛìÚÞ ÔÛï áÞÒßÐÔÐîéØå âÞçÕÚ, ÝÞ ßàÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝÞÙ
ØÝâÕàÒÐÛ ÜÞÖÕâ Ñëâì àÐÒÕÝ ÝãÛî Ø ÔÛï ÝÕáÞÒßÐÔÐîéØå áÞÑëâØÙ.

¿ÞÔçÕàÚÝÕÜ, çâÞ àÐ×ÔÕÛÕÝØÕ ØÝâÕàÒÐÛÞÒ ÝÐ ÒàÕÜÕÝØßÞÔÞÑÝëÕ, ßàÞáâàÐÝáâÒÕÝ-
ÝÞßÞÔÞÑÝëÕ Ø áÒÕâÞßÞÔÞÑÝëÕ ØÜÕÕâ ÐÑáÞÛîâÝëÙ åÐàÐÚâÕà, â. Õ. ÝÕ ×ÐÒØáØâ Þâ áØ-
áâÕÜë ÞâáçÕâÐ. °ÑáÞÛîâÝëÙ åÐàÐÚâÕà àÐááÜÞâàÕÝÝÞÙ ÚÛÐááØäØÚÐæØØ ØÝâÕàÒÐÛÞÒ
ÝÕßÞáàÕÔáâÒÕÝÝÞ áÛÕÔãÕâ Ø× ØÝÒÐàØÐÝâÝÞáâØ ØÝâÕàÒÐÛÐ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
744, 745, 746.
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ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [2], áâà. 542�543, [3], áâà. 11�16, 35�43, [4],
áâà. 42�46.

1.8 ³ÕÞÜÕâàØï ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ
1.8.1 °ÝÐÛÞÓØï á ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØÕÙ
¿ÞÝïâØÕ ØÝâÕàÒÐÛÐ ÜÕÖÔã áÞÑëâØïÜØ Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÐÝÐÛÞÓØçÝÞ ÓÕÞÜÕâ-
àØçÕáÚÞÜã ßÞÝïâØî àÐááâÞïÝØï ÜÕÖÔã âÞçÚÐÜØ Ò ßàÞáâàÐÝáâÒÕ. ÍâÐ ÐÝÐÛÞÓØï áÞ-
áâÞØâ Ò áÛÕÔãîéÕÜ.

y

xO x

y

y'

y'

x'
x'

A

l
ϕ

ϕ

ÀØá. 1.11: ¸ÝÒÐàØÐÝâÝÞáâì àÐááâÞïÝØï ÜÕÖÔã âÞçÚÐÜØ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ

ÀÐááÜÞâàØÜ âÞçÚã A ÝÐ ßÛÞáÚÞáâØ xOy (àØá. 1.11). ºÞÞàÔØÝÐâë x, y íâÞÙ âÞçÚØ
×ÐÒØáïâ Þâ ÒëÑÞàÐ ÝÐßàÐÒÛÕÝØï ÚÞÞàÔØÝÐâÝëå ÞáÕÙ Ø ßàØ ßÞÒÞàÞâÕ áØáâÕÜë ÚÞÞà-
ÔØÝÐâ ÝÐ ÝÕÚÞâÞàëÙ ãÓÞÛ ϕ ßàÕÞÑàÐ×ãîâáï ßÞ áÛÕÔãîéÕÜã ×ÐÚÞÝã:

x′ = x cos ϕ + y sin ϕ,

y′ = −x sin ϕ + y cos ϕ.
(1.32)

½Þ àÐááâÞïÝØÕ ÜÕÖÔã ÛîÑëÜØ ÔÒãÜï âÞçÚÐÜØ ÝÐ ßÛÞáÚÞáâØ ÝÕ Ø×ÜÕÝïÕâáï ßàØ
ßÞÒÞàÞâÕ áØáâÕÜë ÚÞÞàÔØÝÐâ, â. Õ. ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÒÕÛØçØÝã ÐÑáÞÛîâÝãî, ØÝ-
ÒÐàØÐÝâÝãî ßÞ ÞâÝÞèÕÝØî Ú ßÞÒÞàÞâã áØáâÕÜë ÚÞÞàÔØÝÐâ. ½ÐßàØÜÕà, àÐááâÞïÝØÕ l
ÜÕÖÔã âÞçÚÐÜØ O Ø A ÝÐ àØá. 1.11, àÐÒÝÞÕ

√
x2 + y2, ßàØ ßÕàÕåÞÔÕ Ú ÝÞÒëÜ ÞáïÜ ÚÞ-

ÞàÔØÝÐâ ÒëàÐÖÐÕâáï çÕàÕ× ÝÞÒëÕ ÚÞÞàÔØÝÐâë âÞçÚØ A ßÞ äÞàÜãÛÕ l =
√

x′2 + y′2.
ÅÞâï ÚÞÞàÔØÝÐâë âÞçÚØ A ßàØ ßÞÒÞàÞâÕ ÞáÕÙ Ø×ÜÕÝØÛØáì Ò áÞÞâÒÕâáâÒØØ á äÞà-
ÜãÛÐÜØ (1.32), àÐááâÞïÝØÕ l ÞáâÐÛÞáì ßàÕÖÝØÜ, Ò çÕÜ ÜÞÖÝÞ ãÑÕÔØâìáï ÝÕßÞáàÕÔ-
áâÒÕÝÝÞÙ ßÞÔáâÐÝÞÒÚÞÙ ÒëàÐÖÕÝØÙ (1.32) ÔÛï ÝÞÒëå (èâàØåÞÒÐÝÝëå) ÚÞÞàÔØÝÐâ
âÞçÚØ A çÕàÕ× áâÐàëÕ.

°ÝÐÛÞÓØçÝëÜ ÞÑàÐ×ÞÜ ßàÕÞÑàÐ×ãîâáï ÚÞÞàÔØÝÐâë Ø ÒàÕÜï ÝÕÚÞâÞàÞÓÞ áÞÑë-
âØï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ, ßÞÔÞÑÝÞ âÞ-
Üã, ÚÐÚ ßàÕÞÑàÐ×ãîâáï ÚÞÞàÔØÝÐâë âÞçÚØ ÝÐ ßÛÞáÚÞáâØ ßàØ ßÞÒÞàÞâÕ ÞáÕÙ ÚÞÞà-
ÔØÝÐâ. ¿àÕÞÑàÐ×ÞÒÐÝØï ßàØ ßÕàÕåÞÔÕ Ú ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ (ßàÕÞÑàÐ×ÞÒÐÝØï
»ÞàÕÝæÐ) ×ÐâàÐÓØÒÐîâ ÝÕ âÞÛìÚÞ ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÞàÔØÝÐâë, ÝÞ Ø ÒàÕÜï, ÐÝÐ-
ÛÞÓØçÝÞ âÞÜã, ÚÐÚ ßàØ ßÞÒÞàÞâÕ ÞáÕÙ ÝÐ ßÛÞáÚÞáâØ ×ÐâàÐÓØÒÐîâáï ÞÑÕ ÚÞÞàÔØÝÐ-
âë. ¸ åÞâï ÚÞÞàÔØÝÐâë Ø ÒàÕÜï áÞÑëâØï Ø×ÜÕÝïîâáï, ØÝâÕàÒÐÛ ÜÕÖÔã áÞÑëâØïÜØ
s =

√
c2t2 − (x2 + y2 + z2) ßàØ íâØå ßàÕÞÑàÐ×ÞÒÐÝØïå ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ, ßÞ-

ÔÞÑÝÞ âÞÜã, ÚÐÚ ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ àÐááâÞïÝØÕ l =
√

x2 + y2 ßàØ ßÞÒÞàÞâÕ ÞáÕÙ.
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1.8.2 ¿àÞáâàÐÝáâÒÞ-ÒàÕÜï Ø ÓÕÞÜÕâàØï ¼ØÝÚÞÒáÚÞÓÞ
¿àØÒÕÔÕÝÝÐï ÐÝÐÛÞÓØï ÔÐÕâ ÒÞ×ÜÞÖÝÞáâì àÐááÜÐâàØÒÐâì ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝ-
æÐ ÔÛï ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ áÞÑëâØï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë
ÞâáçÕâÐ Ú ÔàãÓÞÙ ÚÐÚ ÓÕÞÜÕâàØçÕáÚØÕ ßàÕÞÑàÐ×ÞÒÐÝØï Ò çÕâëàÕåÜÕàÝÞÜ ßàÞáâàÐÝ-
áâÒÕ-ÒàÕÜÕÝØ, ÝÐ Þáïå ÚÞâÞàÞÓÞ ÞâÚÛÐÔëÒÐîâáï âàØ ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÞàÔØÝÐ-
âë Ø ÒàÕÜï áÞÑëâØï. ¿ÕàÕÜÕèØÒÐÝØÕ ßàÞáâàÐÝáâÒÕÝÝëå ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ ßàØ
ßàÕÞÑàÐ×ÞÒÐÝØïå »ÞàÕÝæÐ Ø áãéÕáâÒÞÒÐÝØÕ ØÝÒÐàØÐÝâÝÞÙ ÚÞÜÑØÝÐæØØ (â. Õ. ØÝ-
âÕàÒÐÛÐ) ßÞ×ÒÞÛïÕâ àÐááÜÐâàØÒÐâì ßàÞáâàÐÝáâÒÞ Ø ÒàÕÜï ÚÐÚ ÕÔØÝÞÕ çÕâëàÕåÜÕà-
ÝÞÕ ÜÝÞÓÞÞÑàÐ×ØÕ. ÂÐÚÐï ÓÕÞÜÕâàØçÕáÚÐï ØÝâÕàßàÕâÐæØï ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ
ÒßÕàÒëÕ ßàÕÔÛÞÖÕÝÐ ÝÕÜÕæÚØÜ ÜÐâÕÜÐâØÚÞÜ ³. ¼ØÝÚÞÒáÚØÜ Ò 1908 Ó.

x

ct

O

x = ctx =   ct
x = vt

1
2

ÀØá. 1.12: ´ØÐÓàÐÜÜÐ ¼ØÝÚÞÒáÚÞÓÞ Ø ÜØàÞÒëÕ ÛØÝØØ

¿àØ ÒëÑÞàÕ ÝÐßàÐÒÛÕÝØï ÞÔÝÞÙ Ø× ÞáÕÙ ÚÞÞàÔØÝÐâ (ÞáØ Ox) Ò áØáâÕÜÐå K Ø
K ′ ÒÔÞÛì ÝÐßàÐÒÛÕÝØï ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ áØáâÕÜ ÞâáçÕâÐ ÚÞÞàÔØÝÐâë y Ø z
ÝÕ ×ÐâàÐÓØÒÐîâáï ßàØ ßàÕÞÑàÐ×ÞÒÐÝØïå »ÞàÕÝæÐ (1.17). ¿ÞíâÞÜã ÔÛï ÓÕÞÜÕâàØçÕ-
áÚÞÙ ØÝâÕàßàÕâÐæØØ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ ÒÜÕáâÞ çÕâëàÕåÜÕàÝÞÓÞ ßàÞáâàÐÝáâ-
ÒÐ-ÒàÕÜÕÝØ ÔÞáâÐâÞçÝÞ àÐááÜÐâàØÒÐâì ÔÒãÜÕàÝëÕ ÔØÐÓàÐÜÜë ßàÞáâàÐÝáâÒÐ-ÒàÕ-
ÜÕÝØ (ÔØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ), Ð ØÜÕÝÝÞ ßÛÞáÚÞáâì x, ct (àØá. 1.12). 3 ½ÕÚÞâÞàÞÜã
áÞÑëâØî áÞÞâÒÕâáâÒãÕâ âÞçÚÐ íâÞÙ ßÛÞáÚÞáâØ á ÚÞÞàÔØÝÐâÐÜØ (x, ct), ÝÐ×ëÒÐÕÜÐï
ÜØàÞÒÞÙ âÞçÚÞÙ.

¿ÞáÛÕÔÞÒÐâÕÛìÝÞáâØ áÞÑëâØÙ, ßàÞØáåÞÔïéØå á ÞÔÝÞÙ çÐáâØæÕÙ, ÝÐ ÔØÐÓàÐÜÜÕ
¼ØÝÚÞÒáÚÞÓÞ áÞßÞáâÐÒÛïÕâáï ÝÕßàÕàëÒÝÐï ÛØÝØï, ÝÐ×ëÒÐÕÜÐï ÜØàÞÒÞÙ ÛØÝØÕÙ
çÐáâØæë. ÂÞçÚØ íâÞÙ ÛØÝØØ ÞßàÕÔÕÛïîâ ÚÞÞàÔØÝÐâë çÐáâØæë ÒÞ ÒáÕ ÜÞÜÕÝâë ÒàÕ-
ÜÕÝØ. µáÛØ, ÝÐßàØÜÕà, çÐáâØæÐ ÔÒØÖÕâáï ÒßàÐÒÞ ÒÔÞÛì ÞáØ Ox á ßÞáâÞïÝÝÞÙ áÚÞàÞ-
áâìî v, âÞ ÕÕ ÜØàÞÒÐï ÛØÝØï ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßàï-
Üãî, ãàÐÒÝÕÝØÕ ÚÞâÞàÞÙ x = vt (ßàïÜÐï 1 ÝÐ àØá. 1.12; ßàÕÔßÞÛÐÓÐÕâáï, çâÞ ßàØ
t = 0 çÐáâØæÐ ÝÐåÞÔØÛÐáì Ò âÞçÚÕ x = 0). ¼ØàÞÒÐï ÛØÝØï ÝÕàÐÒÝÞÜÕàÝÞ ÔÒØÖã-
éÕÙáï çÐáâØæë ØáÚàØÒÛÕÝÐ (ÚàØÒÐï 2 ÝÐ àØá. 1.12). ¼ØàÞÒÐï ÛØÝØï ÝÕßÞÔÒØÖÝÞÙ
çÐáâØæë, ÒáÕ ÒàÕÜï ÝÐåÞÔïéÕÙáï Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ � íâÞ Þáì ÒàÕÜÕÝØ (ÕÕ ãàÐÒ-

3½Ð ÒàÕÜÕÝÝ �ÞÙ ÞáØ ÔØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ ãÔÞÑÝÕÕ ÞâÚÛÐÔëÒÐâì ÝÕ ÒàÕÜï áÞÑëâØï t, Ð ßàÞ-
ßÞàæØÞÝÐÛìÝãî ÕÜã ÒÕÛØçØÝã ct. ¿àØ âÐÚÞÜ áÞÓÛÐèÕÝØØ àÐ×ÜÕàÝÞáâØ ÒÕÛØçØÝ, ÞâÚÛÐÔëÒÐÕÜëå ÝÐ
ÞÑÕØå Þáïå, ÞÔØÝÐÚÞÒë, Ø×ÜÕàïâì Øå ÜÞÖÝÞ Ò ÞÔÝØå Ø âÕå ÖÕ ÕÔØÝØæÐå (ÜÕâàÐå), Ø ÜÞÖÝÞ ØáßÞÛì×Þ-
ÒÐâì ÔÛï ÝØå ÞÔØÝÐÚÞÒëÙ ÜÐáèâÐÑ.
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ÝÕÝØÕ x = 0). ´àãÓØÜØ áÛÞÒÐÜØ, Þáì ÒàÕÜÕÝØ � íâÞ ÜØàÞÒÐï ÛØÝØï ÝÐçÐÛÐ ÚÞ-
ÞàÔØÝÐâ. ÁÞÒÞÚãßÝÞáâì âÞçÕÚ, ÝÐåÞÔïéØåáï ÝÐ ÞáØ Ox ÔØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ,
Ø×ÞÑàÐÖÐÕâ ÜÝÞÖÕáâÒÞ ÞÔÝÞÒàÕÜÕÝÝëå áÞÑëâØÙ, ßàÞØáåÞÔïéØå ßàØ t = 0 Ò àÐ×-
Ýëå ÜÕáâÐå ÞáØ Ox.

¼ØàÞÒÐï ÛØÝØï áÒÕâÞÒÞÓÞ áØÓÝÐÛÐ, ÒëèÕÔèÕÓÞ Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ Ò ÜÞÜÕÝâ
ÒàÕÜÕÝØ t = 0 Ø àÐáßàÞáâàÐÝïîéÕÓÞáï Ò ßÞÛÞÖØâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox,
ØÜÕÕâ ãàÐÒÝÕÝØÕ x = ct. ÍâÞ ÑØááÕÚâàØáÐ ÚÞÞàÔØÝÐâÝÞÓÞ ãÓÛÐ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝ-
ÚÞÒáÚÞÓÞ (àØá. 1.12). ²áÕ áÞÑëâØï, Ø×ÞÑàÐÖÐÕÜëÕ âÞçÚÐÜØ íâÞÙ ÛØÝØØ, ÞâÔÕÛÕÝë Þâ
áÞÑëâØï (x = 0, t = 0) áÒÕâÞßÞÔÞÑÝëÜ (àÐÒÝëÜ ÝãÛî) ØÝâÕàÒÐÛÞÜ. ¼ØàÞÒÐï ÛØÝØï
áØÓÝÐÛÐ, àÐáßàÞáâàÐÝïîéÕÓÞáï Ò ÞâàØæÐâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Ox, ØÜÕÕâ ãàÐÒ-
ÝÕÝØÕ x = −ct. ²ÜÕáâÕ ÜØàÞÒëÕ ÛØÝØØ áÒÕâÞÒëå áØÓÝÐÛÞÒ x = ±ct, àÐáßàÞáâàÐÝï-
îéØåáï Ø× ÜØàÞÒÞÙ âÞçÚØ (x = 0, t = 0), ÞÑàÐ×ãîâ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ âÐÚ
ÝÐ×ëÒÐÕÜëÙ áÒÕâÞÒÞÙ ÚÞÝãá.

1.8.3 ´ØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ Ø áØáâÕÜë ÞâáçÕâÐ
²ÒÕÔÕÜ âÕßÕàì ÝÐàïÔã á áØáâÕÜÞÙ ÞâáçÕâÐ K áØáâÕÜã K ′, ÚÞâÞàÐï, ÚÐÚ ÞÑëçÝÞ, ÔÒØ-
ÖÕâáï ÒÔÞÛì ÞáØ Ox ÒßàÐÒÞ áÞ áÚÞàÞáâìî v. ¼ØàÞÒÐï ÛØÝØï ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ áØ-
áâÕÜë K ′ (â. Õ. çÐáâØæë, ØÜÕîéÕÙ ÚÞÞàÔØÝÐâã x′ = 0 ÒÞ ÒáÕ ÜÞÜÕÝâë ÒàÕÜÕÝØ t′)
ÔÐÕâáï ãàÐÒÝÕÝØÕÜ x = vt. ¿ÞíâÞÜã Þáì ÒàÕÜÕÝØ ct′ áØáâÕÜë ÞâáçÕâÐ K ′ ÝÐ àÐá-
áÜÐâàØÒÐÕÜÞÙ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ (ÓÔÕ Þáì ct ÝÐßàÐÒÛÕÝÐ ÒÕàâØÚÐÛìÝÞ ÒÒÕàå)
ÝÐÚÛÞÝÕÝÐ ÒßàÐÒÞ ÝÐ ãÓÞÛ θ, ßàØçÕÜ tg θ = v/c (àØá. 1.13, Ð). ÂÞçÚØ íâÞÙ ßàïÜÞÙ
Ø×ÞÑàÐÖÐîâ áÞÒÞÚãßÝÞáâì áÞÑëâØÙ, ßàÞØáåÞÔïéØå Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ áØáâÕÜë K ′

Ò àÐ×ÝëÕ ÜÞÜÕÝâë ÒàÕÜÕÝØ.
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x = ct

x =   ct
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x' = ct'x =   ct
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θ

θ

θ
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ÀØá. 1.13: ¾áØ ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ áØáâÕÜë K ′ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ

·ÐÔÐÔØÜáï ÒÞßàÞáÞÜ: ÚÐÚ ÝÐ íâÞÙ ÔØÐÓàÐÜÜÕ ÝÐßàÐÒÛÕÝÐ Þáì Ox′? ¾áì Ox′ áØ-
áâÕÜë ÞâáçÕâÐ K ′ � íâÞ ßàïÜÐï, ÝÐ ÚÞâÞàÞÙ Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÛÕÖÐâ ÒáÕ
áÞÑëâØï, ÞÔÝÞÒàÕÜÕÝÝëÕ (Ò íâÞÙ áØáâÕÜÕ) á áÞÑëâØÕÜ (x′ = 0, t′ = 0). ÇâÞÑë ÝÐÙâØ
ãàÐÒÝÕÝØÕ íâÞÙ ßàïÜÞÙ Ò ßÕàÕÜÕÝÝëå x, ct, ÞÑàÐâØÜáï Ú ßàÕÞÑàÐ×ÞÒÐÝØïÜ »ÞàÕÝæÐ
(1.18), Ø Ò äÞàÜãÛÕ ÔÛï ßàÕÞÑàÐ×ÞÒÐÝØï ÒàÕÜÕÝØ

t′ =
t− vx/c2

√
1− v2/c2
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ßÞÛÞÖØÜ t′ = 0. ¾âáîÔÐ ßÞÛãçÐÕÜ ct = (v/c)x, â. Õ. Þáì Ox′ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒ-
áÚÞÓÞ ÞâÚÛÞÝÕÝÐ ÒÒÕàå Þâ ÞáØ Ox Ø áÞáâÐÒÛïÕâ á ÝÕÙ âÐÚÞÙ ÖÕ ãÓÞÛ θ (tg θ = v/c),
ÚÐÚ Ø Þáì ct′ á Þáìî ct. ÍâÞÓÞ Ø áÛÕÔÞÒÐÛÞ ÞÖØÔÐâì, âÐÚ ÚÐÚ ÒáÛÕÔáâÒØÕ ØÝÒÐàØÐÝâ-
ÝÞáâØ áÚÞàÞáâØ áÒÕâÐ ÜØàÞÒÐï ÛØÝØï áÒÕâÞÒÞÓÞ áØÓÝÐÛÐ x = ct (Ø x′ = ct′) ÔÞÛÖÝÐ
Ñëâì ÑØááÕÚâàØáÞÙ ÚÞÞàÔØÝÐâÝÞÓÞ ãÓÛÐ ÚÐÚ Ò áØáâÕÜÕ K, âÐÚ Ø Ò K ′. ÁØáâÕÜÐ ÚÞÞà-
ÔØÝÐâ (x′, ct′) ÞÚÐ×ëÒÐÕâáï ÚÞáÞãÓÞÛìÝÞÙ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ (àØá. 1.13, Ð),
ÓÔÕ ÞáØ (x, ct) áØáâÕÜë ÞâáçÕâÐ K ÞÑàÐ×ãîâ ßàïÜÞÙ ãÓÞÛ.

ÀÐ×ãÜÕÕâáï, ÜÞÖÝÞ ßÞáâàÞØâì ÔØÐÓàÐÜÜã ¼ØÝÚÞÒáÚÞÓÞ Ø âÐÚ, çâÞÑë ÝÐ ÝÕÙ áØ-
áâÕÜÐ ÚÞÞàÔØÝÐâ (x′, ct′) ÑëÛÐ ßàïÜÞãÓÞÛìÝÞÙ. ½Þ âÞÓÔÐ áØáâÕÜÐ ÚÞÞàÔØÝÐâ (x, ct),
áÞÞâÒÕâáâÒãîéÐï áØáâÕÜÕ ÞâáçÕâÐ K, ÑãÔÕâ ÝÐ íâÞÙ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ ÚÞáÞ-
ãÓÞÛìÝÞÙ (àØá. 1.13, Ñ): ÞáØ ÚÞÞàÔØÝÐâ (x, ct) ÞÑàÐ×ãîâ ÝÐ ÝÕÙ âãßÞÙ ãÓÞÛ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÐÝÐÛÞÓØï ÜÕÖÔã ßàÕÞÑàÐ×ÞÒÐÝØïÜØ »ÞàÕÝæÐ ÔÛï áÞÑëâØÙ Ò ßàÞ-
áâàÐÝáâÒÕ-ÒàÕÜÕÝØ Ø ßàÕÞÑàÐ×ÞÒÐÝØÕÜ ÚÞÞàÔØÝÐâ âÞçÚØ ÝÐ ßÛÞáÚÞáâØ ßàØ ßÕàÕåÞ-
ÔÕ Ú ßÞÒÕàÝãâëÜ ÚÞÞàÔØÝÐâÝëÜ ÞáïÜ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ ÝÕ ïÒÛïÕâáï ßÞÛÝÞÙ.
¿àØçØÝÐ àÐ×ÛØçØÙ áÞáâÞØâ Ò âÞÜ, çâÞ Ò ÓÕÞÜÕâàØØ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ØÝÒÐàØ-
ÐÝâ ßàÕÞÑàÐ×ÞÒÐÝØÙ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ àÐ×ÝÞáâì ÚÒÐÔàÐâÞÒ ÒàÕÜÕÝÝ �ÞÙ Ø ßàÞ-
áâàÐÝáâÒÕÝÝÞÙ ÚÞÞàÔØÝÐâ c2t2−x2 (ÚÒÐÔàÐâ ØÝâÕàÒÐÛÐ), Ð ÝÕ áãÜÜã ÚÒÐÔàÐâÞÒ x2 +
y2 (ÚÒÐÔàÐâ àÐááâÞïÝØï), ÚÐÚ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ. µáÛØ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâ-
àØØ ÞÑÕ ÚÞÞàÔØÝÐâë íÚÒØÒÐÛÕÝâÝë, âÞ Ò ÓÕÞÜÕâàØØ ¼ØÝÚÞÒáÚÞÓÞ àÐ×ÛØçØÕ ÜÕÖÔã
ßàÞáâàÐÝáâÒÕÝÝÞÙ Ø ÒàÕÜÕÝÝ �ÞÙ ÚÞÞàÔØÝÐâÐÜØ áÞÑëâØï ßàÞïÒÛïÕâáï Ò âÞÜ, çâÞ Ò
ÒëàÐÖÕÝØÕ ÔÛï ØÝÒÐàØÐÝâÐ ÓÕÞÜÕâàØçÕáÚØå ßàÕÞÑàÐ×ÞÒÐÝØÙ (ØÝâÕàÒÐÛÐ, â. Õ. �àÐá-
áâÞïÝØï� ÜÕÖÔã áÞÑëâØïÜØ Ò ÜØàÕ ¼ØÝÚÞÒáÚÞÓÞ) ÚÒÐÔàÐâë ßàÞáâàÐÝáâÒÕÝÝÞÙ Ø
ÒàÕÜÕÝÝ �ÞÙ ÚÞÞàÔØÝÐâ ÒåÞÔïâ á ßàÞâØÒÞßÞÛÞÖÝëÜØ ×ÝÐÚÐÜØ. ÂÐÚãî ÓÕÞÜÕâàØî ÝÐ-
×ëÒÐîâ ßáÕÒÔÞÕÒÚÛØÔÞÒÞÙ.

´ØÐÓàÐÜÜë ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ÔÐîâ ÝÐÓÛïÔÝÞÕ ÓÕÞÜÕâàØçÕáÚÞÕ ßàÕÔáâÐÒ-
ÛÕÝØÕ ÜÝÞÓØÜ ÒëÒÞÔÐÜ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ, ÚÞâÞàëÕ á âÞçÚØ ×àÕÝØï �×ÔàÐÒÞÓÞ
áÜëáÛÐ� ÚÐÖãâáï ßÐàÐÔÞÚáÐÛìÝëÜØ. ² çÐáâÝÞáâØ, ÞâÝÞáØâÕÛìÝÞáâì ÞÔÝÞÒàÕÜÕÝÝÞ-
áâØ ÔÒãå áÞÑëâØÙ ÜÞÖÝÞ áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ ßàÞÔÕÜÞÝáâàØàÞÒÐâì ÝÐ ÔØÐÓàÐÜÜÐå
àØá. 1.13. ÁÞÑëâØÕ A(x1, t1) á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ßàÞ-
Ø×ÞèÛÞ ßÞ×ÖÕ, çÕÜ áÞÑëâØÕ O(x = 0, t = 0), âÐÚ ÚÐÚ t1 > 0. ½Þ á âÞçÚØ ×àÕÝØï
áØáâÕÜë ÞâáçÕâÐ K ′ ÞÑÐ íâØ áÞÑëâØï ßàÞØ×ÞèÛØ ÞÔÝÞÒàÕÜÕÝÝÞ, âÐÚ ÚÐÚ áÞÞâÒÕâ-
áâÒãîéØÕ ØÜ âÞçÚØ ÔØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ ÛÕÖÐâ ÝÐ ÞáØ Ox′, â. Õ. t′1 = t′0 = 0.

¼ØàÞÒëÕ ÛØÝØØ áÒÕâÞÒëå áØÓÝÐÛÞÒ x = ±ct ÔÕÛïâ ßáÕÒÔÞÕÒÚÛØÔÞÒã ßÛÞáÚÞáâì
ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ÝÐ ÞâÔÕÛìÝëÕ ÞÑÛÐáâØ (àØá. 1.14). ²ÝãâàØ áÒÕâÞÒÞÓÞ ÚÞÝãáÐ
Ò ×ÐèâàØåÞÒÐÝÝÞÙ ÞÑÛÐáâØ ÛÕÖÐâ áÞÑëâØï, ÞâÔÕÛÕÝÝëÕ Þâ áÞÑëâØï O(x = 0, t = 0)
ÒàÕÜÕÝØßÞÔÞÑÝëÜØ ØÝâÕàÒÐÛÐÜØ:

s2 = c2t2 − x2 > 0.

´Ûï ÛîÑÞÓÞ áÞÑëâØï A ÜÞÖÝÞ ÝÐÙâØ âÐÚãî áØáâÕÜã ÞâáçÕâÐ K ′, Ò ÚÞâÞàÞÙ áÞ-
ÑëâØÕ A ßàÞØ×ÞèÛÞ Ò ÞÔÝÞÜ ÜÕáâÕ á áÞÑëâØÕÜ O(x′ = 0, t′ = 0), â. Õ. Ò ÝÐçÐÛÕ ÚÞÞà-
ÔØÝÐâ áØáâÕÜë ÞâáçÕâÐ K ′, âÐÚ çâÞ ÞÑÕ âÞçÚØ, Ø×ÞÑàÐÖÐîéØÕ íâØ áÞÑëâØï, ÛÕÖÐâ
ÝÐ ÞáØ ÒàÕÜÕÝØ ct′. �ÀÐááâÞïÝØÕ� Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÜÕÖÔã âÐÚØÜØ áÞÑë-
âØïÜØ àÐÒÝÞ (á âÞçÝÞáâìî ÔÞ ßÞáâÞïÝÝÞÓÞ ÜÝÞÖØâÕÛï c) ßàÞáâÞ ßàÞÜÕÖãâÚã ÒàÕ-
ÜÕÝØ t′ ÜÕÖÔã ÝØÜØ, Ø×ÜÕàÕÝÝÞÜã Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. ²áÕ áÞÑëâØï Ø× ÒÕàåÝÕÙ
çÐáâØ ×ÐèâàØåÞÒÐÝÝÞÙ ÞÑÛÐáâØ ÒÝãâàØ áÒÕâÞÒÞÓÞ ÚÞÝãáÐ á âÞçÚØ ×àÕÝØï ÒáÕå Üëá-
ÛØÜëå áØáâÕÜ ÞâáçÕâÐ ßàÞØ×ÞèÛØ ßÞ×ÖÕ áÞÑëâØï O. ¿ÞíâÞÜã áÞÞâÒÕâáâÒãîéãî
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ÀØá. 1.14: ÁÒÕâÞÒÞÙ ÚÞÝãá Ø àÐ×ÛØçÝëÕ ÞÑÛÐáâØ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ÝÐ ÔØÐÓàÐÜ-
ÜÕ ¼ØÝÚÞÒáÚÞÓÞ

ÞÑÛÐáâì ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ÜÞÖÝÞ ÝÐ×ÒÐâì ÐÑáÞÛîâÝëÜ ÑãÔãéØÜ ßÞ ÞâÝÞ-
èÕÝØî Ú áÞÑëâØî O. ÁÞÑëâØÕ O Ò ßàØÝæØßÕ ÜÞÖÕâ Ñëâì ßàØçØÝÞÙ ÛîÑÞÓÞ Ø× íâØå
áÞÑëâØÙ. ÁÞÑëâØï Ø× ÝØÖÝÕÙ çÐáâØ ×ÐèâàØåÞÒÐÝÝÞÙ ÞÑÛÐáâØ ßàÞØ×ÞèÛØ ÐÑáÞÛîâ-
ÝÞ àÐÝìèÕ áÞÑëâØï O, Ø íâÐ ÞÑÛÐáâì ÜÞÖÕâ Ñëâì ÝÐ×ÒÐÝÐ ÐÑáÞÛîâÝëÜ ßàÞèÛëÜ
ßÞ ÞâÝÞèÕÝØî Ú áÞÑëâØî O.

¼ÝÞÖÕáâÒÞ áÞÑëâØÙ, ÛÕÖÐéØå ÒÝÕ áÒÕâÞÒÞÓÞ ÚÞÝãáÐ (Ò ÝÕ×ÐèâàØåÞÒÐÝÝÞÙ ÞÑ-
ÛÐáâØ ÝÐ (àØá. 1.14), ÜÞÖÝÞ ÝÐ×ÒÐâì ÐÑáÞÛîâÝÞ ãÔÐÛÕÝÝëÜ ßÞ ÞâÝÞèÕÝØî Ú áÞ-
ÑëâØî O. ²áÕ âÐÚØÕ áÞÑëâØï ãÔÐÛÕÝë Þâ áÞÑëâØï O ßàÞáâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëÜ ØÝ-
âÕàÒÐÛÞÜ (s2 = c2t2−x2 < 0) Ø ÝÕ ÜÞÓãâ ØÜÕâì á ÝØÜ ßàØçØÝÝÞ-áÛÕÔáâÒÕÝÝÞÙ áÒï×Ø.
´Ûï ÛîÑÞÓÞ áÞÑëâØï B Ø× ÐÑáÞÛîâÝÞ ãÔÐÛÕÝÝÞÓÞ ÒáÕÓÔÐ ÜÞÖÝÞ ÝÐÙâØ âÐÚãî áØáâÕ-
Üã ÞâáçÕâÐ K ′′, á âÞçÚØ ×àÕÝØï ÚÞâÞàÞÙ ÞÝÞ ßàÞØ×ÞèÛÞ ÞÔÝÞÒàÕÜÕÝÝÞ á áÞÑëâØÕÜ
O (áÜ. àØá. 1.14) ßàØ t′′ = 0, Ø Ø×ÞÑàÐÖÐîéØÕ íâØ áÞÑëâØï âÞçÚØ ÛÕÖÐâ ÝÐ ÞáØ
Ox′′. �ÀÐááâÞïÝØÕ� Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÜÕÖÔã âÐÚØÜØ áÞÑëâØïÜØ (ßàÞáâàÐÝ-
áâÒÕÝÝÞ-ÒàÕÜÕÝÝÞÙ ØÝâÕàÒÐÛ) ÒëàÐÖÐÕâáï ÜÝØÜëÜ çØáÛÞÜ, ÜÞÔãÛì ÚÞâÞàÞÓÞ àÐÒÕÝ
ßàÞáâàÐÝáâÒÕÝÝÞÙ ÚÞÞàÔØÝÐâÕ x′′ áÞÑëâØï B Ò áØáâÕÜÕ ÞâáçÕâÐ K ′′.

1.8.4 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÜÐáèâÐÑÞÒ
ÝÐ ÔØÐÓàÐÜÜÐå ¼ØÝÚÞÒáÚÞÓÞ

ÀÐááÜÞâàØÜ ÒÞßàÞá ÞÑ Ø×ÜÕÝÕÝØØ ÜÐáèâÐÑÞÒ ßàØ ßÕàÕåÞÔÕ Ú ÚÞáÞãÓÞÛìÝëÜ ÚÞ-
ÞàÔØÝÐâÐÜ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ÝÐ ÔØÐÓàÐÜÜÐå ¼ØÝÚÞÒáÚÞÓÞ. ´Ûï íâÞÓÞ ßàÕÖÔÕ
ÒáÕÓÞ ßÞßëâÐÕÜáï ßàÕÔáâÐÒØâì áÕÑÕ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ ÜÝÞÖÕáâÒÞ áÞÑë-
âØÙ, ãÔÐÛÕÝÝëå ÝÐ ÞÔØÝÐÚÞÒÞÕ �àÐááâÞïÝØÕ� Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ Ò ßàÞáâàÐÝáâ-
ÒÕ-ÒàÕÜÕÝØ. ½Ð ÕÒÚÛØÔÞÒÞÙ ßÛÞáÚÞáâØ ÜÝÞÖÕáâÒÞ âÞçÕÚ, àÐÒÝÞãÔÐÛÕÝÝëå Þâ ÝÐçÐ-
ÛÐ ÚÞÞàÔØÝÐâ, ÛÕÖØâ ÝÐ ÞÚàãÖÝÞáâØ. ¿ÞíâÞÜã ßàØ ßÞÒÞàÞâÕ ÞáÕÙ ÚÞÞàÔØÝÐâ ÕÔØ-
ÝØçÝëÕ ÒÕÚâÞàë ÒÔÞÛì ÝÞÒëå ÞáÕÙ Ø×ÞÑàÐÖÐîâáï ÞâàÕ×ÚÐÜØ âÞÙ ÖÕ ÔÛØÝë, çâÞ Ø
ÕÔØÝØçÝëÕ ÒÕÚâÞàë ÒÔÞÛì ßàÕÖÝØå ÞáÕÙ. ½Þ ÝÐ ßáÕÒÔÞÕÒÚÛØÔÞÒÞÙ ßÛÞáÚÞáâØ ßàÞ-
áâàÐÝáâÒÐ-ÒàÕÜÕÝØ �àÐááâÞïÝØÕ� Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ÔÞ ÝÕÚÞâÞàÞÓÞ áÞÑëâØï �
íâÞ ØÝâÕàÒÐÛ s =

√
c2t2 − x2. ¿ÞíâÞÜã ÜÝÞÖÕáâÒÞ âÞçÕÚ (áÞÑëâØÙ), àÐÒÝÞãÔÐÛÕÝ-

Ýëå Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ, ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÓØßÕàÑÞÛã s2 = c2t2 − x2.
ÀÐááÜÞâàØÜ ÓØßÕàÑÞÛã c2t2 − x2 = 1, ÔÛï ÚÞâÞàÞÙ s2 = 1 (àØá. 1.15, Ð). ¾ÝÐ
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ÀØá. 1.15: ²ÕÚâÞàë ÕÔØÝØçÝÞÙ ÔÛØÝë Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝ-
ÚÞÒáÚÞÓÞ

ßÕàÕáÕÚÐÕâ Þáì ÒàÕÜÕÝØ ct Ò âÞçÚÐå ct = ±1. µáÛØ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ ßàÞ-
ÒÕáâØ ÛãçØ Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ÔÞ ßÕàÕáÕçÕÝØï á íâÞÙ ÓØßÕàÑÞÛÞÙ, âÞ ÞâàÕ×ÞÚ ÚÐÖ-
ÔÞÓÞ âÐÚÞÓÞ ÛãçÐ ÞàÕÔÕÛØâ ÕÔØÝØçÝãî ÔÛØÝã Ò ÔÐÝÝÞÜ (ÒàÕÜÕÝØßÞÔÞÑÝÞÜ) ÝÐßàÐÒ-
ÛÕÝØØ ÝÐ ßáÕÒÔÞÕÒÚÛØÔÞÒÞÙ ßÛÞáÚÞáâØ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ. ¸ÝÐçÕ ÓÞÒÞàï, ÔÐÝ-
ÝÐï ÓØßÕàÑÞÛÐ ÞßàÕÔÕÛïÕâ ÜÐáèâÐÑ ÔÛï ÚÐÖÔÞÓÞ ÒàÕÜÕÝØßÞÔÞÑÝÞÓÞ ÝÐßàÐÒÛÕÝØï
ÔØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ. ´Ûï âÐÚÞÙ ÜÐáèâÐÑÝÞÙ ÓØßÕàÑÞÛë ÒÞ×ÜÞÖÝÐ ÝÐÓÛïÔÝÐï
äØ×ØçÕáÚÐï ØÝâÕàßàÕâÐæØï. ¿ãáâì Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ÞÔÝÞÒàÕÜÕÝÝÞ (ßàØ t = 0)
ÒëÛÕâÐîâ çÐáâØæë, ÔÒØÖãéØÕáï áÞ ÒáÕÒÞ×ÜÞÖÝëÜØ áÚÞàÞáâïÜØ, ÝÞ ÞÑÛÐÔÐîéØÕ
ÞÔÝØÜ Ø âÕÜ ÖÕ áÞÑáâÒÕÝÝëÜ ÒàÕÜÕÝÕÜ ÖØ×ÝØ τ0, âÐÚØÜ, çâÞ cτ0 = 1. ÂÞÓÔÐ ÜÝÞ-
ÖÕáâÒÞ ÜØàÞÒëå âÞçÕÚ, áÞÞâÒÕâáâÒãîéØå áÞÑëâØïÜ àÐáßÐÔÐ íâØå çÐáâØæ, ÛÕÖØâ Ò
ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÚÐÚ àÐ× ÝÐ ÜÐáèâÐÑÝÞÙ ÓØßÕàÑÞÛÕ, Ð ÞâàÕ×ÚØ ÛãçÕÙ, ßàÞÒÕ-
ÔÕÝÝëÕ Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ÔÞ ßÕàÕáÕçÕÝØï á ÜÐáèâÐÑÝÞÙ ÓØßÕàÑÞÛÞÙ, ßàÕÔáâÐÒ-
Ûïîâ áÞÑÞÙ ÜØàÞÒëÕ ÛØÝØØ âÐÚØå çÐáâØæ Þâ àÞÖÔÕÝØï ÔÞ àÐáßÐÔÐ.

°ÝÐÛÞÓØçÝÞ ÜÞÖÝÞ ßÞáâàÞØâì ÜÐáèâÐÑÝãî ÓØßÕàÑÞÛã c2t2 − x2 = −1 ÔÛï ßàÞ-
áâàÐÝáâÒÕÝÝÞßÞÔÞÑÝëå ÝÐßàÐÒÛÕÝØÙ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ (àØá. 1.15, Ñ). ÍâÐ
ÓØßÕàÑÞÛÐ ßÕàÕáÕÚÐÕâ ßàÞáâàÐÝáâÒÕÝÝãî Þáì Ò âÞçÚÐå x = ±1. ¾âàÕ×ÚØ ÛãçÕÙ Ø×
ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ÔÞ ßÕàÕáÕçÕÝØï á âÐÚÞÙ ÓØßÕàÑÞÛÞÙ ÞßàÕÔÕÛïîâ ÕÔØÝØçÝëÕ àÐá-
áâÞïÝØï Ò áÞÞâÒÕâáâÒãîéØå ÝÐßàÐÒÛÕÝØïå. ² çÐáâÝÞáâØ, ÞâàÕ×ÞÚ ÛãçÐ Ò ÝÐßàÐÒÛÕ-
ÝØØ ÞáØ Ox′ ×ÐÔÐÕâ ÕÔØÝØçÝãî ÔÛØÝã ÝÐ íâÞÙ ßàÞáâàÐÝáâÒÕÝÝÞÙ ÞáØ áØáâÕÜë ÞâáçÕ-
âÐ K ′.

ÃàÐÒÝÕÝØï ÜÐáèâÐÑÝëå ÓØßÕàÑÞÛ c2t2 − x2 = ±1 ØÝÒÐàØÐÝâÝë ÞâÝÞáØâÕÛìÝÞ
ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ. ¿ÞíâÞÜã Ø Ò ÚÞáÞãÓÞÛìÝëå ÚÞÞàÔØÝÐâÝëå Þáïå (x′, ct′)
íâØ ÓØßÕàÑÞÛë ØÜÕîâ ãàÐÒÝÕÝØï c2t′2−x′2 = ±1 Ø ÞâáÕÚÐîâ ÝÐ Þáïå x′ Ø ct′ ÕÔØÝØç-
ÝëÕ ÞâàÕ×ÚØ.

¸áßÞÛì×ãï ÜÐáèâÐÑÝëÕ ÓØßÕàÑÞÛë, ÜÞÖÝÞ ÔÐâì ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ ÝÐ-
ÓÛïÔÝãî ÓÕÞÜÕâàØçÕáÚãî ØÝâÕàßàÕâÐæØî àÕÛïâØÒØáâáÚØå ÚØÝÕÜÐâØçÕáÚØå íääÕÚ-
âÞÒ. ÀÐááÜÞâàØÜ, ÝÐßàØÜÕà, ÖÕáâÚØÙ áâÕàÖÕÝì ÕÔØÝØçÝÞÙ ÔÛØÝë, àÐáßÞÛÞÖÕÝÝëÙ
ÒÔÞÛì ÞáØ Ox Ø ßÞÚÞïéØÙáï ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K. ½Ð ÔØÐÓàÐÜÜÕ ¼ØÝ-
ÚÞÒáÚÞÓÞ (àØá. 1.16) ÜØàÞÒëÕ ÛØÝØØ ÚÞÝæÞÒ íâÞÓÞ áâÕàÖÝï ÔÐîâáï Þáìî ÒàÕÜÕÝØ
ct (ÝÐçÐÛÞ ÚÞÞàÔØÝÐâ áØáâÕÜë ÞâáçÕâÐ K) Ø ßàïÜÞÙ, ßÐàÐÛÛÕÛìÝÞÙ ÞáØ ÒàÕÜÕÝØ Ø
ßÕàÕáÕÚÐîéÕÙ Þáì Ox Ò âÞçÚÕ x = 1. Á âÞçÚØ ×àÕÝØï áØáâÕÜë ÞâáçÕâÐ K ′ ßÞÛÞ-
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ÀØá. 1.16: ³ÕÞÜÕâàØçÕáÚÐï ØÝâÕàßàÕâÐæØï áÞÚàÐéÕÝØï ÔÛØÝë ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝ-
ÚÞÒáÚÞÓÞ

ÖÕÝØÕ ÚÞÝæÞÒ ÔÐÝÝÞÓÞ áâÕàÖÝï, Ò×ïâÞÕ Ò ÞÔØÝ Ø âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ t′ = 0 Ò
K ′, áÞÞâÒÕâáâÒãÕâ ÝÐ ÔØÐÓàÐÜÜÕ ¼ØÝÚÞÒáÚÞÓÞ âÞçÚÐÜ ßÕàÕáÕçÕÝØï íâØå ÜØàÞÒëå
ÛØÝØÙ á ßàÞáâàÐÝáâÒÕÝÝÞÙ Þáìî Ox′, â. Õ. âÞçÚÐÜ O Ø A (àØá. 1.16). ½Þ àÐááâÞï-
ÝØÕ OA ÒÔÞÛì ÞáØ Ox′ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ÜÕÝìèÕ ÕÔØÝØæë, âÐÚ ÚÐÚ ÕÔØÝØçÝÞÜã
àÐááâÞïÝØî áÞÞâÒÕâáâÒãÕâ ÞâàÕ×ÞÚ ÞáØ Ox′ Þâ âÞçÚØ O ÔÞ ßÕàÕáÕçÕÝØï á ÜÐáèâÐÑ-
ÝÞÙ ÓØßÕàÑÞÛÞÙ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′

ÔÛØÝÐ ÔÒØÖãéÕÓÞáï ÞâÝÞáØâÕÛìÝÞ ÝÕÓÞ áâÕàÖÝï á ÕÔØÝØçÝÞÙ áÞÑáâÒÕÝÝÞÙ ÔÛØÝÞÙ
ÞÚÐ×ëÒÐÕâáï ÜÕÝìèÕ ÕÔØÝØæë. ÍâÞâ ÚØÝÕÜÐâØçÕáÚØÙ íääÕÚâ áÞÚàÐéÕÝØï »ÞàÕÝæÐ
� ÄØâæÔÖÕàÐÛìÔÐ áÒØÔÕâÕÛìáâÒãÕâ Þ âÞÜ, çâÞ àÕ×ãÛìâÐâ Ø×ÜÕàÕÝØï ÞÔÝÞÓÞ Ø âÞÓÞ
ÖÕ áâÕàÖÝï ×ÐÒØáØâ Þâ áØáâÕÜë ÞâáçÕâÐ, Ò ÚÞâÞàÞÙ ßàÞØ×ÒÞÔØâáï Ø×ÜÕàÕÝØÕ.

ÀÕÚÞÜÕÝÔãÕâáï áÐÜÞáâÞïâÕÛìÝÞ àÐááÜÞâàÕâì á ßÞÜÞéìî ÔØÐÓàÐÜÜë ¼ØÝÚÞÒ-
áÚÞÓÞ áÛãçÐÙ, ÚÞÓÔÐ ÕÔØÝØçÝëÙ áâÕàÖÕÝì ßÞÚÞØâáï ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ
K ′ Ø ßÞÚÐ×Ðâì, çâÞ á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ÔÛØÝÐ âÐÚÞÓÞ
áâÕàÖÝï ÑãÔÕâ ÜÕÝìèÕ ÕÔØÝØæë. ÀÕÚÞÜÕÝÔãÕâáï âÐÚÖÕ ÔÐâì ÓÕÞÜÕâàØçÕáÚãî ØÝ-
âÕàßàÕâÐæØî àÕÛïâØÒØáâáÚÞÓÞ ÚØÝÕÜÐâØçÕáÚÞÓÞ íääÕÚâÐ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 386�392, [3], áâà. 43�57, [4], áâà. 39�
46.

1.9 ÇÕâëàÕåÜÕàÝëÕ ÒÕÚâÞàë
¿àÕÔáâÐÒÛÕÝØÕ Þ çÕâëàÕåÜÕàÝÞÜ ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ßÞ×ÒÞÛïÕâ ßàØÔÐâì âÕÞ-
àØØ ÞâÝÞáØâÕÛìÝÞáâØ ÞáÞÑÕÝÝÞ ßàÞáâÞÕ Ø Ø×ïéÝÞÕ ÜÐâÕÜÐâØçÕáÚÞÕ ÒëàÐÖÕÝØÕ. ¿Þ
áÛÞÒÐÜ ³. ¼ØÝÚÞÒáÚÞÓÞ, �ÞâÝëÝÕ ßÞÝïâØï ßàÞáâàÐÝáâÒÐ áÐÜÞÓÞ ßÞ áÕÑÕ Ø ÒàÕÜÕÝØ
áÐÜÞÓÞ ßÞ áÕÑÕ ÞáãÖÔÕÝë ÝÐ ÒëÜØàÐÝØÕ Ø ßàÕÒàÐéÕÝØÕ Ò ÑÛÕÔÝëÕ âÕÝØ, Ø âÞÛìÚÞ
áÒÞÕÓÞ àÞÔÐ ÞÑêÕÔØÝÕÝØÕ íâØå ÔÒãå ßÞÝïâØÙ áÞåàÐÝØâ ÝÕ×ÐÒØáØÜãî àÕÐÛìÝÞáâì�.
¿ÞÔçÕàÚÝÕÜ, çâÞ ÝÞÒëÕ Ò×ÓÛïÔë ÝÐ ßàÞáâàÐÝáâÒÞ Ø ÒàÕÜï, ÒëÔÒØÝãâëÕ âÕÞàØÕÙ Þâ-
ÝÞáØâÕÛìÝÞáâØ, ÒëàÞáÛØ ÝÐ ßÞçÒÕ íÚáßÕàØÜÕÝâÐÛìÝÞÙ äØ×ØÚØ, Ø ØÜÕÝÝÞ Ò íâÞÜ ×Ð-
ÚÛîçÐÕâáï Øå áØÛÐ.
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1.9.1 ¿àÞáâàÐÝáâÒÕÝÝëÕ Ø ÒàÕÜÕÝÝ �ëÕ ÚÞÞàÔØÝÐâë
¿ÞÛÞÖÕÝØÕ áÞÑëâØï Ò ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ ÞßàÕÔÕÛïÕâáï çÕâëàìÜï ÒÕÛØçØÝÐ-
ÜØ: ßàÞáâàÐÝáâÒÕÝÝëÜØ ÚÞÞàÔØÝÐâÐÜØ x, y, z Ø ÒàÕÜÕÝÕÜ t. ½ÐáÚÞÛìÚÞ ÒÕÛØÚÞ àÐ×-
ÛØçØÕ ÜÕÖÔã ßàÞáâàÐÝáâÒÕÝÝëÜØ Ø ÒàÕÜÕÝÝ �ÞÙ ÚÞÞàÔØÝÐâÐÜØ? ÀÐÔØÞÛÞÚÐæØÞÝÝëÙ
áßÞáÞÑ ÞßàÕÔÕÛÕÝØï àÐááâÞïÝØÙ áÒÞÔØâ Ø×ÜÕàÕÝØÕ ÔÛØÝë Ú Ø×ÜÕàÕÝØî ÒàÕÜÕ-
ÝØ Ø ßÞ×ÒÞÛïÕâ ØáßÞÛì×ÞÒÐâì ÔÛï ÔÛØÝë Ø ÒàÕÜÕÝØ ÞÔÝØ Ø âÕ ÖÕ ÕÔØÝØæë Ø íâÐÛÞÝë.
½ÐáÚÞÛìÚÞ ÝÕáÞÞÑàÐ×ÝÞ ßàØÜÕÝïÕÜÞÕ ÝÐ ßàÐÚâØÚÕ Ø×ÜÕàÕÝØÕ ØÝâÕàÒÐÛÞÒ Ò ÞÔÝÞÜ
ÝÐßàÐÒÛÕÝØØ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ Ò áÕÚãÝÔÐå, Ð Ò âàÕå ÔàãÓØå ÝÐßàÐÒÛÕÝØïå �
Ò ÜÕâàÐå, ÜÞÖÝÞ ãïáÝØâì Ø× ßàØÜÕàÐ, ßàØÒÞÔØÜÞÓÞ ÃØÛÕàÞÜ [3]. ¿àÕÔáâÐÒØÜ áÕÑÕ
âÐÚÞÕ ÝÕáÞÒÜÕáâØÜÞÕ ßàØÜÕÝÕÝØÕ àÐ×ÛØçÝëå ÜÕà ÔÛØÝë, ÚÞÓÔÐ, ÝÐßàØÜÕà, èØàØ-
ÝÐ èÞááÕ Ø×ÜÕàïÕâáï Ò äãâÐå, Ð ÕÓÞ ÔÛØÝÐ � Ò ÜØÛïå. ¿ÕàÕáçÕâÝëÙ ÜÝÞÖØâÕÛì
c, ßÕàÕÒÞÔïéØÙ ÕÔØÝØæã ÔÛØÝë ÒÞ ÒàÕÜÕÝÝ �ÞÜ ÝÐßàÐÒÛÕÝØØ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ
(â. Õ. áÕÚãÝÔã) Ò ÕÔØÝØæã ÔÛØÝë Ò ßàÞáâàÐÝáâÒÕÝÝëå ÝÐßàÐÒÛÕÝØïå (ÜÕâà), àÐÒÝëÙ
áÚÞàÞáâØ áÒÕâÐ 3 · 108 Ü/á (âÞçÝÕÕ, 2,99792·108 Ü/á), ßÞ áãéÕáâÒã áÛãçÐÕÝ Ø Ò âÐ-
ÚÞÙ ÖÕ ÜÕàÕ ÞÑãáÛÞÒÛÕÝ ØáâÞàØçÕáÚØÜØ ßàØçØÝÐÜØ, ÚÐÚ Ø ßÕàÕáçÕâÝëÙ ÜÝÞÖØâÕÛì
5280 äãâ/ÜØÛì, ßÕàÕÒÞÔïéØÙ ÜØÛØ Ò äãâë. ÇØáÛÕÝÝÞÕ ×ÝÐçÕÝØÕ áÚÞàÞáâØ áÒÕâÐ c =
2,99792·108 Ü/á ÞßàÕÔÕÛïÕâáï ßàÞØ×ÒÞÛìÝëÜ, ÝÕ áÞÓÛÐáÞÒÐÝÝëÜ ÒëÑÞàÞÜ ÕÔØÝØæ
ÔÛØÝë Ø ÒàÕÜÕÝØ.

±ÞÛÕÕ âÞÓÞ, ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ, ÒëàÐÖÐîéØÕ ßÕàÕåÞÔ Þâ ÞßØáÐÝØï Ò ÞÔ-
ÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ Ú ÔàãÓÞÙ, �ßÕàÕÜÕèØÒÐîâ� ßàÞáâàÐÝáâÒÕÝÝãî
Ø ÒàÕÜÕÝÝ �ãî ÚÞÞàÔØÝÐâë, ßÞÔÞÑÝÞ âÞÜã ÚÐÚ ßàÕÞÑàÐ×ÞÒÐÝØÕ ßÞÒÞàÞâÐ áØáâÕÜë ÚÞ-
ÞàÔØÝÐâ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ ßÕàÕÜÕèØÒÐÕâ ÜÕÖÔã áÞÑÞÙ ßàÞáâàÐÝáâÒÕÝÝëÕ
ÚÞÞàÔØÝÐâë.

½Þ ÒáÕ íâÞ ÝÕ Þ×ÝÐçÐÕâ, ÚÞÝÕçÝÞ, ßÞÛÝÞÙ ÝÕàÐ×ÛØçØÜÞáâØ (âÞÖÔÕáâÒÕÝÝÞáâØ)
ßàÞáâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ. ÀÐ×ÛØçØÕ ßàÞáâàÐÝáâÒÕÝÝëå Ø ÒàÕÜÕÝÝ �ÞÙ ÚÞÞàÔØÝÐâ Ò çÕ-
âëàÕåÜÕàÝÞÜ ÜØàÕ ßàÞïÒÛïÕâáï Ò âÞÜ, çâÞ Ò ÒëàÐÖÕÝØÕ ÔÛï ØÝÒÐàØÐÝâÝÞÓÞ àÐá-
áâÞïÝØï (ØÝâÕàÒÐÛÐ) Øå ÚÒÐÔàÐâë ÒåÞÔïâ á ßàÞâØÒÞßÞÛÞÖÝëÜØ ×ÝÐÚÐÜØ, â. Õ.
ÓÕÞÜÕâàØï ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ ßáÕÒÔÞÕÒÚÛØÔÞÒÐ.

1.9.2 ¸ÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØÙ
ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ

¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ âàÕÑãÕâ ØÝÒÐàØÐÝâÝÞáâØ ãàÐÒÝÕÝØÙ, ÒëàÐÖÐîéØå ×Ð-
ÚÞÝë äØ×ØÚØ, ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ. ²ëïáÝÕÝØÕ ØÝÒÐàØÐÝâÝÞáâØ
ãàÐÒÝÕÝØÙ áØÛìÝÞ ÞÑÛÕÓçÐÕâáï ßàØ ØáßÞÛì×ÞÒÐÝØØ çÕâëàÕåÜÕàÝÞÓÞ ßàÞáâàÐÝáâÒÐ-
ÒàÕÜÕÝØ Ø ÒÕÚâÞàÞÒ Ò íâÞÜ ßàÞáâàÐÝáâÒÕ (âÐÚ ÝÐ×ëÒÐÕÜëå çÕâëàÕåÒÕÚâÞàÞÒ). ¾áâÐ-
ÝÞÒØÜáï ÝÐ íâÞÜ ÒÞßàÞáÕ ßÞÔàÞÑÝÕÕ.

¸ÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØÙ äØ×ØçÕáÚØå ×ÐÚÞÝÞÒ ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ
»ÞàÕÝæÐ � ÝÕ ÕÔØÝáâÒÕÝÝÞÕ âàÕÑÞÒÐÝØÕ ØÝÒÐàØÐÝâÝÞáâØ ãàÐÒÝÕÝØÙ, ÝÐÚÛÐÔëÒÐ-
ÕÜÞÕ ÝÐ ×ÐÚÞÝë äØ×ØÚØ. ÄØ×ØçÕáÚÞÕ áÞÔÕàÖÐÝØÕ ÛîÑÞÓÞ ×ÐÚÞÝÐ ÝÕ ÔÞÛÖÝÞ ×ÐÒØ-
áÕâì, ÝÐßàØÜÕà, Þâ ÞàØÕÝâÐæØØ ÚÞÞàÔØÝÐâÝëå ÞáÕÙ. ÁÛÕÔÞÒÐâÕÛìÝÞ, ×ÐÚÞÝë äØ×Ø-
ÚØ ÔÞÛÖÝë Ñëâì âÐÚÖÕ ØÝÒÐàØÐÝâÝë ÞâÝÞáØâÕÛìÝÞ ßÞÒÞàÞâÞÒ áØáâÕÜë ÚÞÞàÔØÝÐâ
Ò ßàÞáâàÐÝáâÒÕ. ÍâÐ ØÝÒÐàØÐÝâÝÞáâì ïÒÛïÕâáï ÑÞÛÕÕ ßàÞáâÞÙ, Ø ÕÕ ØááÛÕÔÞÒÐÝØÕ
áÔÕÛÐÕâ ÑÞÛÕÕ ïáÝëÜ ÜÕâÞÔ ØááÛÕÔÞÒÐÝØï ØÝÒÐàØÐÝâÝÞáâØ ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ-
×ÞÒÐÝØÙ »ÞàÕÝæÐ.

¾ÑëçÝÞ ÝÐÜ ÝÕ ßàØåÞÔØâáï ÑÕáßÞÚÞØâìáï ÞÑ ØÝÒÐàØÐÝâÝÞáâØ ×ÐÚÞÝÞÒ ÞâÝÞáØ-
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âÕÛìÝÞ ßÞÒÞàÞâÞÒ áØáâÕÜë ÚÞÞàÔØÝÐâ. ÍâÞ áÒï×ÐÝÞ á âÕÜ, çâÞ ßàØ áÞáâÐÒÛÕÝØØ ãàÐÒ-
ÝÕÝØï, ÒëàÐÖÐîéÕÓÞ ÚÐÚÞÙ-ÛØÑÞ äØ×ØçÕáÚØÙ ×ÐÚÞÝ, ÒáÕÓÔÐ âàÕÑãîâ, çâÞÑë ÒáÕ ÕÓÞ
çÛÕÝë ÑëÛØ ÛØÑÞ áÚÐÛïàÐÜØ, ÛØÑÞ ÒÕÚâÞàÐÜØ (ÛØÑÞ ÒÞÞÑéÕ âÕÝ×ÞàÐÜØ ÞÔÝÞÓÞ àÐÝ-
ÓÐ). ÂÕÜ áÐÜëÜ ÐÒâÞÜÐâØçÕáÚØ ÞÑÕáßÕçØÒÐÕâáï ØÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØÙ ÞâÝÞáØ-
âÕÛìÝÞ ßÞÒÞàÞâÞÒ ÚÞÞàÔØÝÐâÝëå ÞáÕÙ. ½ÐßàØÜÕà, áÚÐÛïàÝÞÕ àÐÒÕÝáâÒÞ a = b ÞÔ-
ÝÞÒàÕÜÕÝÝÞ áßàÐÒÕÔÛØÒÞ ÒÞ ÒáÕå áØáâÕÜÐå ÚÞÞàÔØÝÐâ, âÐÚ ÚÐÚ ÞÑÕ ÕÓÞ çÐáâØ ÝÕ Ø×-
ÜÕÝïîâáï ßàØ ßÞÒÞàÞâÕ ÞáÕÙ ÚÞÞàÔØÝÐâ.

²ÕÚâÞàÝÞÕ àÐÒÕÝáâÒÞ ÒØÔÐ ~A = ~B íÚÒØÒÐÛÕÝâÝÞ âàÕÜ àÐÒÕÝáâÒÐÜ Ax = Bx,
Ay = By, Az = Bz, áÒï×ëÒÐîéØÜ ßàÞÕÚæØØ ÒÕÚâÞàÞÒ ~A Ø ~B. ·ÝÐçÕÝØï íâØå ßàÞÕÚ-
æØÙ, àÐ×ãÜÕÕâáï, ÝÕ ØÝÒÐàØÐÝâÝë ÞâÝÞáØâÕÛìÝÞ ßÞÒÞàÞâÞÒ áØáâÕÜë ÞáÕÙ. ² àÕ×ãÛì-
âÐâÕ ßÞÒÞàÞâÐ ÞÝØ ßàØÜãâ, ÒÞÞÑéÕ ÓÞÒÞàï, ÔàãÓØÕ ×ÝÐçÕÝØï A′

i, Ø B′
i (i = x, y, z).

½Þ âÐÚ ÚÐÚ ÛÕÒÐï Ø ßàÐÒÐï çÐáâØ àÐÒÕÝáâÒ, áÒï×ëÒÐîéØå ßàÞÕÚæØØ ÒÕÚâÞàÞÒ ~A
Ø ~B, ßàÕÞÑàÐ×ãîâáï ßàØ ßÞÒÞàÞâÕ ÞáÕÙ ÚÞÞàÔØÝÐâ ØÔÕÝâØçÝëÜ ÞÑàÐ×ÞÜ, âÞ ßÞáÛÕ
ßàÕÞÑàÐ×ÞÒÐÝØï àÐÒÕÝáâÒÞ ÞâÔÕÛìÝëå ßàÞÕÚæØÙ áÞåàÐÝØâáï: A′

x = B′
x, A′

y = B′
y,

A′
z = B′

z. ² âÐÚØå áÛãçÐïå ÓÞÒÞàïâ, çâÞ àÐááÜÐâàØÒÐÕÜÞÕ àÐÒÕÝáâÒÞ ãÔÞÒÛÕâÒÞàïÕâ
âàÕÑÞÒÐÝØî ÚÞÒÐàØÐÝâÝÞáâØ. ² ßàÞâØÒÞßÞÛÞÖÝÞáâì íâÞÜã àÐÒÕÝáâÒÞ, áÒï×ëÒÐ-
îéÕÕ ßàÞÕÚæØî ÒÕÚâÞàÐ áÞ áÚÐÛïàÞÜ, ÝÕ ÞáâÐÕâáï áßàÐÒÕÔÛØÒëÜ ßàØ ßÞÒÞàÞâÕ ÞáÕÙ
ÚÞÞàÔØÝÐâ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ØÝÒÐàØÐÝâÝÞáâì äØ×ØçÕáÚÞÓÞ ×ÐÚÞÝÐ ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×Þ-
ÒÐÝØï ÚÞÞàÔØÝÐâ âàÕÑãÕâ ÚÞÒÐàØÐÝâÝÞáâØ ÜÐâÕÜÐâØçÕáÚÞÓÞ ãàÐÒÝÕÝØï, ÒëàÐÖÐî-
éÕÓÞ íâÞâ ×ÐÚÞÝ.

¿Þ ÐÝÐÛÞÓØØ á ßÞÒÞàÞâÞÜ áØáâÕÜë ÚÞÞàÔØÝÐâ Ò ßàÞáâàÐÝáâÒÕ, ßàÕÞÑàÐ×ÞÒÐÝØï
»ÞàÕÝæÐ, ÞßØáëÒÐîéØÕ ßÕàÕåÞÔ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú Ôàã-
ÓÞÙ, ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ßàÕÞÑàÐ×ÞÒÐÝØÕ çÕâëàÕåÜÕàÝÞÓÞ àÐÔØãáÐ-ÒÕÚâÞàÐ
áÞÑëâØï (ct, x, y, z) Ò çÕâëàÕåÜÕàÝÞÜ ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ. ² íâÞÜ çÕâëàÕåÜÕà-
ÝÞÜ ßàÞáâàÐÝáâÒÕ ÜÞÖÝÞ ÒÒÕáâØ áÚÐÛïàë, ÒÕÚâÞàë, âÕÝ×Þàë. ¸ÝÒÐàØÐÝâÝÞáâì äØ-
×ØçÕáÚÞÓÞ ×ÐÚÞÝÐ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ á
ßÞÜÞéìî ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ ÜÞÖÝÞ áÔÕÛÐâì ÞçÕÒØÔÝÞÙ, ÕáÛØ ÒëàÐ×Øâì íâÞâ
×ÐÚÞÝ Ò ÚÞÒÐàØÐÝâÝÞÙ çÕâëàÕåÜÕàÝÞÙ äÞàÜÕ: ÒáÕ çÛÕÝë ãàÐÒÝÕÝØï, ÒëàÐÖÐîéÕÓÞ
×ÐÚÞÝ, ÔÞÛÖÝë Ñëâì çÕâëàÕåÜÕàÝëÜØ âÕÝ×ÞàÐÜØ ÞÔÝÞÓÞ àÐÝÓÐ (â. Õ. ÔÞÛÖÝë Ñëâì
ÒáÕ ÛØÑÞ áÚÐÛïàÐÜØ, ÛØÑÞ ÒÕÚâÞàÐÜØ).

²ÐÖÝëÙ ßàØÜÕà çÕâëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ � àÐÔØãá-ÒÕÚâÞà ÝÕÚÞâÞàÞÓÞ áÞÑë-
âØï (ct, x, y, z). ² ÔÐÛìÝÕÙèÕÜ ÑãÔãâ àÐááÜÞâàÕÝë ÔàãÓØÕ çÕâëàÕåÒÕÚâÞàë, Ò çÐáâ-
ÝÞáâØ, çÕâëàÕåÒÕÚâÞà íÝÕàÓØØ-ØÜßãÛìáÐ (E/c, px, py, pz). ¿àØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ
ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ßàÞÕÚæØØ ÛîÑëå çÕâëàÕåÒÕÚâÞàÞÒ ßàÕÞÑ-
àÐ×ãîâáï ÞÔØÝÐÚÞÒëÜ ÞÑàÐ×ÞÜ Ò áÞÞâÒÕâáâÒØØ á äÞàÜãÛÐÜØ ßàÕÞÑàÐ×ÞÒÐÝØÙ »Þ-
àÕÝæÐ (1.17) ØÛØ (1.18).

·ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï çÕâëàÕåÒÕÚâÞàÞÒ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ
áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ (ßàÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ) ÜÞÖÝÞ ×ÐßØáÐâì Ò ÚÞÜßÐÚâ-
ÝÞÙ ÜÐâàØçÝÞÙ äÞàÜÕ. ²ÒÕÔÕÜ ÔÛï ÒàÕÜÕÝÝ �ÞÙ ßàÞÕÚæØØ çÕâëàÕåÒÕÚâÞàÐ ÞÑÞ×ÝÐçÕ-
ÝØÕ x0, Ð ÔÛï ßàÞáâàÐÝáâÒÕÝÝëå ßàÞÕÚæØÙ � ÞÑÞ×ÝÐçÕÝØï x1, x2, x3. ² çÐáâÝÞáâØ,
ÔÛï çÕâëàÕåÜÕàÝÞÓÞ àÐÔØãáÐ-ÒÕÚâÞàÐ ÝÕÚÞâÞàÞÓÞ áÞÑëâØï x0 = ct, x1 = x, x2 = y,
x3 = z. ÍâØ ßàÞÕÚæØØ Ò áØáâÕÜÕ ÞâáçÕâÐ K ÑãÔãâ ÒëàÐÖÐâìáï çÕàÕ× ßàÞÕÚæØØ Ò
áØáâÕÜÕ K ′ ßÞ áÛÕÔãîéØÜ äÞàÜãÛÐÜ:

xi =
3∑

k=0

aikx
′
k (i = 0, 1, 2, 3), (1.33)
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ÓÔÕ ÜÐâàØæÐ ßàÕÞÑàÐ×ÞÒÐÝØï aik Ò áÞÞâÒÕâáâÒØØ á äÞàÜãÛÐÜØ ßàÕÞÑàÐ×ÞÒÐÝØÙ »Þ-
àÕÝæÐ (1.17) ÜÞÖÕâ Ñëâì ×ÐßØáÐÝÐ áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

aik =




γ γv/c 0 0
γv/c γ 0 0

0 0 1 0
0 0 0 1


 ; γ =

1√
1− v2/c2

. (1.34)

¸× ßàÞÕÚæØÙ ÛîÑÞÓÞ çÕâëàÕåÒÕÚâÞàÐ ÜÞÖÝÞ ÞÑàÐ×ÞÒÐâì áÚÐÛïàÝãî (ØÝÒÐàØ-
ÐÝâÝãî) ÒÕÛØçØÝã. ´Ûï àÐÔØãáÐ-ÒÕÚâÞàÐ áÞÑëâØï âÐÚÐï ÒÕÛØçØÝÐ � ØÝâÕàÒÐÛ

s =
√

(ct)2 − (x2 + y2 + z2),

ÞáâÐîéØÙáï ÝÕØ×ÜÕÝÝëÜ ßàØ ßàÕÞÑàÐ×ÞÒÐÝØïå »ÞàÕÝæÐ ßÞÔÞÑÝÞ âÞÜã, ÚÐÚ Ò ÕÒ-
ÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ ßÞÒÞàÞâ ÞáÕÙ ÚÞÞàÔØÝÐâ ÞáâÐÒÛïÕâ ÝÕØ×ÜÕÝÝÞÙ ÔÛØÝã àÐÔØãáÐ-
ÒÕÚâÞàÐ

√
x2 + y2 + z2. ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò çÕâëàÕåÜÕàÝÞÜ ßàÞáâàÐÝáâÒÕ-ÒàÕÜÕÝØ

ßÞÔ �ÔÛØÝÞÙ� çÕâëàÕåÒÕÚâÞàÐ áÛÕÔãÕâ ßÞÝØÜÐâì ÚÒÐÔàÐâÝëÙ ÚÞàÕÝì Ø× àÐ×ÝÞáâØ
ÚÒÐÔàÐâÞÒ ÕÓÞ ÒàÕÜÕÝÝ �ÞÙ Ø ßàÞáâàÐÝáâÒÕÝÝÞÙ ßàÞÕÚæØÙ. ¿ÞíâÞÜã Ò ßáÕÒÔÞÕÒÚÛØ-
ÔÞÒÞÙ ÓÕÞÜÕâàØØ áãéÕáâÒãîâ ÒÕÚâÞàë ÝãÛÕÒÞÙ ÔÛØÝë á ÞâÛØçÝëÜØ Þâ ÝãÛï ßàÞÕÚ-
æØïÜØ, çâÞ ÝÕÒÞ×ÜÞÖÝÞ Ò ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØØ. ½ãÛÕÒãî �ÔÛØÝã� ØÜÕîâ, ÝÐßàØ-
ÜÕà, àÐÔØãáë-ÒÕÚâÞàë ÒáÕå áÞÑëâØÙ, ÛÕÖÐéØå ÝÐ áÒÕâÞÒÞÜ ÚÞÝãáÕ.

¸× ßàÞÕÚæØÙ ÔÒãå çÕâëàÕåÒÕÚâÞàÞÒ âÐÚÖÕ ÜÞÖÝÞ ÞÑàÐ×ÞÒÐâì ØÝÒÐàØÐÝâÝãî ÒÕ-
ÛØçØÝã � áÚÐÛïàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ çÕâëàÕåÒÕÚâÞàÞÒ. ² ÞâÛØçØÕ Þâ ÕÒÚÛØÔÞÒÞÙ ÓÕÞ-
ÜÕâàØØ áÚÐÛïàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ ÒëàÐÖÐÕâáï ÝÕ áãÜÜÞÙ ßàÞØ×ÒÕÔÕÝØÙ ÞÔÝÞØÜÕÝ-
Ýëå ßàÞÕÚæØÙ, Ð àÐ×ÝÞáâìî ßàÞØ×ÒÕÔÕÝØÙ ÒàÕÜÕÝÝ �ëå Ø ßàÞáâàÐÝáâÒÕÝÝëå ßàÞÕÚ-
æØÙ çÕâëàÕåÒÕÚâÞàÞÒ:

a0b0 − (a1b1 + a2b2 + a3b3) = inv. (1.35)

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 398�394, [2], áâà. 544�548, [8], áâà.
64�67, [4], áâà. 18�19, 42�52.
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³ÛÐÒÐ 2

ÀÕÛïâØÒØáâáÚÐï ÔØÝÐÜØÚÐ

ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ âàÕÑãÕâ ßÕàÕáÜÞâàÐ Ø ãâÞçÝÕÝØï ×ÐÚÞÝÞÒ ÝìîâÞÝÞÒáÚÞÙ
ÜÕåÐÝØÚØ. ºÐÚ ÑëÛÞ ßÞÚÐ×ÐÝÞ ÒëèÕ, ãàÐÒÝÕÝØï ÚÛÐááØçÕáÚÞÙ ÔØÝÐÜØÚØ (ÒâÞàÞÙ
×ÐÚÞÝ ½ìîâÞÝÐ) ãÔÞÒÛÕâÒÞàïîâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ Ò ÞâÝÞèÕÝØØ ßàÕÞÑ-
àÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï. ½Þ ßÞáÛÕÔÝØÕ ÔÞÛÖÝë Ñëâì ×ÐÜÕÝÕÝë ßàÕÞÑàÐ×ÞÒÐÝØïÜØ »Þ-
àÕÝæÐ. ¿ÞíâÞÜã ãàÐÒÝÕÝØï ÔØÝÐÜØÚØ áÛÕÔãÕâ Ø×ÜÕÝØâì âÐÚ, çâÞÑë ÞÝØ ÞáâÐÒÐÛØáì
áßàÐÒÕÔÛØÒëÜØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ áÞ-
ÓÛÐáÝÞ ßàÕÞÑàÐ×ÞÒÐÝØïÜ »ÞàÕÝæÐ. ¿àØ ÜÐÛëå áÚÞàÞáâïå (v ¿ c) ãàÐÒÝÕÝØï àÕÛï-
âØÒØáâáÚÞÙ ÔØÝÐÜØÚØ ÔÞÛÖÝë ßÕàÕåÞÔØâì Ò áÞÞâÒÕâáâÒãîéØÕ ÚÛÐááØçÕáÚØÕ ãàÐÒ-
ÝÕÝØï, ØÑÞ Ò íâÞÙ ÞÑÛÐáâØ áßàÐÒÕÔÛØÒÞáâì ÝìîâÞÝÞÒáÚÞÙ ÜÕåÐÝØÚØ ßÞÔâÒÕàÖÔÐÕâ-
áï ÝÐ ÞßëâÕ.

² ÔÐÝÝÞÙ ÓÛÐÒÕ àÐááÜÐâàØÒÐîâáï áÛÕÔãîéØÕ ÒÞßàÞáë ÔØÝÐÜØÚØ âÕÞàØØ ÞâÝÞ-
áØâÕÛìÝÞáâØ:

• ²ëÒÞÔ àÕÛïâØÒØáâáÚÞÓÞ ÒëàÐÖÕÝØï ÔÛï ØÜßãÛìáÐ çÐáâØæë ÝÐ ÞáÝÞÒÕ ÐÝÐÛØ×Ð
ÜëáÛÕÝÝÞÓÞ ÞßëâÐ ßÞ ãßàãÓÞÜã áâÞÛÚÝÞÒÕÝØî çÐáâØæ.

• ²ëÒÞÔ àÕÛïâØÒØáâáÚÞÓÞ ÒëàÐÖÕÝØï ÔÛï íÝÕàÓØØ çÐáâØæë.

• ÁÒï×ì ÜÐááë Ø íÝÕàÓØØ Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.

• ÇÕâëàÕåÒÕÚâÞà íÝÕàÓØØ-ØÜßãÛìáÐ Ø ØÝÒÐàØÐÝâÝÐï äÞàÜÐ ×ÐÚÞÝÞÒ áÞåàÐÝÕ-
ÝØï.

• ÍÚáßÕàØÜÕÝâÐÛìÝëÕ ßÞÔâÒÕàÖÔÕÝØï ×ÐÚÞÝÞÒ àÕÛïâØÒØáâáÚÞÙ ÔØÝÐÜØÚØ.

• ¿àÕÞÑàÐ×ÞÒÐÝØÕ áØÛë ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ
Ú ÔàãÓÞÙ.

• ·ÐÔÐçØ Þ ÔÒØÖÕÝØØ ×ÐàïÖÕÝÝëå çÐáâØæ Ò ßÞáâÞïÝÝÞÜ ÞÔÝÞàÞÔÝÞÜ íÛÕÚâàØ-
çÕáÚÞÜ ßÞÛÕ; Ò ÞÔÝÞàÞÔÝÞÜ ÜÐÓÝØâÝÞÜ ßÞÛÕ.

2.1 ¸ÜßãÛìá çÐáâØæë Ò àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ
ÇâÞÑë ßÞÛãçØâì àÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ØÜßãÛìáÐ çÐáâØæë, ÑãÔÕÜ ØáåÞ-
ÔØâì Ø× ßàØÝæØßÐ áÞÞâÒÕâáâÒØï, áÞÓÛÐáÝÞ ÚÞâÞàÞÜã Ò ÚÛÐááØçÕáÚÞÙ ÞÑÛÐáâØ ÜÕÔ-
ÛÕÝÝëå ÔÒØÖÕÝØÙ (v ¿ c) àÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ ÔÞÛÖÝÞ áÒÞÔØâìáï Ú ÝìîâÞ-
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ÝÞÒáÚÞÜã. ½ÐßÞÜÝØÜ, çâÞ Ò ÜÕåÐÝØÚÕ ½ìîâÞÝÐ ÒÕÚâÞà ØÜßãÛìáÐ ~p ÚÐÚ ÔØÝÐÜØçÕ-
áÚÐï åÐàÐÚâÕàØáâØÚÐ ÔÒØÖãéÕÙáï çÐáâØæë ßàÞßÞàæØÞÝÐÛÕÝ áÞÞâÒÕâáâÒãîéÕÙ ÚØ-
ÝÕÜÐâØçÕáÚÞÙ åÐàÐÚâÕàØáâØÚÕ ÔÒØÖÕÝØï, â. Õ. ÒÕÚâÞàã áÚÞàÞáâØ ~v, Ð ßÞáâÞïÝÝëÙ ÔÛï
ÔÐÝÝÞÙ çÐáâØæë ÚÞíääØæØÕÝâ ßàÞßÞàæØÞÝÐÛìÝÞáâØ � íâÞ ÕÕ ØÝÕàâÝÐï ÜÐááÐ m. ²
ÚÛÐááØçÕáÚÞÙ äØ×ØÚÕ ÜÐááÐ m çÐáâØæë � ßÞáâÞïÝÝÐï ÒÕÛØçØÝÐ, ÝÕ ×ÐÒØáïéÐï Þâ
áÞáâÞïÝØï ÕÕ ÔÒØÖÕÝØï. ¸ÝëÜØ áÛÞÒÐÜØ, ØÜßãÛìá ÞßàÕÔÕÛïÕâáï ÚÐÚ ßàÞØ×ÒÕÔÕÝØÕ
ÜÐááë çÐáâØæë ÝÐ ÕÕ áÚÞàÞáâì: ~p = m~v.

2.1.1 ¿àØÝæØß áÞÞâÒÕâáâÒØï Ø àÕÛïâØÒØáâáÚØÙ ØÜßãÛìá
² àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ ØÜßãÛìá çÐáâØæë âÐÚÖÕ ÞßàÕÔÕÛïÕâáï ÕÕ áÚÞàÞáâìî, ÝÞ
×ÐÒØáØÜÞáâì ØÜßãÛìáÐ Þâ áÚÞàÞáâØ ÞÚÐ×ëÒÐÕâáï áÛÞÖÝÕÕ, çÕÜ Ò ÚÛÐááØçÕáÚÞÙ ÜÕ-
åÐÝØÚÕ Ø ãÖÕ ÝÕ áÒÞÔØâáï Ú ßàÞáâÞÙ ßàÞßÞàæØÞÝÐÛìÝÞáâØ. ÂÐÚ ÚÐÚ ØÜßãÛìá � ÒÕÚ-
âÞà, âÞ ÕÓÞ ÝÐßàÐÒÛÕÝØÕ ÔÞÛÖÝÞ áÞÒßÐÔÐâì á ÝÐßàÐÒÛÕÝØÕÜ áÚÞàÞáâØ çÐáâØæë. ÍâÞ
áÛÕÔãÕâ Ø× áÞÞÑàÐÖÕÝØÙ áØÜÜÕâàØØ: Ò áØÛã Ø×ÞâàÞßÝÞáâØ áÒÞÑÞÔÝÞÓÞ ßàÞáâàÐÝáâÒÐ
ÒáÕ ÝÐßàÐÒÛÕÝØï Ò ÝÕÜ íÚÒØÒÐÛÕÝâÝë. ¿ÞíâÞÜã ØÜßãÛìá áÒÞÑÞÔÝÞÙ çÐáâØæë ÔÞÛ-
ÖÕÝ Ñëâì ÝÐßàÐÒÛÕÝ ÒÔÞÛì ÕÔØÝáâÒÕÝÝÞÓÞ äØ×ØçÕáÚØ ÒëÔÕÛÕÝÝÞÓÞ ÝÐßàÐÒÛÕÝØï,
â. Õ. ÝÐßàÐÒÛÕÝØï ÕÕ áÚÞàÞáâØ. ¿àØ ÞÑàÐéÕÝØØ áÚÞàÞáâØ Ò ÝãÛì ØÜßãÛìá çÐáâØæë
âÐÚÖÕ ÞÑàÐéÐÕâáï Ò ÝãÛì.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, àÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ØÜßãÛìáÐ ÔÞÛÖÝÞ ØÜÕâì ÒØÔ

~p = mv~v, (2.1)
ÓÔÕ ÒÕÛØçØÝÐ mv ÜÞÖÕâ ×ÐÒØáÕâì âÞÛìÚÞ Þâ ÐÑáÞÛîâÝÞÙ ÒÕÛØçØÝë áÚÞàÞáâØ çÐáâØ-
æë v, Ð ßàØ v ¿ c Ò áØÛã ßàØÝæØßÐ áÞÞâÒÕâáâÒØï ÒÕÛØçØÝÐ mv ÔÞÛÖÝÐ áÞÒßÐÔÐâì
á ÜÐááÞÙ m çÐáâØæë, ØÜÕîéÕÙ âÞâ áÜëáÛ, ÚÞâÞàëÙ ßàØÔÐÕâáï ØÝÕàâÝÞÙ ÜÐááÕ Ò
ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ. ²ÕÛØçØÝã mv, áÒï×ëÒÐîéãî Ò áÞÞâÝÞèÕÝØØ (2.1) àÕÛï-
âØÒØáâáÚØÙ ØÜßãÛìá çÐáâØæë á ÕÕ áÚÞàÞáâìî, ÝÐ×ëÒÐîâ ØÝÞÓÔÐ àÕÛïâØÒØáâáÚÞÙ
ÜÐááÞÙ çÐáâØæë, Ð ÕÕ ×ÝÐçÕÝØÕ m0 ßàØ v → 0 � ÜÐááÞÙ ßÞÚÞï. ½ØÖÕ ÑãÔÕâ ßÞÚÐ-
×ÐÝÞ, çâÞ

~p =
m0~v√

1− v2/c2
, â. Õ. mv =

m0√
1− v2/c2

. (2.2)

ÀÕÛïâØÒØáâáÚØÕ ÒëàÐÖÕÝØï (2.2) ÔÛï ØÜßãÛìáÐ Ø ÜÐááë ßÞÚÞï ÛÕÓÚÞ ßÞÛãçØâì
ÝÐ ÞáÝÞÒÕ ÚØÝÕÜÐâØçÕáÚÞÓÞ àÕÛïâØÒØáâáÚÞÓÞ íääÕÚâÐ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ (1.6),
ÕáÛØ ßÞâàÕÑÞÒÐâì, çâÞÑë áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ, ßÞßÕàÕçÝÐï Ú ÞâÝÞáØâÕÛìÝÞÙ
áÚÞàÞáâØ ÔÒãå áØáâÕÜ ÞâáçÕâÐ, ØÜÕÛÐ Ò íâØå áØáâÕÜÐå ÞÔØÝÐÚÞÒëÕ ×ÝÐçÕÝØï. ¿Þ-
áÛÕÔÝÕÕ ãâÒÕàÖÔÕÝØÕ ÑãÔÕâ ÞÑÞáÝÞÒÐÝÞ Ò áÛÕÔãîéÕÜ àÐ×ÔÕÛÕ.

2.1.2 ¿ÞßÕàÕçÝÐï áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ
Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ

ºÐÚ ÒÕÔãâ áÕÑï ßàÞÕÚæØØ ØÜßãÛìáÐ çÐáâØæë ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ
áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ? ¾ÚÐ×ëÒÐÕâáï, çâÞ ßàÞÕÚæØï ØÜßãÛìáÐ, ßÞßÕàÕçÝÐï Ú Þâ-
ÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØáâÕÜ ÞâáçÕâÐ, ØÜÕÕâ Ò íâØå áØáâÕÜÐå ÞÔØÝÐÚÞÒëÕ ×ÝÐ-
çÕÝØï.
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ÍâÞ ãâÒÕàÖÔÕÝØÕ áâÐÝÞÒØâáï ÞçÕÒØÔÝëÜ, ÕáÛØ ÔÛï Ø×ÜÕàÕÝØï ØÜßãÛìáÐ ÔÒØÖã-
éÕÙáï çÐáâØæë ßàØÝïâì ßÞ ÞßàÕÔÕÛÕÝØî áÛÕÔãîéãî ßàÞæÕÔãàã. ²ëÑÕàÕÜ ÚÐÚãî-
ÛØÑÞ áàÕÔã, ßàØ ÔÒØÖÕÝØØ áÚÒÞ×ì ÚÞâÞàãî çÐáâØæÐ ØáßëâëÒÐÕâ áÞßàÞâØÒÛÕÝØÕ Ø Ò
ÚÞÝæÕ ÚÞÝæÞÒ ÞáâÐÝÐÒÛØÒÐÕâáï. »ÞÓØçÝÞ áçØâÐâì, çâÞ àÐááâÞïÝØÕ, ßàÞåÞÔØÜÞÕ çÐ-
áâØæÕÙ Ò âÐÚÞÙ áàÕÔÕ ÔÞ ßÞÛÝÞÙ ÞáâÐÝÞÒÚØ, ÞÔÝÞ×ÝÐçÝÞ ÞßàÕÔÕÛïÕâáï ÝÐçÐÛìÝëÜ
ØÜßãÛìáÞÜ çÐáâØæë. ¿ÞíâÞÜã ÑãÔÕÜ Ø×ÜÕàïâì ÒÕÛØçØÝã ØÜßãÛìáÐ áÒÞÑÞÔÝÞÙ çÐ-
áâØæë ÔÛØÝÞÙ ÚÐÝÐÛÐ, ßàÞÑØÒÐÕÜÞÓÞ çÐáâØæÕÙ Ò ÝÕÚÞâÞàÞÙ íâÐÛÞÝÝÞÙ áàÕÔÕ. ²ëÑÞ-
àÞÜ âÐÚÞÙ ßàÞæÕÔãàë Üë áÒÞÔØÜ Ø×ÜÕàÕÝØÕ ØÜßãÛìáÐ Ú Ø×ÜÕàÕÝØî ßàÞáâàÐÝáâÒÕÝ-
ÝÞÓÞ àÐááâÞïÝØï. ½Þ Ø× àÕÛïâØÒØáâáÚÞÙ ÚØÝÕÜÐâØÚØ Üë ×ÝÐÕÜ, çâÞ ÔÛØÝÐ ÞâàÕ×ÚÐ
Ò ÝÐßàÐÒÛÕÝØØ, ßÕàßÕÝÔØÚãÛïàÝÞÜ Ú ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØáâÕÜ ÞâáçÕ-
âÐ, ÞÔØÝÐÚÞÒÐ Ò íâØå áØáâÕÜÐå. ÂÕÜ áÐÜëÜ Ø áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ áÒÞÑÞÔÝÞÙ
çÐáâØæë, ßÞßÕàÕçÝÐï Ú ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØáâÕÜ ÞâáçÕâÐ, ØÜÕÕâ Ò íâØå
áØáâÕÜÐå ÞÔØÝÐÚÞÒëÕ ×ÝÐçÕÝØï.

¿àØÒÕÔÕÝÝÐï ÒëèÕ ßàÞæÕÔãàÐ Ø×ÜÕàÕÝØï ØÜßãÛìáÐ ÒßÞÛÝÕ ÒÞ×ÜÞÖÝÐ, ÝÞ ÜÞ-
ÖÕâ ßÞÚÐ×Ðâìáï ÝÕáÚÞÛìÚÞ ØáÚãááâÒÕÝÝÞÙ Ø ÝÐÔãÜÐÝÝÞÙ. º âÞÜã ÖÕ âÐÚÞÙ ÜÕâÞÔ
Ø×ÜÕàÕÝØï ÝÕ ßÞ×ÒÞÛïÕâ áàÐÒÝØÒÐâì ØÜßãÛìáë àÐ×Ýëå çÐáâØæ, âÐÚ ÚÐÚ ÞÔÝÐ Ø âÐ
ÖÕ áàÕÔÐ ÜÞÖÕâ ÞÚÐ×ëÒÐâì àÐ×ÝÞÕ áÞßàÞâØÒÛÕÝØÕ Øå ÔÒØÖÕÝØî. ¿ÞíâÞÜã ßàØÒÕ-
ÔÕÜ ÔàãÓÞÕ ÞÑÞáÝÞÒÐÝØÕ ãâÒÕàÖÔÕÝØî Þ ÝÕØ×ÜÕÝÝÞáâØ ßÞßÕàÕçÝëå áÞáâÐÒÛïîéØå
ØÜßãÛìáÐ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ.

ÀÐááÜÞâàØÜ ÐÑáÞÛîâÝÞ ãßàãÓÞÕ �áÚÞÛì×ïéÕÕ� áâÞÛÚÝÞÒÕÝØÕ ÔÒãå ÞÔØÝÐÚÞÒëå
çÐáâØæ (àØá 2.1). ² áØáâÕÜÕ æÕÝâàÐ ÜÐáá íâÞ áâÞÛÚÝÞÒÕÝØÕ ØÜÕÕâ ÒØÔ, ßÞÚÐ×ÐÝÝëÙ
ÝÐ àØá. 2.1, Ð: ÔÞ áâÞÛÚÝÞÒÕÝØï çÐáâØæë ÔÒØÖãâáï ÝÐÒáâàÕçã ÔàãÓ ÔàãÓã á ÞÔØÝÐÚÞ-
ÒëÜØ ßÞ ÜÞÔãÛî áÚÞàÞáâïÜØ, ßÞáÛÕ áâÞÛÚÝÞÒÕÝØï çÐáâØæë àÐ×ÛÕâÐîâáï Ò ßàÞâØ-
ÒÞßÞÛÞÖÝëÕ áâÞàÞÝë á âÐÚØÜØ ÖÕ ßÞ ÜÞÔãÛî áÚÞàÞáâïÜØ. ´àãÓØÜØ áÛÞÒÐÜØ, ßàØ
ãßàãÓÞÜ áâÞÛÚÝÞÒÕÝØØ ßàÞØáåÞÔØâ âÞÛìÚÞ ßÞÒÞàÞâ ÒÕÚâÞàÞÒ áÚÞàÞáâÕÙ ÚÐÖÔÞÙ Ø×
çÐáâØæ ÝÐ ÞÔØÝ Ø âÞâ ÖÕ ãÓÞÛ θ. ¿àØ áÚÞÛì×ïéÕÜ áâÞÛÚÝÞÒÕÝØØ íâÞâ ãÓÞÛ ÜÐÛ.

x x x'

y y y'
K K'

1
1

2
2

1

2
а б в

θ

ÀØá. 2.1: °ÑáÞÛîâÝÞ ãßàãÓÞÕ �áÚÞÛì×ïéÕÕ� áâÞÛÚÝÞÒÕÝØÕ ÔÒãå ÞÔØÝÐÚÞÒëå çÐáâØæ
Ò àÐ×Ýëå áØáâÕÜÐå ÞâáçÕâÐ

ºÐÚ ÒëÓÛïÔØâ íâÞ ÖÕ áâÞÛÚÝÞÒÕÝØÕ Ò ÔàãÓØå áØáâÕÜÐå ÞâáçÕâÐ? ½ÐßàÐÒØÜ Þáì
Ox ÒÔÞÛì ÑØááÕÚâàØáë ãÓÛÐ θ Ø ÒÒÕÔÕÜ áØáâÕÜã ÞâáçÕâÐ K, ÔÒØÖãéãîáï ÒÔÞÛì
ÞáØ Ox ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë æÕÝâàÐ ÜÐáá áÞ áÚÞàÞáâìî, àÐÒÝÞÙ x-áÞáâÐÒÛïî-
éÕÙ áÚÞàÞáâØ çÐáâØæë 1. ² íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÚÐàâØÝÐ áâÞÛÚÝÞÒÕÝØï ÒëÓÛïÔØâ
âÐÚ, ÚÐÚ ßÞÚÐ×ÐÝÞ ÝÐ àØá. 2.1, Ñ: çÐáâØæÐ 1 ÔÒØÖÕâáï ßÐàÐÛÛÕÛìÝÞ ÞáØ Oy, Ø×ÜÕÝØÒ
ßàØ áâÞÛÚÝÞÒÕÝØØ ÝÐßàÐÒÛÕÝØÕ áÚÞàÞáâØ (Ø ØÜßãÛìáÐ) ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÕ. ²ÒÕ-
ÔÕÜ âÐÚÖÕ áØáâÕÜã ÞâáçÕâÐ K ′, ÔÒØÖãéãîáï ÒÔÞÛì ÞáØ Ox ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë
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æÕÝâàÐ ÜÐáá áÞ áÚÞàÞáâìî, àÐÒÝÞÙ x-áÞáâÐÒÛïîéÕÙ áÚÞàÞáâØ çÐáâØæë 2. ² íâÞÙ
áØáâÕÜÕ ÞâáçÕâÐ ÚÐàâØÝÐ áâÞÛÚÝÞÒÕÝØï ÒëÓÛïÔØâ âÐÚ, ÚÐÚ ßÞÚÐ×ÐÝÞ ÝÐ àØá. 2.1, Ò:
×ÔÕáì çÐáâØæÐ 2 ÔÒØÖÕâáï ßÐàÐÛÛÕÛìÝÞ ÞáØ Oy, Ø×ÜÕÝïï ßàØ áâÞÛÚÝÞÒÕÝØØ ÝÐßàÐÒ-
ÛÕÝØÕ áÚÞàÞáâØ ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÕ.

² áØáâÕÜÕ ÞâáçÕâÐ æÕÝâàÐ ÜÐáá ßÞÛÝëÙ ØÜßãÛìá (ÒÕÚâÞàÝÐï áãÜÜÐ ØÜßãÛìáÞÒ
çÐáâØæ) àÐÒÕÝ ÝãÛî ÚÐÚ ÔÞ, âÐÚ Ø ßÞáÛÕ áâÞÛÚÝÞÒÕÝØï. ¿àØ ßÕàÕåÞÔÕ Ú áØáâÕÜÐÜ Þâ-
áçÕâÐ K Ø K ′ áÞáâÐÒÛïîéÐï ßÞÛÝÞÓÞ ØÜßãÛìáÐ Ò ÝÐßàÐÒÛÕÝØØ ÞáØ Ox Ø×ÜÕÝïÕâáï,
ÝÞ áÞáâÐÒÛïîéÐï ßÞÛÝÞÓÞ ØÜßãÛìáÐ ÒÔÞÛì ÞáØ Oy Ò ÚÐÖÔÞÙ Ø× íâØå áØáâÕÜ ÞâáçÕâÐ
ßÞ-ßàÕÖÝÕÜã àÐÒÝÐ ÝãÛî. ÍâÞ ×ÝÐçØâ, çâÞ y-áÞáâÐÒÛïîéØÕ ØÜßãÛìáÞÒ ÚÐÖÔÞÙ Ø×
çÐáâØæ Ò áØáâÕÜÕ ÞâáçÕâÐ K àÐÒÝë ÔàãÓ ÔàãÓã ßÞ ÐÑáÞÛîâÝÞÙ ÒÕÛØçØÝÕ ÚÐÚ ÔÞ, âÐÚ
Ø ßÞáÛÕ áâÞÛÚÝÞÒÕÝØï: |p1y| = |p2y|. °ÝÐÛÞÓØçÝÞÕ áÞÞâÝÞèÕÝØÕ áßàÐÒÕÔÛØÒÞ Ø ÔÛï
y-áÞáâÐÒÛïîéØå ØÜßãÛìáÞÒ çÐáâØæ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, Ð ØÜÕÝÝÞ |p′1y| = |p′2y|. ½Þ
Ø× áØÜÜÕâàØØ ÚÐàâØÝ áâÞÛÚÝÞÒÕÝØï ÝÐ àØá. 2.1, Ñ Ø àØá. 2.1, Ò ÛÕÓÚÞ áÔÕÛÐâì ÒëÒÞÔ
Þ âÞÜ, çâÞ ÒÕÛØçØÝÐ ØÜßãÛìáÐ çÐáâØæë 1 Ò áØáâÕÜÕ ÞâáçÕâÐ K àÐÒÝÐ ÒÕÛØçØÝÕ ØÜ-
ßãÛìáÐ çÐáâØæë 2 Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ |p1y| = |p′2y|. ÂÕßÕàì, ßàØÝØÜÐï ÒÞ ÒÝØÜÐÝØÕ
àÐÒÕÝáâÒÞ ÐÑáÞÛîâÝëå ÒÕÛØçØÝ y-áÞáâÐÒÛïîéØå ØÜßãÛìáÞÒ |p1y| = |p2y| ÔÒãå çÐ-
áâØæ Ò ÚÐÖÔÞÙ Ø× àÐááÜÐâàØÒÐÕÜëå áØáâÕÜ ÞâáçÕâÐ, ßàØåÞÔØÜ Ú ×ÐÚÛîçÕÝØî, çâÞ
y-áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ çÐáâØæë 1 Ò áØáâÕÜÕ ÞâáçÕâÐ K àÐÒÝÐ y-áÞáâÐÒÛïîéÕÙ
ØÜßãÛìáÐ íâÞÙ ÖÕ çÐáâØæë Ò áØáâÕÜÕ ÞâáçÕâÐ K ′: |p1y| = |p′1y|. ÂÞ ÖÕ áÐÜÞÕ áßàÐ-
ÒÕÔÛØÒÞ Ø ÔÛï ÒâÞàÞÙ çÐáâØæë. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÕéÕ àÐ× ãÑÕÖÔÐÕÜáï, çâÞ áÞáâÐÒ-
ÛïîéÐï ØÜßãÛìáÐ çÐáâØæë, ßÞßÕàÕçÝÐï Ú ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒãå áØáâÕÜ, ÝÕ
Ø×ÜÕÝïÕâáï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ.

2.1.3 ²ëÒÞÔ ÒëàÐÖÕÝØï ÔÛï àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ
² ÞâÛØçØÕ Þâ ØÜßãÛìáÐ, ßÞßÕàÕçÝÐï áÞáâÐÒÛïîéÐï áÚÞàÞáâØ çÐáâØæë ØÜÕÕâ àÐ×-
ÝëÕ ×ÝÐçÕÝØï Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ K Ø K ′. ÍâÞ áàÐ×ã áÛÕÔãÕâ Ø× àÕÛïâØÒØáâ-
áÚØå äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (1.23). ¿ÞíâÞÜã Þâ ÚÛÐááØçÕáÚÞÓÞ ÒëàÐÖÕ-
ÝØï ÔÛï ØÜßãÛìáÐ ~p = m~v Ò ÒØÔÕ ßàÞØ×ÒÕÔÕÝØï (ßÞáâÞïÝÝÞÙ) ÜÐááë m çÐáâØæë ÝÐ
ÕÕ áÚÞàÞáâì ÝÕÞÑåÞÔØÜÞ ÞâÚÐ×Ðâìáï.

K' K

u

u

u
y' y

x' xO' O

l l

v = u

u'

x

y
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а б
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x x
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ÀØá. 2.2: º ÒëÒÞÔã ÒëàÐÖÕÝØï ÔÛï àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ

ÇâÞÑë ßÞÛãçØâì àÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ØÜßãÛìáÐ, àÐááÜÞâàØÜ çÐáâØ-
æã, ÚÞâÞàÐï ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K ′ Ò ÝÐßàÐÒÛÕÝØØ ÞáØ Oy′ á
ÜÐÛÞÙ (ÝÕàÕÛïâØÒØáâáÚÞÙ) áÚÞàÞáâìî u′ ¿ c (àØá. 2.2, Ð). ´Ûï âÐÚÞÙ çÐáâØæë x-
áÞáâÐÒÛïîéÐï áÚÞàÞáâØ Ò áØáâÕÜÕ K ′ àÐÒÝÐ ÝãÛî: u′x = 0, Ð y-áÞáâÐÒÛïîéÐï ÜÝÞ-
ÓÞ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ u′y = u′ ¿ c. ¿àÞÕÚæØØ áÚÞàÞáâØ íâÞÙ çÐáâØæë Ò áØáâÕÜÕ
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ÞâáçÕâÐ K ÝÐÙÔÕÜ á ßÞÜÞéìî àÕÛïâØÒØáâáÚØå äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ
(1.23):

ux = v, uy = u′y
√

1− v2/c2, (2.3)
ÓÔÕ ãçâÕÝÞ, çâÞ u′x = 0. ² (2.3) v � áÚÞàÞáâì áØáâÕÜë ÞâáçÕâÐ K ′ ÞâÝÞáØâÕÛìÝÞ K,
ÚÞâÞàãî ÜÞÖÝÞ ßàØÝïâì áÚÞÛì ãÓÞÔÝÞ ÑÛØ×ÚÞÙ Ú áÚÞàÞáâØ áÒÕâÐ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò
áØáâÕÜÕ ÞâáçÕâÐ K y-áÞáâÐÒÛïîéÐï áÚÞàÞáâØ çÐáâØæë ÜÕÝìèÕ, çÕÜ Ò áØáâÕÜÕ Þâ-
áçÕâÐ K ′. ¿ÞÔçÕàÚÝÕÜ, çâÞ íâÞ ãÜÕÝìèÕÝØÕ y-áÞáâÐÒÛïîéÕÙ áÚÞàÞáâØ ßàØ ßÕàÕåÞ-
ÔÕ Þâ K ′ Ú K ÝÕßÞáàÕÔáâÒÕÝÝÞ áÒï×ÐÝÞ á àÕÛïâØÒØáâáÚØÜ ÚØÝÕÜÐâØçÕáÚØÜ íääÕÚ-
âÞÜ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ (1.6): ÞÔØÝÐÚÞÒÞÕ Ò K ′ Ø Ò K àÐááâÞïÝØÕ l ÜÕÖÔã èâàØ-
åÞÒëÜØ ÛØÝØïÜØ A Ø B ÝÐ àØá. 2.2, Ð, Ñ çÐáâØæÐ ßàÞåÞÔØâ á âÞçÚØ ×àÕÝØï áØáâÕÜë
K ×Ð ÑÞÛìèÕÕ ÒàÕÜï, çÕÜ á âÞçÚØ ×àÕÝØï áØáâÕÜë K ′. ² áÐÜÞÜ ÔÕÛÕ, Ò áØáâÕÜÕ K ′

íâÞ áÞÑáâÒÕÝÝÞÕ ÒàÕÜï τ0, âÐÚ ÚÐÚ ÞÑÐ áÞÑëâØï � ßÕàÕáÕçÕÝØï èâàØåÞÒëå ÛØÝØÙ A
Ø B � ßàÞØáåÞÔïâ Ò K ′ ßàØ ÞÔÝÞÜ Ø âÞÜ ÖÕ ×ÝÐçÕÝØØ ÚÞÞàÔØÝÐâë x′ (àØá. 2.2, Ð),
ÝÞ Ò áØáâÕÜÕ K ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ τ ÜÕÖÔã íâØÜØ ÖÕ áÞÑëâØïÜØ (ßàÞØáåÞÔï-
éØÜØ Ò âÞçÚÐå á ÚÞÞàÔØÝÐâÐÜØ x1 Ø x2, àØá. 2.2, Ñ) ÑÞÛìèÕ Ò áÞÞâÒÕâáâÒØØ á (1.6):
τ = τ0/

√
1− v2/c2. ¸×-×Ð âÐÚÞÓÞ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ ßÞßÕàÕçÝÐï áÚÞàÞáâì çÐáâØ-

æë uy = l/τ Ò áØáâÕÜÕ ÞâáçÕâÐ K ÞÚÐ×ëÒÐÕâáï ÜÕÝìèÕ, çÕÜ áÚÞàÞáâì u′y = l/τ0 Ò K ′.
ÀÐ×ãÜÕÕâáï, äÞàÜãÛë ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (2.3) ÔÐîâ âÐÚÞÙ ÖÕ àÕ×ãÛìâÐâ.

ÀÐááÜÐâàØÒÐÕÜÐï ÝÐÜØ çÐáâØæÐ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë K ′ á ÝÕàÕÛï-
âØÒØáâáÚÞÙ áÚÞàÞáâìî u′y = u′ ¿ c. ¿ÞíâÞÜã Ò áØÛã ßàØÝæØßÐ áÞÞâÒÕâáâÒØï Ú ÝÕÙ
ßàØÜÕÝØÜÞ ÚÛÐááØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ØÜßãÛìáÐ:

p′y = m0u
′
y. (2.4)

±ãÔÕÜ áçØâÐâì, çâÞ áÚÞàÞáâì v áØáâÕÜë ÞâáçÕâÐ K ′ ÞâÝÞáØâÕÛìÝÞ K ÜÝÞÓÞ ÑÞÛì-
èÕ ßÞßÕàÕçÝÞÙ áÚÞàÞáâØ ÝÐèÕÙ çÐáâØæë, âÐÚ çâÞ ÒëßÞÛÝïÕâáï áÞÞâÝÞèÕÝØÕ v À
u′y. ÂÐÚ ÚÐÚ Ò áØÛã (2.3) uy < u′y, Ò áØáâÕÜÕ K ßàÞÔÞÛìÝÐï áÚÞàÞáâì çÐáâØæë ÜÝÞÓÞ
ÑÞÛìèÕ ßÞßÕàÕçÝÞÙ: ux = v À uy. ÂÞÓÔÐ ÜÞÔãÛì áÚÞàÞáâØ çÐáâØæë ÞâÝÞáØâÕÛìÝÞ
áØáâÕÜë ÞâáçÕâÐ K u =

√
u2

x + u2
y ßàÐÚâØçÕáÚØ ßÞÛÝÞáâìî ÞßàÕÔÕÛïÕâáï áÚÞàÞ-

áâìî v áÐÜÞÙ áØáâÕÜë ÞâáçÕâÐ K ′ ÞâÝÞáØâÕÛìÝÞ K: u =
√

v2 + u2
y ≈ v. ÍâÞ ×ÝÐçØâ,

çâÞ ÔÛï ßÞßÕàÕçÝÞÙ áÞáâÐÒÛïîéÕÙ ØÜßãÛìáÐ Ò áØáâÕÜÕ K, Ò áÞÞâÒÕâáâÒØØ á (2.1),
ÜÞÖÝÞ ÝÐßØáÐâì:

py = mvuy. (2.5)
½Þ, ÚÐÚ ÑëÛÞ ßÞÚÐ×ÐÝÞ ÒëèÕ, y-áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ çÐáâØæë ÞÔØÝÐÚÞÒÐ Ò

áØáâÕÜÐå ÞâáçÕâÐ K ′ Ø K: p′y = py. ¿àØàÐÒÝØÒÐï ßàÐÒëÕ çÐáâØ áÞÞâÝÞèÕÝØÙ (2.4) Ø
(2.5), Ø ÒëàÐÖÐï uy çÕàÕ× u′y á ßÞÜÞéìî (2.3), ßÞÛãçÐÕÜ ØáÚÞÜÞÕ ÒëàÐÖÕÝØÕ (2.2)
ÔÛï àÕÛïâØÒØáâáÚÞÙ ÜÐááë çÕàÕ× ÜÐááã ßÞÚÞï çÐáâØæë Ø ÕÕ áÚÞàÞáâì:

mv =
m0√

1− v2/c2
. (2.6)

ÃÜÕÝìèÕÝØÕ ßÞßÕàÕçÝÞÙ áÚÞàÞáâØ çÐáâØæë ßàØ ßÕàÕåÞÔÕ Þâ K ′ Ú K, ÒëàÐÖÐÕ-
ÜÞÕ äÞàÜãÛÞÙ (2.3), ÚÞÜßÕÝáØàãÕâáï ÒÞ×àÐáâÐÝØÕÜ àÕÛïâØÒØáâáÚÞÙ ÜÐááë, âÐÚ çâÞ-
Ñë ßÞßÕàÕçÝëÙ (Ú ÝÐßàÐÒÛÕÝØî ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ áØáâÕÜ ÞâáçÕâÐ K ′ Ø K)
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ØÜßãÛìá çÐáâØæë ÞáâÐÒÐÛáï ÝÕØ×ÜÕÝÝëÜ. ¿ÞÔçÕàÚÝÕÜ, çâÞ íâÞ ÒÞ×àÐáâÐÝØÕ ÜÐá-
áë áÒï×ÐÝÞ á ÚØÝÕÜÐâØçÕáÚØÜ àÕÛïâØÒØáâáÚØÜ íääÕÚâÞÜ ×ÐÜÕÔÛÕÝØï ÒàÕÜÕÝØ, â. Õ.
ÜÞÖÕâ àÐááÜÐâàØÒÐâìáï ÚÐÚ ßàïÜÞÕ áÛÕÔáâÒØÕ ßÞáâãÛÐâÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÔÛï ×ÐÒØáØÜÞáâØ àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ ~p = mv~v Þâ áÚÞàÞ-
áâØ çÐáâØæë ßÞÛãçÐÕÜ ÞÚÞÝçÐâÕÛìÝÞ ÒëàÐÖÕÝØÕ (2.2), ÚÞâÞàÞÕ ÒëèÕ ÑëÛÞ ßàØÒÕ-
ÔÕÝÞ ÑÕ× ÒëÒÞÔÐ:

~p =
m0~v√

1− v2/c2
. (2.7)

ÁÚÞàÞáâì çÐáâØæë Ò ÛîÑÞÙ áØáâÕÜÕ ÞâáçÕâÐ ØÜÕÕâ ÚÞÝÕçÝãî ÒÕÛØçØÝã � ÞÝÐ
ÒáÕÓÔÐ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ c, ÝÞ íâÞ ÝÕ ÝÐÛÐÓÐÕâ, ÚÐÚ ÒØÔÝÞ Ø× äÞàÜãÛë (2.7),
ÝØÚÐÚØå ÞÓàÐÝØçÕÝØÙ ÝÐ ÒÕÛØçØÝã ØÜßãÛìáÐ çÐáâØæë: ßàØ v → c ØÜßãÛìá ÒÞ×àÐá-
âÐÕâ ÝÕÞÓàÐÝØçÕÝÝÞ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 399�404, [2], áâà. 531�533 [3], áâà.
142�150, [4], áâà. 31�35.

2.2 ÀÕÛïâØÒØáâáÚÐï íÝÕàÓØï
2.2.1 ºØÝÕâØçÕáÚÐï íÝÕàÓØï çÐáâØæë
¿àÕÖÔÕ ÒáÕÓÞ ßÞÛãçØÜ ÒëàÐÖÕÝØÕ ÔÛï íÝÕàÓØØ çÐáâØæë, áÞÓÛÐáãîéÕÕáï á àÕÛï-
âØÒØáâáÚÞÙ äÞàÜãÛÞÙ (2.7) ÔÛï ØÜßãÛìáÐ çÐáâØæë. ±ãÔÕÜ ØáåÞÔØâì Ø× âÞÓÞ, çâÞ Ò
ÜÕåÐÝØÚÕ áÚÞàÞáâì Ø×ÜÕÝÕÝØï ØÜßãÛìáÐ çÐáâØæë d~p/dt ÞßàÕÔÕÛïÕâáï ßÞÛÝÞÙ áØÛÞÙ
~F , ÔÕÙáâÒãîéÕÙ ÝÐ çÐáâØæã:

d~p

dt
= ~F , (2.8)

Ð áÚÞàÞáâì Ø×ÜÕÝÕÝØï ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ Ekin àÐÒÝÐ àÐÑÞâÕ, áÞÒÕàèÐÕÜÞÙ ßÞÛ-
ÝÞÙ áØÛÞÙ ×Ð ÕÔØÝØæã ÒàÕÜÕÝØ:

dEkin

dt
= ~F~v. (2.9)

¿ÞÔáâÐÒÛïï Ò áÞÞâÝÞèÕÝØÕ (2.9) áØÛã ~F Ø× (2.8), ÜÞÖÕÜ ÝÐßØáÐâì:

dEkin

dt
= ~v

d~p

dt
= ~v

d

dt
(mv~v). (2.10)

¸× íâÞÓÞ áÞÞâÝÞèÕÝØï Ø ÑãÔÕÜ ØáåÞÔØâì ßàØ ßÞÛãçÕÝØØ àÕÛïâØÒØáâáÚÞÓÞ ÒëàÐÖÕ-
ÝØï ÔÛï ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ. ¿ÕàÕßØèÕÜ äÞàÜãÛã (2.6) ÔÛï àÕÛïâØÒØáâáÚÞÙ ÜÐá-
áë áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

m2
v(1− v2/c2) = m2

0. (2.11)
ÃÜÝÞÖØÜ ÞÑÕ çÐáâØ (2.11) ÝÐ c2 Ø àÐáÚàÞÕÜ áÚÞÑÚØ:

m2
vc

2 − (mv~v
2)2 = m2

0c
2. (2.12)
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ÂÕßÕàì ßàÞÔØääÕàÕÝæØàãÕÜ ÞÑÕ çÐáâØ (2.12) ßÞ ÒàÕÜÕÝØ. ÃçØâëÒÐï, çâÞ ßàÞØ×ÒÞÔ-
ÝÐï ßàÐÒÞÙ çÐáâØ (2.12) àÐÒÝÐ ÝãÛî, ØÜÕÕÜ:

2mv
d

dt
(mvc

2)− 2mv~v
d

dt
(mv~v) = 0, (2.13)

ÞâÚãÔÐ

d

dt
(mvc

2) = ~v
d

dt
(mv~v). (2.14)

ÁàÐÒÝØÜ áÞÞâÝÞèÕÝØï (2.14) Ø (2.10). ¿àÐÒëÕ çÐáâØ ã ÝØå áÞÒßÐÔÐîâ. ¿ÞíâÞÜã
ÛÕÒÐï çÐáâì (2.14), ÚÐÚ Ø Ò (2.10), ÔÞÛÖÝÐ Ñëâì àÐÒÝÐ áÚÞàÞáâØ Ø×ÜÕÝÕÝØï ÚØÝÕâØ-
çÕáÚÞÙ íÝÕàÓØØ çÐáâØæë:

dEkin

dt
=

d

dt
(mvc

2) =
d

dt

m0c
2

√
1− v2/c2

. (2.15)

ÂÐÚ ÚÐÚ ÚØÝÕâØçÕáÚÐï íÝÕàÓØï ßÞÚÞïéÕÙáï çÐáâØæë àÐÒÝÐ ÝãÛî, Ø× (2.15) ÝÐåÞÔØÜ:

Ekin = m0c
2

(
1√

1− v2/c2
− 1

)
. (2.16)

ÄÞàÜãÛÐ (2.16) ÔÐÕâ àÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ ÔÛï ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ çÐáâØ-
æë. µáÛØ áÚÞàÞáâì çÐáâØæë ÜÐÛÐ ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî áÒÕâÐ, ßàÐÒãî çÐáâì
ÒëàÐÖÕÝØï (2.16) ÜÞÖÝÞ àÐ×ÛÞÖØâì Ò àïÔ ßÞ áâÕßÕÝïÜ v/c, áÞåàÐÝØÒ ÝÕáÚÞÛìÚÞ
ßÕàÒëå çÛÕÝÞÒ:

Ekin =
1

2
m0v

2 +
3

8
m0

v4

c2
+ . . . (2.17)

·ÔÕáì ßÕàÒëÙ çÛÕÝ áÞÒßÐÔÐÕâ á ÞÑëçÝëÜ ÒëàÐÖÕÝØÕÜ ÔÛï ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ
çÐáâØæë Ò ÝÕàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ.

0 vc

m v

E
kin

1

2

2

0

ÀØá. 2.3: ·ÐÒØáØÜÞáâì ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ Þâ áÚÞàÞáâØ çÐáâØæë

ÀÐ×ÛØçØÕ ÜÕÖÔã ÚÛÐááØçÕáÚØÜ Ø àÕÛïâØÒØáâáÚØÜ ÒëàÐÖÕÝØïÜØ ÔÛï ÚØÝÕâØçÕ-
áÚÞÙ íÝÕàÓØØ áâÐÝÞÒØâáï ÞáÞÑÕÝÝÞ áãéÕáâÒÕÝÝëÜ, ÚÞÓÔÐ áÚÞàÞáâì çÐáâØæë ßàØ-
ÑÛØÖÐÕâáï Ú áÚÞàÞáâØ áÒÕâÐ. ¿àØ v → c àÕÛïâØÒØáâáÚÐï ÚØÝÕâØçÕáÚÐï íÝÕàÓØï
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(2.16) ÝÕÞÓàÐÝØçÕÝÝÞ ÒÞ×àÐáâÐÕâ: çÐáâØæÐ, ÞÑÛÐÔÐîéÐï ÚÞÝÕçÝÞÙ ÜÐááÞÙ ßÞÚÞï m0,
ßàØ ÔÒØÖÕÝØØ áÞ áÚÞàÞáâìî áÒÕâÐ ØÜÕÛÐ Ñë ÑÕáÚÞÝÕçÝÞ ÑÞÛìèãî ÚØÝÕâØçÕáÚãî
íÝÕàÓØî. ·ÐÒØáØÜÞáâì ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ Þâ áÚÞàÞáâØ çÐáâØæë Ekin(v) ßÞÚÐ×Ð-
ÝÐ ÝÐ àØá. 2.3. ½Ð íâÞÜ àØáãÝÚÕ ßÞÚÐ×ÐÝÐ âÐÚÖÕ ×ÐÒØáØÜÞáâì ÚÛÐááØçÕáÚÞÙ ÚØÝÕâØ-
çÕáÚÞÙ íÝÕàÓØØ 1

2
m0v

2 Þâ áÚÞàÞáâØ çÐáâØæë. ¿àØ v ¿ c ÞÑÕ ÚàØÒëÕ áÞÒßÐÔÐîâ, ÝÞ
ßàØ v → c àÕÛïâØÒØáâáÚÐï ÚàØÒÐï ßÞÚÐ×ëÒÐÕâ ÝÕÞÓàÐÝØçÕÝÝëÙ àÞáâ Ekin(v), ßàØ-
ÑÛØÖÐïáì Ú ÒÕàâØÚÐÛìÝÞÙ ÐáØÜßâÞâÕ v = c.

2.2.2 ¼ÐááÐ ßÞÚÞï Ø íÝÕàÓØï ßÞÚÞï
²ÕàÝÕÜáï Ú äÞàÜãÛÕ (2.15), áÞÓÛÐáÝÞ ÚÞâÞàÞÙ ßàØàÐéÕÝØÕ ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ
âÕÛÐ Ekin(v) áÞßàÞÒÞÖÔÐÕâáï ßàÞßÞàæØÞÝÐÛìÝëÜ ßàØàÐéÕÝØÕÜ ÕÓÞ àÕÛïâØÒØáâáÚÞÙ
ÜÐááë mv. ²áßÞÜÝØÜ, çâÞ ÒÐÖÝÕÙèÕÕ áÒÞÙáâÒÞ íÝÕàÓØØ áÞáâÞØâ Ò áßÞáÞÑÝÞáâØ ßàÕ-
ÒàÐéÐâìáï Ø× ÞÔÝÞÙ äÞàÜë Ò ÔàãÓãî Ò íÚÒØÒÐÛÕÝâÝëå ÚÞÛØçÕáâÒÐå ßàØ àÐ×ÛØçÝëå
äØ×ØçÕáÚØå ßàÞæÕááÐå � ØÜÕÝÝÞ Ò íâÞÜ ×ÐÚÛîçÐÕâáï áÞÔÕàÖÐÝØÕ ×ÐÚÞÝÐ áÞåàÐÝÕ-
ÝØï Ø ßàÕÒàÐéÕÝØï íÝÕàÓØØ, ÞÔÝÞÓÞ Ø× ÝÐØÑÞÛÕÕ ÞÑéØå ×ÐÚÞÝÞÒ ßàØàÞÔë. ¿ÞíâÞ-
Üã ÕáâÕáâÒÕÝÝÞ ÞÖØÔÐâì, çâÞ ÒÞ×àÐáâÐÝØÕ àÕÛïâØÒØáâáÚÞÙ ÜÐááë ÔÞÛÖÝÞ ßàÞØáåÞ-
ÔØâì ÝÕ âÞÛìÚÞ ßàØ áÞÞÑéÕÝØØ âÕÛã ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ, ÝÞ ßàØ ÛîÑÞÜ ãÒÕÛØçÕ-
ÝØØ íÝÕàÓØØ âÕÛÐ, ÝÕ×ÐÒØáØÜÞ Þâ ÚÞÝÚàÕâÝÞÓÞ ÒØÔÐ íÝÕàÓØØ. ¾âáîÔÐ ÜÞÖÝÞ áÔÕÛÐâì
äãÝÔÐÜÕÝâÐÛìÝÞÕ ×ÐÚÛîçÕÝØÕ Þ âÞÜ, çâÞ ßÞÛÝÐï íÝÕàÓØï âÕÛÐ ßàÞßÞàæØÞÝÐÛìÝÐ ÕÓÞ
àÕÛïâØÒØáâáÚÞÙ ÜÐááÕ ÝÕ×ÐÒØáØÜÞ Þâ âÞÓÞ, Ø× ÚÐÚØå ÚÞÝÚàÕâÝëå ÒØÔÞÒ ÞÝÐ áÞáâÞØâ.

¿ÞïáÝØÜ áÚÐ×ÐÝÝÞÕ ÝÐ áÛÕÔãîéÕÜ ßàÞáâÞÜ ßàØÜÕàÕ. ÀÐááÜÞâàØÜ ÐÑáÞÛîâÝÞ
ÝÕãßàãÓÞÕ áâÞÛÚÝÞÒÕÝØÕ ÔÒãå ÞÔØÝÐÚÞÒëå âÕÛ, ÔÒØÖãéØåáï ÝÐÒáâàÕçã ÔàãÓ ÔàãÓã á
ÞÔØÝÐÚÞÒëÜØ áÚÞàÞáâïÜØ. ² àÕ×ãÛìâÐâÕ âÐÚÞÓÞ áâÞÛÚÝÞÒÕÝØï ÞÑàÐ×ãÕâáï ÞÔÝÞ âÕ-
ÛÞ, ÚÞâÞàÞÕ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ßÞÚÞØâáï (àØá. 2.4, Ð). ´ÞßãáâØÜ, çâÞ
ÐÑáÞÛîâÝÐï ÒÕÛØçØÝÐ áÚÞàÞáâØ ÚÐÖÔÞÓÞ Ø× âÕÛ ÔÞ áâÞÛÚÝÞÒÕÝØï àÐÒÝÐ v, Ð ÜÐááÐ
ßÞÚÞï m0. ¼Ðááã ßÞÚÞï ÞÑàÐ×ÞÒÐÒèÕÓÞáï âÕÛÐ ÞÑÞ×ÝÐçØÜ M0.

До столкновения До столкновения

После
столкновения

После
столкновения

а б

v

v

M
u

u

u

0

ÀØá. 2.4: ºÐàâØÝÐ ÐÑáÞÛîâÝÞ ÝÕãßàãÓÞÓÞ áâÞÛÚÝÞÒÕÝØï ÔÒãå ÞÔØÝÐÚÞÒëå âÕÛ Ò ÔÒãå
áØáâÕÜÐå ÞâáçÕâÐ

ÂÕßÕàì àÐááÜÞâàØÜ íâÞ ÖÕ áâÞÛÚÝÞÒÕÝØÕ á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò Ôàã-
ÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′, ÚÞâÞàÐï ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ ØáåÞÔÝÞÙ (ÛÐÑÞàÐâÞàÝÞÙ)
áØáâÕÜë ÞâáçÕâÐ K ßÕàßÕÝÔØÚãÛïàÝÞ ÝÐßàÐÒÛÕÝØî ÔÒØÖÕÝØï áâÐÛÚØÒÐîéØåáï çÐ-
áâØæ (àØá. 2.4, Ñ) á ÜÐÛÞÙ (ÝÕàÕÛïâØÒØáâáÚÞÙ) áÚÞàÞáâìî−u. ÂÐÚ ÚÐÚ u ¿ c, âÞ ÔÛï
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ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ ßàØ ßÕàÕåÞÔÕ Þâ K Ú K ′ ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì ÚÛÐááØçÕ-
áÚØÙ ×ÐÚÞÝ áÛÞÖÕÝØï áÚÞàÞáâÕÙ.

·ÐÚÞÝ áÞåàÐÝÕÝØï ØÜßãÛìáÐ âàÕÑãÕâ, çâÞÑë ßÞÛÝëÙ ØÜßãÛìá âÕÛ ÔÞ áâÞÛÚÝÞÒÕ-
ÝØï ÑëÛ àÐÒÕÝ ØÜßãÛìáã ÞÑàÐ×ÞÒÐÒèÕÓÞáï âÕÛÐ, ßàØçÕÜ íâÞ ãâÒÕàÖÔÕÝØÕ ÔÞÛÖÝÞ
Ñëâì áßàÐÒÕÔÛØÒÞ ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ² ÛÐÑÞàÐâÞàÝÞÙ áØ-
áâÕÜÕ ßÞÛÝëÙ ØÜßãÛìá àÐÒÕÝ ÝãÛî ÚÐÚ ÔÞ, âÐÚ Ø ßÞáÛÕ áâÞÛÚÝÞÒÕÝØï. ² áØáâÕÜÕ
ÞâáçÕâÐ K ′ ßÞÛÝëÙ ØÜßãÛìá ÔÞ áâÞÛÚÝÞÒÕÝØï ßàØÑÛØÖÕÝÝÞ àÐÒÕÝ

2m0u√
1− v2/c2

.

(áÚÞàÞáâì ÚÐÖÔÞÓÞ Ø× âÕÛ Ò ×ÝÐÜÕÝÐâÕÛÕ ÒëàÐÖÕÝØï ÔÛï àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ
ßàØ u ¿ v ÜÞÖÝÞ ßÞÛÐÓÐâì àÐÒÝÞÙ v Ø Ò áØáâÕÜÕ ÞâáçÕâÐ K ′). ¿ÞáÛÕ áâÞÛÚÝÞÒÕÝØï
ßÞÛÝëÙ ØÜßãÛìá ßàØÑÛØÖÕÝÝÞ àÐÒÕÝ M0u, âÐÚ ÚÐÚ ßàØ u ¿ c ÜÐááã ÞÑàÐ×ÞÒÐÒèÕ-
ÓÞáï âÕÛÐ Ø Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ÜÞÖÝÞ ßÞÛÐÓÐâì àÐÒÝÞÙ ÜÐááÕ ßÞÚÞï.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ø× ×ÐÚÞÝÐ áÞåàÐÝÕÝØï ØÜßãÛìáÐ, ßàØÜÕÝÕÝÝÞÓÞ Ò áØáâÕÜÕ Þâ-
áçÕâÐ K ′, ÝÐåÞÔØÜ, çâÞ

M0 =
2m0√

1− v2/c2
> 2m0 (2.18)

� ÜÐááÐ ßÞÚÞï âÕÛÐ, ÞÑàÐ×ÞÒÐÒèÕÓÞáï ßàØ ÝÕãßàãÓÞÜ áâÞÛÚÝÞÒÕÝØØ, ÑÞÛìèÕ áãÜ-
ÜÐàÝÞÙ ÜÐááë ßÞÚÞï ØáåÞÔÝëå âÕÛ. ÀÐááÜÞâàÕÝÝëÙ ßàØÜÕà ÝÕãßàãÓÞÓÞ áâÞÛÚÝÞ-
ÒÕÝØï, Ò ÚÞâÞàÞÜ ßàÞØáåÞÔØâ ßàÕÒàÐéÕÝØÕ ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ áâÐÛÚØÒÐîéØåáï
çÐáâØæ ÒÞ ÒÝãâàÕÝÝîî íÝÕàÓØî (Ò íÝÕàÓØî âÕßÛÞÒÞÓÞ ÔÒØÖÕÝØï ÜÞÛÕÚãÛ), ßÞÚÐ-
×ëÒÐÕâ, çâÞ ãÒÕÛØçÕÝØÕ ÒÝãâàÕÝÝÕÙ íÝÕàÓØØ âÕÛÐ, ÚÐÚ Ø ãÒÕÛØçÕÝØÕ ÚØÝÕâØçÕáÚÞÙ
íÝÕàÓØØ, áÞßàÞÒÞÖÔÐÕâáï ßàÞßÞàæØÞÝÐÛìÝëÜ ãÒÕÛØçÕÝØÕÜ ÜÐááë.

ÍâÞâ ÒëÒÞÔ áÛÕÔãÕâ àÐáßàÞáâàÐÝØâì ÝÐ ÒáÕ ÒØÔë íÝÕàÓØØ: ÝÐÓàÕâÞÕ âÕÛÞ ØÜÕ-
Õâ Ñ �ÞÛìèãî ÜÐááã ßÞÚÞï, çÕÜ åÞÛÞÔÝÞÕ, áÖÐâÐï ØÛØ àÐáâïÝãâÐï ßàãÖØÝÐ ØÜÕÕâ
Ñ �ÞÛìèãî ÜÐááã, çÕÜ ÝÕÔÕäÞàÜØàÞÒÐÝÝÐï, Ø â.ß. ¾ÑÞÑéÕÝØÕ áÞÞâÝÞèÕÝØï (2.15) ÝÐ
ÒáÕ ÒØÔë íÝÕàÓØØ ßàØÒÞÔØâ ÝÐá Ú ×ÝÐÜÕÝØâÞÙ äÞàÜãÛÕ ÍÙÝèâÕÙÝÐ, áÒï×ëÒÐîéÕÙ
íÝÕàÓØî Ø ÜÐááã:

E =
m0c

2

√
1− v2/c2

. (2.19)

¸× äÞàÜãÛë (2.19) áÛÕÔãÕâ, Ò çÐáâÝÞáâØ, çâÞ ßÞÚÞïéÕÕáï âÕÛÞ ÞÑÛÐÔÐÕâ íÝÕà-
ÓØÕÙ E0 = m0c

2. Íâã íÝÕàÓØî ÝÐ×ëÒÐîâ íÝÕàÓØÕÙ ßÞÚÞï.
² àÐááÜÞâàÕÝÝÞÜ ÒëèÕ ßàØÜÕàÕ ÝÕãßàãÓÞÓÞ áâÞÛÚÝÞÒÕÝØï ÔÒãå âÕÛ àÐÒÕÝáâÒÞ

(2.18), ÒëàÐÖÐîéÕÕ ×ÐÚÞÝ áÞåàÐÝÕÝØï ØÜßãÛìáÐ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, ÒëàÐÖÐ-
Õâ Ò âÞ ÖÕ ÒàÕÜï ×ÐÚÞÝ áÞåàÐÝÕÝØï àÕÛïâØÒØáâáÚÞÙ íÝÕàÓØØ Ò áØáâÕÜÕ ÞâáçÕâÐ K:
ãÜÝÞÖØÒ ÞÑÕ çÐáâØ àÐÒÕÝáâÒÐ (2.18) ÝÐ c2, Ò ÛÕÒÞÙ çÐáâØ ßÞÛãçØÜ àÕÛïâØÒØáâáÚãî
íÝÕàÓØî ÞÑàÐ×ÞÒÐÒèÕÓÞáï âÕÛÐ (íÝÕàÓØî ßÞÚÞï), Ð Ò ßàÐÒÞÙ � áãÜÜÐàÝãî àÕÛïâØ-
ÒØáâáÚãî íÝÕàÓØî ØáåÞÔÝëå âÕÛ.

·ÐÜÕâØÜ, çâÞ áÞÓÛÐáÝÞ ßàÕÔáâÐÒÛÕÝØïÜ ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚØ íÝÕàÓØï ßàØ ÝÕ-
ãßàãÓØå áâÞÛÚÝÞÒÕÝØïå ÝÕ áÞåàÐÝïÛÐáì, âÐÚ ÚÐÚ ÒÝãâàÕÝÝïï íÝÕàÓØï (íÝÕàÓØï ßÞ-
ÚÞï) ÝÕ ÑëÛÐ ÒÚÛîçÕÝÐ Ò ÜÕåÐÝØçÕáÚãî íÝÕàÓØî.
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2.2.3 ¿àÞßÞàæØÞÝÐÛìÝÞáâì ÜÐááë Ø íÝÕàÓØØ
·ÐÚÞÝ áÞåàÐÝÕÝØï ØÜßãÛìáÐ Ò áÞÕÔØÝÕÝØØ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ, âàÕÑãî-
éØÜ, çâÞÑë íâÞâ ×ÐÚÞÝ ÒëßÞÛÝïÛáï áàÐ×ã ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ,
ßàØÒÞÔØâ, ÚÐÚ Üë ÒØÔÕÛØ, Ú ×ÐÚÞÝã áÞåàÐÝÕÝØï àÕÛïâØÒØáâáÚÞÙ íÝÕàÓØØ.

¿àÞßÞàæØÞÝÐÛìÝÞáâì ÜÐááë Ø íÝÕàÓØØ Ò ÛîÑëå äÞàÜÐå âÕáÝÞ áÒï×ÐÝÐ á áÞåàÐ-
ÝÕÝØÕÜ ØÜßãÛìáÐ. ´ÕÙáâÒØâÕÛìÝÞ, ÕáÛØ Ñë Ò ×ÐÜÚÝãâÞÙ áØáâÕÜÕ ßàØ ßÕàÕåÞÔÕ íÝÕà-
ÓØØ Ø× ÞÔÝÞÙ äÞàÜë Ò ÔàãÓãî ÜÐááÐ áØáâÕÜë Ø×ÜÕÝïÛÐáì, âÞ áÞåàÐÝÕÝØÕ ØÜßãÛìáÐ
ÑëÛÞ Ñë ÝÕÒÞ×ÜÞÖÝëÜ. ²ÝãâàÕÝÝØÕ ßàÕÒàÐéÕÝØï Ò áØáâÕÜÕ ÝÕ ÜÞÓãâ Ø×ÜÕÝØâì ØÜ-
ßãÛìáÐ áØáâÕÜë Ò æÕÛÞÜ, ÝÞ ïáÝÞ, çâÞ Ø áÚÞàÞáâì ÔÒØÖÕÝØï Ø×ÞÛØàÞÒÐÝÝÞÓÞ âÕÛÐ
ÞâÝÞáØâÕÛìÝÞ ÚÐÚÞÙ-ÛØÑÞ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ ÞáâÐÕâáï ßàØ íâÞÜ ÝÕØ×-
ÜÕÝÝÞÙ Ò áÞÞâÒÕâáâÒØØ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ. ÂÐÚ ÚÐÚ ÝØ áÚÞàÞáâì, ÝØ ØÜ-
ßãÛìá ÝÕ Ø×ÜÕÝïîâáï, âÞ Ø ÜÐááÐ ßÞÚÞï Ø×ÞÛØàÞÒÐÝÝÞÓÞ âÕÛÐ ÔÞÛÖÝÐ ÞáâÐÒÐâìáï
ßÞáâÞïÝÝÞÙ, ÚÐÚØÕ Ñë ÒÝãâàÕÝÝØÕ ßàÕÒàÐéÕÝØï Ò ÝÕÜ ÝØ ßàÞØáåÞÔØÛØ. ÍâÞ ×ÝÐçØâ,
çâÞ ÞßàÕÔÕÛÕÝÝÞÕ ÚÞÛØçÕáâÒÞ íÝÕàÓØØ Ò ÛîÑÞÙ äÞàÜÕ ßàÞßÞàæØÞÝÐÛìÝÞ ÞÔÝÞÙ Ø
âÞÙ ÖÕ ÜÐááÕ.

·ÐÚÞÝ ßàÞßÞàæØÞÝÐÛìÝÞáâØ ÜÐááë Ø íÝÕàÓØØ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞÔØÝ Ø× áÐ-
Üëå ×ÝÐçØâÕÛìÝëå ÒëÒÞÔÞÒ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ. ²×ÐØÜÞáÒï×ì ÜÐááë Ø íÝÕà-
ÓØØ, ÑÕ×ãáÛÞÒÝÞ, ×ÐáÛãÖØÒÐÕâ ÑÞÛÕÕ ßÞÔàÞÑÝÞÓÞ ÞÑáãÖÔÕÝØï (áÜ., ÝÐßàØÜÕà, [7],
áâà. 152�156).

² ÜÕåÐÝØÚÕ ÜÐááÐ âÕÛÐ Õáâì äØ×ØçÕáÚÐï ÒÕÛØçØÝÐ, åÐàÐÚâÕàØ×ãîéÐï ÚÞÛØçÕ-
áâÒÕÝÝÞ ØÝÕàâÝëÕ áÒÞÙáâÒÐ âÕÛÐ, â. Õ. ÜÐááÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÜÕàã ØÝÕàâÝÞáâØ
âÕÛÐ. ÍâÞ âÐÚ ÝÐ×ëÒÐÕÜÐï ØÝÕàâÝÐï ÜÐááÐ. Á ÔàãÓÞÙ áâÞàÞÝë, ÜÐááÐ åÐàÐÚâÕàØ-
×ãÕâ áßÞáÞÑÝÞáâì âÕÛÐ áÞ×ÔÐÒÐâì ßÞÛÕ âïÓÞâÕÝØï Ø ØáßëâëÒÐâì áØÛã Ò ßÞÛÕ âïÓÞâÕ-
ÝØï, áÞ×ÔÐÒÐÕÜÞÜ ÔàãÓØÜØ âÕÛÐÜØ. ÍâÞ âïÓÞâÕîéÐï, ØÛØ ÓàÐÒØâÐæØÞÝÝÐï ÜÐááÐ.
¸ÝÕàâÝÞáâì âÕÛÐ Ø ÕÓÞ áßÞáÞÑÝÞáâì Ú ÓàÐÒØâÐæØÞÝÝëÜ Ò×ÐØÜÞÔÕÙáâÒØïÜ ßàÕÔáâÐÒ-
Ûïîâ áÞÑÞÙ ßàÞïÒÛÕÝØï áÞÒÕàèÕÝÝÞ àÐ×ÛØçÝëå áÒÞÙáâÒ ÜÐâÕàØØ. ¾ÔÝÐÚÞ âÞ, çâÞ
ÜÕàë íâØå àÐ×ÛØçÝëå ßàÞïÒÛÕÝØÙ ÝÐ×ëÒÐîâ ÞÔÝØÜ Ø âÕÜ ÖÕ áÛÞÒÞÜ �ÜÐááÐ�, ÝÕ
áÛãçÐÙÝÞ, Ð ÞÑãáÛÞÒÛÕÝÞ âÕÜ, çâÞ ÞÑÐ áÒÞÙáâÒÐ ÒáÕÓÔÐ áãéÕáâÒãîâ áÞÒÜÕáâÝÞ Ø ÜÕ-
àë íâØå áÒÞÙáâÒ ÒáÕÓÔÐ ÔàãÓ ÔàãÓã ßàÞßÞàæØÞÝÐÛìÝë, âÐÚ çâÞ ßàØ ÝÐÔÛÕÖÐéÕÜ Òë-
ÑÞàÕ ÕÔØÝØæ Øå ÜÞÖÝÞ ÒëàÐÖÐâì ÞÔÝØÜ Ø âÕÜ ÖÕ çØáÛÞÜ.

ÀÐÒÕÝáâÒÞ ØÝÕàâÝÞÙ Ø ÓàÐÒØâÐæØÞÝÝÞÙ ÜÐáá ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íÚáßÕàØÜÕÝ-
âÐÛìÝëÙ äÐÚâ, ÜÝÞÓÞÚàÐâÝÞ ßÞÔâÒÕàÖÔÕÝÝëÙ á ÞÓàÞÜÝÞÙ áâÕßÕÝìî âÞçÝÞáâØ Ò ßàÕ-
æØ×ØÞÝÝëå ÞßëâÐå ÍâÒÕèÐ, ´ØÚÚÕ, ±àÐÓØÝáÚÞÓÞ Ø ÔàãÓØå. ºÐÚ ÖÕ áÛÕÔãÕâ ÞâÒÕçÐâì
ÝÐ ÒÞßàÞá: Õáâì ÛØ ØÝÕàâÝÐï Ø ÓàÐÒØâÐæØÞÝÝÐï ÜÐááÐ ÞÔÝÞ Ø âÞ ÖÕ ØÛØ ÝÕâ? ¿Þ áÒÞ-
ØÜ ßàÞïÒÛÕÝØïÜ ÞÝØ àÐ×ÛØçÝë, ÝÞ ÝÕàÐ×àëÒÝÞ áÒï×ÐÝë ÔàãÓ á ÔàãÓÞÜ, Ø Øå çØáÛÕÝ-
ÝëÕ åÐàÐÚâÕàØáâØÚØ ÒáÕÓÔÐ ßàÞßÞàæØÞÝÐÛìÝë. ÂÐÚÞÕ ßÞÛÞÖÕÝØÕ ÒÕéÕÙ Ò äØ×ØÚÕ
åÐàÐÚâÕàØ×ãîâ âÕàÜØÝÞÜ �íÚÒØÒÐÛÕÝâÝÞáâì�.

°ÝÐÛÞÓØçÝëÙ ÒÞßàÞá ÒÞ×ÝØÚÐÕâ Ò áÒï×Ø á ßÞÝïâØïÜØ ÜÐááë Ø íÝÕàÓØØ Ò âÕÞàØØ
ÞâÝÞáØâÕÛìÝÞáâØ. ¿àÞïÒÛÕÝØï áÒÞÙáâÒ ÜÐâÕàØØ, áÞÞâÒÕâáâÒãîéØå ÜÐááÕ Ø íÝÕà-
ÓØØ, ÑÕááßÞàÝÞ àÐ×ÛØçÝë. ½Þ âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ãâÒÕàÖÔÐÕâ, çâÞ íâØ áÒÞÙáâÒÐ
ÝÕàÐ×àëÒÝÞ áÒï×ÐÝë, Ð çØáÛÕÝÝëÕ åÐàÐÚâÕàØáâØÚØ íâØå áÒÞÙáâÒ ßàÞßÞàæØÞÝÐÛìÝë
ÔàãÓ ÔàãÓã. ¿ÞíâÞÜã ÜÞÖÝÞ ÓÞÒÞàØâì ÞÑ íÚÒØÒÐÛÕÝâÝÞáâØ ÜÐááë Ø íÝÕàÓØØ. ²áïÚÞÕ
Ø×ÜÕÝÕÝØÕ íÝÕàÓØØ áØáâÕÜë áÞßàÞÒÞÖÔÐÕâáï íÚÒØÒÐÛÕÝâÝëÜ Ø×ÜÕÝÕÝØÕÜ ÕÕ ÜÐá-
áë. ÍâÞ ÞâÝÞáØâáï ÚÐÚ Ú Ø×ÜÕÝÕÝØïÜ ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ âÕÛÐ, ßàØ ÚÞâÞàëå ÜÐá-
áÐ ßÞÚÞï ÞáâÐÕâáï ÝÕØ×ÜÕÝÝÞÙ, âÐÚ Ø Ú Ø×ÜÕÝÕÝØïÜ àÐ×ÛØçÝëå ÒØÔÞÒ ÒÝãâàÕÝÝÕÙ
íÝÕàÓØØ, ßàØ ÚÞâÞàëå ÜÐááÐ ßÞÚÞï Ø×ÜÕÝïÕâáï.
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¾ßëâ ßÞÚÐ×ëÒÐÕâ, çâÞ Ò ÓàÞÜÐÔÝÞÜ ÑÞÛìèØÝáâÒÕ äØ×ØçÕáÚØå ßàÞæÕááÞÒ, Ò ÚÞ-
âÞàëå Ø×ÜÕÝïÕâáï ÒÝãâàÕÝÝïï íÝÕàÓØï, ÜÐááÐ ßÞÚÞï ÞáâÐÕâáï ÝÕØ×ÜÕÝÝÞÙ. ºÐÚ íâÞ
áÞÓÛÐáÞÒÐâì á ×ÐÚÞÝÞÜ ßàÞßÞàæØÞÝÐÛìÝÞáâØ ÜÐááë Ø íÝÕàÓØØ? ´ÕÛÞ Ò âÞÜ, çâÞ ÚÐÚ
ßàÐÒØÛÞ ßÞÔÐÒÛïîéÐï çÐáâì ÒÝãâàÕÝÝÕÙ íÝÕàÓØØ (Ø áÞÞâÒÕâáâÒãîéÕÙ ÕÙ ÜÐááë ßÞ-
ÚÞï) Ò ßàÕÒàÐéÕÝØïå ÝÕ ãçÐáâÒãÕâ, Ø ßÞíâÞÜã ÞßàÕÔÕÛïÕÜÐï Ò×ÒÕèØÒÐÝØÕÜ ÜÐááÐ
ßÞÚÞï ßàÐÚâØçÕáÚØ áÞåàÐÝïÕâáï ÝÕáÜÞâàï ÝÐ âÞ, çâÞ âÕÛÞ ÒëÔÕÛïÕâ ØÛØ ßÞÓÛÞéÐ-
Õâ íÝÕàÓØî. ÍâÞ ÞÑêïáÝïÕâáï ßàÞáâÞ ÝÕÔÞáâÐâÞçÝÞÙ âÞçÝÞáâìî Ò×ÒÕèØÒÐÝØï. ´Ûï
ØÛÛîáâàÐæØØ àÐááÜÞâàØÜ ÝÕáÚÞÛìÚÞ çØáÛÕÝÝëå ßàØÜÕàÞÒ.

1. ÍÝÕàÓØï, ÒëáÒÞÑÞÖÔÐîéÐïáï ßàØ áÓÞàÐÝØØ ÝÕäâØ, Ò×àëÒÕ ÔØÝÐÜØâÐ Ø ÔàãÓØå
åØÜØçÕáÚØå ßàÕÒàÐéÕÝØïå, ßàÕÔáâÐÒÛïÕâáï ÝÐÜ Ò ÜÐáèâÐÑÐå ßÞÒáÕÔÝÕÒÝÞÓÞ
ÞßëâÐ ÓàÞÜÐÔÝÞÙ. ¾ÔÝÐÚÞ ÕáÛØ ßÕàÕáçØâÐâì ÕÕ ÒÕÛØçØÝã ÝÐ íÚÒØÒÐÛÕÝâÝãî
ÜÐááã, âÞ ÞÚÐÖÕâáï, çâÞ íâÐ ÜÐááÐ ÝÕ áÞáâÐÒÛïÕâ Ø∼10−10 Þâ ßÞÛÝÞÙ ÒÕÛØçØÝë
ÜÐááë ßÞÚÞï. ½ÐßàØÜÕà, ßàØ áÞÕÔØÝÕÝØØ 1 Ó ÒÞÔÞàÞÔÐ á 8 Ó ÚØáÛÞàÞÔÐ ÒëÔÕ-
ÛïÕâáï ÞÚÞÛÞ 10−12 íàÓ íÝÕàÓØØ. ÍâÞ ×ÝÐçØâ, çâÞ ÜÐááÐ ßÞÚÞï ÞÑàÐ×ÞÒÐÒèÕÙáï
ÒÞÔë ÝÐ ∆m = ∆E/c2 ≈ 10−9 Ó ÜÕÝìèÕ ÜÐááë ØáåÞÔÝëå ÒÕéÕáâÒ. ÂÐÚÞÕ Ø×-
ÜÕÝÕÝØÕ ÜÐááë áÛØèÚÞÜ ÜÐÛ �Þ ÔÛï âÞÓÞ, çâÞÑë ÕÓÞ ÜÞÖÝÞ ÑëÛÞ ÞÑÝÐàãÖØâì á
ßÞÜÞéìî áÞÒàÕÜÕÝÝëå ßàØÑÞàÞÒ.

2. ¿àØ ÝÕãßàãÓÞÜ áâÞÛÚÝÞÒÕÝØØ ÔÒãå çÐáâØæ ßÞ 1 Ó, àÐ×ÞÓÝÐÝÝëå ÝÐÒáâàÕçã ÔàãÓ
ÔàãÓã ÔÞ áÚÞàÞáâØ 1 ÚÜ/á, ÔÞÑÐÒÞçÝÐï ÜÐááÐ ßÞÚÞï ÞÑàÐ×ÞÒÐÒèÕÓÞáï âÕÛÐ áÞ-
áâÐÒÛïÕâ ∆m = 2(1

2
mv2)/c2 ≈ 10−11 Ó. ¼ë ×ÔÕáì ØáßÞÛì×ÞÒÐÛØ ÚÛÐááØçÕáÚÞÕ

ÒëàÐÖÕÝØÕ ÔÛï ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ, çâÞ ÑÕ×ãáÛÞÒÝÞ ÔÞßãáâØÜÞ ßàØ áÚÞ-
àÞáâïå ßÞàïÔÚÐ 1 ÚÜ/á. ÏáÝÞ, çâÞ ÔÞÑÐÒÞçÝÐï ÜÐááÐ ×ÔÕáì ÝÐÜÝÞÓÞ ÜÕÝìèÕ
ÞèØÑÚØ, á ÚÞâÞàÞÙ ÜÞÖÕâ Ñëâì Ø×ÜÕàÕÝÐ ÜÐááÐ 1 Ó.

3. ¼ÐááÐ ÐâÞÜÐ ÒÞÔÞàÞÔÐ ÜÕÝìèÕ áãÜÜë ÜÐáá ßÞÚÞï ÒåÞÔïéØå Ò ÕÓÞ áÞáâÐÒ ßàÞ-
âÞÝÐ Ø íÛÕÚâàÞÝÐ ÝÐ ÒÕÛØçØÝã íÝÕàÓØØ ØÞÝØ×ÐæØØ ÐâÞÜÐ (íÝÕàÓØØ áÒï×Ø), ÔÕ-
ÛÕÝÝÞÙ ÝÐ c2. ÍÝÕàÓØï ØÞÝØ×ÐæØØ ÐâÞÜÐ ÒÞÔÞàÞÔÐ àÐÒÝÐ 13,5 í², ØÛØ 2,2 ·10−11

íàÓ, ÞâÚãÔÐ ∆m = 2,4 ·10−32 Ó, çâÞ áÞáâÐÒÛïÕâ ∼10−8 ÜÐááë ÐâÞÜÐ ÒÞÔÞàÞÔÐ.
ÍâÞ âÐÚÖÕ ÞçÕÝì ÜÐÛÐï ÒÕÛØçØÝÐ.

µáâÕáâÒÕÝÝÞ ×ÐÔÐâì ÒÞßàÞá Þ ÑÞÛÕÕ ÓÛãÑÞÚÞÙ ßàØçØÝÕ âÞÓÞ, çâÞ ßàØ ÞÑëçÝëå
ãáÛÞÒØïå ßÞÔÐÒÛïîéÐï çÐáâì íÝÕàÓØØ (Ø áÞÞâÒÕâáâÒãîéÕÙ ÕÙ ÜÐááë ßÞÚÞï) ÝÐåÞ-
ÔØâáï Ò áÞÒÕàèÕÝÝÞ ßÐááØÒÝÞÜ áÞáâÞïÝØØ Ø Ò ßàÕÒàÐéÕÝØïå ÝÕ ãçÐáâÒãÕâ. ½Ð íâÞâ
ÒÞßàÞá âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ÝÕ ÜÞÖÕâ ÔÐâì ÞâÒÕâÐ. ¾âÒÕâ áÛÕÔãÕâ ØáÚÐâì Ò ÞÑ-
ÛÐáâØ ÚÒÐÝâÞÒëå ×ÐÚÞÝÞÜÕàÝÞáâÕÙ, ÞÔÝÞÙ Ø× åÐàÐÚâÕàÝëå ÞáÞÑÕÝÝÞáâÕÙ ÚÞâÞàëå
ïÒÛïÕâáï áãéÕáâÒÞÒÐÝØÕ ãáâÞÙçØÒëå áÞáâÞïÝØÙ á ÔØáÚàÕâÝëÜØ ãàÞÒÝïÜØ íÝÕàÓØØ.
´Ûï íÛÕÜÕÝâÐàÝëå çÐáâØæ íÝÕàÓØï, áÞÞâÒÕâáâÒãîéÐï ÜÐááÕ ßÞÚÞï, ÛØÑÞ ßàÕÒàÐ-
éÐÕâáï Ò ÐÚâØÒÝãî äÞàÜã (Ò íÝÕàÓØî Ø×ÛãçÕÝØï) æÕÛØÚÞÜ, ÛØÑÞ ÒÞÒáÕ ÝÕ Ø×ÜÕÝï-
Õâáï. ¿àØÜÕàÞÜ ÜÞÖÕâ áÛãÖØâì ßàÕÒàÐéÕÝØÕ ßÐàë íÛÕÚâàÞÝ � ßÞ×ØâàÞÝ Ò ÓÐÜÜÐ-
Ø×ÛãçÕÝØÕ (ÐÝÝØÓØÛïæØï). Ã ÐâÞÜÞÒ ßÞÔÐÒÛïîéÐï çÐáâì ÜÐááë ßàÕÑëÒÐÕâ Ò äÞàÜÕ
ÜÐááë ßÞÚÞï íÛÕÜÕÝâÐàÝëå çÐáâØæ, Ø×ÜÕÝÕÝØï ÚÞâÞàÞÙ Ò ÞÑëçÝëå åØÜØçÕáÚØå ßàÞ-
æÕááÐå ÝÕ ßàÞØáåÞÔØâ. ´ÐÖÕ Ò ïÔÕàÝëå àÕÐÚæØïå íÝÕàÓØï, áÞÞâÒÕâáâÒãîéÐï ÜÐááÕ
ßÞÚÞï âïÖÕÛëå çÐáâØæ (ÝãÚÛÞÝÞÒ), ÒåÞÔïéØå Ò áÞáâÐÒ ïÔÕà, ÞáâÐÕâáï ßÐááØÒÝÞÙ.
½Þ ×ÔÕáì ÐÚâØÒÝÐï çÐáâì íÝÕàÓØØ, â. Õ. íÝÕàÓØï Ò×ÐØÜÞÔÕÙáâÒØï ÝãÚÛÞÝÞÒ, áÞáâÐÒ-
ÛïÕâ ãÖÕ ×ÐÜÕâÝãî ÔÞÛî íÝÕàÓØØ ßÞÚÞï.
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¸× ßàØÒÕÔÕÝÝëå ßàØÜÕàÞÒ ïáÝÞ, çâÞ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ àÕÛï-
âØÒØáâáÚÞÓÞ ×ÐÚÞÝÐ ßàÞßÞàæØÞÝÐÛìÝÞáâØ íÝÕàÓØØ Ø ÜÐááë áÛÕÔãÕâ ØáÚÐâì Ò ïÔÕà-
ÝÞÙ äØ×ØÚÕ Ø äØ×ØÚÕ íÛÕÜÕÝâÐàÝëå çÐáâØæ. ´Ûï ÞßØáÐÝØï ßàÞæÕááÞÒ á ÐâÞÜÝëÜØ
ïÔàÐÜØ Ø íÛÕÜÕÝâÐàÝëÜØ çÐáâØæÐÜØ, åÐàÐÚâÕàÝÐï ÞáÞÑÕÝÝÞáâì ÚÞâÞàëå ×ÐÚÛîçÐ-
Õâáï Ò Ø×ÜÕÝÕÝØïå íÝÕàÓØØ áØáâÕÜë, áàÐÒÝØÜëå á ÕÕ íÝÕàÓØÕÙ ßÞÚÞï, àÕÛïâØÒØáâ-
áÚØÕ ×ÐÚÞÝë ÐÑáÞÛîâÝÞ ÝÕÞÑåÞÔØÜë.

ÀÐááÜÞâàØÜ Ò ÚÐçÕáâÒÕ ßàØÜÕàÐ ïÔÕàÝãî àÕÐÚæØî, Òë×ÒÐÝÝãî ßÞÛãçÕÝÝëÜØ ÝÐ
ãáÚÞàØâÕÛÕ ßàÞâÞÝÐÜØ, Ð ØÜÕÝÝÞ ßàÕÒàÐéÕÝØÕ ïÔàÐ ÛØâØï Ò ÔÒÕ ÐÛìäÐ-çÐáâØæë:

7
3Li + 1

1H → 2 4
2He.

·ÐÚÞÝ ßàÞßÞàæØÞÝÐÛìÝÞáâØ ÜÐááë Ø íÝÕàÓØØ ßÞ×ÒÞÛïÕâ áÔÕÛÐâì ßàÕÔáÚÐ×ÐÝØï Þâ-
ÝÞáØâÕÛìÝÞ íÝÕàÓÕâØçÕáÚÞÓÞ ÒëåÞÔÐ ïÔÕàÝÞÙ àÕÐÚæØØ. ·ÝÐçÕÝØï ÜÐáá ßÞÚÞï ÐâÞÜ-
Ýëå ïÔÕà ÜÞÓãâ Ñëâì ÞßàÕÔÕÛÕÝë á ÒëáÞÚÞÙ âÞçÝÞáâìî ßàØ ßÞÜÞéØ ÜÐáá-áßÕÚâàÞ-
ÜÕâàÐ. ÂÐÚ, ÜÐááÐ ßÞÚÞï ßàÞâÞÝÐ 1

1H àÐÒÝÐ 1,00728 ÐâÞÜÝÞÙ ÕÔØÝØæë ÜÐááë (Ð.Õ.Ü.),
ÜÐááÐ ïÔàÐ 7

3Li � 7,01601 Ð.Õ.Ü., Ð ÜÐááÐ ÐÛìäÐ-çÐáâØæë 4
2He � 4,00260 Ð.Õ.Ü. ÁãÜ-

ÜÐàÝÐï ÜÐááÐ ßÞÚÞï ïÔÕà, ÒáâãßÐîéØå Ò àÕÐÚæØî, àÐÒÝÐ 8,02329 Ð.Õ.Ü., Ð ÜÐááÐ ßÞ-
ÚÞï ÚÞÝÕçÝëå ßàÞÔãÚâÞÒ àÕÐÚæØØ ÜÕÝìèÕ: ÞÝÐ áÞáâÐÒÛïÕâ 8,00520 Ð.Õ.Ü. ÂÐÚØÜ ÞÑ-
àÐ×ÞÜ, Ò àÕ×ãÛìâÐâÕ ïÔÕàÝÞÙ àÕÐÚæØØ ÜÐááÐ ßÞÚÞï ãÜÕÝìèÐÕâáï ÝÐ ÒÕÛØçØÝã ∆m =
0,01809 Ð.Õ.Ü. ÁÞÞâÒÕâáâÒãîéÐï íâÞÜã Ø×ÜÕÝÕÝØî ÜÐááë íÝÕàÓØï ∆mc2 = 16,85
¼í² á åÞàÞèÕÙ âÞçÝÞáâìî áÞÒßÐÔÐÕâ á Ø×ÜÕàÕÝÝÞÙ ÝÐ ÞßëâÕ ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØ-
ÕÙ ÞÑàÐ×ãîéØåáï ÐÛìäÐ-çÐáâØæ. (¿ÕàÒÞÝÐçÐÛìÝÐï ÚØÝÕâØçÕáÚÐï íÝÕàÓØï ßàÞâÞÝÐ
ÜÐÛÐ ßÞ áàÐÒÝÕÝØî á íâÞÙ ÒÕÛØçØÝÞÙ Ø ßÞíâÞÜã Ò àÐáçÕâÕ íÝÕàÓÕâØçÕáÚÞÓÞ ÒëåÞÔÐ
àÕÐÚæØØ ÝÕ ßàØÝØÜÐÕâáï ÒÞ ÒÝØÜÐÝØÕ).

·ÐÚÞÝ ßàÞßÞàæØÞÝÐÛìÝÞáâØ íÝÕàÓØØ Ø ÜÐááë ÜÞÖÝÞ ßàØÜÕÝØâì Ú ÐÝÐÛØ×ã ãáâÞÙ-
çØÒÞáâØ ÐâÞÜÝëå ïÔÕà. ÀÐááÜÞâàØÜ ÐâÞÜÝÞÕ ïÔàÞ ÜÐááë M , áÞáâÞïéÕÕ Ø× Z ßàÞ-
âÞÝÞÒ Ø A−Z ÝÕÙâàÞÝÞÒ (Z � ÐâÞÜÝëÙ ÝÞÜÕà, â. Õ. ×ÐàïÔ ïÔàÐ Ò ÕÔØÝØæÐå íÛÕÜÕÝ-
âÐàÝÞÓÞ ×ÐàïÔÐ, A � ÜÐááÞÒÞÕ çØáÛÞ, â. Õ. ßÞÛÝÞÕ çØáÛÞ ÝãÚÛÞÝÞÒ Ò ïÔàÕ). ÍÝÕàÓØï
ßÞÚÞï ïÔàÐ Mc2 áÛÐÓÐÕâáï Ø× íÝÕàÓØØ ßÞÚÞï ÒáÕå ÒåÞÔïéØå Ò ÝÕÓÞ çÐáâØæ (ÝãÚÛÞ-
ÝÞÒ) Ø íÝÕàÓØØ ÒÝãâàÕÝÝÕÓÞ ÔÒØÖÕÝØï Ø Ò×ÐØÜÞÔÕÙáâÒØï ÝãÚÛÞÝÞÒ. ´Ûï âÞÓÞ çâÞÑë
ïÔàÞ ÑëÛÞ ãáâÞÙçØÒëÜ Ø ÝÕ ÜÞÓÛÞ áÐÜÞßàÞØ×ÒÞÛìÝÞ àÐáßÐáâìáï ÝÐ áÞáâÐÒÝëÕ çÐ-
áâØ, ÝÕÞÑåÞÔØÜÞ, çâÞÑë íÝÕàÓØï ßÞÚÞï ïÔàÐ ÑëÛÐ ÜÕÝìèÕ áãÜÜÐàÝÞÙ íÝÕàÓØØ ßÞÚÞï
íâØå çÐáâÕÙ:

Mc2 <
∑

i

mic
2.

ÀÐ×ÝÞáâì
∑

i mic
2 −Mc2 áÛãÖØâ ÜÕàÞÙ ãáâÞÙçØÒÞáâØ ïÔàÐ Ø ÝÐ×ëÒÐÕâáï íÝÕàÓØÕÙ

áÒï×Ø. ´Ûï ïÔÕà, áÞÔÕàÖÐéØå 50 � 60 ÝãÚÛÞÝÞÒ, íÝÕàÓØï áÒï×Ø áÞáâÐÒÛïÕâ ÞÚÞÛÞ 9
¼í² ÝÐ ÞÔØÝ ÝãÚÛÞÝ, â. Õ. ÔÞáâØÓÐÕâ ßÞçâØ 1% íÝÕàÓØØ ßÞÚÞï.

½ÐàïÔã á íÝÕàÓØÕÙ áÒï×Ø ÜÕàÞÙ ãáâÞÙçØÒÞáâØ ïÔàÐ ÜÞÖÕâ áÛãÖØâì íÚÒØÒÐÛÕÝâ-
ÝÐï ÒÕÛØçØÝÐ ∆m, ÝÐ×ëÒÐÕÜÐï ÔÕäÕÚâÞÜ ÜÐááë:

∆m =
∑

i

mi −M = Zmp + (A− Z)mn −M,

ÓÔÕ mp Ø mn � ÜÐááë ßÞÚÞï ßàÞâÞÝÐ Ø ÝÕÙâàÞÝÐ áÞÞâÒÕâáâÒÕÝÝÞ. µáÛØ ÔÕäÕÚâ ÜÐá-
áë ßÞÛÞÖØâÕÛÕÝ, ïÔàÞ ãáâÞÙçØÒÞ ßÞ ÞâÝÞèÕÝØî Ú àÐáßÐÔã ÝÐ ÞâÔÕÛìÝëÕ ßàÞâÞÝë Ø
ÝÕÙâàÞÝë. ¾ÔÝÐÚÞ íâÞ ÕéÕ ÝÕ Þ×ÝÐçÐÕâ, çâÞ ïÔàÞ ÐÑáÞÛîâÝÞ ãáâÞÙçØÒÞ. ÀÐ×ÛØçØÕ Ò
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ÒÕÛØçØÝÕ íÝÕàÓØØ áÒï×Ø ÝÐ ÞÔØÝ ÝãÚÛÞÝ ã àÐ×Ýëå ïÔÕà ÜÞÖÕâ ßàØÒÕáâØ Ú âÞÜã, çâÞ
ãáâÞÙçØÒÞÕ ßÞ ÞâÝÞèÕÝØî Ú àÐáßÐÔã ÝÐ ÞâÔÕÛìÝëÕ ÝãÚÛÞÝë ïÔàÞ ÝÕ ÑãÔÕâ ãáâÞÙ-
çØÒëÜ ßÞ ÞâÝÞèÕÝØî Ú àÐáßÐÔã ÝÐ ÔÒÕ çÐáâØ. ÂÐÚÞÙ àÐáßÐÔ ÒÞ×ÜÞÖÕÝ, ÕáÛØ ÔÕäÕÚâ
ÜÐááë ØáåÞÔÝÞÓÞ ïÔàÐ ∆m ÜÕÝìèÕ, çÕÜ áãÜÜÐ ÔÕäÕÚâÞÒ ÜÐáá ∆m1+∆m2 ÔÒãå ïÔÕà,
ÞÑàÐ×ãîéØåáï Ò àÕ×ãÛìâÐâÕ àÐáßÐÔÐ. ÍâÞ ÞÑáâÞïâÕÛìáâÒÞ ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì ÔÛï
ÒëáÒÞÑÞÖÔÕÝØï ïÔÕàÝÞÙ íÝÕàÓØØ.

½ÐßàØÜÕà, ïÔàÞ Ø×ÞâÞßÐ ÑÕàØÛÛØï 8
4Be ØÜÕÕâ ÜÐááã M = 8,00531 Ð.Õ.Ü., ÚÞâÞ-

àÐï ÜÕÝìèÕ, çÕÜ áãÜÜÐ ÜÐáá ßÞÚÞï áÞáâÐÒÛïîéØå ÕÓÞ çÕâëàÕå ßàÞâÞÝÞÒ Ø çÕâëàÕå
ÝÕÙâàÞÝÞÒ

∑
i mi = 4· 1,00728 + 4· 1,00867 = 8,06380, ÝÞ ÑÞÛìèÕ, çÕÜ áãÜÜÐàÝÐï

ÜÐááÐ ßÞÚÞï ÔÒãå ïÔÕà ÓÕÛØï 4
2He (2· 4,00260 = 8,00520 Ð.Õ.Ü.). ¿ÞíâÞÜã ïÔàÞ ÑÕ-

àØÛÛØï 8
4Be, ãáâÞÙçØÒÞÕ ßÞ ÞâÝÞèÕÝØî Ú àÐáßÐÔã ÝÐ ÞâÔÕÛìÝëÕ ÝãÚÛÞÝë, ÔÞÛÖÝÞ

áÐÜÞßàÞØ×ÒÞÛìÝÞ àÐáßÐÔÐâìáï ÝÐ ÔÒÕ ÐÛìäÐ-çÐáâØæë, çâÞ Ø ßàÞØáåÞÔØâ Ò ÔÕÙáâÒØ-
âÕÛìÝÞáâØ.

´ÕäÕÚâ ÜÐááë ïÔàÐ ÔàãÓÞÓÞ Ø×ÞâÞßÐ ÑÕàØÛÛØï 9
4Be ÝÕ âÞÛìÚÞ ßÞÛÞÖØâÕÛÕÝ, ÝÞ

Ø ßàÕÒëèÐÕâ áãÜÜã ÔÕäÕÚâÞÒ ÜÐáá ÒáÕå ïÔÕà, ÝÐ ÚÞâÞàëÕ ïÔàÞ 9
4Be ÜÞÓÛÞ Ñë àÐá-

ßÐáâìáï. ÂÐÚÞÕ ïÔàÞ ÐÑáÞÛîâÝÞ ãáâÞÙçØÒÞ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
747, 749, 756, 757, 758.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 408�414, [2], áâà. 536�539, [3], áâà.
150�174, [4], áâà. 19�22, áâà. 35�38.

2.3 ¿àÕÞÑàÐ×ÞÒÐÝØÕ íÝÕàÓØØ-ØÜßãÛìáÐ
ÀÕÛïâØÒØáâáÚØÙ ØÜßãÛìá ÑëÛ ÒÒÕÔÕÝ ÒëèÕ âÐÚØÜ ÞÑàÐ×ÞÜ, çâÞÑë ßàØ áâÞÛÚÝÞÒÕ-
ÝØïå ßÞÛÝëÙ ØÜßãÛìá áØáâÕÜë çÐáâØæ áÞåàÐÝïÛáï. ·ÐâÕÜ ÑëÛÞ ßÞÚÐ×ÐÝÞ, çâÞ á áÞ-
åàÐÝÕÝØÕÜ ØÜßãÛìáÐ âÕáÝÞ áÒï×ÐÝÞ áÞåàÐÝÕÝØÕ àÕÛïâØÒØáâáÚÞÙ íÝÕàÓØØ: Ú ×ÐÚÞÝã
áÞåàÐÝÕÝØï íÝÕàÓØØ ÝÐá ßàØÒÕÛÞ ÒëâÕÚÐîéÕÕ Ø× ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ âàÕ-
ÑÞÒÐÝØÕ, çâÞÑë ØÜßãÛìá áÞåàÐÝïÛáï ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ.

·ÐÚÞÝë áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ØÜßãÛìáÐ ÔÛï ×ÐÜÚÝãâÞÙ áØáâÕÜë çÐáâØæ, ÚÐÚ Ø
ÒáÕ ÔàãÓØÕ ×ÐÚÞÝë äØ×ØÚØ, Ò áÞÞâÒÕâáâÒØØ á ßàØÝæØßÞÜ ÞâÝÞáØâÕÛìÝÞáâØ ÔÞÛÖÝë
ÒëßÞÛÝïâìáï ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ. ´àãÓØÜØ áÛÞÒÐÜØ, íâØ ×ÐÚÞ-
Ýë ÔÞÛÖÝë Ñëâì ØÝÒÐàØÐÝâÝë ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ.

ÇâÞÑë áÔÕÛÐâì ÞçÕÒØÔÝëÜ ÒëßÞÛÝÕÝØÕ ×ÐÚÞÝÞÒ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ØÜßãÛì-
áÐ áàÐ×ã ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ, ÝãÖÝÞ ßàØÔÐâì ãàÐÒÝÕÝØïÜ íâØå
×ÐÚÞÝÞÒ ÚÞÒÐàØÐÝâÝãî çÕâëàÕåÜÕàÝãî äÞàÜã: çÛÕÝë ãàÐÒÝÕÝØï, ÒëàÐÖÐîéÕÓÞ ×Ð-
ÚÞÝ, ÔÞÛÖÝë Ñëâì ÚÞÜßÞÝÕÝâÐÜØ çÕâëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ. ½ØÖÕ Üë ßÞÚÐÖÕÜ, çâÞ
ÚÞÜßÞÝÕÝâë ÒÕÚâÞàÐ àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ çÐáâØæë ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ
ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÜßÞÝÕÝâë ÝÕÚÞâÞàÞÓÞ çÕâëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ, Ð ØÜÕÝÝÞ çÕ-
âëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ íÝÕàÓØØ-ØÜßãÛìáÐ, ÒàÕÜÕÝÝ �ÞÙ ÚÞÜßÞÝÕÝâÞÙ ÚÞâÞàÞÓÞ
ïÒÛïÕâáï íÝÕàÓØï çÐáâØæë, ÔÕÛÕÝÝÐï ÝÐ c.

½ÐßÞÜÝØÜ àÕÛïâØÒØáâáÚØÕ ÒëàÐÖÕÝØï ÔÛï íÝÕàÓØØ (2.19) Ø ØÜßãÛìáÐ (2.2) çÐ-
áâØæë:

E =
m0c

2

√
1− v2/c2

, ~p =
m0~v√

1− v2/c2
. (2.20)
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ÁàÐÒÝØÒÐï íâØ ÒëàÐÖÕÝØï, ÛÕÓÚÞ ßÞÛãçØâì ßàÞáâãî äÞàÜãÛã, ÒëàÐÖÐîéãî ØÜ-
ßãÛìá çÐáâØæë çÕàÕ× ÕÕ áÚÞàÞáâì Ø íÝÕàÓØî:

~p =
E

c2
~v. (2.21)

²Þ×ÒÕÔÕÜ ÞÑÕ çÐáâØ ßÕàÒÞÙ Ø× äÞàÜãÛ (2.20) Ò ÚÒÐÔàÐâ, àÐ×ÔÕÛØÜ ÝÐ c2 Ø ×ÐßØ-
èÕÜ Ò áÛÕÔãîéÕÜ ÒØÔÕ:

(
E

c

)2

−
(

E

c2

)2

v2 = m2
0c

2. (2.22)

·ÔÕáì ÒâÞàÞÕ áÛÐÓÐÕÜÞÕ Ò ÛÕÒÞÙ çÐáâØ Ò áÞÞâÒÕâáâÒØØ á (2.21) ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ
ÚÒÐÔàÐâ ÒÕÚâÞàÐ àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ. ¿ÞíâÞÜã áÞÞâÝÞèÕÝØÕ (2.22) ÒëàÐÖÐ-
Õâ áÒï×ì ÜÕÖÔã íÝÕàÓØÕÙ Ø ØÜßãÛìáÞÜ çÐáâØæë:

(
E

c

)2

− p2 = m2
0c

2. (2.23)

ÍâÞ ÞÔÝÐ Ø× ÒÐÖÝÕÙèØå äÞàÜãÛ àÕÛïâØÒØáâáÚÞÙ äØ×ØÚØ.
¾ÑàÐâØÜ ÒÝØÜÐÝØÕ ÝÐ âÞ, çâÞ Ò ßàÐÒÞÙ çÐáâØ äÞàÜãÛë (2.23) áâÞØâ ÒÕÛØçØÝÐ,

ÝÕ ×ÐÒØáïéÐï Þâ ÒëÑÞàÐ áØáâÕÜë ÞâáçÕâÐ. ¿ÞíâÞÜã, åÞâï ÚÐÖÔÞÕ Ø× áÛÐÓÐÕÜëå
Ò ÛÕÒÞÙ çÐáâØ ØÜÕÕâ àÐ×ÝëÕ ×ÝÐçÕÝØï Ò àÐ×ÛØçÝëå áØáâÕÜÐå ÞâáçÕâÐ, Òáï ÛÕÒÐï
çÐáâì (2.23) ÝÕ ×ÐÒØáØâ Þâ ÒëÑÞàÐ áØáâÕÜë ÞâáçÕâÐ, â. Õ. ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ àÕ-
ÛïâØÒØáâáÚØÙ ØÝÒÐàØÐÝâ. ¼ÞÖÝÞ ßàÕÔßÞÛÞÖØâì, çâÞ íâÞ ÚÒÐÔàÐâ çÕâëàÕåÜÕà-
ÝÞÓÞ ÒÕÚâÞàÐ, ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÜßÞÝÕÝâë ÚÞâÞàÞÓÞ ßàÕÔáâÐÒÛÕÝë âàÕåÜÕàÝëÜ
ÒÕÚâÞàÞÜ àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ, Ð ÒàÕÜÕÝÝ �Ðï ÚÞÜßÞÝÕÝâÐ � àÕÛïâØÒØáâáÚÞÙ
íÝÕàÓØÕÙ, ÔÕÛÕÝÝÞÙ ÝÐ c. ² âÐÚÞÜ áÛãçÐÕ çÕâÒÕàÚÐ ÒÕÛØçØÝ (E/c, px, py, pz) ÔÞÛÖÝÐ
ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ßàÕÞÑàÐ×ÞÒëÒÐâìáï
ßÞ âÕÜ ÖÕ ßàÐÒØÛÐÜ, çâÞ Ø ßàÞÕÚæØØ ÛîÑÞÓÞ çÕâëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ, ÝÐßàØÜÕà,
àÐÔØãáÐ-ÒÕÚâÞàÐ áÞÑëâØï (ct, x, y, z), â. Õ. Ò áÞÞâÒÕâáâÒØØ á ßàÕÞÑàÐ×ÞÒÐÝØïÜØ »Þ-
àÕÝæÐ (1.17) ØÛØ (1.18).

ÇâÞÑë á ßÞÛÝÞÙ ÔÞáâÞÒÕàÝÞáâìî ßÞÚÐ×Ðâì, çâÞ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë
ÞâáçÕâÐ Ú ÔàãÓÞÙ çÕâÒÕàÚÐ ÒÕÛØçØÝ (E/c, px, py, pz) ßàÕÞÑàÐ×ãÕâáï ÚÐÚ çÕâëàÕå-
ÜÕàÝëÙ ÒÕÚâÞà, àÐááÜÞâàØÜ Ò ßàÞáâàÐÝáâÒÕ ¼ØÝÚÞÒáÚÞÓÞ ÔÒÐ ÑÛØ×ÚØå áÞÑëâØï ÝÐ
ÜØàÞÒÞÙ ÛØÝØØ ÝÕÚÞâÞàÞÙ çÐáâØæë Ø ÒÒÕÔÕÜ áÞÕÔØÝïîéØÙ íâØ áÞÑëâØï çÕâëàÕå-
ÜÕàÝëÙ ÒÕÚâÞà:

(c∆t, ∆x, ∆y, ∆z). (2.24)
²ÕÚâÞà (2.24) áÞåàÐÝØâ áÒÞØ âàÐÝáäÞàÜÐæØÞÝÝëÕ áÒÞÙáâÒÐ (â. Õ. ×ÐÚÞÝ ßàÕÞÑàÐ×Þ-
ÒÐÝØï ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ), ÕáÛØ ÒáÕ ÕÓÞ
ßàÞÕÚæØØ ãÜÝÞÖØâì ÝÐ ÞÔÝã Ø âã ÖÕ ØÝÒÐàØÐÝâÝãî ÒÕÛØçØÝã (áÚÐÛïà). ÇâÞÑë ßÕ-
àÕÙâØ Þâ (2.24) Ú çÕâÒÕàÚÕ ÒÕÛØçØÝ (E/c, px, py, pz), ãÜÝÞÖØÜ ÒáÕ ßàÞÕÚæØØ (2.24)
ÝÐ ØÝÒÐàØÐÝâÝãî ÒÕÛØçØÝã m0 � ÜÐááã ßÞÚÞï çÐáâØæë, Ø àÐ×ÔÕÛØÜ ÝÐ ØÝÒÐàØÐÝâ-
Ýãî ÒÕÛØçØÝã ∆t0 � ßàÞÜÕÖãâÞÚ áÞÑáâÒÕÝÝÞÓÞ ÒàÕÜÕÝØ ÜÕÖÔã àÐááÜÐâàØÒÐÕÜëÜØ
ÑÛØ×ÚØÜØ áÞÑëâØïÜØ ÝÐ ÜØàÞÒÞÙ ÛØÝØØ çÐáâØæë. ² àÕ×ãÛìâÐâÕ ßÞÛãçØÜ áÝÞÒÐ çÕ-
âëàÕåÜÕàÝëÙ ÒÕÚâÞà, â. Õ. çÕâëàÕåÚÞÜßÞÝÕÝâÝãî ÒÕÛØçØÝã á ÞßàÕÔÕÛÕÝÝëÜ ×ÐÚÞ-
ÝÞÜ ßàÕÞÑàÐ×ÞÒÐÝØï (1.17):
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(m0c
∆t

∆t0
, m0

∆x

∆t0
, m0

∆y

∆t0
, m0

∆z

∆t0
). (2.25)

¿ÞÔáâÐÒØÜ âÕßÕàì Ò (2.25) ÒÜÕáâÞ ∆t0 ÕÓÞ ÒëàÐÖÕÝØÕ çÕàÕ× ∆t, â. Õ. çÕàÕ× ßàÞÜÕ-
ÖãâÞÚ ÒàÕÜÕÝØ ÜÕÖÔã àÐááÜÐâàØÒÐÕÜëÜØ áÞÑëâØïÜØ Ò ØáåÞÔÝÞÙ (ÛÐÑÞàÐâÞàÝÞÙ)
áØáâÕÜÕ ÞâáçÕâÐ, ØáßÞÛì×ãï áÞÞâÝÞèÕÝØÕ (1.6):

∆t0 = ∆t
√

1− v2/c2, (2.26)
Ø ãçâÕÜ, çâÞ ßÞÛãçÐîéØÕáï Ò àÕ×ãÛìâÐâÕ âÐÚÞÙ ßÞÔáâÐÝÞÒÚØ ÞâÝÞèÕÝØï àÐÒÝë áÞ-
ÞâÒÕâáâÒãîéØÜ ßàÞÕÚæØïÜ ÒÕÚâÞàÐ áÚÞàÞáâØ çÐáâØæë: ∆x/∆t = vx, ∆y/∆t = vy,
∆z/∆t = vz. ÂÐÚØÜ ÞÑàÐ×ÞÜ, çÕâëàÕåÜÕàÝëÙ ÒÕÚâÞà (2.25) ßàØÝØÜÐÕâ áÛÕÔãîéØÙ
ÒØÔ:

(
m0c√

1− v2/c2
,

m0vx√
1− v2/c2

,
m0vy√

1− v2/c2
,

m0vz√
1− v2/c2

)
. (2.27)

²áßÞÜØÝÐï äÞàÜãÛë (2.20), ÒØÔØÜ, çâÞ ÒàÕÜÕÝÝ �Ðï ÚÞÜßÞÝÕÝâÐ íâÞÓÞ çÕâëàÕåÜÕà-
ÝÞÓÞ ÒÕÚâÞàÐ áÞÒßÐÔÐÕâ á àÕÛïâØÒØáâáÚÞÙ íÝÕàÓØÕÙ, ÔÕÛÕÝÝÞÙ ÝÐ c, Ð ßàÞáâàÐÝ-
áâÒÕÝÝëÕ ÚÞÜßÞÝÕÝâë áÞÒßÐÔÐîâ á ÚÞÜßÞÝÕÝâÐÜØ (âàÕåÜÕàÝÞÓÞ) ÒÕÚâÞàÐ àÕÛïâØ-
ÒØáâáÚÞÓÞ ØÜßãÛìáÐ:

(
E

c
, px, py, pz). (2.28)

ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ íÝÕàÓØï Ø ØÜßãÛìá � íâÞ ÒàÕÜÕÝÝ �Ðï
Ø ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÜßÞÝÕÝâë ÞÔÝÞÙ äØ×ØçÕáÚÞÙ ÒÕÛØçØÝë � çÕâëàÕåÒÕÚâÞàÐ
íÝÕàÓØØ-ØÜßãÛìáÐ.

¿àØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ÚÞÜßÞÝÕÝâë
ØÜßãÛìáÐ �ßÕàÕÜÕèØÒÐîâáï� á íÝÕàÓØÕÙ ßÞÔÞÑÝÞ âÞÜã ÚÐÚ ßàÞáâàÐÝáâÒÕÝÝëÕ ÚÞÜ-
ßÞÝÕÝâë àÐÔØãáÐ-ÒÕÚâÞàÐ áÞÑëâØï �ßÕàÕÜÕèØÒÐîâáï� á ÕÓÞ ÒàÕÜÕÝÝ �ÞÙ ÚÞÞàÔØÝÐ-
âÞÙ. ·ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï çÕâÒÕàÚØ ÒÕÛØçØÝ (2.28) ßàØ ßÕàÕåÞÔÕ Þâ áØáâÕÜë Þâ-
áçÕâÐ K ′ Ú áØáâÕÜÕ K ÛÕÓÚÞ ßÞÛãçØâì Ø× äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17)
ßàÞáâÞÙ ×ÐÜÕÝÞÙ ct → E/c, x → px, y → py, z → pz:

E =
E ′ + vpx√
1− v2/c2

, px =
p′x + vE ′/c2

√
1− v2/c2

, py = p′y, pz = p′z. (2.29)

ÀÐ×ÝÞáâì ÚÒÐÔàÐâÞÒ ÒàÕÜÕÝÝ �ÞÙ Ø ßàÞáâàÐÝáâÒÕÝÝÞÙ ßàÞÕÚæØÙ çÕâëàÕåÒÕÚâÞàÐ
íÝÕàÓØØ-ØÜßãÛìáÐ ÝÕÚÞâÞàÞÙ çÐáâØæë (â. Õ. ÚÒÐÔàÐâ ÕÓÞ �ÔÛØÝë�) ÔÐÕâáï ÛÕÒÞÙ çÐ-
áâìî äÞàÜãÛë (2.23). ÍâÐ ÒÕÛØçØÝÐ ÝÕ Ø×ÜÕÝïÕâáï ßàØ ßàÕÞÑàÐ×ÞÒÐÝØïå »ÞàÕÝæÐ
(2.29), â. Õ. ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ àÕÛïâØÒØáâáÚØÙ ØÝÒÐàØÐÝâ. ÄØ×ØçÕáÚØÙ áÜëáÛ íâÞ-
ÓÞ ØÝÒÐàØÐÝâÐ � ÚÒÐÔàÐâ íÝÕàÓØØ ßÞÚÞï çÐáâØæë, ÔÕÛÕÝÝÞÙ ÝÐ c.

2.4 ·ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ-ØÜßãÛìáÐ
ÂÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ áÞÕÔØÝïÕâ áãéÕáâÒÞÒÐÒèØÕ Ò ÔÞàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ
ÝÕ×ÐÒØáØÜÞ ÔàãÓ Þâ ÔàãÓÐ ×ÐÚÞÝë áÞåàÐÝÕÝØï ØÜßãÛìáÐ Ø íÝÕàÓØØ Ò ÞÔØÝ ×ÐÚÞÝ �
×ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ-ØÜßãÛìáÐ.
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² ÚÛÐááØçÕáÚÞÙ äØ×ØÚÕ áãéÕáâÒÞÒÐÛÐ ÝÕÚÞâÞàÐï ÝÕÞßàÕÔÕÛÕÝÝÞáâì Ò ÒëÑÞàÕ
ÝÐçÐÛÐ ÞâáçÕâÐ íÝÕàÓØØ äØ×ØçÕáÚÞÙ áØáâÕÜë. ÍâÐ ÝÕÞßàÕÔÕÛÕÝÝÞáâì ßÞ×ÒÞÛïÛÐ,
Ò çÐáâÝÞáâØ, ÝÕ ÒÚÛîçÐâì ÒÝãâàÕÝÝîî íÝÕàÓØî (ÝÐßàØÜÕà, íÝÕàÓØî åÐÞâØçÕáÚÞÓÞ
âÕßÛÞÒÞÓÞ ÔÒØÖÕÝØï çÐáâØæ, ÞÑàÐ×ãîéØå âÕÛÐ) Ò ÜÕåÐÝØçÕáÚãî íÝÕàÓØî áØáâÕÜë.
¿ÞíâÞÜã Ò âÐÚØå ßàÞæÕááÐå, ÚÐÚ, ÝÐßàØÜÕà, ÝÕãßàãÓÞÕ áâÞÛÚÝÞÒÕÝØÕ âÕÛ, ßàØ áÞ-
åàÐÝÕÝØØ ßÞÛÝÞÓÞ ØÜßãÛìáÐ áØáâÕÜë ÜÕåÐÝØçÕáÚÐï íÝÕàÓØï ÝÕ áÞåàÐÝïÛÐáì. ½Þ
Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ ×ÐÚÞÝ áÞåàÐÝÕÝØï ØÜßãÛìáÐ áÐÜ ßÞ áÕÑÕ, ÑÕ× ÞÔÝÞÒàÕ-
ÜÕÝÝÞÓÞ áÞåàÐÝÕÝØï àÕÛïâØÒØáâáÚÞÙ íÝÕàÓØØ, ÝÕÒÞ×ÜÞÖÕÝ: ßàØ ßÕàÕåÞÔÕ Ú ÔàãÓÞÙ
ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÚÞÜßÞÝÕÝâë ØÜßãÛìáÐ �ßÕàÕÜÕèØÒÐîâáï� á íÝÕà-
ÓØÕÙ. ´Ûï ÒëßÞÛÝÕÝØï ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÐÑáÞÛîâÝÞ ÝÕÞÑåÞÔØÜÞ, çâÞÑë
áÞåàÐÝÕÝØÕ âàÕå ßàÞáâàÐÝáâÒÕÝÝëå ÚÞÜßÞÝÕÝâ çÕâëàÕåÒÕÚâÞàÐ ØÜßãÛìáÐ áÞßàÞÒÞ-
ÖÔÐÛÞáì áÞåàÐÝÕÝØÕÜ çÕâÒÕàâÞÙ � ÒàÕÜÕÝÝ �ÞÙ � ÚÞÜßÞÝÕÝâë, â. Õ. àÕÛïâØÒØáâáÚÞÙ
íÝÕàÓØØ.

½ÕÞÑåÞÔØÜÞáâì ÒÚÛîçÕÝØï íÝÕàÓØØ ßÞÚÞï (ÒáÕå ÒØÔÞÒ ÒÝãâàÕÝÝÕÙ íÝÕàÓØØ) Ò
íÝÕàÓØî áØáâÕÜë ÜÞÖÝÞ ãÒØÔÕâì Ø Ø× ×ÐÚÞÝÐ ßàÕÞÑàÐ×ÞÒÐÝØï íÝÕàÓØØ-ØÜßãÛìáÐ
(2.29), ßÕàÕÙÔï Ò ÝÕÜ Ú ßàÕÔÕÛìÝÞÜã áÛãçÐî v/c → 0. ¾çÕÒØÔÝÞ, çâÞ Ò íâÞÜ ßàÕ-
ÔÕÛìÝÞÜ áÛãçÐÕ ÒëàÐÖÕÝØÕ ÔÛï íÝÕàÓØØ E ′ Ò (2.29) ÔÞÛÖÝÞ áâàÕÜØâìáï Ú m0c

2, âÐÚ
ÚÐÚ âÞÛìÚÞ âÞÓÔÐ äÞàÜãÛÐ ÔÛï ßàÕÞÑàÐ×ÞÒÐÝØï ØÜßãÛìáÐ (2.29) ÑãÔÕâ áÞÞâÒÕâáâÒÞ-
ÒÐâì ÚÛÐááØçÕáÚÞÜã ×ÐÚÞÝã áÛÞÖÕÝØï áÚÞàÞáâÕÙ: px = p′x + m0v, ØÛØ vx = v′x + v.
²ÒÕÔÕÝØÕÜ íÝÕàÓØØ ßÞÚÞï âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ ãáâàÐÝïÕâ áãéÕáâÒÞÒÐÒèãî Ò
ÔÞàÕÛïâØÒØáâáÚÞÙ äØ×ØÚÕ ÝÕÞßàÕÔÕÛÕÝÝÞáâì Ò ÒëÑÞàÕ ÝÐçÐÛÐ ÞâáçÕâÐ íÝÕàÓØØ.

∗ ∗ ∗
ÁÔÕÛÐÕÜ ÝÕáÚÞÛìÚÞ ×ÐÜÕçÐÝØÙ, ÞâÝÞáïéØåáï Ú ×ÐÚÞÝã áÞåàÐÝÕÝØï íÝÕàÓØØ-ØÜ-

ßãÛìáÐ Ò âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ.
ÁØáâÕÜã çÐáâØæ ÚÐÚ æÕÛÞÕ ÜÞÖÝÞ åÐàÐÚâÕàØ×ÞÒÐâì ÕÕ íÝÕàÓØÕÙ E Ø ØÜßãÛìáÞÜ

~p. ² ÞÑéÕÜ áÛãçÐÕ, ÞÔÝÐÚÞ, ÝÕÒÞ×ÜÞÖÝÞ ÝÐÙâØ ÒëàÐÖÕÝØï ÔÛï íÝÕàÓØØ Ø ØÜßãÛìáÐ
áØáâÕÜë çÕàÕ× áÞÞâÒÕâáâÒãîéØÕ ÒÕÛØçØÝë ÔÛï ÞâÔÕÛìÝëå çÐáâØæ. ÂÐÚØÕ ÒëàÐÖÕ-
ÝØï ÜÞÖÝÞ ÝÐßØáÐâì ÔÛï áØáâÕÜë ÝÕÒ×ÐØÜÞÔÕÙáâÒãîéØå çÐáâØæ:

E =
N∑

i=1

mi0c
2

√
1− v2

i /c
2
, ~p =

N∑
i=1

mi0~vi√
1− v2

i /c
2
. (2.30)

² áØáâÕÜÕ ÝÕÒ×ÐØÜÞÔÕÙáâÒãîéØå çÐáâØæ áÚÞàÞáâì ÚÐÖÔÞÙ çÐáâØæë ÞáâÐÕâáï
ßÞáâÞïÝÝÞÙ, Ø áÞåàÐÝÕÝØÕ íÝÕàÓØØ Ø ØÜßãÛìáÐ áØáâÕÜë âàØÒØÐÛìÝëÜ ÞÑàÐ×ÞÜ áÛÕ-
ÔãÕâ Ø× ßÞáâÞïÝáâÒÐ ÚÐÖÔÞÓÞ Ø× áÛÐÓÐÕÜëå.

½Þ äÞàÜãÛë (2.30) ßàØÜÕÝØÜë âÐÚÖÕ Ò áÛãçÐÕ áØáâÕÜë Ñëáâàëå çÐáâØæ, Ò×Ð-
ØÜÞÔÕÙáâÒãîéØå ÔàãÓ á ÔàãÓÞÜ âÞÛìÚÞ ÒÞ ÒàÕÜï áâÞÛÚÝÞÒÕÝØÙ, ßàØçÕÜ ÝÕÞÑåÞÔØ-
ÜÞ ßÞÜÝØâì, çâÞ ÐÔÔØâØÒÝÞáâì íÝÕàÓØØ Ø ØÜßãÛìáÐ, ÒëàÐÖÐÕÜÐï äÞàÜãÛÐÜØ (2.30),
ØÜÕÕâ ÜÕáâÞ ÛØèì ÔÞ ÝÐçÐÛÐ Ø ßÞáÛÕ ÚÞÝæÐ Ò×ÐØÜÞÔÕÙáâÒØï (áâÞÛÚÝÞÒÕÝØï), âÞ-
ÓÔÐ ÚÐÚ Ò ßàÞÜÕÖãâÞçÝÞÕ ÒàÕÜï äÞàÜãÛë (2.30) ÝÕßàØÜÕÝØÜë. ·ÐÚÞÝ áÞåàÐÝÕÝØï
íÝÕàÓØØ-ØÜßãÛìáÐ, ãÔÞÒÛÕâÒÞàïîéØÙ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, â. Õ. áßàÐÒÕÔÛØ-
ÒëÙ áàÐ×ã ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ, ÔÛï âÐÚÞÙ áØáâÕÜë çÐáâØæ ÜÞ-
ÖÕâ Ñëâì ×ÐßØáÐÝ áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:
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N∑
i=1

mi0c
2

√
1− v2

i /c
2

=
N∗∑
i=1

m∗
i0c

2

√
1− v∗2i /c2

,

N∑
i=1

mi0~vi√
1− v2

i /c
2

=
N∗∑
i=1

m∗
i0~v

∗
i√

1− v∗2i /c2
,

(2.31)

ÓÔÕ ~vi Ø ~v∗i � áÚÞàÞáâì i-Ù çÐáâØæë ÔÞ ÝÐçÐÛÐ Ø ßÞáÛÕ ÚÞÝæÐ Ò×ÐØÜÞÔÕÙáâÒØï, mi0 Ø
m∗

i0 � ÜÐááÐ i-Ù çÐáâØæë ÔÞ Ø ßÞáÛÕ Ò×ÐØÜÞÔÕÙáâÒØï. ¼Ðááë ÞâÔÕÛìÝëå çÐáâØæ, ÚÐÚ
Ø çØáÛÞ áÛÐÓÐÕÜëå Ò áãÜÜÐå áÛÕÒÐ Ø áßàÐÒÐ ÜÞÓãâ àÐ×ÛØçÐâìáï Ò áÒï×Ø á âÕÜ, çâÞ áÐ-
ÜØ çÐáâØæë Ø ÔÐÖÕ Øå ÚÞÛØçÕáâÒÞ ÜÞÓãâ ßàÕâÕàßÕâì Ø×ÜÕÝÕÝØï Ò àÕ×ãÛìâÐâÕ áâÞÛÚ-
ÝÞÒÕÝØï. ¿àØÜÕàÞÜ ßàÞæÕááÐ á Ø×ÜÕÝÕÝØÕÜ çØáÛÐ çÐáâØæ ÜÞÖÕâ áÛãÖØâì àÞÖÔÕÝØÕ
ßÐàë íÛÕÚâàÞÝ � ßÞ×ØâàÞÝ ßàØ áâÞÛÚÝÞÒÕÝØØ Ñëáâàëå ×ÐàïÖÕÝÝëå çÐáâØæ. ¿ÞÔÞÑ-
ÝëÕ ßàÞæÕááë ÝÞáïâ ÝÐ×ÒÐÝØÕ ÝÕãßàãÓØå, âÐÚ ÚÐÚ ÚØÝÕâØçÕáÚÐï íÝÕàÓØï áâÐÛÚØÒÐ-
îéØåáï çÐáâØæ çÐáâØçÝÞ ßàÕÒàÐéÐÕâáï Ò íÝÕàÓØî ßÞÚÞï ÞÑàÐ×ãîéØåáï ÝÞÒëå çÐ-
áâØæ. ²áÕ ãáÛÞÖÝÕÝØï, ßàÞØáåÞÔïéØÕ Ò âÕÞàØØ ÒáÛÕÔáâÒØÕ Ø×ÜÕÝÕÝØï çØáÛÐ çÐáâØæ,
ÝØÚÞØÜ ÞÑàÐ×ÞÜ ÝÕ áÚÐ×ëÒÐîâáï ÝÐ áßàÐÒÕÔÛØÒÞáâØ ×ÐÚÞÝÐ áÞåàÐÝÕÝØï íÝÕàÓØØ-
ØÜßãÛìáÐ (2.31).

½ÐßÞÜÝØÜ, çâÞ ßàØ ÒëÒÞÔÕ àÕÛïâØÒØáâáÚÞÓÞ ÒëàÐÖÕÝØï ÔÛï ØÜßãÛìáÐ Üë ØáåÞ-
ÔØÛØ Ø× ×ÐÚÞÝÐ ÕÓÞ áÞåàÐÝÕÝØï. ² áÒï×Ø á íâØÜ ÜÞÖÕâ ÒÞ×ÝØÚÝãâì ÒÞßàÞá: Ò çÕÜ ÖÕ
×ÐÚÛîçÐÕâáï äØ×ØçÕáÚÞÕ áÞÔÕàÖÐÝØÕ ×ÐÚÞÝÐ áÞåàÐÝÕÝØï ØÜßãÛìáÐ, ÕáÛØ ØÜßãÛìá
ÞßàÕÔÕÛÕÝ âÐÚ, çâÞÑë ÞÝ áÞåàÐÝïÛáï? ½Õ ïÒÛïîâáï ÛØ ×ÐÚÞÝë áÞåàÐÝÕÝØï ßàÞáâëÜ
áÛÕÔáâÒØÕÜ ÞßàÕÔÕÛÕÝØï, Ð ÝÕ ×ÐÚÞÝÐÜØ ßàØàÞÔë? ½ãÖÝÞ ÛØ ßàØ íâÞÜ ØáÚÐâì Øå
íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ?

´ÕÛÞ Ò âÞÜ, çâÞ ßàØ ÒëÒÞÔÕ ÒëàÐÖÕÝØï ÔÛï ØÜßãÛìáÐ àÐááÜÐâàØÒÐÛáï ßàÞ-
áâÕÙèØÙ ßàØÜÕà ãßàãÓÞÓÞ áâÞÛÚÝÞÒÕÝØï ÔÒãå çÐáâØæ. ½Þ áÞåàÐÝÕÝØÕ íÝÕàÓØØ-ØÜ-
ßãÛìáÐ ßàØ áÐÜëå àÐ×ÝÞÞÑàÐ×Ýëå, ×ÝÐçØâÕÛìÝÞ ÑÞÛÕÕ áÛÞÖÝëå ßàÞæÕááÐå, ÒÚÛî-
çÐï ÝÕãßàãÓØÕ áâÞÛÚÝÞÒÕÝØï á ßàÕÒàÐéÕÝØïÜØ çÐáâØæ ãÖÕ ÝÕ ïÒÛïÕâáï áÛÕÔáâÒØ-
ÕÜ ÞßàÕÔÕÛÕÝØï, Ð ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ äãÝÔÐÜÕÝâÐÛìÝëÙ ×ÐÚÞÝ ßàØàÞÔë. ÍÚáßÕ-
àØÜÕÝâÐÛìÝÐï ßàÞÒÕàÚÐ ÒëßÞÛÝÕÝØï íâÞÓÞ ×ÐÚÞÝÐ ßàÞØ×ÒÞÔØâáï ÕÖÕÔÝÕÒÝÞ Ò åÞÔÕ
ßÞáâÞïÝÝÞÙ àÕÓØáâàÐæØØ áâÞÛÚÝÞÒÕÝØÙ çÐáâØæ ÒëáÞÚØå íÝÕàÓØÙ Ò ÜÝÞÓÞçØáÛÕÝÝëå
ÛÐÑÞàÐâÞàØïå ÒáÕÓÞ ÜØàÐ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
762, 763, 766, 769, 770, 771, 772.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 405�407, [2], áâà. 540�542, [3], áâà.
160�174, [4], áâà. 46�49.

2.5 ¿àÕÞÑàÐ×ÞÒÐÝØÕ áØÛë
ºÐÚ ÑëÛÞ ßÞÚÐ×ÐÝÞ ÒëèÕ, ×ÐÚÞÝë áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ØÜßãÛìáÐ ãÔÞÒÛÕâÒÞàïîâ
ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, â. Õ. ÒëßÞÛÝïîâáï ÒÞ ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå Þâ-
áçÕâÐ. ÀÕÛïâØÒØáâáÚÐï ØÝÒÐàØÐÝâÝÞáâì íâØå ×ÐÚÞÝÞÒ áâÐÛÐ ÞçÕÒØÔÝÞÙ, ÚÞÓÔÐ ÑëÛÞ
ßÞÚÐ×ÐÝÞ, çâÞ íÝÕàÓØï Ø ØÜßãÛìá ÞÑàÐ×ãîâ ÒàÕÜÕÝÝ �ãî Ø ßàÞáâàÐÝáâÒÕÝÝãî áÞáâÐÒ-
ÛïîéØÕ ÞÔÝÞÓÞ çÕâëàÕåÜÕàÝÞÓÞ ÒÕÚâÞàÐ � çÕâëàÕåÒÕÚâÞàÐ íÝÕàÓØØ-ØÜßãÛìáÐ.
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¾áÝÞÒÝÞÕ ãàÐÒÝÕÝØÕ ÔØÝÐÜØÚØ, áÒï×ëÒÐîéÕÕ áÚÞàÞáâì Ø×ÜÕÝÕÝØï àÕÛïâØÒØáâ-
áÚÞÓÞ ØÜßãÛìáÐ çÐáâØæë á ÔÕÙáâÒãîéÕÙ ÝÐ ÝÕÕ áØÛÞÙ, Ð ØÜÕÝÝÞ

d~p

dt
= ~F , (2.32)

âÐÚÖÕ ãÔÞÒÛÕâÒÞàïÕâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, åÞâï Ø ÝÕ ØÜÕÕâ çÕâëàÕåÜÕàÝÞÙ
äÞàÜë, Ò ÚÞâÞàÞÙ àÕÛïâØÒØáâáÚÐï ØÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØï ÑëÛÐ Ñë ÞçÕÒØÔÝÞÙ.
ÂàÕåÜÕàÝëÙ ØÜßãÛìá ~p � íâÞ ßàÞáâàÐÝáâÒÕÝÝÐï çÐáâì çÕâëàÕåÒÕÚâÞàÐ, ÝÞ ÕÓÞ ßàÞ-
Ø×ÒÞÔÝÐï ßÞ ÒàÕÜÕÝØ ãÖÕ âÐÚÞÒÞÙ ÝÕ ïÒÛïÕâáï Ø ÞÑÛÐÔÐÕâ ØÝëÜØ âàÐÝáäÞàÜÐæØÞÝ-
ÝëÜØ áÒÞÙáâÒÐÜØ.

¾áÝÞÒÝÞÜã ãàÐÒÝÕÝØî àÕÛïâØÒØáâáÚÞÙ ÔØÝÐÜØÚØ ÜÞÖÝÞ ßàØÔÐâì çÕâëàÕåÜÕà-
Ýãî äÞàÜã, ÕáÛØ Ò ÛÕÒÞÙ çÐáâØ (2.32) ÒÜÕáâÞ áÚÞàÞáâØ Ø×ÜÕÝÕÝØï ØÜßãÛìáÐ çÐ-
áâØæë Ò ÒëÑàÐÝÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ àÐááÜÐâàØÒÐâì ßàÞØ×ÒÞÔÝãî çÕâëàÕåÒÕÚâÞàÐ
íÝÕàÓØØ-ØÜßãÛìáÐ çÐáâØæë ßÞ ØÝÒÐàØÐÝâÝÞÜã áÞÑáâÒÕÝÝÞÜã ÒàÕÜÕÝØ íâÞÙ çÐáâØ-
æë, â. Õ. (1

c
dE/dτ, d~p/dτ ). ÂÞÓÔÐ Ò ßàÐÒÞÙ çÐáâØ ÞáÝÞÒÝÞÓÞ ãàÐÒÝÕÝØï ÔØÝÐÜØÚØ

ÒÜÕáâÞ ÞÑëçÝÞÙ áØÛë ÑãÔÕâ áâÞïâì ÝÕÚÞâÞàëÙ çÕâëàÕåÜÕàÝëÙ ÒÕÚâÞà, ÝÐ×ëÒÐÕ-
ÜëÙ áØÛÞÙ ¼ØÝÚÞÒáÚÞÓÞ. ½Õ ßàØÒÞÔï ïÒÝëå ÒëàÐÖÕÝØÙ ÔÛï áØÛ ¼ØÝÚÞÒáÚÞÓÞ ßàØ
àÐ×Ýëå Ò×ÐØÜÞÔÕÙáâÒØïå, ÞâÜÕâØÜ ÛØèì, çâÞ äØ×ØçÕáÚÞÕ áÞÔÕàÖÐÝØÕ ßàÞáâàÐÝ-
áâÒÕÝÝÞÙ çÐáâØ âÐÚÞÓÞ çÕâëàÕåÜÕàÝÞÓÞ àÕÛïâØÒØáâáÚØ ØÝÒÐàØÐÝâÝÞÓÞ ãàÐÒÝÕÝØï
ÞáÝÞÒÝÞÓÞ ×ÐÚÞÝÐ ÔØÝÐÜØÚØ íÚÒØÒÐÛÕÝâÝÞ ÞÑëçÝÞÜã âàÕåÜÕàÝÞÜã ×ÐÚÞÝã (2.32), Ð
ÒàÕÜÕÝÝ �Ðï áÞáâÐÒÛïîéÐï áÞÞâÒÕâáâÒãÕâ ÞÑëçÝÞÜã ãàÐÒÝÕÝØî

dE

dt
= ~F · ~v, (2.33)

áÒï×ëÒÐîéÕÜã áÚÞàÞáâì Ø×ÜÕÝÕÝØï íÝÕàÓØØ çÐáâØæë á àÐÑÞâÞÙ, áÞÒÕàèÐÕÜÞÙ Ò
ÕÔØÝØæã ÒàÕÜÕÝØ ÔÕÙáâÒãîéÕÙ ÝÐ çÐáâØæã áØÛÞÙ ~F .

² ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ ãàÐÒÝÕÝØÕ (2.32) áÞÓÛÐáãÕâáï á ßàØÝæØßÞÜ ÞâÝÞáØ-
âÕÛìÝÞáâØ, ÚÞÓÔÐ ßÕàÕåÞÔ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ ßàÞØ×-
ÒÞÔØâáï ßÞ äÞàÜãÛÐÜ ßàÕÞÑàÐ×ÞÒÐÝØÙ ³ÐÛØÛÕï. ½Þ Ò àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ ÒÕ-
ÛØçØÝë, ÒåÞÔïéØÕ Ò ÛÕÒãî Ø ßàÐÒãî çÐáâØ ãàÐÒÝÕÝØï (2.32), ÝÕ ÞáâÐîâáï ÝÕØ×ÜÕÝ-
ÝëÜØ ßàØ ßÕàÕåÞÔÕ Ú ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ ßÞ ßàÕÞÑàÐ×ÞÒÐÝØïÜ »ÞàÕÝæÐ. ½ÐÙ-
ÔÕÜ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï íâØå ÒÕÛØçØÝ ßàØ ßÕàÕåÞÔÕ Þâ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë
K ′, Ò ÚÞâÞàÞÙ àÐááÜÐâàØÒÐÕÜÐï çÐáâØæÐ Ò ÔÐÝÝëÙ ÜÞÜÕÝâ ßÞÚÞØâáï (âÐÚ ÝÐ×ëÒÐÕ-
ÜÐï áÞßãâáâÒãîéÐï ØÝÕàæØÐÛìÝÐï áØáâÕÜÐ ÞâáçÕâÐ), Ú áØáâÕÜÕ ÞâáçÕâÐ K, ÞâÝÞáØ-
âÕÛìÝÞ ÚÞâÞàÞÙ áØáâÕÜÐ K ′ ÔÒØÖÕâáï á ÝÕÚÞâÞàÞÙ áÚÞàÞáâìî ~v. ÂÐÚãî ÖÕ áÚÞàÞáâì
~v Ò áØáâÕÜÕ ÞâáçÕâÐ K ØÜÕÕâ Ò ÔÐÝÝëÙ ÜÞÜÕÝâ Ø àÐááÜÐâàØÒÐÕÜÐï çÐáâØæÐ.

¸× äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ ÔÛï íÝÕàÓØØ-ØÜßãÛìáÐ (2.29) áÛÕÔãÕâ, çâÞ
Ò áØáâÕÜÐå ÞâáçÕâÐ K Ø K ′ ßàØàÐéÕÝØï ßÞßÕàÕçÝëå (Ú ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ áØ-
áâÕÜ ÞâáçÕâÐ) ÚÞÜßÞÝÕÝâ ØÜßãÛìáÐ çÐáâØæë ÞÔØÝÐÚÞÒë:

∆py = ∆p′y, ∆pz = ∆p′z. (2.34)
¿àÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ∆t′ ÜÕÖÔã ÔÒãÜï ÑÛØ×ÚØÜØ áÞÑëâØïÜØ ÝÐ ÜØàÞÒÞÙ ÛØÝØØ çÐ-
áâØæë, Ø×ÜÕàÕÝÝëÙ Ò áÞßãâáâÒãîéÕÙ áØáâÕÜÕ ÞâáçÕâÐ K ′, ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ áÞÑ-
áâÒÕÝÝÞÕ ÒàÕÜï ∆τ0 ÔÛï ÔÐÝÝÞÙ ßÐàë áÞÑëâØÙ. ¾Ý áÒï×ÐÝ á ßàÞÜÕÖãâÚÞÜ ÒàÕÜÕÝØ
∆t ÜÕÖÔã íâØÜØ ÖÕ ÑÛØ×ÚØÜØ áÞÑëâØïÜØ Ò áØáâÕÜÕ ÞâáçÕâÐ K áÞÞâÝÞèÕÝØÕÜ (1.6):

∆t′ = ∆t
√

1− v2/c2. (2.35)
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¸× áÞÞâÝÞèÕÝØÙ (2.34) Ø (2.35) áÛÕÔãÕâ, çâÞ

∆py

∆t
=

√
1− v2/c2

∆p′y
∆t′

,
∆pz

∆t
=

√
1− v2/c2

∆p′z
∆t′

. (2.36)

ÍâØ áÞÞâÝÞèÕÝØï ßÞÚÐ×ëÒÐîâ, ÚÐÚ ßàÕÞÑàÐ×ãîâáï ßàØ ßÕàÕåÞÔÕ Ú ÔàãÓÞÙ áØáâÕÜÕ
ÞâáçÕâÐ ßÞßÕàÕçÝëÕ ÚÞÜßÞÝÕÝâë ÛÕÒÞÙ çÐáâØ ÞáÝÞÒÝÞÓÞ ×ÐÚÞÝÐ ÔØÝÐÜØÚØ (2.32).
ÂÐÚ ÚÐÚ Ò ãàÐÒÝÕÝØØ (2.32) ÛÕÒÐï Ø ßàÐÒÐï çÐáâØ ßàÕÞÑàÐ×ãîâáï ßàØ ßÕàÕåÞÔÕ Ú
ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÞÔØÝÐÚÞÒëÜ ÞÑàÐ×ÞÜ, Ø× (2.36) ßÞÛãçÐÕÜ ×ÐÚÞÝ ßàÕÞÑàÐ×Þ-
ÒÐÝØï ßÞßÕàÕçÝëå áÞáâÐÒÛïîéØå F⊥ (âàÕåÜÕàÝÞÙ) áØÛë ~F :

F⊥ = F ′
⊥
√

1− v2/c2 (2.37)
� ØÜÕÝÝÞ âÐÚ ßÞßÕàÕçÝÐï Ú ÝÐßàÐÒÛÕÝØî ÔÒØÖÕÝØï çÐáâØæë (â. Õ. Ú ÒÕÚâÞàã ~v) áÞ-
áâÐÒÛïîéÐï áØÛë F⊥ Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ K áÒï×ÐÝÐ á áØÛÞÙ F ′

⊥ Ò áÞ-
ßãâáâÒãîéÕÙ áØáâÕÜÕ ÞâáçÕâÐ K ′. ² áÞßãâáâÒãîéÕÙ áØáâÕÜÕ, ÓÔÕ çÐáâØæÐ Ò ÔÐÝÝëÙ
ÜÞÜÕÝâ ßÞÚÞØâáï, ßÞßÕàÕçÝÐï áØÛÐ ØÜÕÕâ ÝÐØÑÞÛìèãî ÒÕÛØçØÝã.

¾áâÐÕâáï ÝÐÙâØ, ÚÐÚ ßàÕÞÑàÐ×ãÕâáï áÞáâÐÒÛïîéÐï áØÛë Fx = F‖, ßàÞÔÞÛìÝÐï Ú
ÝÐßàÐÒÛÕÝØî ÔÒØÖÕÝØï çÐáâØæë. ¸× ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (2.29) ÔÛï ØÜßãÛìáÐ
ÝÐåÞÔØÜ:

∆px =
∆p′x + v∆E ′/c2

√
1− v2/c2

. (2.38)

¿ÞÚÐÖÕÜ, çâÞ Ò áÞßãâáâÒãîéÕÙ áØáâÕÜÕ ÞâáçÕâÐ K ′ íÛÕÜÕÝâÐàÝÞÕ ßàØàÐéÕÝØÕ
íÝÕàÓØØ ∆E ′ àÐÒÝÞ ÝãÛî. ÍÝÕàÓØï çÐáâØæë E ′ ÒëàÐÖÐÕâáï çÕàÕ× ÕÕ ØÜßãÛìá p′ =
p′x, ÚÐÚ áÛÕÔãÕâ Ø× äÞàÜãÛë (2.23), áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

E ′ =
√

m2
0c

4 + p′2x c2. (2.39)

¾âáîÔÐ ÝÐåÞÔØÜ áÒï×ì ßàØàÐéÕÝØï íÝÕàÓØØ ∆E ′ á ßàØàÐéÕÝØÕÜ ∆p′x ßàÞÔÞÛìÝÞÙ
áÞáâÐÒÛïîéÕÙ ØÜßãÛìáÐ:

∆E ′ =
p′x∆p′x · c2

√
m2

0c
4 + p′2x c2

. (2.40)

½Þ Ò áÞßãâáâÒãîéÕÙ áØáâÕÜÕ ÞâáçÕâÐ K ′ Ò ÔÐÝÝëÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ áÚÞàÞáâì çÐ-
áâØæë Ø ÕÕ ØÜßãÛìá p′x àÐÒÝë ÝãÛî. ¿ÞíâÞÜã Ø× (2.40) áÛÕÔãÕâ, çâÞ ßàØàÐéÕÝØÕ
íÝÕàÓØØ ∆E ′ àÐÒÝÞ ÝãÛî, Ø (2.38) ÔÐÕâ áÛÕÔãîéãî áÒï×ì ßàØàÐéÕÝØÙ ßàÞÔÞÛìÝÞÙ
áÞáâÐÒÛïîéÕÙ ØÜßãÛìáÐ Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ:

∆px = ∆p′x/
√

1− v2/c2. (2.41)
²ÜÕáâÕ á áÞÞâÝÞèÕÝØÕÜ (2.35) íâÞ ÔÐÕâ ÝÐÜ

∆px

∆t
=

∆p′x
∆t′

(2.42)
� áÚÞàÞáâì Ø×ÜÕÝÕÝØï ØÜßãÛìáÐ çÐáâØæë Ò ßàÞÔÞÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞÔØÝÐÚÞÒÐ Ò
ÞÑÕØå áØáâÕÜÐå ÞâáçÕâÐ. ¿ÞíâÞÜã Ø ßàÞÔÞÛìÝÐï áÞáâÐÒÛïîéÐï (âàÕåÜÕàÝÞÙ) áØÛë
Fx = F‖ ØÜÕÕâ ÞÔÝÞ Ø âÞ ÖÕ ×ÝÐçÕÝØÕ ÚÐÚ Ò áÞßãâáâÒãîéÕÙ, âÐÚ Ø Ò ÛîÑÞÙ ÔàãÓÞÙ
áØáâÕÜÕ ÞâáçÕâÐ:

65



F‖ = F ′
‖. (2.43)

¸× ßÞÛãçÕÝÝëå äÞàÜãÛ ßàÕÞÑàÐ×ÞÒÐÝØï (âàÕåÜÕàÝÞÙ) áØÛë (2.37) Ø (2.43) ÒØÔ-
ÝÞ, çâÞ ÕáÛØ Ò ÚÐÚÞÙ-âÞ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÔÕÙáâÒãîéÐï ÝÐ çÐáâØæã
áØÛÐ àÐÒÝÐ ÝãÛî, âÞ ÞÝÐ ÑãÔÕâ àÐÒÝÐ ÝãÛî Ø Ò ÛîÑÞÙ ÔàãÓÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ
ÞâáçÕâÐ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú
ÔàãÓÞÙ áØÛë ßàÕÞÑàÐ×ãîâáï, ÝÞ ÝÕ ßÞïÒÛïîâáï Ø ÝÕ ØáçÕ×Ðîâ. ÍâÞ áÒÞÙáâÒÞ
ÜÞÖÝÞ ÑëÛÞ ßàÕÔÒØÔÕâì Ø ÝÕßÞáàÕÔáâÒÕÝÝÞ ÝÐ ÞáÝÞÒÐÝØØ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞ-
áâØ: ÕáÛØ Ò ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÝÐ âÕÛÞ ÝÕ ÔÕÙáâÒãîâ áØÛë Ø ÞÝÞ
ÔÒØÖÕâáï ßÞ ØÝÕàæØØ (á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî), âÞ âÞ ÖÕ áÐÜÞÕ ÑãÔÕâ Ø Ò ÛîÑÞÙ
ÔàãÓÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ.

ÄÞàÜãÛë ßàÕÞÑàÐ×ÞÒÐÝØï áØÛë (2.37) Ø (2.43) ØÓàÐîâ ÒÐÖÝãî àÞÛì Ò ÔÐÛìÝÕÙ-
èÕÜ Ø×ÛÞÖÕÝØØ ßàØ Ø×ãçÕÝØØ àÕÛïâØÒØáâáÚØå ÐáßÕÚâÞÒ íÛÕÚâàÞÜÐÓÝÕâØ×ÜÐ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì ×ÐÔÐçã 764 Ø× [6].

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 417�418.

2.6 ¿àÞáâëÕ ×ÐÔÐçØ àÕÛïâØÒØáâáÚÞÙ ÔØÝÐÜØÚØ
´Ûï àÕèÕÝØï ×ÐÔÐç àÕÛïâØÒØáâáÚÞÙ ÔØÝÐÜØÚØ Þ ÔÒØÖÕÝØØ çÐáâØæë ßÞÔ ÔÕÙáâÒØÕÜ
×ÐÔÐÝÝÞÙ áØÛë ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì ÞáÝÞÒÝÞÕ ãàÐÒÝÕÝØÕ ÔØÝÐÜØÚØ âÞçÚØ (2.32)

d~p

dt
= ~F (2.44)

ÒÜÕáâÕ á áÞÞâÝÞèÕÝØÕÜ (2.23) ØÛØ (2.39), ÒëàÐÖÐîéØÜ íÝÕàÓØî çÐáâØæë çÕàÕ× ÕÕ
ØÜßãÛìá:

E =
√

m2
0c

4 + p2c2. (2.45)

ÃàÐÒÝÕÝØÕ (2.44) ÔÐÕâ ÒÞ×ÜÞÖÝÞáâì ÝÐÙâØ ×ÐÒØáØÜÞáâì ØÜßãÛìáÐ çÐáâØæë Þâ
ÒàÕÜÕÝØ ~p(t), ÕáÛØ Ø×ÒÕáâÝÐ ßÞÛÝÐï áØÛÐ ~F , ÔÕÙáâÒãîéÐï ÝÐ çÐáâØæã. ·ÐâÕÜ ÜÞÖÝÞ
ÝÐÙâØ ÔÒØÖÕÝØÕ çÐáâØæë, â. Õ. ßÞÛãçØâì ×ÐÒØáØÜÞáâì áÚÞàÞáâØ Ø ÚÞÞàÔØÝÐâ çÐáâØ-
æë Þâ ÒàÕÜÕÝØ. ´Ûï íâÞÓÞ ÝãÖÝÞ ÒëàÐ×Øâì áÚÞàÞáâì çÐáâØæë çÕàÕ× ÕÕ ØÜßãÛìá Ø
íÝÕàÓØî, ÒÞáßÞÛì×ÞÒÐÒèØáì áÞÞâÝÞèÕÝØÕÜ (2.21):

~v =
c2

E
~p. (2.46)

¿àØÒÕÔÕÜ ÝÕáÚÞÛìÚÞ ßàÞáâëå ßàØÜÕàÞÒ àÕèÕÝØï ×ÐÔÐç àÕÛïâØÒØáâáÚÞÙ ÔØÝÐ-
ÜØÚØ Þ ÔÒØÖÕÝØØ çÐáâØæ Ò áØÛÞÒëå ßÞÛïå.

• ² ÚÐçÕáâÒÕ ßÕàÒÞÓÞ ßàØÜÕàÐ àÐááÜÞâàØÜ ÔÒØÖÕÝØÕ ßÕàÒÞÝÐçÐÛìÝÞ ßÞÚÞØÒ-
èÕÙáï çÐáâØæë á ×ÐàïÔÞÜ q Ø ÜÐááÞÙ ßÞÚÞï m0 Ò ÞÔÝÞàÞÔÝÞÜ ßÞáâÞïÝÝÞÜ íÛÕÚ-
âàØçÕáÚÞÜ ßÞÛÕ ÝÐßàïÖÕÝÝÞáâìî ~E . ´ÕÙáâÒãîéÐï ÝÐ çÐáâØæã áØÛÐ ~F ßÞáâÞïÝÝÐ Ø
àÐÒÝÐ q~E . ² íâÞÜ áÛãçÐÕ Ø× ÞáÝÞÒÝÞÓÞ ãàÐÒÝÕÝØï ÔØÝÐÜØÚØ âÞçÚØ (2.44) ÝÕÜÕÔÛÕÝÝÞ
áÛÕÔãÕâ, çâÞ ØÜßãÛìá çÐáâØæë àÐáâÕâ ßàÞßÞàæØÞÝÐÛìÝÞ ÒàÕÜÕÝØ:

~p(t) = ~F t. (2.47)
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¿ÞÔáâÐÒÛïï íâÞ ÒëàÐÖÕÝØÕ ÔÛï ØÜßãÛìáÐ Ò äÞàÜãÛã (2.45), ßÞÛãçØÜ ×ÐÒØáØÜÞáâì
íÝÕàÓØØ çÐáâØæë Þâ ÒàÕÜÕÝØ:

E(t) = c
√

m2
0c

2 + (F t)2. (2.48)

ÂÕßÕàì á ßÞÜÞéìî (2.46) ÝÐåÞÔØÜ áÚÞàÞáâì çÐáâØæë ~v(t) áßãáâï ßàÞÜÕÖãâÞÚ ÒàÕ-
ÜÕÝØ t ßÞáÛÕ ÝÐçÐÛÐ ÔÒØÖÕÝØï:

~v(t) =
~F t

m0

√
1 + (Ft/m0c)2

. (2.49)

0

c

v(t)

t

ÀØá. 2.5: ÁÚÞàÞáâì çÐáâØæë ßàØ ÔÒØÖÕÝØØ ßÞÔ ÔÕÙáâÒØÕÜ ßÞáâÞïÝÝÞÙ áØÛë

·ÐÒØáØÜÞáâì ÒÕÛØçØÝë áÚÞàÞáâØ çÐáâØæë Þâ ÒàÕÜÕÝØ ßàØ ÔÒØÖÕÝØØ ßÞÔ ÔÕÙ-
áâÒØÕÜ ßÞáâÞïÝÝÞÙ áØÛë, ÒëàÐÖÐÕÜÐï äÞàÜãÛÞÙ (2.49), ßÞÚÐ×ÐÝÐ ÝÐ àØá. 2.5. ¿Þ-
ÚÐ Ft/m0c ¿ 1 (ÒàÕÜï, ßàÞèÕÔèÕÕ á ÝÐçÐÛÐ ÔÒØÖÕÝØï, ÜÐÛ �Þ, íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ
ÔÞáâÐâÞçÝÞ áÛÐÑÞÕ), Ò ßÞÔÚÞàÕÝÝÞÜ ÒëàÐÖÕÝØØ Ò (2.49) ÜÞÖÝÞ ßàÕÝÕÑàÕçì ÒâÞàëÜ
áÛÐÓÐÕÜëÜ. ÂÞÓÔÐ ÔÛï áÚÞàÞáâØ ~v(t) çÐáâØæë, ßÞÛãçÐîéÕÙ ãáÚÞàÕÝØÕ ßÞÔ ÔÕÙáâÒØ-
ÕÜ ßÞáâÞïÝÝÞÙ áØÛë ~F , ßÞÛãçÐÕâáï ÞÑëçÝÞÕ ÝÕàÕÛïâØÒØáâáÚÞÕ ÒëàÐÖÕÝØÕ, Ò áÞÞâ-
ÒÕâáâÒØØ á ÚÞâÞàëÜ áÚÞàÞáâì çÐáâØæë àÐáâÕâ ßàÞßÞàæØÞÝÐÛìÝÞ ÒàÕÜÕÝØ:

~v(t) =
~F

m0

t. (2.50)

ÍâÞÜã ÒëàÐÖÕÝØî áÞÞâÒÕâáâÒãÕâ ÝÐçÐÛìÝëÙ (ßàïÜÞÛØÝÕÙÝëÙ) ãçÐáâÞÚ ÓàÐäØÚÐ ÝÐ
àØá. 2.5. ² ßàÞâØÒÞßÞÛÞÖÝÞÜ áÛãçÐÕ m0c/F t ¿ 1 Ø× (2.49) ÔÛï ÐÑáÞÛîâÝÞÙ ÒÕÛØ-
çØÝë áÚÞàÞáâØ çÐáâØæë ßÞÛãçÐÕÜ:

v(t) ≈ c

[
1− 1

2

(m0c

F t

)2
]

(2.51)

� á âÕçÕÝØÕÜ ÒàÕÜÕÝØ áÚÞàÞáâì çÐáâØæë áâàÕÜØâáï Ú ÚÞÝÕçÝÞÜã ßàÕÔÕÛã v → c,
ÝÕáÜÞâàï ÝÐ âÞ, çâÞ ØÜßãÛìá çÐáâØæë, Ò áÞÞâÒÕâáâÒØØ á (2.47), àÐáâÕâ ÝÕÞÓàÐÝØçÕÝ-
ÝÞ.

• ÀÐááÜÞâàØÜ ×ÐàïÖÕÝÝãî çÐáâØæã á ØÜßãÛìáÞÜ p0, ÝÐßàÐÒÛÕÝÝëÜ ÒÔÞÛì ÞáØ
Oy, ÚÞâÞàÐï ÒÛÕâÐÕâ Ò ÞÔÝÞàÞÔÝÞÕ ßÞáâÞïÝÝÞÕ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ~E , ÝÐßàÐÒÛÕÝÝÞÕ
ÒÔÞÛì ÞáØ Ox. ¿Þ ÚÐÚÞÙ âàÐÕÚâÞàØØ x = x(y) ÔÒØÖÕâáï çÐáâØæÐ?

·ÐßØèÕÜ ãàÐÒÝÕÝØï ÔÒØÖÕÝØï (2.44) Ò ßàÞÕÚæØïå ÝÐ ÞáØ ÚÞÞàÔØÝÐâ Ox, Oy Ø
ßàÞØÝâÕÓàØàãÕÜ Øå á áÞÞâÒÕâáâÒãîéØÜØ ÝÐçÐÛìÝëÜØ ãáÛÞÒØïÜØ. ÂÐÚØÜ ÞÑàÐ×ÞÜ
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ÝÐåÞÔØÜ ßàÞÕÚæØØ ØÜßãÛìáÐ çÐáâØæë px(t) Ø py(t) ÚÐÚ äãÝÚæØØ ÒàÕÜÕÝØ. ·ÐâÕÜ á
ßÞÜÞéìî áÞÞâÝÞèÕÝØï (2.45) ÒëçØáÛïÕÜ íÝÕàÓØî çÐáâØæë E(t). ¿ÞÔáâÐÒÛïï px(t),
py(t) Ø E(t) Ò äÞàÜãÛë (2.46), ÝÐåÞÔØÜ ßàÞÕÚæØØ áÚÞàÞáâØ çÐáâØæë vx(t) Ø vy(t)
ÚÐÚ äãÝÚæØØ ÒàÕÜÕÝØ. ¸ÝâÕÓàØàãï ßÞÛãçÕÝÝëÕ ÒëàÐÖÕÝØï ßÞ ÒàÕÜÕÝØ, ßÞÛãçÐÕÜ
áÛÕÔãîéØÕ ÒëàÐÖÕÝØï ÔÛï ÚÞÞàÔØÝÐâ çÐáâØæë Ò ×ÐÒØáØÜÞáâØ Þâ ÒàÕÜÕÝØ:

x(t) =
1

F

√
E2

0 + (cF t)2 − E0

F
, (2.52)

y(t) =
p0c

F
Arsh

(
cF t

E0

)
, ÓÔÕ E0 = c

√
p2

0 + m2
0c

2. (2.53)

·ÔÕáì ~F = q~E � ßÞáâÞïÝÝÐï áØÛÐ, ÔÕÙáâÒãîéÐï ÝÐ çÐáâØæã Ò íÛÕÚâàØçÕáÚÞÜ ßÞÛÕ
~E , Ð E0 � ÝÐçÐÛìÝÐï íÝÕàÓØï çÐáâØæë, ÒÛÕâÐîéÕÙ Ò íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ. ÅÐàÐÚâÕà-
ÝÞ, çâÞ ÒÞ×àÐáâÐÝØÕ íÝÕàÓØØ çÐáâØæë ßàØ ÕÕ ãáÚÞàÕÝØØ íÛÕÚâàØçÕáÚØÜ ßÞÛÕÜ ßàØ-
ÒÞÔØâ Ú ãÜÕÝìèÕÝØî y-áÞáâÐÒÛïîéÕÙ ÕÕ áÚÞàÞáâØ (y-áÞáâÐÒÛïîéÐï ÕÕ ØÜßãÛì-
áÐ ÞáâÐÕâáï ßàØ íâÞÜ ÝÕØ×ÜÕÝÝÞÙ, âÐÚ ÚÐÚ dpy/dt = 0). ÃàÐÒÝÕÝØï (2.52) Ø (2.53)
×ÐÔÐîâ âàÐÕÚâÞàØî çÐáâØæë Ò ßÐàÐÜÕâàØçÕáÚÞÜ ÒØÔÕ. ÇâÞÑë ßÞÛãçØâì ãàÐÒÝÕÝØÕ
âàÐÕÚâÞàØØ çÐáâØæë Ò ïÒÝÞÜ ÒØÔÕ, ÝãÖÝÞ ØáÚÛîçØâì Ø× ÝØå ÒàÕÜï t. ² àÕ×ãÛìâÐâÕ
ÝÐåÞÔØÜ áÛÕÔãîéãî áÒï×ì ÜÕÖÔã ÚÞÞàÔØÝÐâÐÜØ x Ø y:

x(y) =
E0

F

(
ch

Fy

p0c
− 1

)
. (2.54)

x

 y

1
2

0

ÀØá. 2.6: ÂàÐÕÚâÞàØï çÐáâØæë, ÝÐ ÚÞâÞàãî ÔÕÙáâÒãÕâ ßÞáâÞïÝÝÐï áØÛÐ, ÝÐßàÐÒÛÕÝ-
ÝÐï ÒÔÞÛì ÞáØ Ox

ÂÐÚØÜ ÞÑàÐ×ÞÜ, âàÐÕÚâÞàØï çÐáâØæë ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ æÕßÝãî ÛØÝØî (ÓàÐ-
äØÚ ÓØßÕàÑÞÛØçÕáÚÞÓÞ ÚÞáØÝãáÐ, ÚàØÒÐï 1 ÝÐ àØá. 2.6). µáÛØ ÝÐçÐÛìÝÐï áÚÞàÞáâì
çÐáâØæë ÜÐÛÐ ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî áÒÕâÐ (v0 ¿ c), Ò äÞàÜãÛÕ (2.54) ÜÞÖÝÞ
ßÞÛÞÖØâì p0 ≈ m0v0 Ø E0 ≈ m0c

2. ½Ð ÝÐçÐÛìÝÞÜ ãçÐáâÚÕ âàÐÕÚâÞàØØ Fy/p0c ¿ 1 Ø
ÓØßÕàÑÞÛØçÕáÚØÙ ÚÞáØÝãá ÜÞÖÝÞ àÐ×ÛÞÖØâì Ò àïÔ, ÞÓàÐÝØçØÒÐïáì çÛÕÝÐÜØ ÒâÞàÞÓÞ
ßÞàïÔÚÐ: ch α ≈ 1 + 1

2
α2. ² àÕ×ãÛìâÐâÕ Ø× (2.54) ßÞÛãçÐÕÜ:

x(y) =
F

2m0v2
0

y2 (2.55)

� Ò íâÞÜ ßàØÑÛØÖÕÝØØ âàÐÕÚâÞàØî çÐáâØæë ÜÞÖÝÞ áçØâÐâì ßÐàÐÑÞÛÞÙ (ÚàØÒÐï 2
ÝÐ àØá. 2.6), çâÞ áÞÒßÐÔÐÕâ á Ø×ÒÕáâÝëÜ àÕ×ãÛìâÐâÞÜ àÕèÕÝØï íâÞÙ ×ÐÔÐçØ Ò ÚÛÐá-
áØçÕáÚÞÙ ÜÕåÐÝØÚÕ.
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• ² ÚÐçÕáâÒÕ âàÕâìÕÓÞ ßàØÜÕàÐ àÐááÜÞâàØÜ ÒÐÖÝãî Ò ßàÐÚâØçÕáÚÞÜ ÞâÝÞèÕÝØØ
×ÐÔÐçã Þ ÔÒØÖÕÝØØ ×ÐàïÖÕÝÝÞÙ çÐáâØæë Ò ÞÔÝÞàÞÔÝÞÜ ßÞáâÞïÝÝÞÜ ÜÐÓÝØâÝÞÜ ßÞÛÕ
~B. ´Ûï íâÞÓÞ áÛãçÐï Ò ßàÐÒãî çÐáâì ãàÐÒÝÕÝØï ÔÒØÖÕÝØï (2.44) áÛÕÔãÕâ ßÞÔáâÐÒØâì
áØÛã »ÞàÕÝæÐ:

d~p

dt
=

q

c
~v × ~B. (2.56)

ÁØÛÐ »ÞàÕÝæÐ, ÔÕÙáâÒãîéÐï ÝÐ çÐáâØæã áÞ áâÞàÞÝë ÜÐÓÝØâÝÞÓÞ ßÞÛï, ßÕàßÕÝÔØÚã-
ÛïàÝÐ áÚÞàÞáâØ çÐáâØæë Ø ßÞíâÞÜã ÝÕ Ø×ÜÕÝïÕâ íÝÕàÓØØ çÐáâØæë:

dE

dt
= ~F · ~v = 0. (2.57)

² ÜÐÓÝØâÝÞÜ ßÞÛÕ ØÜßãÛìá çÐáâØæë Ø ÕÕ áÚÞàÞáâì Ø×ÜÕÝïîâáï âÞÛìÚÞ ßÞ ÝÐßàÐÒ-
ÛÕÝØî, ÞáâÐÒÐïáì ÝÕØ×ÜÕÝÝëÜØ ßÞ ÒÕÛØçØÝÕ. ²ÞáßÞÛì×ÞÒÐÒèØáì äÞàÜãÛÞÙ (2.46),
ÒëàÐÖÐîéÕÙ áÚÞàÞáâì çÐáâØæë çÕàÕ× ØÜßãÛìá Ø íÝÕàÓØî, ÜÞÖÝÞ ßàØÒÕáâØ ãàÐÒ-
ÝÕÝØÕ (2.56) Ú áÛÕÔãîéÕÜã ÒØÔã:

d~v

dt
=

qc

E
~v × ~B. (2.58)

²ÒÞÔï ÞÑÞ×ÝÐçÕÝØÕ

~ω = −qc ~B/E, (2.59)
ßàØÔÐÔØÜ ãàÐÒÝÕÝØî (2.58) áÛÕÔãîéØÙ ÒØÔ:

d~v

dt
= ~ω × ~v. (2.60)

ÍâÞ ãàÐÒÝÕÝØÕ ÓÞÒÞàØâ Þ âÞÜ, çâÞ ÒÕÚâÞà áÚÞàÞáâØ çÐáâØæë v àÐÒÝÞÜÕàÝÞ ÞßØáëÒÐ-
Õâ ÚàãÓÞÒÞÙ ÚÞÝãá ÒÞÚàãÓ ÝÐßàÐÒÛÕÝØï ÒÕÚâÞàÐ ~ω (âÐÚÞÕ ßÞÒÕÔÕÝØÕ ÝÐ×ëÒÐîâ ßàÕ-
æÕááØÕÙ). ´Ûï ßÞÛÞÖØâÕÛìÝÞ ×ÐàïÖÕÝÝÞÙ çÐáâØæë ÒÕÚâÞà ~ω ÝÐßàÐÒÛÕÝ ßàÞâØÒÞßÞ-
ÛÞÖÝÞ ÒÕÚâÞàã ØÝÔãÚæØØ ~B. ÁÞáâÐÒÛïîéÐï ÒÕÚâÞàÐ áÚÞàÞáâØ v ÒÔÞÛì ÝÐßàÐÒÛÕÝØï
ÜÐÓÝØâÝÞÓÞ ßÞÛï ÞáâÐÕâáï ÝÕØ×ÜÕÝÝÞÙ, Ð áÞáâÐÒÛïîéÐï, ßÕàßÕÝÔØÚãÛïàÝÐï ÜÐÓ-
ÝØâÝÞÜã ßÞÛî, àÐÒÝÞÜÕàÝÞ ÒàÐéÐÕâáï á ãÓÛÞÒÞÙ áÚÞàÞáâìî

ω =
qcB
E

=
qB
m0c

√
1− v2

c2
. (2.61)

ÂàÐÕÚâÞàØï çÐáâØæë ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÒØÝâÞÒãî ÛØÝØî, ÚÞâÞàÐï ßÞÛãçÐÕâáï áÛÞ-
ÖÕÝØÕÜ àÐÒÝÞÜÕàÝÞÓÞ ÔÒØÖÕÝØï ÒÔÞÛì ÜÐÓÝØâÝÞÓÞ ßÞÛï Ø àÐÒÝÞÜÕàÝÞÓÞ ÞÑàÐéÕ-
ÝØï á ãÓÛÞÒÞÙ áÚÞàÞáâìî ω Ò ßÛÞáÚÞáâØ, ßÕàßÕÝÔØÚãÛïàÝÞÙ ÜÐÓÝØâÝÞÜã ßÞÛî. ¿àØ
v/c ¿ 1 äÞàÜãÛÐ (2.61) ÔÐÕâ åÞàÞèÞ Ø×ÒÕáâÝëÙ àÕ×ãÛìâÐâ ÝÕàÕÛïâØÒØáâáÚÞÙ ÜÕ-
åÐÝØÚØ: ω = qB/m0c � ãÓÛÞÒÐï çÐáâÞâÐ ÞÑàÐéÕÝØï ×ÐàïÖÕÝÝëå çÐáâØæ ßÞ ÞÚàãÖ-
ÝÞáâØ Ò ÜÐÓÝØâÝÞÜ ßÞÛÕ ÝÕ ×ÐÒØáØâ Þâ áÚÞàÞáâØ çÐáâØæ. ½Þ áÞÓÛÐáÝÞ (2.61) ßÞ ÜÕàÕ
ãÒÕÛØçÕÝØï íÝÕàÓØØ çÐáâØæ (Ø Øå áÚÞàÞáâØ) ãÓÛÞÒÐï çÐáâÞâÐ ω ãÜÕÝìèÐÕâáï. ¿ÞíâÞ-
Üã æØÚÛØçÕáÚØÕ ãáÚÞàØâÕÛØ, Ò ÚÞâÞàëå çÐáâØæë ÔÒØÖãâáï ßÞ ÞÚàãÖÝÞáâØ Ò ÜÐÓÝØâ-
ÝÞÜ ßÞÛÕ, ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì ÔÛï ãáÚÞàÕÝØï çÐáâØæ ÔÞ àÕÛïâØÒØáâáÚØå íÝÕàÓØÙ
âÞÛìÚÞ ßàØ ãáÛÞÒØØ, çâÞ çÐáâÞâÐ ãáÚÞàïîéÕÓÞ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ØÛØ ØÝÔãÚæØï
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ÜÐÓÝØâÝÞÓÞ ßÞÛï ÜÞÔãÛØàãîâáï Ò ßàÞæÕááÕ ãáÚÞàÕÝØï âÐÚØÜ ÞÑàÐ×ÞÜ, çâÞÑë ÞÑÕá-
ßÕçØÒÐÛáï áØÝåàÞÝØ×Ü á Ø×ÜÕÝÕÝØÕÜ çÐáâÞâë ÞÑàÐéÕÝØï (2.61) ßàØ ßÞáâÕßÕÝÝÞÜ
àÞáâÕ íÝÕàÓØØ àÐ×ÓÞÝïÕÜëå çÐáâØæ.

¿àÕÔáÚÐ×ëÒÐÕÜÐï ãàÐÒÝÕÝØÕÜ (2.61) ×ÐÒØáØÜÞáâì çÐáâÞâë ÞÑàÐéÕÝØï çÐáâØæ
Þâ Øå íÝÕàÓØØ ÝÐåÞÔØâ ßÞÛÝÞÕ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ Ò àÐÑÞâÕ ãáÚÞàØ-
âÕÛÕÙ çÐáâØæ ÝÐ ÒëáÞÚØÕ íÝÕàÓØØ. ´Ûï íÛÕÚâàÞÝÞÒ íâÞ áÞÞâÝÞèÕÝØÕ ÑëÛÞ ßàÞÒÕàÕ-
ÝÞ ÒßÛÞâì ÔÞ âÐÚØå áÚÞàÞáâÕÙ, ßàØ ÚÞâÞàëå àÕÛïâØÒØáâáÚÐï ÜÐááÐ çÐáâØæë ßàÕÒë-
èÐÕâ ÜÐááã ßÞÚÞï ÑÞÛÕÕ çÕÜ Ò 2000 àÐ×, â. Õ. ÚÞÓÔÐ íÛÕÚâàÞÝ áâÐÝÞÒØâáï ÜÐááØÒÝÕÕ
ßàÞâÞÝÐ. ÁÚÞàÞáâì âÐÚØå íÛÕÚâàÞÝÞÒ ÒáÕÓÞ ÝÐ 30 Ü/á ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ.

¸× äÞàÜãÛë v = ωR áÛÕÔãÕâ, çâÞ àÐÔØãá R ÚàãÓÞÒÞÙ âàÐÕÚâÞàØØ, ÞßØáëÒÐÕÜÞÙ
×ÐàïÖÕÝÝÞÙ çÐáâØæÕÙ Ò ÜÐÓÝØâÝÞÜ ßÞÛÕ, àÐÒÕÝ

R =
v

ω
=

cm0v

qB
√

1− v2/c2
=

cp

qB . (2.62)

ÂÐÚØÜ ÞÑàÐ×ÞÜ, àÐÔØãá ÚàØÒØ×Ýë âàÐÕÚâÞàØØ R ßàÞßÞàæØÞÝÐÛÕÝ àÕÛïâØÒØáâáÚÞÜã
ØÜßãÛìáã çÐáâØæë. ÁÞÞâÝÞèÕÝØÕ (2.62) ÛÕÖØâ Ò ÞáÝÞÒÕ ÒÐÖÝÕÙèÕÓÞ ßàïÜÞÓÞ ÜÕ-
âÞÔÐ Ø×ÜÕàÕÝØï ØÜßãÛìáÐ ×ÐàïÖÕÝÝëå àÕÛïâØÒØáâáÚØå çÐáâØæ ßÞ ØáÚàØÒÛÕÝØî Øå
âàÕÚÞÒ Ò ÜÐÓÝØâÝÞÜ ßÞÛÕ.

¿Þ ÜÐâÕàØÐÛã ÔÐÝÝÞÓÞ àÐ×ÔÕÛÐ àÕÚÞÜÕÝÔãÕâáï àÕèØâì áÛÕÔãîéØÕ ×ÐÔÐçØ Ø× [6]:
751, 752, 753, 754, 755.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [1], áâà. 422�433.
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³ÛÐÒÐ 3

¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ò ÚãàáÕ
íÛÕÚâàØçÕáâÒÐ Ø ÜÐÓÝÕâØ×ÜÐ

¸áâÞàØçÕáÚØ áÒï×ì íÛÕÚâàØçÕáÚØå Ø ÜÐÓÝØâÝëå ïÒÛÕÝØÙ ÑëÛÐ ÞâÚàëâÐ (Ò âàãÔÐå
ÍàáâÕÔÐ, °ÜßÕàÐ, ÄÐàÐÔÕï) Ø ÜÐâÕÜÐâØçÕáÚØ áäÞàÜãÛØàÞÒÐÝÐ ¼ÐÚáÒÕÛÛÞÜ ×ÝÐçØ-
âÕÛìÝÞ àÐÝìèÕ, çÕÜ âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ. ÀÕÛïâØÒØáâáÚØ ØÝÒÐàØÐÝâÝÐï âÕÞàØï
� íÛÕÚâàÞÔØÝÐÜØÚÐ ¼ÐÚáÒÕÛÛÐ � áãéÕáâÒÞÒÐÛÐ ×ÐÔÞÛÓÞ ÔÞ âÕÞàØØ ÞâÝÞáØâÕÛì-
ÝÞáâØ Ø ØÓàÐÛÐ ÞßàÕÔÕÛïîéãî àÞÛì Ò áÞ×ÔÐÝØØ Ø áâÐÝÞÒÛÕÝØØ âÕÞàØØ ÞâÝÞáØâÕÛì-
ÝÞáâØ. ½Þ ÔÛï äÞàÜØàÞÒÐÝØï ã áâãÔÕÝâÞÒ ïáÝÞÓÞ ßàÕÔáâÐÒÛÕÝØï Þ ÓÛãÑÞÚÞÙ áÒï×Ø
íÛÕÚâàØçÕáÚØå Ø ÜÐÓÝØâÝëå ïÒÛÕÝØÙ æÕÛÕáÞÞÑàÐ×ÝÞ ÝÐàïÔã á âàÐÔØæØÞÝÝëÜ Ø×ÛÞ-
ÖÕÝØÕÜ íÛÕÚâàÞÔØÝÐÜØÚØ, Ò ÚÞâÞàÞÜ ßÞáâÞïÝÝÞÕ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ø ßÞáâÞïÝÝÞÕ
ÜÐÓÝØâÝÞÕ ßÞÛÕ (áÞ×ÔÐÒÐÕÜÞÕ ßÞáâÞïÝÝëÜØ âÞÚÐÜØ) àÐááÜÐâàØÒÐîâáï áÞÒÕàèÕÝÝÞ
ÝÕ×ÐÒØáØÜÞ ÔàãÓ Þâ ÔàãÓÐ, àÐááÜÞâàÕâì âÐÚÖÕ íÛÕÚâàØçÕáÚØÙ ×ÐàïÔ Ø íÛÕÚâàØçÕáÚÞÕ
ßÞÛÕ á âÞçÚØ ×àÕÝØï âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ. ¿àØ íâÞÜ ÜÞÖÝÞ ßÞÚÐ×Ðâì, çâÞ ãÖÕ Ò
àÐÜÚÐå íÛÕÚâàÞáâÐâØÚØ, â. Õ. ßàØ ÞßØáÐÝØØ Ò×ÐØÜÞÔÕÙáâÒØï ÝÕßÞÔÒØÖÝëå ÔàãÓ Þâ-
ÝÞáØâÕÛìÝÞ ÔàãÓÐ ×ÐàïÔÞÒ, ÝÕÛì×ï ÞÓàÐÝØçØâìáï âÞÛìÚÞ íÛÕÚâàØçÕáÚØÜ ßÞÛÕÜ, çâÞ
âÞÛìÚÞ íÛÕÚâàØçÕáÚÞÕ Ø ÜÐÓÝØâÝÞÕ ßÞÛï, ÒÜÕáâÕ Ò×ïâëÕ, áÞÓÛÐáãîâáï á ßàØÝæØßÞÜ
ÞâÝÞáØâÕÛìÝÞáâØ.

¿àØÒÕÔÕÜ ßÕàÕçÕÝì ÞÑáãÖÔÐÕÜëå ÝØÖÕ ÒÞßàÞáÞÒ, áÒï×ÐÝÝëå á ØáßÞÛì×ÞÒÐÝØÕÜ
àÕÛïâØÒØáâáÚØå ßàÕÔáâÐÒÛÕÝØÙ Ò ÚãàáÕ íÛÕÚâàØçÕáâÒÐ Ø ÜÐÓÝÕâØ×ÜÐ.

• ¾ßàÕÔÕÛÕÝØÕ ßàÞæÕÔãàë Ø×ÜÕàÕÝØï ×ÐàïÔÐ, ßàØÓÞÔÝÞÙ ÔÛï ÔÒØÖãéÕÓÞáï ×Ð-
àïÔÐ. ¸ÝÒÐàØÐÝâÝÞáâì ×ÐàïÔÐ. ÍÛÕÚâàØçÕáÚÐï ÝÕÙâàÐÛìÝÞáâì ÐâÞÜÞÒ Ø ÜÞÛÕ-
ÚãÛ.

• ¿àÕÞÑàÐ×ÞÒÐÝØÕ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ÝÕßÞÔÒØÖÝëå ×ÐàïÔÞÒ ßàØ ßÕàÕåÞÔÕ Ò
ÔàãÓãî áØáâÕÜã ÞâáçÕâÐ, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ íâØ ×ÐàïÔë ÔÒØÖãâáï.

• ¿ÞÛÕ àÐÒÝÞÜÕàÝÞ ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ Ø ßÞÛÕ Ø×ÛãçÕÝØï ×ÐàïÔÐ, ÔÒØÖãéÕÓÞ-
áï á ãáÚÞàÕÝØÕÜ.

• ½ÕÞÑåÞÔØÜÞáâì ÒÒÕÔÕÝØï ÜÐÓÝØâÝÞÓÞ ßÞÛï ãÖÕ ßàØ ÞßØáÐÝØØ Ò×ÐØÜÞÔÕÙáâÒØï
ÝÕßÞÔÒØÖÝëå íÛÕÚâàØçÕáÚØå ×ÐàïÔÞÒ ÔÛï áÞÓÛÐáÞÒÐÝØï âÕÞàØØ á ßàØÝæØßÞÜ
ÞâÝÞáØâÕÛìÝÞáâØ. ÀÕÛïâØÒØáâáÚÐï ßàØàÞÔÐ ÜÐÓÝØâÝÞÓÞ Ò×ÐØÜÞÔÕÙáâÒØï ÔÒØ-
ÖãéØåáï ×ÐàïÔÞÒ. ²ëÒÞÔ ×ÐÚÞÝÐ ±ØÞ � ÁÐÒÐàÐ � »ÐßÛÐáÐ Ø× ×ÐÚÞÝÐ ºãÛÞÝÐ
Ø ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ.
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• ¾âÝÞáØâÕÛìÝëÙ åÐàÐÚâÕà íÛÕÚâàØçÕáÚÞÓÞ Ø ÜÐÓÝØâÝÞÓÞ ßÞÛÕÙ. ²Þ×ÝØÚÝÞÒÕ-
ÝØÕ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ, ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ Øá-
âÞçÝØÚÞÒ ßÞáâÞïÝÝÞÓÞ ÜÐÓÝØâÝÞÓÞ ßÞÛï (ßàÞÒÞÔÝØÚÞÒ á âÞÚÞÜ).

3.1 ¸×ÜÕàÕÝØÕ ÒÕÛØçØÝë ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ.
¸ÝÒÐàØÐÝâÝÞáâì ×ÐàïÔÐ

²ÛØïÕâ ÛØ ÔÒØÖÕÝØÕ ×ÐàïÖÕÝÝÞÓÞ âÕÛÐ ÝÐ ÒÕÛØçØÝã ÕÓÞ ×ÐàïÔÐ? ·ÐÒØáØâ ÛØ ÒÕÛØ-
çØÝÐ íÛÕÚâàØçÕáÚÞÓÞ ×ÐàïÔÐ Þâ âÞÓÞ, Ò ÚÐÚÞÙ áØáâÕÜÕ ÞâáçÕâÐ àÐááÜÐâàØÒÐÕâáï ×Ð-
àïÖÕÝÝÞÕ âÕÛÞ? ÇâÞÑë ÞâÒÕâØâì ÝÐ íâØ ÒÞßàÞáë, ÝãÖÝÞ ßàÕÖÔÕ ÒáÕÓÞ ãáÛÞÒØâìáï
Þ âÞÜ, ÚÐÚ Ø×ÜÕàïâì ×ÐàïÔ. ¿àÞæÕÔãàÐ Ø×ÜÕàÕÝØï íÛÕÚâàØçÕáÚÞÓÞ ×ÐàïÔÐ ÝÕ Õáâì
ÝÕçâÞ áÐÜÞ áÞÑÞÙ àÐ×ãÜÕîéÕÕáï, Ð ÔÞÛÖÝÐ Ñëâì ÒÒÕÔÕÝÐ ßÞ ÞßàÕÔÕÛÕÝØî.

ÍÛÕÚâàØçÕáÚØÙ ×ÐàïÔ ÜÞÖÝÞ Ø×ÜÕàØâì âÞÛìÚÞ á ßÞÜÞéìî ïÒÛÕÝØÙ, ÚÞâÞàëÕ ÞÝ
Òë×ëÒÐÕâ. ¾ßàÕÔÕÛØâì ÒÕÛØçØÝã ßÞÚÞïéÕÓÞáï âÞçÕçÝÞÓÞ ×ÐàïÔÐ ÜÞÖÝÞ, Ø×ÜÕàïï
áØÛã, á ÚÞâÞàÞÙ ÞÝ ÔÕÙáâÒãÕâ ÝÐ ÔàãÓÞÙ ÝÕßÞÔÒØÖÝëÙ (�ßàÞÑÝëÙ�) ×ÐàïÔ, ÝÐåÞÔï-
éØÙáï ÝÐ ÞßàÕÔÕÛÕÝÝÞÜ àÐááâÞïÝØØ. ÍâÐ áØÛÐ ßÞÔçØÝïÕâáï ×ÐÚÞÝã ºãÛÞÝÐ. ½Þ âÐ-
ÚÞÙ áßÞáÞÑ ÝÕßàØÓÞÔÕÝ ÔÛï Ø×ÜÕàÕÝØï ×ÐàïÔÐ ÔÒØÖãéÕÙáï çÐáâØæë, âÐÚ ÚÐÚ ÜÞÖÕâ
ÞÚÐ×Ðâìáï, çâÞ áØÛÐ, ÔÕÙáâÒãîéÐï ÝÐ ßàÞÑÝëÙ ×ÐàïÔ, ×ÐÒØáØâ ÝÕ âÞÛìÚÞ Þâ àÐááâÞ-
ïÝØï, ÝÞ, ÝÐßàØÜÕà, Ø Þâ ÝÐßàÐÒÛÕÝØï ÝÐ ßàÞÑÝëÙ ×ÐàïÔ (ßÞ ÞâÝÞèÕÝØî Ú ÝÐßàÐÒ-
ÛÕÝØî ÔÒØÖÕÝØï çÐáâØæë). ¿ÞíâÞÜã àÐ×ãÜÝÞ ßàØ Ø×ÜÕàÕÝØØ ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ
ßàÞØ×ÒÞÔØâì ãáàÕÔÝÕÝØÕ áØÛë ßÞ ÒáÕÜ ÝÐßàÐÒÛÕÝØïÜ. ´àãÓØÜØ áÛÞÒÐÜØ, ÒÒÞÔØÜÐï
ßÞ ÞßàÕÔÕÛÕÝØî ßàÞæÕÔãàÐ Ø×ÜÕàÕÝØï íÛÕÚâàØçÕáÚÞÓÞ ×ÐàïÔÐ ÔÞÛÖÝÐ ÞßØàÐâìáï ÝÕ
ÝÐ ×ÐÚÞÝ ºãÛÞÝÐ, Ð ÝÐ âÕÞàÕÜã ³ÐãááÐ. ´ÐÔØÜ ßÞÔàÞÑÝÞÕ ÞßØáÐÝØÕ áÞÞâÒÕâáâÒãî-
éÕÙ ßàÞæÕÔãàë.

Q

v

EdSS

ÀØá. 3.1: º ÞßàÕÔÕÛÕÝØî ßàÞæÕÔãàë Ø×ÜÕàÕÝØï ×ÐàïÔÐ

¿àÕÔáâÐÒØÜ áÕÑÕ ÝÕßÞÔÒØÖÝëÕ (Ò ÒëÑàÐÝÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ) ßàÞÑÝëÕ ×Ðàï-
Ôë, àÐáßàÕÔÕÛÕÝÝëÕ ßÞ ×ÐÜÚÝãâÞÙ ßÞÒÕàåÝÞáâØ S, ÞåÒÐâëÒÐîéÕÙ ÔÒØÖãéÕÕáï âÕ-
ÛÞ, ×ÐàïÔ Q ÚÞâÞàÞÓÞ ÝãÖÝÞ Ø×ÜÕàØâì (àØá. 3.1). ½ÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ
ßÞÛï ~E Ò ÚÐÖÔÞÙ âÞçÚÕ ßÞÒÕàåÝÞáâØ S ÞßàÕÔÕÛïÕâáï áØÛÞÙ, ÔÕÙáâÒãîéÕÙ ÝÐ ÝÐ-
åÞÔïéØÙáï Ò íâÞÙ âÞçÚÕ ÝÕßÞÔÒØÖÝëÙ ßàÞÑÝëÙ ×ÐàïÔ. ¸×ÜÕàØÒ ×ÝÐçÕÝØï ÝÐßàï-
ÖÕÝÝÞáâØ ßÞÛï ~E ÒÞ ÒáÕå âÞçÚÐå ßÞÒÕàåÝÞáâØ S Ò ÞÔØÝ Ø âÞâ ÖÕ ÜÞÜÕÝâ ÒàÕÜÕÝØ
(â. Õ. ÞÔÝÞÒàÕÜÕÝÝÞ á âÞçÚØ ×àÕÝØï ÒëÑàÐÝÝÞÙ áØáâÕÜë ÞâáçÕâÐ), ÜÞÖÝÞ ÒëçØáÛØâì
ßÞÒÕàåÝÞáâÝëÙ ØÝâÕÓàÐÛ

∮
S

~Ed~S Ø çÕàÕ× ÝÕÓÞ ÒëàÐ×Øâì ØÝâÕàÕáãîéØÙ ÝÐá ×ÐàïÔ Q:

Q =
1

4π

∮

S

~Ed~S (Á³Á), Q = ε0

∮

S

~Ed~S (Á¸). (3.1)
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·ÔÕáì ßÕàÒÐï äÞàÜãÛÐ áÞÞâÒÕâáâÒãÕâ ÓÐãááÞÒÞÙ áØÜÜÕâàØçÝÞÙ áØáâÕÜÕ ÕÔØÝØæ Á³Á,
ÒâÞàÐï � ÜÕÖÔãÝÐàÞÔÝÞÙ áØáâÕÜÕ ÕÔØÝØæ Á¸.

¿ÞÒÕàåÝÞáâÝëÙ ØÝâÕÓàÐÛ Ò (3.1) ÝÕ ×ÐÒØáØâ Þâ àÐ×ÜÕàÞÒ Ø äÞàÜë ßÞÒÕàåÝÞ-
áâØ S. ´Ûï ÝÕßÞÔÒØÖÝëå ×ÐàïÔÞÒ, ÝÐåÞÔïéØåáï ÒÝãâàØ ×ÐÜÚÝãâÞÙ ßÞÒÕàåÝÞáâØ,
íâÞ áÛÕÔãÕâ Ø× ×ÐÚÞÝÐ ºãÛÞÝÐ (Ø× âÕÞàÕÜë ³ÐãááÐ). ´Ûï ÔÒØÖãéØåáï ×ÐàïÔÞÒ íâÞ
ãâÒÕàÖÔÕÝØÕ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ íÚáßÕàØÜÕÝâÐÛìÝëÙ äÐÚâ.

·ÐÒØáØâ ÛØ Ø×ÜÕàÕÝÝëÙ âÐÚØÜ áßÞáÞÑÞÜ ×ÐàïÔ âÕÛÐ Þâ áØáâÕÜë ÞâáçÕâÐ? µá-
ÛØ ×ÐàïÔÞÜ çÐáâØæë ÝÐ×ÒÐâì ßÞ ÞßàÕÔÕÛÕÝØî ×ÐàïÔ, Ø×ÜÕàÕÝÝëÙ Ò âÞÙ áØáâÕÜÕ Þâ-
áçÕâÐ, ÓÔÕ âÕÛÞ ßÞÚÞØâáï, âÞ ×ÐàïÔ âÕÛÐ, ÚÐÚ Ø ÜÐááÐ ßÞÚÞï, ÑãÔÕâ ßÞ ÞßàÕÔÕÛÕÝØî
ØÝÒÐàØÐÝâÞÜ. ½Þ ÝÐ âÐÚÞÜ ßãâØ ÒÞ×ÝØÚÐÕâ âàãÔÝÞáâì á Ø×ÜÕàÕÝØÕÜ ×ÐàïÔÐ áØáâÕÜë
çÐáâØæ, ÝÐåÞÔïéØåáï Ò ÞâÝÞáØâÕÛìÝÞÜ ÔÒØÖÕÝØØ, ÝÐßàØÜÕà, ×ÐàïÔÐ ÜÞÛÕÚãÛë. ¿Þ-
íâÞÜã âÐÚÞÕ ÞßàÕÔÕÛÕÝØÕ ÝÕßàØÕÜÛÕÜÞ. ¸ÝÒÐàØÐÝâÝÞáâì ×ÐàïÔÐ ÔÞÛÖÝÐ àÐááÜÐâ-
àØÒÐâìáï ÝÕ ÚÐÚ áÛÕÔáâÒØÕ ÞßàÕÔÕÛÕÝØï, Ð ÚÐÚ íÚáßÕàØÜÕÝâÐÛìÝëÙ ×ÐÚÞÝ.

½ÐØÑÞÛÕÕ âÞçÝÞÕ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ßÞÔâÒÕàÖÔÕÝØÕ ØÝÒÐàØÐÝâÝÞáâØ íÛÕÚâàØ-
çÕáÚÞÓÞ ×ÐàïÔÐ, â. Õ. ÕÓÞ ÝÕ×ÐÒØáØÜÞáâØ Þâ áÞáâÞïÝØï ÔÒØÖÕÝØï, � íâÞ ÝÕÙâàÐÛì-
ÝÞáâì ÐâÞÜÞÒ Ø ÜÞÛÕÚãÛ. ¿ÞáâÐÒÛÕÝÝëÕ áßÕæØÐÛìÝÞ ÔÛï íâÞÙ æÕÛØ íÚáßÕàØÜÕÝâë
(ÞßØáÐÝØÕ ÚÞâÞàëå ÜÞÖÝÞ ßàÞçØâÐâì, ÝÐßàØÜÕà, Ò [5], áâà. 21) ßÞÚÐ×ÐÛØ, çâÞ ×ÐàïÔë
ßàÞâÞÝÐ Ø íÛÕÚâàÞÝÐ Ò ÐâÞÜÕ ÒÞÔÞàÞÔÐ àÐÒÝë ßÞ ÐÑáÞÛîâÝÞÙ ÒÕÛØçØÝÕ á âÞçÝÞáâìî
ÔÞ 10−20. °ÝÐÛÞÓØçÝëÕ Þßëâë ÑëÛØ ßÞáâÐÒÛÕÝë Ø á ÓÕÛØÕÜ. °âÞÜ ÓÕÛØï áÞÔÕàÖØâ
âÕ ÖÕ ×ÐàïÖÕÝÝëÕ çÐáâØæë (ÔÒÐ ßàÞâÞÝÐ Ò áÞáâÐÒÕ ïÔàÐ Ø ÔÒÐ íÛÕÚâàÞÝÐ), çâÞ Ø
ÜÞÛÕÚãÛÐ ÒÞÔÞàÞÔÐ, ÝÞ Ò ÔÒãå âÐÚØå áØáâÕÜÐå íâØ çÐáâØæë ÔÒØÖãâáï áÞÒÕàèÕÝÝÞ
ßÞ àÐ×ÝÞÜã. µáÛØ Ñë ÔÒØÖÕÝØÕ çÐáâØæë ÚÐÚ-âÞ ÒÛØïÛÞ ÝÐ ÒÕÛØçØÝã ÕÕ ×ÐàïÔÐ, âÞ
âÞçÝÞÙ ÚÞÜßÕÝáÐæØØ ×ÐàïÔÞÒ íÛÕÚâàÞÝÐ Ø ßàÞâÞÝÐ Ò ÜÞÛÕÚãÛÕ ÒÞÔÞàÞÔÐ Ø ÞÔÝÞÒàÕ-
ÜÕÝÝÞ Ò ÐâÞÜÕ ÓÕÛØï ÝÕ ÜÞÓÛÞ Ñë Ñëâì.

¼ÞÛÕÚãÛÐ âïÖÕÛÞÓÞ ÒÞÔÞàÞÔÐ (ÔÕÙâÕàØï) Ø ÐâÞÜ ÓÕÛØï ÒÞÞÑéÕ ßÞáâàÞÕÝë Ø× ÞÔ-
ÝØå Ø âÕå ÖÕ çÐáâØæ. ¸×-×Ð àÐ×ÛØçØï Ò áÞáâÞïÝØØ ÔÒØÖÕÝØï çÐáâØæ Ò íâØå áØáâÕÜÐå
ÜÞÛÕÚãÛÐ ÔÕÙâÕàØï Ø ÐâÞÜ ÓÕÛØï ØÜÕîâ ÝÕÜÝÞÓÞ àÐ×ÛØçÐîéØÕáï ÜÐááë (çâÞ ÛÕÓÚÞ
ÞÑÝÐàãÖØÒÐÕâáï á ßÞÜÞéìî ÜÐáá-áßÕÚâàÞÜÕâàÐ), ÝÞ ÞÑÛÐÔÐîâ ÞÔØÝÐÚÞÒëÜ ßÞÛ-
ÝëÜ ×ÐàïÔÞÜ. ÍâÞ ×ÝÐçØâ, çâÞ ßÞÒÕàåÝÞáâÝëÙ ØÝâÕÓàÐÛ Ò äÞàÜãÛÕ (3.1), ÞßàÕÔÕÛï-
îéØÙ ßÞÛÝëÙ ×ÐàïÔ áØáâÕÜë, ×ÐÒØáØâ âÞÛìÚÞ Þâ çØáÛÐ çÐáâØæ á ßÞÛÞÖØâÕÛìÝëÜØ Ø
ÞâàØæÐâÕÛìÝëÜØ íÛÕÜÕÝâÐàÝëÜØ ×ÐàïÔÐÜØ, ÝÞ ÝÕ Þâ åÐàÐÚâÕàÐ Øå ÔÒØÖÕÝØï.

ÁÞÓÛÐáÝÞ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, ÕáÛØ íâÞ ãâÒÕàÖÔÕÝØÕ áßàÐÒÕÔÛØÒÞ ÔÛï
ÚÐÚÞÙ-ÛØÑÞ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ, âÞ ÞÝÞ áßàÐÒÕÔÛØÒÞ Ø ÔÛï ÛîÑÞÙ
ÔàãÓÞÙ. ¿ÞíâÞÜã íÛÕÚâàØçÕáÚØÙ ×ÐàïÔ ÞÔÝÞÙ Ø âÞÙ ÖÕ áØáâÕÜë çÐáâØæ ÞÔØ-
ÝÐÚÞÒ ÒÞ ÒáÕå áØáâÕÜÐå ÞâáçÕâÐ. ÀÕÛïâØÒØáâáÚãî ØÝÒÐàØÐÝâÝÞáâì íÛÕÚâàØçÕ-
áÚÞÓÞ ×ÐàïÔÐ ÜÐâÕÜÐâØçÕáÚØ ÜÞÖÝÞ ÒëàÐ×Øâì áÞÞâÝÞèÕÝØÕÜ:

∮

S

~Ed~S =

∮

S′
~E ′d~S ′. (3.2)

¿ÞÒÕàåÝÞáâì S Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t ÔÞÛÖÝÐ ÞåÒÐâëÒÐâì âã ÖÕ áØáâÕÜã çÐáâØæ, çâÞ Ø
ßÞÒÕàåÝÞáâì S ′ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t′. ¿ÞÛÕ ~E Ò äÞàÜãÛÕ (3.2) ÞßàÕÔÕÛïÕâáï áØÛÞÙ,
ÔÕÙáâÒãîéÕÙ ÝÐ ÝÕßÞÔÒØÖÝëÙ Ò áØáâÕÜÕ ÞâáçÕâÐ K ßàÞÑÝëÙ ×ÐàïÔ, ßÞÛÕ ~E ′ � áØ-
ÛÞÙ, ÔÕÙáâÒãîéÕÙ ÝÐ ÝÕßÞÔÒØÖÝëÙ Ò áØáâÕÜÕ K ′ ßàÞÑÝëÙ ×ÐàïÔ, ßàØçÕÜ ×ÝÐçÕÝØï
ÝÐßàïÖÕÝÝÞáâØ ßÞÛï Ò àÐ×Ýëå âÞçÚÐå ßàØ ÒëçØáÛÕÝØØ ßÞÒÕàåÝÞáâÝëå ØÝâÕÓàÐÛÞÒ
ÔÞÛÖÝë Ñëâì Ò×ïâë ÔÛï ÞÔÝÞÓÞ ÜÞÜÕÝâÐ ÒàÕÜÕÝØ Ò áÒÞÕÙ áØáâÕÜÕ ÞâáçÕâÐ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 159�165.
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3.2 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÝÐßàïÖÕÝÝÞáâØ
íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï

ÀÐááÜÞâàØÜ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ áØáâÕÜë ÝÕßÞÔÒØÖÝëå ÔàãÓ ÞâÝÞáØâÕÛìÝÞ ÔàãÓÐ
íÛÕÚâàØçÕáÚØå ×ÐàïÔÞÒ, ÝÐßàØÜÕà, ßÞÛÕ ÜÕÖÔã ßÛÐáâØÝÐÜØ ×ÐàïÖÕÝÝÞÓÞ ßÛÞáÚÞÓÞ
ÚÞÝÔÕÝáÐâÞàÐ (àØá. 3.2). ºÞÝÔÕÝáÐâÞà ÝÕßÞÔÒØÖÕÝ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. ¾ÑÞ×ÝÐ-
çØÜ ßÞÒÕàåÝÞáâÝãî ßÛÞâÝÞáâì ×ÐàïÔÐ ßÞÛÞÖØâÕÛìÝÞ ×ÐàïÖÕÝÝÞÙ ßÛÐáâØÝë çÕàÕ×
σ′. ½ÐßàÐÒØÜ Þáì Ox ßÐàÐÛÛÕÛìÝÞ, Ð Þáì Oy � ßÕàßÕÝÔØÚãÛïàÝÞ ßÛÐáâØÝÐÜ. ²Ýãâ-
àØ ÚÞÝÔÕÝáÐâÞàÐ ÒÔÐÛØ Þâ ÚàÐÕÒ ßÛÐáâØÝ ßÞÛÕ ÞÔÝÞàÞÔÝÞ Ø ÕÓÞ ÝÐßàïÖÕÝÝÞáâì E ′

ØÜÕÕâ âÞÛìÚÞ y-áÞáâÐÒÛïîéãî:

E ′
y = 4πσ′ (Á³Á), E ′

y = σ′/ε0 (Á¸). (3.3)

y y'

z z'

x x'

v

O O'

K K'
σ

σ '

'

+

−

ÀØá. 3.2: ÍÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ßÛÞáÚÞÓÞ ÚÞÝÔÕÝáÐâÞàÐ

¾âÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K (áÜ. àØá. 3.2) ßÛÐáâØÝë ÚÞÝÔÕÝáÐâÞàÐ ÔÒØ-
Öãâáï Ø Øå ßàÞÔÞÛìÝëÕ àÐ×ÜÕàë Ò áØáâÕÜÕ K ÜÕÝìèÕ, çÕÜ Ò K ′, ÒáÛÕÔáâÒØÕ àÕÛï-
âØÒØáâáÚÞÓÞ áÞÚàÐéÕÝØï ÔÛØÝë:

l = l0
√

1− v2/c2. (3.4)
¿ÞÛÝëÙ ×ÐàïÔ ßÛÐáâØÝ ØÝÒÐàØÐÝâÕÝ, â. Õ. ÝÕ ×ÐÒØáØâ Þâ áØáâÕÜë ÞâáçÕâÐ. ¿ÞíâÞÜã
ßÞÒÕàåÝÞáâÝÐï ßÛÞâÝÞáâì ×ÐàïÔÐ ßÛÐáâØÝ Ò áØáâÕÜÕ K ÑãÔÕâ ÑÞÛìèÕ, çÕÜ Ò K ′, ÓÔÕ
ÚÞÝÔÕÝáÐâÞà ßÞÚÞØâáï:

σ = σ′/
√

1− v2/c2. (3.5)
¾âáîÔÐ áÛÕÔãÕâ, çâÞ ßÞßÕàÕçÝÐï (Ú ÝÐßàÐÒÛÕÝØî áÚÞàÞáâØ ÔÒØÖÕÝØï ßÛÐáâØÝ) áÞ-
áâÐÒÛïîéÐï ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ey = E⊥ Ò áØáâÕÜÕ ÞâáçÕâÐ K
ÑÞÛìèÕ, çÕÜ Ò K ′:

E⊥ = E ′
⊥/

√
1− v2/c2. (3.6)

ÀÐááÜÞâàØÜ âÕßÕàì íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ò ÚÞÝÔÕÝáÐâÞàÕ, ßÛÐáâØÝë ÚÞâÞàÞÓÞ àÐáßÞ-
ÛÞÖÕÝë ßÕàßÕÝÔØÚãÛïàÝÞ Ú ÝÐßàÐÒÛÕÝØî ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ áØáâÕÜ ÞâáçÕâÐ
K Ø K ′. ² íâÞÜ áÛãçÐÕ àÐ×ÜÕàë ßÛÐáâØÝ ÞÔØÝÐÚÞÒë á âÞçÚØ ×àÕÝØï ÞÑÕØå áØáâÕÜ K
Ø K ′ Ø, áÛÕÔÞÒÐâÕÛìÝÞ, ÝÐßàïÖÕÝÝÞáâì ßàÞÔÞÛìÝÞÓÞ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ex = E‖
ÞÔØÝÐÚÞÒÐ Ò áØáâÕÜÐå ÞâáçÕâÐ K Ø K ′:
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E‖ = E ′
‖. (3.7)

·ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ßàØ ßÕàÕåÞÔÕ Þâ
ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ, ÒëàÐÖÐÕÜëÙ äÞàÜãÛÐÜØ (3.6) Ø
(3.7), ÝÕ ÔÞÛÖÕÝ ×ÐÒØáÕâì Þâ ÚÞÝÚàÕâÝÞÙ ÚÞÝäØÓãàÐæØØ ØáâÞçÝØÚÞÒ (ßÛÐáâØÝë ßÛÞá-
ÚÞÓÞ ÚÞÝÔÕÝáÐâÞàÐ, âÞçÕçÝëÕ ×ÐàïÔë Ø â.ß.). ¿ÞíâÞÜã ÞÝ ßàØÜÕÝØÜ ÝÕ âÞÛìÚÞ Ò âÕå
çÐáâÝëå áÛãçÐïå, Ø× ÚÞâÞàëå ÞÝ ÑëÛ ÒëÒÕÔÕÝ (ßÞÛÕ ÒÝãâàØ ßÛÞáÚÞÓÞ ÚÞÝÔÕÝáÐâÞ-
àÐ). ÍâÞâ ×ÐÚÞÝ ãÝØÒÕàáÐÛÕÝ. ´Ûï ÕÓÞ áßàÐÒÕÔÛØÒÞáâØ ÝãÖÝÞ ÛØèì, çâÞÑë Ò áØáâÕ-
ÜÕ ÞâáçÕâÐ K ′ ßÞÛÕ ÑëÛÞ áâÐâØçÕáÚØÜ, â. Õ. çâÞÑë Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ ×ÐàïÔë,
áÞ×ÔÐîéØÕ ßÞÛÕ, ÑëÛØ ÝÕßÞÔÒØÖÝë.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 165�169.

3.3 ÍÛÕÚâàØçÕáÚÞÕ ßÞÛÕ àÐÒÝÞÜÕàÝÞ
ÔÒØÖãéÕÓÞáï âÞçÕçÝÞÓÞ ×ÐàïÔÐ

¿ãáâì âÞçÕçÝëÙ ×ÐàïÔ Q ÝÕßÞÔÒØÖÕÝ Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ áØáâÕÜë ÞâáçÕâÐ K ′ Ø
ÔÒØÖÕâáï ÒÜÕáâÕ á ÝÕÙ á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî v ÒÔÞÛì ÞáØ Ox ÞâÝÞáØâÕÛìÝÞ ØÝÕà-
æØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ K (àØá. 3.3).

y y'

z z'

x x'

v

O O'

K K'

E'

E'

E'

x

y

Q

θ'

ÀØá. 3.3: ½ÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ

² áØáâÕÜÕ ÞâáçÕâÐ K ′ ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ~E ′ ÝÐßàÐÒÛÕÝÐ Þâ ×Ð-
àïÔÐ ßÞ àÐÔØãáã. µÕ ÒÕÛØçØÝÐ ÞßàÕÔÕÛïÕâáï ×ÐÚÞÝÞÜ ºãÛÞÝÐ. ¿àÞÕÚæØØ ÝÐßàïÖÕÝ-
ÝÞáâØ ÝÐ ÞáØ Ox′ Ø Oy′ Ò âÞçÚÕ á ÚÞÞàÔØÝÐâÐÜØ x′ Ø y′ ÜÞÖÝÞ ×ÐßØáÐâì áÛÕÔãîéØÜ
ÞÑàÐ×ÞÜ:

E ′
x =

Q

r′2
cos θ′, E ′

y =
Q

r′2
sin θ′ (Á³Á), (3.8)

ÓÔÕ r′2 = x′2 + y′2, cos θ′ = x′/r′, sin θ′ = y′/r′. ² áØáâÕÜÕ ÕÔØÝØæ Á¸ äÞàÜãÛë ÔÛï
ßàÞÕÚæØÙ ÝÐßàïÖÕÝÝÞáâØ ßÞÛï ÞâÛØçÐîâáï Þâ (3.8) ÔÞßÞÛÝØâÕÛìÝëÜ ÜÝÞÖØâÕÛÕÜ
1/(4πε0). ÂÐÚØÜ ÖÕ ÞÑàÐ×ÞÜ ÝãÖÝÞ ßÞáâãßØâì ÔÛï ßÕàÕÒÞÔÐ Ò Á¸ Ø áÞ ÒáÕÜØ ßÞáÛÕ-
ÔãîéØÜØ äÞàÜãÛÐÜØ ÔÛï ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï. ÇÕàÕ× ÚÞÞàÔØÝÐâë
âÞçÚØ ÝÐÑÛîÔÕÝØï x′ Ø y′ ßàÞÕÚæØØ ÝÐßàïÖÕÝÝÞáâØ ßÞÛï ÒëàÐÖÐîâáï áÛÕÔãîéØÜ
ÞÑàÐ×ÞÜ:
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E ′
x =

Qx′

(x′2 + y′2)3/2
, E ′

y =
Qy′

(x′2 + y′2)3/2
(Á³Á). (3.9)

ÇâÞÑë ÝÐÙâØ ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K, ÜÞÖÝÞ
ÒÞáßÞÛì×ÞÒÐâìáï äÞàÜãÛÐÜØ (3.6) Ø (3.7) ßàÕÔëÔãéÕÓÞ àÐ×ÔÕÛÐ, ÒëàÐ×ØÒ ßàØ íâÞÜ
Ò E ′

y = E ′
⊥ Ø E ′

x = E ′
‖ èâàØåÞÒÐÝÝëÕ ÚÞÞàÔØÝÐâë âÞçÚØ ÝÐÑÛîÔÕÝØï x′, y′ Ø z′ çÕ-

àÕ× ÝÕèâàØåÞÒÐÝÝëÕ ÚÞÞàÔØÝÐâë x, y Ø z ßÞ äÞàÜãÛÐÜ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ
(1.17). ÀÐááÜÞâàØÜ ÔÛï ÞßàÕÔÕÛÕÝÝÞáâØ ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0, áÞÞâÒÕâáâÒãîéØÙ
ßàÞåÞÖÔÕÝØî ×ÐàïÔÐ Q çÕàÕ× ÝÐçÐÛÞ ÚÞÞàÔØÝÐâ áØáâÕÜë ÞâáçÕâÐ K. ÂÞÓÔÐ Ò áÞÞâ-
ÒÕâáâÒØØ á äÞàÜãÛÐÜØ (1.17)

x′ =
x√

1− v2/c2
, y′ = y, z′ = z. (3.10)

² àÕ×ãÛìâÐâÕ ÔÛï ÜÞÜÕÝâÐ ÒàÕÜÕÝØ t = 0 ßÞÛãçØÜ áÛÕÔãîéØÕ ×ÝÐçÕÝØï ßàÞÕÚ-
æØÙ ÝÐßàïÖÕÝÝÞáâØ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K:

Ex =
Qγx

[(γx)2 + y2]3/2
, Ey =

Qγy

[(γx)2 + y2]3/2
(Á³Á), (3.11)

ÓÔÕ ØáßÞÛì×ÞÒÐÝÞ ÞÑÞ×ÝÐçÕÝØÕ γ = 1/
√

1− v2/c2. ¸× äÞàÜãÛ (3.11) áÛÕÔãÕâ, çâÞ
Ey/Ex = y/x. ÍâÞ ×ÝÐçØâ, çâÞ Ø Ò áØáâÕÜÕ ÞâáçÕâÐ K ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞ-
ÓÞ ßÞÛï Ò ÛîÑÞÙ âÞçÚÕ ÝÐßàÐÒÛÕÝÐ àÐÔØÐÛìÝÞ Ø× ÜÓÝÞÒÕÝÝÞÓÞ ßÞÛÞÖÕÝØï ×ÐàïÔÐ Q,
áÞ×ÔÐîéÕÓÞ ßÞÛÕ. ¸× äÞàÜãÛ (3.11) ÛÕÓÚÞ ßÞÛãçØâì ÒÕÛØçØÝã ÝÐßàïÖÕÝÝÞáâØ ßÞÛï
âÞçÕçÝÞÓÞ ×ÐàïÔÐ Q Ò áØáâÕÜÕ ÞâáçÕâÐ K:

E =
√

E2
x + E2

y =
Q

r2

1− β2

(1− β2 sin2 θ)3/2
(Á³Á), (3.12)

ÓÔÕ β = v/c. ºÞÓÔÐ áÚÞàÞáâì ÔÒØÖÕÝØï ×ÐàïÔÐ ÜÐÛÐ ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî
áÒÕâÐ (ßàØ v ¿ c), äÞàÜãÛÐ (3.12) ÔÐÕâ E = Q/r2, â. Õ. íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ÜÕÔÛÕÝ-
ÝÞ ÔÒØÖãéÕÓÞáï âÞçÕçÝÞÓÞ ×ÐàïÔÐ áÞÒßÐÔÐÕâ Ò ÚÐÖÔëÙ ÜÞÜÕÝâ á ßÞÛÕÜ âÐÚÞÓÞ ÖÕ
ÝÕßÞÔÒØÖÝÞÓÞ ×ÐàïÔÐ, ßÞÜÕéÕÝÝÞÓÞ Ò âÞçÚã, ÓÔÕ Ò ÔÐÝÝëÙ ÜÞÜÕÝâ ÝÐåÞÔØâáï ×ÐàïÔ
Q � ØáâÞçÝØÚ ßÞÛï. ¸ÝëÜØ áÛÞÒÐÜØ, àÐÒÝÞÜÕàÝÞ ÔÒØÖãéØÙáï ×ÐàïÔ ßàØ v ¿ c
ÚÐÚ Ñë �âïÝÕâ ×Ð áÞÑÞÙ� áÒÞÕ àÐÔØÐÛìÝÞ áØÜÜÕâàØçÝÞÕ áâÐâØçÕáÚÞÕ ßÞÛÕ. ½Þ ßàØ
×ÝÐçØâÕÛìÝëå áÚÞàÞáâïå ×ÐàïÔÐ, ÚÐÚ ÒØÔÝÞ Ø× (3.12), ßÞÛÕ ßÞÔ ßàïÜëÜ ãÓÛÞÜ Ú ÝÐ-
ßàÐÒÛÕÝØî ÔÒØÖÕÝØï ÞÚÐ×ëÒÐÕâáï áØÛìÝÕÕ, çÕÜ ßÞÛÕ Ò ÝÐßàÐÒÛÕÝØØ ÔÒØÖÕÝØï ÝÐ
âÞÜ ÖÕ àÐááâÞïÝØØ Þâ ×ÐàïÔÐ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [4], áâà. 262�267, [5], áâà. 169�173.

3.4 ¿ÞÛÕ Ø×ÛãçÕÝØï ãáÚÞàÕÝÝÞ ÔÒØÖãéÕÓÞáï
âÞçÕçÝÞÓÞ ×ÐàïÔÐ

¸×ÛãçÕÝØÕ íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ ßàÞØáåÞÔØâ ÛØèì ßàØ ãáÚÞàÕÝÝÞÜ ÔÒØÖÕÝØØ
íÛÕÚâàØçÕáÚØå ×ÐàïÔÞÒ. ÀÐÒÝÞÜÕàÝÞ ÔÒØÖãéØÙáï ×ÐàïÔ, ÚÐÚ Ø ßÞÚÞïéØÙáï ×ÐàïÔ,
íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ ÝÕ Ø×ÛãçÐÕâ.
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¿ÞÝïâì, ÚÐÚØÜ ÞÑàÐ×ÞÜ ßÞßÕàÕçÝÞÕ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ø×ÛãçÐÕÜÞÙ ×ÐàïÔÞÜ
ÒÞÛÝë ÒÞ×ÝØÚÐÕâ Ø× àÐÔØÐÛìÝÞÓÞ ßÞÛï âÞçÕçÝÞÓÞ ×ÐàïÔÐ ßàØ ÕÓÞ ãáÚÞàÕÝÝÞÜ ÔÒØ-
ÖÕÝØØ ÜÞÖÝÞ á ßÞÜÞéìî áÛÕÔãîéÕÙ ßàÞáâÞÙ Ø ÝÐÓÛïÔÝÞÙ ÚÐàâØÝë, ßàÕÔÛÞÖÕÝÝÞÙ
´Ö. ÂÞÜáÞÝÞÜ.

¿ãáâì ÔÞ ÜÞÜÕÝâÐ ÒàÕÜÕÝØ t = 0 âÞçÕçÝëÙ ×ÐàïÔ q ßÞÚÞØÛáï Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ.
µÓÞ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ÜÞÖÝÞ Ø×ÞÑàÐ×Øâì á ßÞÜÞéìî áØÛÞÒëå ÛØÝØÙ, àÐÔØÐÛìÝÞ
ÒëåÞÔïéØå Ø× ×ÐàïÔÐ. ² ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0 ßÞÔ ÔÕÙáâÒØÕÜ ÚÐÚÞÙ-ÛØÑÞ ÒÝÕèÝÕÙ
áØÛë ×ÐàïÔ ÝÐçØÝÐÕâ ÔÒØÓÐâìáï á ßÞáâÞïÝÝëÜ ãáÚÞàÕÝØÕÜ a, Ð áßãáâï ÝÕÚÞâÞàÞÕ
ÒàÕÜï τ ÔÕÙáâÒØÕ íâÞÙ áØÛë ßàÕÚàÐéÐÕâáï, âÐÚ çâÞ ÔÐÛìèÕ ×ÐàïÔ ÔÒØÖÕâáï àÐÒÝÞ-
ÜÕàÝÞ áÞ áÚÞàÞáâìî v = aτ . ±ãÔÕÜ áçØâÐâì, çâÞ ãáÚÞàÕÝØÕ a Ø ÒàÕÜï ãáÚÞàÕÝÝÞÓÞ
ÔÒØÖÕÝØï τ ÝÕ áÛØèÚÞÜ ÒÕÛØÚØ, âÐÚ çâÞ ÝÐÑàÐÝÝÐï ×ÐàïÔÞÜ ×Ð íâÞ ÒàÕÜï áÚÞàÞáâì
v ÜÝÞÓÞ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ (v ¿ c).

¿àÕÔáâÐÒØÜ áÕÑÕ ÚÐàâØÝã áØÛÞÒëå ÛØÝØÙ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ
íâØÜ ×ÐàïÔÞÜ, áßãáâï ÝÕÚÞâÞàëÙ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ t, ÑÞÛìèÞÙ ßÞ áàÐÒÝÕÝØî á
ÔÛØâÕÛìÝÞáâìî ßÕàØÞÔÐ τ ÕÓÞ ãáÚÞàÕÝÝÞÓÞ ÔÒØÖÕÝØï.

² áÞÞâÒÕâáâÒØØ áÞ ÒâÞàëÜ ßÞáâãÛÐâÞÜ âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ (Þ áãéÕáâÒÞÒÐ-
ÝØØ ßàÕÔÕÛìÝÞÙ áÚÞàÞáâØ àÐáßàÞáâàÐÝÕÝØï Ò×ÐØÜÞÔÕÙáâÒØÙ) Ò âÞçÚÐå, ÛÕÖÐéØå ×Ð
ßàÕÔÕÛÐÜØ áäÕàë àÐÔØãáÐ ct (á æÕÝâàÞÜ Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ), Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t
ÕéÕ ÝÕ Ø×ÒÕáâÝÞ Þ âÞÜ, çâÞ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0 ×ÐàïÔ ÝÐçÐÛ ÔÒØÓÐâìáï. ·Ð ßàÕÔÕ-
ÛÐÜØ íâÞÙ áäÕàë íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ âÐÚÞÕ ÖÕ, ÚÐÚØÜ ÞÝÞ ÑëÛÞ ßàØ ÝÕßÞÔÒØÖÝÞÜ
×ÐàïÔÕ (àØá. 3.4). ½ÐßàïÖÕÝÝÞáâì íâÞÓÞ ßÞÛï ÝÐ àÐááâÞïÝØØ r Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ
àÐÒÝÐ

E(r) =
q

r2
(Á³Á), E(r) =

1

4πε0

q

r2
(Á¸). (3.13)

O

q

r = ct

ÀØá. 3.4: ¸×ÛÞÜë ÝÐ áØÛÞÒëå ÛØÝØïå íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ×ÐàïÔÐ, ÔÒØÓÐÒèÕÓÞáï á
ãáÚÞàÕÝØÕÜ Ò âÕçÕÝØÕ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ Þâ t = 0 ÔÞ t = τ

²áÕ ÞáÞÑÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t, ÞÑãáÛÞÒÛÕÝÝëÕ ãáÚÞ-
àÕÝÝëÜ ÔÒØÖÕÝØÕÜ ×ÐàïÔÐ Ò âÕçÕÝØÕ ÒàÕÜÕÝØ Þâ t = 0 ÔÞ t = τ , áÞáàÕÔÞâÞçÕÝë
ÒÝãâàØ âÞÝÚÞÓÞ èÐàÞÒÞÓÞ áÛÞï âÞÛéØÝÞÙ cτ , ÝÐàãÖÝëÙ àÐÔØãá ÚÞâÞàÞÓÞ àÐÒÕÝ ct, Ð
ÒÝãâàÕÝÝØÙ àÐÒÕÝ c(t − τ). ²ÝãâàØ áäÕàë àÐÔØãáÐ c(t − τ) íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ âÐ-
ÚÞÕ, ÚÐÚÞÕ áÞ×ÔÐÕâáï àÐÒÝÞÜÕàÝÞ ÔÒØÖãéØÜáï ×ÐàïÔÞÜ, âÐÚ ÚÐÚ ÝÐçØÝÐï á ÜÞÜÕÝâÐ
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t = τ ×ÐàïÔ ãÖÕ ÔÒØÖÕâáï á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî. ºÞÓÔÐ ÝÐÑàÐÝÝÐï ×ÐàïÔÞÜ ×Ð
ÒàÕÜï ãáÚÞàÕÝØï τ áÚÞàÞáâì v ÜÝÞÓÞ ÜÕÝìèÕ áÚÞàÞáâØ áÒÕâÐ (v ¿ c), íâÞ ßÞÛÕ Ò
ÜÞÜÕÝâ ÒàÕÜÕÝØ t áÞÒßÐÔÐÕâ á ßÞÛÕÜ ÝÕßÞÔÒØÖÝÞÓÞ ×ÐàïÔÐ q, ÝÐåÞÔïéÕÓÞáï Ò âÞÙ
âÞçÚÕ, çÕàÕ× ÚÞâÞàãî Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t ßàÞåÞÔØâ ÔÒØÖãéØÙáï ×ÐàïÔ. ÍâÞ ÑëÛÞ
ßÞÚÐ×ÐÝÞ Ò ßàÕÔëÔãéÕÜ àÐ×ÔÕÛÕ.

¼ÞÖÝÞ áçØâÐâì, çâÞ ÔÒØÖãéØÙáï ×ÐàïÔ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t ÝÐåÞÔØâáï ÝÐ àÐá-
áâÞïÝØØ vt Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ (×ÔÕáì Üë ßàÕÝÕÑàÕÓÐÕÜ ÛØèì âÕÜ, çâÞ ×Ð ÜÐÛÞÕ
ÒàÕÜï τ ãáÚÞàÕÝÝÞÓÞ ÔÒØÖÕÝØï ×ÐàïÔ Ò ÔÕÙáâÒØâÕÛìÝÞáâØ ßàÞèÕÛ àÐááâÞïÝØÕ vτ/2,
Ð ÝÕ vτ , çâÞ ÔÞßãáâØÜÞ ßàØ t À τ ).

ºÐàâØÝã áØÛÞÒëå ÛØÝØÙ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò ØÝâÕàÕáãîéÕÙ ÝÐá ÞÑÛÐáâØ ÒÝãâ-
àØ èÐàÞÒÞÓÞ áÛÞï ÛÕÓÚÞ ÝÐÙâØ, ãçØâëÒÐï ÝÕßàÕàëÒÝÞáâì áØÛÞÒëå ÛØÝØÙ. ´Ûï íâÞÓÞ
ÔÞáâÐâÞçÝÞ áÞÕÔØÝØâì áÞÞâÒÕâáâÒãîéØÕ àÐÔØÐÛìÝëÕ áØÛÞÒëÕ ÛØÝØØ (áÜ. àØá. 3.4)
ÒÝÕ Ø ÒÝãâàØ áäÕà, ÞÓàÐÝØçØÒÐîéØå àÐááÜÐâàØÒÐÕÜëÙ áÛÞÙ. ¸×ÛÞÜë ÝÐ áØÛÞÒëå
ÛØÝØïå, Òë×ÒÐÝÝëÕ ãáÚÞàÕÝÝëÜ ÔÒØÖÕÝØÕÜ ×ÐàïÔÐ Ò âÕçÕÝØÕ ÒàÕÜÕÝØ Þâ t = 0 ÔÞ
t = τ , �ãÑÕÓÐîâ� Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ áÞ áÚÞàÞáâìî c. ¸×ÛÞÜë áØÛÞÒëå ÛØÝØÙ Ò
ßàÞÜÕÖãâÚÕ ÜÕÖÔã áäÕàÐÜØ r = c(t − τ) Ø r = ct � íâÞ Ø Õáâì ßÞÛÕ Ø×ÛãçÕÝØï
×ÐàïÔÐ, â. Õ. ØáßãáÚÐÕÜÐï ×ÐàïÔÞÜ ÒÞÛÝÐ, àÐáßàÞáâàÐÝïîéÐïáï áÞ áÚÞàÞáâìî c.

vt
vt sin c

E

E

E

θ
θ

0

τ

ÀØá. 3.5: º ÒëçØáÛÕÝØî ÝÐßàïÖÕÝÝÞáâØ ßÞÛï Ø×ÛãçÕÝØï ãáÚÞàÕÝÝÞ ÔÒØÖãéÕÓÞáï
âÞçÕçÝÞÓÞ ×ÐàïÔÐ

ÇâÞÑë ÝÐÙâØ ÝÐßàïÖÕÝÝÞáâì íâÞÓÞ ßÞÛï Ø×ÛãçÕÝØï, àÐááÜÞâàØÜ ÞÔÝã Ø× áØ-
ÛÞÒëå ÛØÝØÙ, áÞáâÐÒÛïîéãî ÝÕÚÞâÞàëÙ ãÓÞÛ θ á ÝÐßàÐÒÛÕÝØÕÜ ÔÒØÖÕÝØï ×ÐàïÔÐ
(àØá. 3.5). ²ÕÚâÞà ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò Ø×ÛÞÜÕ àÐ×ÛÞÖØÜ ÝÐ ÔÒÕ
áÞáâÐÒÛïîéØÕ: àÐÔØÐÛìÝãî ~E‖ Ø ßÞßÕàÕçÝãî ~E⊥. ÀÐÔØÐÛìÝÐï áÞáâÐÒÛïîéÐï ~E‖ �
íâÞ áâÐâØçÕáÚÞÕ ßÞÛÕ, áÞ×ÔÐÒÐÕÜÞÕ ÝÕßÞÔÒØÖÝëÜ ×ÐàïÔÞÜ q, ÝÐåÞÔïéØÜáï Ò ÝÐ-
çÐÛÕ ÚÞÞàÔØÝÐâ. ½ÐßàïÖÕÝÝÞáâì ßÞÛï ÝÐ àÐááâÞïÝØØ r = ct ÔÐÕâáï ÒëàÐÖÕÝØÕÜ
(3.13). ¿ÞßÕàÕçÝÐï áÞáâÐÒÛïîéÐï ~E⊥ � íâÞ ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï
Ò ÒÞÛÝÕ, ØáßãéÕÝÝÞÙ ×ÐàïÔÞÜ ÒÞ ÒàÕÜï ÕÓÞ ÔÒØÖÕÝØï á ãáÚÞàÕÝØÕÜ. ÂÐÚ ÚÐÚ ÒÞÛ-
ÝÐ àÐáßàÞáâàÐÝïÕâáï Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ, âÞ ÒÕÚâÞà ~E⊥ ßÕàßÕÝÔØÚãÛïàÕÝ
ÝÐßàÐÒÛÕÝØî ÒÞÛÝë. ¸× àØá. 3.5 ÒØÔÝÞ, çâÞ

E⊥
E‖

=
vt sin θ

cτ
. (3.14)
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¿ÞÔáâÐÒÛïï áîÔÐ E‖ Ø× (3.13) Ø ãçØâëÒÐï, çâÞ r = ct, ÝÐåÞÔØÜ

E⊥ =
qv

c3tτ
sin θ (Á³Á), E⊥ =

1

4πε0

qv

c3tτ
sin θ (Á¸). (3.15)

¾âÝÞèÕÝØÕ v/τ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ãáÚÞàÕÝØÕ a, á ÚÞâÞàëÜ ÔÒØÓÐÛáï ×ÐàïÔ Ò âÕçÕ-
ÝØÕ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ Þâ t = 0 ÔÞ τ . ²åÞÔïéÕÕ Ò (3.15) ÒàÕÜï t ÜÞÖÝÞ ÒëàÐ×Øâì
çÕàÕ× àÐááâÞïÝØÕ r Þâ ×ÐàïÔÐ ÔÞ âÞçÚØ ÝÐÑÛîÔÕÝØï: t = r/c. ¿ÞíâÞÜã áÞÞâÝÞèÕÝØÕ
(3.15) ÜÞÖÝÞ ßÕàÕßØáÐâì Ò ÒØÔÕ

E⊥ =
qa

c2r
sin θ (Á³Á), E⊥ =

1

4πε0

qa

c2r
sin θ (Á¸). (3.16)

¿àØÒÕÔÕÝÝëÙ ×ÔÕáì ÒëÒÞÔ íâÞÙ äÞàÜãÛë ÑëÛ ÞáÝÞÒÐÝ ÝÐ ßàÕÔßÞÛÞÖÕÝØØ, çâÞ
ÛîÑÞÕ íÛÕÚâàÞÜÐÓÝØâÝÞÕ ÒÞ×ÜãéÕÝØÕ àÐáßàÞáâàÐÝïÕâáï Ò ßãáâÞâÕ áÞ áÚÞàÞáâìî c.

¿àÕÖÔÕ ÒáÕÓÞ ÞÑàÐâØÜ ÒÝØÜÐÝØÕ ÝÐ âÞ, çâÞ ÝÐßàïÖÕÝÝÞáâì E⊥ íÛÕÚâàØçÕáÚÞÓÞ
ßÞÛï ÒÞÛÝë Ò äÞàÜãÛÕ (3.16) ãÑëÒÐÕâ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ßÕàÒÞÙ áâÕßÕÝØ
àÐááâÞïÝØï r Þâ æÕÝâàÐ Ò ÞâÛØçØÕ Þâ ÝÐßàïÖÕÝÝÞáâØ E‖ íÛÕÚâàÞáâÐâØçÕáÚÞÓÞ ßÞÛï
âÞçÕçÝÞÓÞ ×ÐàïÔÐ, ÚÞâÞàÐï ãÑëÒÐÕâ ÚÐÚ 1/r2.

´ÐÛÕÕ ÞâÜÕâØÜ, çâÞ ÝÐßàïÖÕÝÝÞáâì E⊥ ßÞÛï ÒÞÛÝë Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t Ò âÞç-
ÚÕ ÝÐÑÛîÔÕÝØï, ÝÐåÞÔïéÕÙáï ÝÐ àÐááâÞïÝØØ r Þâ ØáâÞçÝØÚÐ, ×ÐÒØáØâ Þâ ãáÚÞàÕÝØï
×ÐàïÔÐ a Ò ÑÞÛÕÕ àÐÝÝØÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ t = 0: ÒÞÛÝÐ, Ø×ÛãçÕÝÝÐï Ò ÜÞÜÕÝâ t = 0,
ÔÞáâØÓÐÕâ âÞçÚØ ÝÐÑÛîÔÕÝØï áßãáâï ÒàÕÜï, àÐÒÝÞÕ r/c.

¿àÕÔßÞÛÞÖØÜ âÕßÕàì, çâÞ ×ÐàïÔ q ÒáÕ ÒàÕÜï ÔÒØÖÕâáï ÒÔÞÛì ÞáØ z á ÝÕÚÞâÞàëÜ
ßÕàÕÜÕÝÝëÜ ãáÚÞàÕÝØÕÜ a(t), ÞáâÐÒÐïáì ßàØ íâÞÜ ÒÑÛØ×Ø ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ (ÝÐ-
ßàØÜÕà, áÞÒÕàèÐÕâ ÓÐàÜÞÝØçÕáÚØÕ ÚÞÛÕÑÐÝØï). ÂÞÓÔÐ ÞÝ ÑãÔÕâ Ø×ÛãçÐâì íÛÕÚâàÞ-
ÜÐÓÝØâÝëÕ ÒÞÛÝë ÝÕßàÕàëÒÝÞ. ½ÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò âÞçÚÕ ÝÐ-
ÑÛîÔÕÝØï, ÝÐåÞÔïéÕÙáï ÝÐ àÐááâÞïÝØØ r Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ, ßÞ-ßàÕÖÝÕÜã ÞßàÕ-
ÔÕÛïÕâáï äÞàÜãÛÞÙ (3.16), ßàØçÕÜ ßÞÛÕ E⊥ Ò ÜÞÜÕÝâ ÒàÕÜÕÝØ t ×ÐÒØáØâ Þâ ãáÚÞàÕ-
ÝØï a ×ÐàïÔÐ Ò ÑÞÛÕÕ àÐÝÝØÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ t′ = t− r/c:

E⊥(r, t) =
qa(t′)
c2r

sin θ (Á³Á), E⊥(r, t) =
1

4πε0

qa(t′)
c2r

sin θ (Á¸). (3.17)

´Ûï áßàÐÒÕÔÛØÒÞáâØ íâÞÙ äÞàÜãÛë áãéÕáâÒÕÝÝÞ ßàÕÔßÞÛÞÖÕÝØÕ Þ âÞÜ, çâÞ áÞÒÕà-
èÐîéØÙ ãáÚÞàÕÝÝÞÕ ÔÒØÖÕÝØÕ ×ÐàïÔ ÒáÕ ÒàÕÜï ÞáâÐÕâáï ÒÑÛØ×Ø ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ,
âÐÚ ÚÐÚ �ÒàÕÜï ×ÐßÐ×ÔëÒÐÝØï� r/c Ò (3.16) ßàØÝïâÞ ÝÕØ×ÜÕÝÝëÜ Ø àÐÒÝëÜ ÒàÕÜÕÝØ
ßàÞåÞÖÔÕÝØï ÒÞÛÝë Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ Ò âÞçÚã ÝÐÑÛîÔÕÝØï.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 173�177.

3.5 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ø íÛÕÚâàÞáâÐâØÚÐ.
¼ÐÓÝØâÝÞÕ ßÞÛÕ

3.5.1 ÁØÛÐ Ò íÛÕÚâàÞáâÐâØçÕáÚÞÜ ßÞÛÕ Ø áØÛÐ »ÞàÕÝæÐ
ÀÐááÜÞâàØÜ áØÛã, ÔÕÙáâÒãîéãî ÝÐ ÝÕßÞÔÒØÖÝëÙ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ×ÐàïÔ q áÞ
áâÞàÞÝë íÛÕÚâàÞáâÐâØçÕáÚÞÓÞ ßÞÛï E ′, â. Õ. ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ ÝÕßÞÔÒØÖÝëÜØ Ò
áØáâÕÜÕ ÞâáçÕâÐ K ′ ×ÐàïÔÐÜØ:

~F ′ = q ~E ′. (3.18)
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ÀÐááÜÞâàØÜ íâÞ ÖÕ Ò×ÐØÜÞÔÕÙáâÒØÕ á âÞçÚØ ×àÕÝØï áØáâÕÜë ÞâáçÕâÐ K, ÞâÝÞáØ-
âÕÛìÝÞ ÚÞâÞàÞÙ áØáâÕÜÐ ÞâáçÕâÐ K ′ ÔÒØÖÕâáï áÞ áÚÞàÞáâìî v. ²ÞáßÞÛì×ãÕÜáï Ø×-
ÒÕáâÝëÜ Ø× ÜÕåÐÝØÚØ ×ÐÚÞÝÞÜ ßàÕÞÑàÐ×ÞÒÐÝØï áØÛ ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØ-
ÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ò ÔàãÓãî, ÒëàÐÖÐÕÜëÜ äÞàÜãÛÐÜØ (2.37) Ø (2.43):

F⊥ = F ′
⊥
√

1− v2/c2, F‖ = F ′
‖. (3.19)

½ÐßÞÜÝØÜ, çâÞ íâØ äÞàÜãÛë áßàÐÒÕÔÛØÒë ÔÛï áØÛë, ÔÕÙáâÒãîéÕÙ ÝÐ çÐáâØæã, ÚÞ-
âÞàÐï Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ßÞÚÞØâáï. ¿ÞÔáâÐÒØÜ Ò äÞàÜãÛë (3.19) F ′ Ø× (3.18), Ð
E ′ ÒëàÐ×ØÜ çÕàÕ× ÝÐßàïÖÕÝÝÞáâì E âÞÓÞ ÖÕ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ
K ßÞ äÞàÜãÛÐÜ ßàÕÞÑàÐ×ÞÒÐÝØï íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï (3.6) Ø (3.7), áßàÐÒÕÔÛØÒëÜ
ßàØ ßÕàÕåÞÔÕ Ø× áØáâÕÜë ÞâáçÕâÐ K ′, Ò ÚÞâÞàÞÙ áÞ×ÔÐîéØÕ ßÞÛÕ ×ÐàïÔë ßÞÚÞïâáï.
² àÕ×ãÛìâÐâÕ ßÞÛãçÐÕÜ:

F⊥ = qE⊥(1− v2/c2), F‖ = qE‖. (3.20)

ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò áØáâÕÜÕ ÞâáçÕâÐ K ÔÕÙáâÒãîéÐï ÝÐ ×ÐàïÔ áØÛÐ ÝÕ àÐÒÝÐ ßàÞØ×ÒÕ-
ÔÕÝØî ×ÐàïÔÐ ÝÐ ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï: ~F 6= q ~E ! ÄÞàÜãÛÐ ~F = q ~E
ÝÕ áÞåàÐÝïÕâ áÒÞÕÓÞ ÒØÔÐ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú
ÔàãÓÞÙ, â. Õ. ÝÕ ãÔÞÒÛÕâÒÞàïÕâ ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ. ¼ë ßàØåÞÔØÜ Ú ÒëÒÞÔã,
çâÞ ãÖÕ Ò àÐÜÚÐå íÛÕÚâàÞáâÐâØÚØ (Ò×ÐØÜÞÔÕÙáâÒØï ÝÕßÞÔÒØÖÝëå ÔàãÓ ÞâÝÞáØâÕÛì-
ÝÞ ÔàãÓÐ ×ÐàïÔÞÒ), çâÞÑë ãÔÞÒÛÕâÒÞàØâì ßàØÝæØßã ÞâÝÞáØâÕÛìÝÞáâØ, ÝÕÞÑåÞÔØÜÞ
ÒÒÕáâØ ÜÐÓÝØâÝãî áØÛã � áØÛã »ÞàÕÝæÐ, ×ÐÒØáïéãî Þâ áÚÞàÞáâØ ~v (ÝÕßÞÔÒØÖÝëå
ÔàãÓ ÞâÝÞáØâÕÛìÝÞ ÔàãÓÐ) ×ÐàïÔÞÒ Ò àÐááÜÐâàØÒÐÕÜÞÙ áØáâÕÜÕ ÞâáçÕâÐ:

~F = q ~E +
q

c
~v × ~B (Á³Á), ~F = q ~E + q ~v × ~B (Á¸). (3.21)

² áØáâÕÜÕ ÞâáçÕâÐ K ′, ÓÔÕ ~v = 0, äÞàÜãÛÐ (3.21) ßàØÝØÜÐÕâ ÒØÔ ~F ′ = q ~E ′.
¿Þ áãéÕáâÒã ÒëàÐÖÕÝØÕ (3.21) ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ÞßàÕÔÕÛÕÝØÕ ØÝÔãÚæØØ
ÜÐÓÝØâÝÞÓÞ ßÞÛï ~B. Á ÒÕÚâÞàÞÜ ~B áÒï×ÐÝÐ âÐ çÐáâì ßÞÛÝÞÙ áØÛë, ÔÕÙáâÒãîéÕÙ ÝÐ
ÔÒØÖãéØÙáï ×ÐàïÔ, ÚÞâÞàÐï ×ÐÒØáØâ Þâ ÕÓÞ áÚÞàÞáâØ. ´àãÓØÜØ áÛÞÒÐÜØ, äÞàÜãÛÐ
(3.21) ÔÐÕâ ãÚÐ×ÐÝØï, ÚÐÚ ÒÒÕáâØ (ßÞ ÞßàÕÔÕÛÕÝØî) ßàÞæÕÔãàã Ø×ÜÕàÕÝØï ØÝÔãÚæØØ
ÜÐÓÝØâÝÞÓÞ ßÞÛï.

3.5.2 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ßàØ ÔÒØÖÕÝØØ ×ÐàïÔÞÒ
ÁàÐÒÝÕÝØÕ äÞàÜãÛë (3.20) ÔÛï áØÛë, ßÞÛãçÕÝÝÞÙ á ßÞÜÞéìî ßàØÝæØßÐ ÞâÝÞáØ-
âÕÛìÝÞáâØ, á ÒëàÐÖÕÝØÕÜ (3.21) ÔÐÕâ ÒÞ×ÜÞÖÝÞáâì ßÞÛãçØâì äÞàÜãÛã ÔÛï àÐáçÕâÐ
ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ ÔÒØÖãéØÜØáï ×ÐàïÔÐÜØ.

ÀÐááÜÞâàØÜ, ÝÐßàØÜÕà, ÚÐÚ Ø Ò àÐ×ÔÕÛÕ (3.2), ×ÐàïÖÕÝÝëÙ ßÛÞáÚØÙ ÚÞÝÔÕÝáÐ-
âÞà, ÝÕßÞÔÒØÖÝëÙ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′. ¿ÛÐáâØÝë ÚÞÝÔÕÝáÐâÞàÐ àÐáßÞÛÞÖÕÝë ßÐ-
àÐÛÛÕÛìÝÞ ÞáØ Ox′ (àØá. 3.6). ² ßàÞáâàÐÝáâÒÕ ÜÕÖÔã ßÛÐáâØÝÐÜØ ÝÐåÞÔØâáï ÝÕßÞ-
ÔÒØÖÝëÙ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ßàÞÑÝëÙ ×ÐàïÔ q. Á âÞçÚØ ×àÕÝØï ÝÐÑÛîÔÐâÕÛï Ò
áØáâÕÜÕ ÞâáçÕâÐ K ÔÕÙáâÒãîéÐï ÝÐ ×ÐàïÔ áØÛÐ ÝÐßàÐÒÛÕÝÐ ÒÔÞÛì ÞáØ Oy. ²ÕÛØçØ-
ÝÐ íâÞÙ áØÛë, Ò áÞÞâÒÕâáâÒØØ á äÞàÜãÛÞÙ (3.20), ÔÐÕâáï ÒëàÐÖÕÝØÕÜ

Fy = qEy(1− v2/c2). (3.22)
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ÀØá. 3.6: ²Þ×ÝØÚÝÞÒÕÝØÕ ÜÐÓÝØâÝÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K, Òë×ÒÐÝÝÞÕ ÔÒØÖÕ-
ÝØÕÜ ÞâÝÞáØâÕÛìÝÞ K ×ÐàïÔÞÒ, ÝÕßÞÔÒØÖÝëå Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ø áÞ×ÔÐîéØå
âÐÜ áâÐâØçÕáÚÞÕ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ

¸× íâÞÙ äÞàÜãÛë ÒØÔÝÞ, çâÞ Ò áØáâÕÜÕ ÞâáçÕâÐ K ã ÔÕÙáâÒãîéÕÙ ÝÐ ×ÐàïÔ áØÛë
Õáâì y-áÞáâÐÒÛïîéÐï, ×ÐÒØáïéÐï Þâ áÚÞàÞáâØ v, á ÚÞâÞàÞÙ íâÞâ ×ÐàïÔ ÔÒØÖÕâáï
ÞâÝÞáØâÕÛìÝÞ K. ÁØÛÐ, ×ÐÒØáïéÐï Þâ áÚÞàÞáâØ ×ÐàïÔÐ � íâÞ ÜÐÓÝØâÝÐï áØÛÐ (áØÛÐ
»ÞàÕÝæÐ) ~FÜ = q

c
~v× ~B (Á³Á) ØÛØ q ~v× ~B (Á¸). ² ÔÐÝÝÞÜ áÛãçÐÕ ÞÝÐ ÝÐßàÐÒÛÕÝÐ Ò

ÞâàØæÐâÕÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÞáØ Oy (áÜ. àØá. 3.6). ÁÚÞàÞáâì ×ÐàïÔÐ v ÝÐßàÐÒÛÕÝÐ
ÒÔÞÛì ÞáØ Ox, ßÞíâÞÜã ÝãÖÝÞÕ ÝÐßàÐÒÛÕÝØÕ ~FÜ ßÞÛãçØâáï, ÕáÛØ ÜÐÓÝØâÝÞÕ ßÞÛÕ ~B
ÝÐßàÐÒÛÕÝÞ ÒÔÞÛì ÞáØ Oz: ~B (0, 0, Bz). ÄÞàÜãÛÐ (3.21) Ò âÐÚÞÜ áÛãçÐÕ ÔÐÕâ

Fy = qEy − q

c
vBz (Á³Á), Fy = qEy − q vBz (Á¸). (3.23)

ÁàÐÒÝØÒÐï äÞàÜãÛë (3.22) Ø (3.23), ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï Ò áØáâÕÜÕ Þâ-
áçÕâÐ K ßÞÛãçÐÕÜ Bz = (v/c)Ey (Á³Á) ØÛØ Bz = (v/c2)Ey (Á¸). ² ÒÕÚâÞàÝÞÜ ÒØÔÕ
ÒëàÐÖÕÝØÕ ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K ÜÞÖÝÞ ×ÐßØáÐâì
áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

~B =
1

c
~v × ~E (Á³Á), ~B =

1

c2
~v × ~E (Á¸). (3.24)

ÄÞàÜãÛÐ (3.24) ÔÐÕâ ÒëàÐÖÕÝØÕ ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï Ò áØáâÕÜÕ Þâ-
áçÕâÐ K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ áÞ×ÔÐîéØÕ ÜÐÓÝØâÝÞÕ ßÞÛÕ ×ÐàïÔë (ÝÕßÞÔÒØÖÝëÕ
ÔàãÓ ÞâÝÞáØâÕÛìÝÞ ÔàãÓÐ) ÔÒØÖãâáï ÚÐÚ æÕÛÞÕ áÞ áÚÞàÞáâìî ~v, çÕàÕ× ÝÐßàïÖÕÝ-
ÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï íâØå ÖÕ ×ÐàïÔÞÒ ~E Ò âÞÙ ÖÕ áØáâÕÜÕ ÞâáçÕâÐ K. ¾ÑàÐ-
âØÜ ÒÝØÜÐÝØÕ, çâÞ Ò ØáåÞÔÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′, ÓÔÕ áÞ×ÔÐîéØÕ ßÞÛÕ ×ÐàïÔë ßÞ-
ÚÞïâáï, ØÜÕÕâáï âÞÛìÚÞ íÛÕÚâàÞáâÐâØçÕáÚÞÕ ßÞÛÕ ~E ′, ÝÞ ßàØ ßÕàÕåÞÔÕ Ú ÞßØáÐÝØî
Ò×ÐØÜÞÔÕÙáâÒØï íâØå ÖÕ ×ÐàïÔÞÒ Ò ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÝÐàïÔã á Ø×ÜÕÝÕÝØÕÜ
íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï áÞÓÛÐáÝÞ äÞàÜãÛÐÜ (3.6) Ø (3.7) ßÞïÒÛïÕâáï ÕéÕ Ø ÜÐÓÝØâÝÞÕ
ßÞÛÕ, ÞßàÕÔÕÛïÕÜÞÕ äÞàÜãÛÞÙ (3.24).

3.5.3 ²×ÐØÜÞÔÕÙáâÒØÕ ÔÒØÖãéØåáï ×ÐàïÔÞÒ
ÄÞàÜãÛã (3.24) ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì Ø ÔÛï ÝÐåÞÖÔÕÝØï ÜÐÓÝØâÝÞÓÞ ßÞÛï àÐÒÝÞÜÕà-
ÝÞ ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ. ¿ÞÛãçØÜ ÕÕ ÕéÕ Ø ÔàãÓØÜ áßÞáÞÑÞÜ, àÐááÜÐâàØÒÐï Ò×ÐØ-
ÜÞÔÕÙáâÒØÕ ÔÒãå ßÐàÐÛÛÕÛìÝÞ ÔÒØÖãéØåáï âÞçÕçÝëå ×ÐàïÔÞÒ (àØá. 3.7). ² áØáâÕÜÕ
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ÀØá. 3.7: ²×ÐØÜÞÔÕÙáâÒØÕ ÔÒãå ÝÕßÞÔÒØÖÝëå ÔàãÓ ÞâÝÞáØâÕÛìÝÞ ÔàãÓÐ âÞçÕçÝëå ×Ð-
àïÔÞÒ q Ø Q. ·ÐàïÔë ÝÕßÞÔÒØÖÝë Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, ÝÞ ÞâÝÞáØâÕÛìÝÞ K ÔÒØÖãâ-
áï á ßÞáâÞïÝÝÞÙ áÚÞàÞáâìî v

ÞâáçÕâÐ K ′, ÓÔÕ ×ÐàïÔë ÝÕßÞÔÒØÖÝë, áØÛÐ Øå Ò×ÐØÜÞÔÕÙáâÒØï ÒëàÐÖÐÕâáï ×ÐÚÞÝÞÜ
ºãÛÞÝÐ:

F ′
y =

qQ

r2
(Á³Á), F ′

y =
1

4πε0

qQ

r2
(Á¸). (3.25)

¿ÕàÕåÞÔï Ò ÛÐÑÞàÐâÞàÝãî áØáâÕÜã ÞâáçÕâÐ K, Ò ÚÞâÞàÞÙ ×ÐàïÔë ÔÒØÖãâáï ßÞ ßÐ-
àÐÛÛÕÛìÝëÜ ßàïÜëÜ áÞ áÚÞàÞáâìî v, Ò áÞÞâÒÕâáâÒØØ á ×ÐÚÞÝÞÜ ßàÕÞÑàÐ×ÞÒÐÝØï
áØÛ ßÞÛãçÐÕÜ:

Fy =
qQ

r2

√
1− v2/c2 (Á³Á), Fy =

1

4πε0

qQ

r2

√
1− v2/c2 (Á¸). (3.26)

½ÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ ×ÐàïÔÞÜ Q Ò âÞÜ ÜÕáâÕ, ÓÔÕ ÝÐ-
åÞÔØâáï ×ÐàïÔ q, Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ àÐÒÝÐ

E ′
y =

Q

r2
(Á³Á), E ′

y =
1

4πε0

Q

r2
(Á¸), (3.27)

Ð Ò áØáâÕÜÕ ÞâáçÕâÐ K Ò áÞÞâÒÕâáâÒØØ á äÞàÜãÛÐÜØ ßàÕÞÑàÐ×ÞÒÐÝØï ÝÐßàïÖÕÝÝÞ-
áâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï (3.6)

Ey =
Q

r2

1√
1− v2/c2

(Á³Á), Ey =
1

4πε0

Q

r2

1√
1− v2/c2

(Á¸). (3.28)

²ëàÐÖÐï ßàÐÒãî çÐáâì äÞàÜãÛë (3.26) çÕàÕ× Ey Ø× (3.28), ßÞÛãçÐÕÜ

Fy = qEy(1− v2/c2). (3.29)
¿ÞÒâÞàïï ÔÐÛÕÕ àÐááãÖÔÕÝØï, ßàØÒÕÔÕÝÝëÕ ßÞáÛÕ äÞàÜãÛë (3.22), ßàØåÞÔØÜ ÔÛï
ÜÐÓÝØâÝÞÓÞ ßÞÛï ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ Ú âÐÚÞÜã ÖÕ ÒëàÐÖÕÝØî (3.24). ¾ÝÞ ßàØÜÕ-
ÝØÜÞ ÔÛï ÒëçØáÛÕÝØï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï Ò áØáâÕÜÕ ÞâáçÕâÐ K, ÞâÝÞáØâÕÛì-
ÝÞ ÚÞâÞàÞÙ áÞ×ÔÐîéØÕ ÜÐÓÝØâÝÞÕ ßÞÛÕ ×ÐàïÔë ÔÒØÖãâáï ÚÐÚ æÕÛÞÕ áÞ áÚÞàÞáâìî v,
çÕàÕ× Ø×ÒÕáâÝãî ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï íâØå ÖÕ ×ÐàïÔÞÒ ~E Ò âÞÙ ÖÕ
áØáâÕÜÕ ÞâáçÕâÐ K.
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¼ëáÛÕÝÝëÙ Þßëâ, Ò ÚÞâÞàÞÜ àÐááÜÐâàØÒÐÕâáï Ò×ÐØÜÞÔÕÙáâÒØÕ ÔÒãå ßÐàÐÛÛÕÛì-
ÝÞ ÔÒØÖãéØåáï ×ÐàïÔÞÒ, ÜÞÖÝÞ âàÐÚâÞÒÐâì Ø á ÔàãÓÞÙ âÞçÚØ ×àÕÝØï: ÝÕ ÔÛï ÒëÒÞÔÐ
äÞàÜãÛë (3.24), Ð ÝÐßàÞâØÒ, ÔÛï ÕÕ ßàØÜÕÝÕÝØï. ´Ûï íâÞÓÞ ÝãÖÝÞ, ßÞÛì×ãïáì áàÐ-
×ã ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÞÙ ÞâáçÕâÐ K, ÒëçØáÛØâì ßÞ äÞàÜãÛÕ (3.23) ßÞÛÝãî áØÛã,
ÔÕÙáâÒãîéãî ÝÐ ÔÒØÖãéØÙáï ×ÐàïÔ q Ò íÛÕÚâàØçÕáÚÞÜ Ø ÜÐÓÝØâÝÞÜ ßÞÛïå, áÞ×ÔÐ-
ÒÐÕÜëå ÔÒØÖãéØÜáï ×ÐàïÔÞÜ Q. ¿ÞÛãçÕÝÝëÙ àÕ×ãÛìâÐâ áÛÕÔãÕâ áàÐÒÝØâì á Òë-
çØáÛÕÝØÕÜ íâÞÙ áØÛë ßàØ ØáßÞÛì×ÞÒÐÝØØ ÒáßÞÜÞÓÐâÕÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ K ′, Ò
ÚÞâÞàÞÙ ×ÐàïÔë ÝÕßÞÔÒØÖÝë (â. Õ. á ÒëàÐÖÕÝØÕÜ (3.29)).

3.5.4 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ Ø âÞÚÐ
¾â äÞàÜãÛë (3.24) ÜÞÖÝÞ ßÕàÕÙâØ Ú ×ÐÚÞÝã ±ØÞ � ÁÐÒÐàÐ � »ÐßÛÐáÐ, ÚÞâÞàëÙ
ßÞ×ÒÞÛïÕâ àÐááçØâëÒÐâì ÜÐÓÝØâÝëÕ ßÞÛï, áÞ×ÔÐÒÐÕÜëÕ ßàÞÒÞÔÝØÚÐÜØ á âÞÚÞÜ. ¿àØ
áàÐÒÝØâÕÛìÝÞ ÜÕÔÛÕÝÝëå ÔÒØÖÕÝØïå ×ÐàïÔÞÒ (ßàØ v/c ¿ 1) Ò ÒëàÐÖÕÝØØ ÔÛï ÝÐ-
ßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ ÜÞÖÝÞ ÝÕ ãçØâëÒÐâì ÚÒÐÔ-
àÐâØçÝëå ßÞ v/c çÛÕÝÞÒ. ¿ÞÔáâÐÝÞÒÚÐ âÐÚØå ßàØÑÛØÖÕÝÝëå ×ÝÐçÕÝØÙ ÝÐßàïÖÕÝ-
ÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ò äÞàÜãÛã (3.24) áÞÞâÒÕâáâÒãÕâ ÞâÑàÐáëÒÐÝØî çÛÕÝÞÒ
âàÕâìÕÙ áâÕßÕÝØ ßÞ v/c Ò ÒëàÐÖÕÝØØ ÔÛï ÜÐÓÝØâÝÞÓÞ ßÞÛï Ø ÞâÑàÐáëÒÐÝØî çÛÕÝÞÒ
çÕâÒÕàâÞÙ áâÕßÕÝØ Ò ÒëàÐÖÕÝØØ ÔÛï ÜÐÓÝØâÝÞÙ áØÛë (áØÛë »ÞàÕÝæÐ), ÔÕÙáâÒãîéÕÙ
ÝÐ ÔÒØÖãéØÙáï ×ÐàïÔ. ´àãÓØÜØ áÛÞÒÐÜØ, Ò äÞàÜãÛÕ (3.24) íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ~E
ÜÞÖÝÞ ßÞÛÐÓÐâì âÐÚØÜ ÖÕ, ÚÐÚ Ø ÔÛï ÝÕßÞÔÒØÖÝÞÓÞ ×ÐàïÔÐ:

~E(r) =
q

r3
~r (Á³Á), ~E(r) =

1

4πε0

q

r3
~r (Á¸). (3.30)

¿ÞÔáâÐÒÛïï íâÞ ÒëàÐÖÕÝØÕ Ò (3.24), ßÞÛãçÐÕÜ:

~B =
Q

cr3
~v × ~r (Á³Á), ~B =

1

4πε0

Q

r3
~v × ~r (Á¸). (3.31)

ÇâÞÑë ßÞÛãçØâì ÒëàÐÖÕÝØÕ ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï −→dB, áÞ×ÔÐÒÐÕÜÞÓÞ íÛÕ-
ÜÕÝâÞÜ ~dl ÛØÝÕÙÝÞÓÞ ßàÞÒÞÔÝØÚÐ, ßÞ ÚÞâÞàÞÜã ØÔÕâ âÞÚ I , ÔÞáâÐâÞçÝÞ ×ÐÜÕÝØâì Ò
äÞàÜãÛÕ (3.31) Q~v ÝÐ I ~dl:

−→
dB =

I

c

~dl × ~r

r3
(Á³Á), −→

dB =
µ0I

4π

~dl × ~r

r3
(Á¸). (3.32)

(×ÔÕáì ãçâÕÝÞ, çâÞ 1/c2 = ε0µ0, ÓÔÕ µ0 � ÜÐÓÝØâÝÐï ßÞáâÞïÝÝÐï).
² ßàØÒÕÔÕÝÝÞÜ ×ÔÕáì ÒëÒÞÔÕ äÞàÜãÛë (3.32) ×ÐÚÞÝÐ ±ØÞ � ÁÐÒÐàÐ � »ÐßÛÐáÐ

ßàÕÔßÞÛÐÓÐÛÞáì, çâÞ ÒÞ×ÝØÚÝÞÒÕÝØÕ ÜÐÓÝØâÝÞÓÞ ßÞÛï Òë×ÒÐÝÞ ßàÞáâëÜ ßÕàÕÝÞáÞÜ
×ÐàïÔÐ, ÝÕ×ÐÒØáØÜÞ Þâ âÞÓÞ, ÞÑãáÛÞÒÛÕÝ ÛØ íâÞâ ßÕàÕÝÞá ÝÕßÞáàÕÔáâÒÕÝÝÞ ÜÕåÐ-
ÝØçÕáÚØÜ ÔÒØÖÕÝØÕÜ ×ÐàïÖÕÝÝÞÓÞ âÕÛÐ ØÛØ íÛÕÚâàØçÕáÚØÜ âÞÚÞÜ Ò ßàÞÒÞÔÝØÚÕ.
¿àïÜÞÕ íÚáßÕàØÜÕÝâÐÛìÝÞÕ ÔÞÚÐ×ÐâÕÛìáâÒÞ íâÞÓÞ ßàÕÔßÞÛÞÖÕÝØï ÔÐÕâ, ÝÐßàØÜÕà,
Þßëâ ÀÞãÛÐÝÔÐ, Ò ÚÞâÞàÞÜ ÑëÛÞ ÞÑÝÐàãÖÕÝÞ ÜÐÓÝØâÝÞÕ ßÞÛÕ ÒàÐéÐîéÕÓÞáï ×Ðàï-
ÖÕÝÝÞÓÞ ÔØáÚÐ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 177�187, áâà. 220�222.
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3.6 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ßàÞÒÞÔÝØÚÐ á âÞÚÞÜ
Ø âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ

² íâÞÜ àÐ×ÔÕÛÕ Üë ßàØÒÕÔÕÜ àÕÛïâØÒØáâáÚÞÕ ÞÑêïáÝÕÝØÕ ßàÞØáåÞÖÔÕÝØï ÜÐÓÝØâ-
ÝÞÙ áØÛë, ÔÕÙáâÒãîéÕÙ ÝÐ ÔÒØÖãéØÙáï ×ÐàïÔ ÒÑÛØ×Ø ßàÞÒÞÔÝØÚÐ á âÞÚÞÜ.

¼ÐÓÝØâÝÞÕ Ò×ÐØÜÞÔÕÙáâÒØÕ ÜÕÖÔã ÔÒØÖãéØÜØáï ×ÐàïÔÐÜØ, â.Õ. âÐ çÐáâì áØÛë
Ò×ÐØÜÞÔÕÙáâÒØï, ÚÞâÞàÐï ×ÐÒØáØâ Þâ Øå áÚÞàÞáâØ, ßÞ áãâØ ÔÕÛÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ
ÚÒÐÔàÐâØçÝëÙ àÕÛïâØÒØáâáÚØÙ íääÕÚâ, âÐÚ ÚÐÚ ÜÐÓÝØâÝÞÕ Ò×ÐØÜÞÔÕÙáâÒØÕ ÜÕÝì-
èÕ íÛÕÚâàØçÕáÚÞÓÞ Ò×ÐØÜÞÔÕÙáâÒØï íâØå ×ÐàïÔÞÒ Ò ÞâÝÞèÕÝØØ (v/c)2. ÍâÞ åÞàÞèÞ
ÒØÔÝÞ Ø× äÞàÜãÛë (3.29). ´Ûï ÝÕ áÛØèÚÞÜ ÑëáâàÞ ÔÒØÖãéØåáï ×ÐàïÔÞÒ ÜÐÓÝØâÝÞÕ
Ò×ÐØÜÞÔÕÙáâÒØÕ ÔÐÕâ ÛØèì ÜÐÛãî ßÞßàÐÒÚã Ú íÛÕÚâàØçÕáÚÞÜã Ò×ÐØÜÞÔÕÙáâÒØî. ¿Þ
ÞÑàÐ×ÝÞÜã ÒëàÐÖÕÝØî ¿ÐàáÕÛÛÐ (áÜ. [5]) �ÚÐÖÕâáï áâàÐÝÝëÜ, çâÞ ÜÐÓÝØâÝëÕ áØÛë
ÔÞáâÐâÞçÝÞ ÒÕÛØÚØ, çâÞÑë ÒàÐéÐâì ïÚÞàï íÛÕÚâàÞÜÞâÞàÞÒ Ø ßÞÔÝØÜÐâì âïÖÕáâØ�.

¾ÑêïáÝÕÝØÕ íâÞÜã áâàÐÝÝÞÜã ÝÐ ßÕàÒëÙ Ò×ÓÛïÔ ÞÑáâÞïâÕÛìáâÒã ÚàÞÕâáï Ò ßàÐÚ-
âØçÕáÚØ ßÞÛÝÞÙ íÛÕÚâàØçÕáÚÞÙ ÝÕÙâàÐÛìÝÞáâØ ÜÐÚàÞáÚÞßØçÕáÚØå âÕÛ. ½ÐÛØçØÕ ÔÒãå
áÞàâÞÒ ×ÐàïÔÞÒ, áßÞáÞÑÝëå Ò×ÐØÜÝÞ áÚÞÜßÕÝáØàÞÒÐâì íÛÕÚâàØçÕáÚÞÕ Ò×ÐØÜÞÔÕÙ-
áâÒØÕ, ßàØÒÞÔØâ Ú âÞÜã, çâÞ ÜÐÓÝØâÝÞÕ Ò×ÐØÜÞÔÕÙáâÒØÕ ÔÛï ÜÐÚàÞáÚÞßØçÕáÚØå âÕÛ
áâÐÝÞÒØâáï ×ÐÜÕâÝëÜ. ½Þ ÒÞ Ò×ÐØÜÞÔÕÙáâÒØØ ×ÐàïÖÕÝÝëå çÐáâØæ Ò ÐâÞÜÐå ÜÐÓÝØâ-
ÝëÕ íääÕÚâë ÔÕÙáâÒØâÕÛìÝÞ ×ÐÝØÜÐîâ ÒâÞàÞÕ ÜÕáâÞ ßÞáÛÕ íÛÕÚâàØçÕáÚØå.

ÇâÞÑë ÛãçèÕ ßÞÝïâì, Ò ÚÐÚØå áÛãçÐïå ÜÐÓÝØâÝÞÕ Ò×ÐØÜÞÔÕÙáâÒØÕ áâÐÝÞÒØâáï
ÞßàÕÔÕÛïîéØÜ, ÜÞÖÝÞ àÐááÜÞâàÕâì ÜÐÓÝØâÝãî áØÛã, ÔÕÙáâÒãîéãî ÝÐ ÔÒØÖãéØÙ-
áï ×ÐàïÔ Ò ÜÐÓÝØâÝÞÜ ßÞÛÕ, áÞ×ÔÐÒÐÕÜÞÜ ßÞáâÞïÝÝëÜ âÞÚÞÜ Ò ÝÕÙâàÐÛìÝÞÜ ßàÞÒÞÔ-
ÝØÚÕ. ¾ÓàÐÝØçØÜáï ãßàÞéÕÝÝÞÙ áØâãÐæØÕÙ Ò áÛÕÔãîéÕÜ ÜëáÛÕÝÝÞÜ ÞßëâÕ. ¿àØ-
ÜÕÜ, çâÞ íÛÕÚâàÞÝë ßàÞÒÞÔØÜÞáâØ (×ÐàïÔ ÚÐÖÔÞÓÞ àÐÒÕÝ −e) ÔÒØÖãâáï á ßÞáâÞïÝ-
ÝÞÙ Ø ÞÔØÝÐÚÞÒÞÙ ÔÛï ÒáÕå áÚÞàÞáâìî ~v ÒÔÞÛì âÞÝÚÞÓÞ ßàïÜÞÛØÝÕÙÝÞÓÞ ßàÞÒÞÔÐ
(àØá. 3.8). ¿ãáâì çØáÛÞ Øå ÝÐ ÕÔØÝØæã ÔÛØÝë ßàÞÒÞÔÐ àÐÒÝÞ n−. ÂÞÓÔÐ âÞÚ Ò ßàÞÒÞ-
ÔÕ I = −en−v. ÇØáÛÞ íÛÕÜÕÝâÐàÝëå ßÞÛÞÖØâÕÛìÝëå ×ÐàïÔÞÒ (ÝÕßÞÔÒØÖÝëå ØÞÝÞÒ
àÕèÕâÚØ) ÝÐ ÕÔØÝØæã ÔÛØÝë ßàÞÒÞÔÐ (ÞÑÞ×ÝÐçØÜ íâÞ çØáÛÞ n+) âÞÖÕ àÐÒÝÞ n−, âÐÚ
ÚÐÚ ßÞ ãáÛÞÒØî Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ßàÞÒÞÔ ÝÕ ×ÐàïÖÕÝ.

I

q
v

B

ÀØá. 3.8: ²×ÐØÜÞÔÕÙáâÒØÕ âÞÚÐ Ò ßàÞÒÞÔÝØÚÕ Ø ×ÐàïÔÐ q, ÚÞâÞàëÙ ÔÒØÖÕâáï á ßÞ-
áâÞïÝÝÞÙ áÚÞàÞáâìî v ßÐàÐÛÛÕÛìÝÞ ßàÞÒÞÔã

ÀÐááÜÞâàØÜ ßàÞÑÝëÙ ×ÐàïÔ q, ÚÞâÞàëÙ ÔÒØÖÕâáï ßÐàÐÛÛÕÛìÝÞ ßàÞÒÞÔã. ´Ûï
ãßàÞéÕÝØï ÜÐâÕÜÐâØçÕáÚØå ÒëÚÛÐÔÞÚ ÒÞ×ìÜÕÜ çÐáâÝëÙ áÛãçÐÙ, áçØâÐï, çâÞ áÚÞ-
àÞáâì ×ÐàïÔÐ q âÐÚÐï ÖÕ, ÚÐÚ Ø ã íÛÕÚâàÞÝÞÒ ßàÞÒÞÔØÜÞáâØ, â. Õ. ~v (áÜ. àØá. 3.8).
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² íâÞÜ çÐáâÝÞÜ áÛãçÐÕ äØ×ØçÕáÚÐï áâÞàÞÝÐ àÐááÜÐâàØÒÐÕÜÞÓÞ ÒÞßàÞáÐ, ÝÕ ÞáÛÞÖ-
ÝÕÝÝÐï ÓàÞÜÞ×ÔÚØÜØ ÜÐâÕÜÐâØçÕáÚØÜØ ßàÕÞÑàÐ×ÞÒÐÝØïÜØ, ÒëáâãßÐÕâ ÞáÞÑÕÝÝÞ Þâ-
çÕâÛØÒÞ.1

´Ûï ÝÐåÞÖÔÕÝØï ÔÕÙáâÒãîéÕÙ ÝÐ ×ÐàïÔ q áØÛë ßÕàÕÙÔÕÜ Ò áØáâÕÜã ÞâáçÕâÐ K ′,
Ò ÚÞâÞàÞÙ íÛÕÚâàÞÝë Ò ßàÞÒÞÔÕ Ø ßàÞÑÝëÙ ×ÐàïÔ ÝÕßÞÔÒØÖÝë, Ð áÐÜ ßàÞÒÞÔ ÒÜÕáâÕ
á ßÞÛÞÖØâÕÛìÝëÜØ ×ÐàïÔÐÜØ ØÞÝÞÒ ÚàØáâÐÛÛØçÕáÚÞÙ àÕèÕâÚØ ÔÒØÖÕâáï áÞ áÚÞàÞ-
áâìî−~v. ÂÞÓÔÐ ÔÛï ÔÕÙáâÒãîéÕÙ ÝÐ ßàÞÑÝëÙ ×ÐàïÔ áØÛë ÜÞÖÝÞ ÝÐßØáÐâì

F ′ = qE ′, (3.33)

âÐÚ ÚÐÚ ×ÐàïÔ q Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ÝÕßÞÔÒØÖÕÝ. ² íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÔÕÙáâÒã-
îéÐï ÝÐ ×ÐàïÔ áØÛÐ ÜÞÖÕâ Ñëâì ÞÑãáÛÞÒÛÕÝÐ âÞÛìÚÞ íÛÕÚâàØçÕáÚØÜ ßÞÛÕÜ.

ºÐÚØÜ ÞÑàÐ×ÞÜ ÝÕÙâàÐÛìÝëÙ ßàÞÒÞÔ ÜÞÖÕâ áÞ×ÔÐâì íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ? ´ÕÛÞ
Ò âÞÜ, çâÞ ßàÞÒÞÔ ÑãÔÕâ ÝÕÙâàÐÛìÝëÜ âÞÛìÚÞ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ, ÓÔÕ
íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ø Ò áÐÜÞÜ ÔÕÛÕ ÞâáãâáâÒãÕâ. ½Þ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ßàÞÒÞÔ á
âÞÚÞÜ ÞÚÐ×ëÒÐÕâáï ×ÐàïÖÕÝÝëÜ. ¿ÞÚÐÖÕÜ íâÞ.

² áØáâÕÜÕ ÞâáçÕâÐ K ′ ßàÞÒÞÔ ÔÒØÖÕâáï Ø ØáßëâëÒÐÕâ ÛÞàÕÝæÕÒÞ áÞÚàÐéÕÝØÕ
ÔÛØÝë ßÞ áàÐÒÝÕÝØî á ÔÛØÝÞÙ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K, ÓÔÕ ÞÝ ßÞÚÞØâáï.
¿ÞíâÞÜã ßÛÞâÝÞáâì n′+ ÔÒØÖãéØåáï ÒÜÕáâÕ á ßàÞÒÞÔÞÜ ßÞÛÞÖØâÕÛìÝëå ×ÐàïÔÞÒ Ò
áØáâÕÜÕ ÞâáçÕâÐ K ′ ÑãÔÕâ ÑÞÛìèÕ, çÕÜ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ:

n′+ =
n+√

1− v2/c2
. (3.34)

¿ÛÞâÝÞáâì ÞâàØæÐâÕÛìÝëå ×ÐàïÔÞÒ, ÝÐßàÞâØÒ, ÑãÔÕâ ÑÞÛìèÕ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕ-
ÜÕ ÞâáçÕâÐ, çÕÜ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ ÞÝØ ßÞÚÞïâáï, â. Õ.

n′− = n−
√

1− v2/c2. (3.35)

¸× áÞÞâÝÞèÕÝØÙ (3.34) Ø (3.35) ÛÕÓÚÞ ßÞÛãçØâì ßÞÛÝëÙ ×ÐàïÔ ÕÔØÝØæë ÔÛØÝë
ßàÞÒÞÔÐ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′:

e(n′+ − n′−) =
en+√

1− v2/c2

v2

c2
= en′+

v2

c2
. (3.36)

¿àØÜÕÝïï âÕÞàÕÜã ³ÐãááÐ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ú æØÛØÝÔàØçÕáÚÞÙ ßÞÒÕàåÝÞáâØ
àÐÔØãáÐ r, ÞåÒÐâëÒÐîéÕÙ ×ÐàïÖÕÝÝëÙ ßàÞÒÞÔ, ÝÐåÞÔØÜ ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØ-
çÕáÚÞÓÞ ßÞÛï E ′ ÝÐ àÐááâÞïÝØØ r Þâ ßàÞÒÞÔÐ:

E ′(r) =
2en′+

r

v2

c2
(Á³Á), E ′(r) =

en′+
2πε0r

v2

c2
(Á¸). (3.37)

¿ÞíâÞÜã áØÛÐ, ÔÕÙáâÒãîéÐï ÝÐ ßàÞÑÝëÙ ×ÐàïÔ q, Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ Ò áÞÞâÒÕâ-
áâÒØØ á äÞàÜãÛÐÜØ (3.33) Ø (3.37) àÐÒÝÐ

F ′ = qE ′ =
2qen′+

r

v2

c2
(Á³Á), F ′ = qE ′ =

qen′+
2πε0r

v2

c2
(Á¸). (3.38)

1¿ÞÔàÞÑÝëÙ àÐ×ÑÞà ÞÑéÕÓÞ áÛãçÐï ßàÞØ×ÒÞÛìÝÞÙ áÚÞàÞáâØ ßàÞÑÝÞÓÞ ×ÐàïÔÐ q, ÞâÛØçÝÞÙ Þâ áÚÞ-
àÞáâØ íÛÕÚâàÞÝÞÒ Ò ßàÞÒÞÔÝØÚÕ, ÜÞÖÝÞ ÝÐÙâØ Ò ÚÝØÓÕ ¿ÐàáÕÛÛÐ, áÜ. [5], áâà. 181�187.
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¸áßÞÛì×ãï ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áØÛë (3.19), ÝÐåÞÔØÜ ÔÕÙáâÒãîéãî ÝÐ ×ÐàïÔ áØ-
Ûã Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ:

F = F ′√1− v2/c2 =
2qen+

r

v2

c2
(Á³Á), F =

µ0

2π

qen+

r
v2 (Á¸). (3.39)

ÍâÐ áØÛÐ ÝÐßàÐÒÛÕÝÐ ßÞ àÐÔØãáã Þâ ßàÞÒÞÔÐ.
ÇâÞÑë ßÞÛãçØâì âÐÚÞÕ ÖÕ ÒëàÐÖÕÝØÕ ÔÛï ÔÕÙáâÒãîéÕÙ ÝÐ ßàÞÑÝëÙ ×ÐàïÔ q áØ-

Ûë áàÐ×ã Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K (ÑÕ× ßàÞÜÕÖãâÞçÝÞÓÞ ßÕàÕåÞÔÐ Ò áØ-
áâÕÜã K ′), Üë ÔÞÛÖÝë áçØâÐâì, çâÞ ÒÑÛØ×Ø ßàÞÒÞÔÐ á âÞÚÞÜ áãéÕáâÒãÕâ ÜÐÓÝØâÝÞÕ
ßÞÛÕ, ÝÐßàÐÒÛÕÝÝÞÕ ßÕàßÕÝÔØÚãÛïàÝÞ ßàÞÒÞÔã. ¸áßÞÛì×ãï äÞàÜãÛã ÔÛï áØÛë »Þ-
àÕÝæÐ (3.21) Ø ãçØâëÒÐï, çâÞ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ
ÞâáãâáâÒãÕâ, ÜÞÖÝÞ ÝÐßØáÐâì:

~F =
q

c
~v× ~B, F =

1

c
qvB (Á³Á), ~F = q ~v× ~B, F =

1

c
qvB (Á¸). (3.40)

ÁàÐÒÝØÒÐï ßÞÛãçÕÝÝëÕ ÒëèÕ äÞàÜãÛë (3.39) ÔÛï áØÛë, ÔÕÙáâÒãîéÕÙ ÝÐ ßàÞÑÝëÙ
×ÐàïÔ q, á äÞàÜãÛÐÜØ (3.40), ßÞÛãçÐÕÜ ÒëàÐÖÕÝØÕ ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï,
áÞ×ÔÐÒÐÕÜÞÓÞ âÞÚÞÜ I = en+v, ßàÞâÕÚÐîéØÜ ßÞ ßàïÜÞÛØÝÕÙÝÞÜã ßàÞÒÞÔã:

B =
2I

cr
(Á³Á), B =

µ0

2π

I

r
(Á¸). (3.41)

º âÐÚÞÜã ÖÕ àÕ×ãÛìâÐâã ÔÛï ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ âÞÚÞÜ Ò ßàÞ-
ÒÞÔÕ ßàØÒÞÔØâ, ÚÞÝÕçÝÞ, Ø ßàØÜÕÝÕÝØÕ ×ÐÚÞÝÐ ±ØÞ � ÁÐÒÐàÐ � »ÐßÛÐáÐ ØÛØ âÕÞ-
àÕÜë Þ æØàÚãÛïæØØ ÒÕÚâÞàÐ ~B ßÞ ×ÐÜÚÝãâÞÜã ÚàãÓÞÒÞÜã ÚÞÝâãàã, ÞåÒÐâëÒÐîéÕÜã
ßàÞÒÞÔ á âÞÚÞÜ.

² àÐááÜÞâàÕÝÝÞÜ ÒëèÕ ßàØÜÕàÕ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ÝÕÙâàÐÛì-
ÝëÙ ßàÞÒÞÔÝØÚ á âÞÚÞÜ áÞ×ÔÐÕâ âÞÛìÚÞ ÜÐÓÝØâÝÞÕ ßÞÛÕ ~B, ØÝÔãÚæØï ÚÞâÞàÞÓÞ ÔÐ-
Õâáï äÞàÜãÛÐÜØ (3.41), Ð íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ÞâáãâáâÒãÕâ. ²Þ ÒáßÞÜÞÓÐâÕÛìÝÞÙ áØ-
áâÕÜÕ ÞâáçÕâÐ K ′ ßÞïÒÛïÕâáï ÕéÕ Ø íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ E ′, ÝÐßàïÖÕÝÝÞáâì ÚÞâÞ-
àÞÓÞ ÔÐÕâáï äÞàÜãÛÐÜØ (3.37). ½ÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï E ′ ÜÞÖÝÞ Òë-
àÐ×Øâì çÕàÕ× ØÝÔãÚæØî ÜÐÓÝØâÝÞÓÞ ßÞÛï (3.41) Ø áÚÞàÞáâì v áØáâÕÜë ÞâáçÕâÐ K ′:

E ′ =
2en′+

r

v2

c2
=

1√
1− v2/c2

2en+v2

rc2
=

1√
1− v2/c2

v

c
B (Á³Á),

E ′ =
µ0

2π

en′+
r

v2 =
µ0

2π

1√
1− v2/c2

en+

r
v2 =

1√
1− v2/c2

vB (Á¸).
(3.42)

² ÒÕÚâÞàÝÞÜ ÒØÔÕ íâã ÝÐßàïÖÕÝÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ~E ′ ÜÞÖÝÞ ×ÐßØáÐâì áÛÕ-
ÔãîéØÜ ÞÑàÐ×ÞÜ:

~E ′ =
1√

1− v2/c2

1

c
~v × ~B =

1

c
~v × ~B′ (Á³Á),

~E ′ =
1√

1− v2/c2
~v × ~B = ~v × ~B′ (Á¸).

(3.43)

ÄÞàÜãÛë (3.43), ÚÐÚ Ø äÞàÜãÛë (3.24), ßÞÛãçÕÝë ÝÐ çÐáâÝëå ßàØÜÕàÐå, ÝÞ Ò
ÔÕÙáâÒØâÕÛìÝÞáâØ íâØ äÞàÜãÛë ãÝØÒÕàáÐÛìÝë. µáÛØ Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ
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y y'

z z'

x x'

v

O O'

K K'

vq q

qvB'

qE'

E'

B'B

E = 0

ÀØá. 3.9: ÁÚàÕéÕÝÝëÕ Ò×ÐØÜÝÞ ßÕàßÕÝÔØÚãÛïàÝëÕ íÛÕÚâàØçÕáÚÞÕ Ø ÜÐÓÝØâÝÞÕ ßÞÛï
Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ

K áãéÕáâÒãÕâ âÞÛìÚÞ ÜÐÓÝØâÝÞÕ ßÞÛÕ ~B, âÞ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, ÚÞâÞàÐï ÔÒØÖÕâáï
ÞâÝÞáØâÕÛìÝÞ K áÞ áÚÞàÞáâìî ~v, ßÞïÒÛïÕâáï ÕéÕ Ø íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ~E ′, ÝÐßàï-
ÖÕÝÝÞáâì ÚÞâÞàÞÓÞ ÒëàÐÖÐÕâáï äÞàÜãÛÐÜØ (3.43).

² áßàÐÒÕÔÛØÒÞáâØ äÞàÜãÛ (3.43) ÜÞÖÝÞ ãÑÕÔØâìáï ÝÐ áÛÕÔãîéÕÜ ßàÞáâÞÜ ßàØ-
ÜÕàÕ. ¿ãáâì Ò ÝÕÚÞâÞàÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′ ØÜÕîâáï áÚàÕéÕÝÝëÕ Ò×ÐØÜÝÞ ßÕà-
ßÕÝÔØÚãÛïàÝëÕ ÜÐÓÝØâÝÞÕ Ø íÛÕÚâàØçÕáÚÞÕ ßÞÛï ~B′ Ø ~E ′, ßàØçÕÜ E ′ < B′ (Á³Á) (Ò
Á¸ E ′ < cB′). ½ÐßàÐÒÛÕÝØÕ Øå ßÞÚÐ×ÐÝÞ ÝÐ àØá. 3.9. ÀÐááÜÞâàØÜ âÞçÕçÝëÙ ×ÐàïÔ
q, ÚÞâÞàëÙ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ K ′ ÒÔÞÛì ÞáØ Ox′ ÒÛÕÒÞ áÞ áÚÞàÞáâìî−~v, ÒÕÛØ-
çØÝÐ ÚÞâÞàÞÙ ãÔÞÒÛÕâÒÞàïÕâ ãáÛÞÒØî (v/c)B′ = E ′ (Á³Á) (Ò Á¸ vB′ = E ′). ¿àØ
âÐÚÞÙ áÚÞàÞáâØ ÔÒØÖÕÝØï ×ÐàïÔÐ áØÛë, ÔÕÙáâÒãîéØÕ ÝÐ ×ÐàïÔ áÞ áâÞàÞÝë íÛÕÚâàØ-
çÕáÚÞÓÞ Ø ÜÐÓÝØâÝÞÓÞ ßÞÛÕÙ, ÚÞÜßÕÝáØàãîâ ÔàãÓ ÔàãÓÐ, â. Õ. ßÞÛÝÐï ÔÕÙáâÒãîéÐï ÝÐ
×ÐàïÔ áØÛÐ àÐÒÝÐ ÝãÛî:

~F ′ = qE ′ +
1

c
q~v′ ×B′ = 0 (Á³Á), ~F ′ = qE ′ + q~v′ ×B′ = 0 (Á¸). (3.44)

(·ÔÕáì ~v′ = −~v � áÚÞàÞáâì ×ÐàïÔÐ ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ K ′.) ¿ÕàÕÙÔÕÜ
âÕßÕàì Ò áØáâÕÜã ÞâáçÕâÐ K, ÞâÝÞáØâÕÛìÝÞ ÚÞâÞàÞÙ K ′ ÔÒØÖÕâáï áÞ áÚÞàÞáâìî ~v.
¿ÞÛÝÐï ÔÕÙáâÒãîéÐï ÝÐ ×ÐàïÔ áØÛÐ Ø Ò íâÞÙ áØáâÕÜÕ ÞâáçÕâÐ àÐÒÝÐ ÝãÛî. ½Þ Ò
áØáâÕÜÕ ÞâáçÕâÐ K ×ÐàïÔ q ÝÕßÞÔÒØÖÕÝ. ¾âáîÔÐ áÛÕÔãÕâ, çâÞ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ò
áØáâÕÜÕ ÞâáçÕâÐ K ÞâáãâáâÒãÕâ. ·ÝÐçØâ, Ò áØáâÕÜÕ ÞâáçÕâÐ K Õáâì âÞÛìÚÞ ÜÐÓÝØâÝÞÕ
ßÞÛÕ, Ð Ò áØáâÕÜÕ ÞâáçÕâÐ K ′, ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ K áÞ áÚÞàÞáâìî ~v, Õáâì
ÕéÕ Ø íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ~E ′. ½ÐßàïÖÕÝÝÞáâì íâÞÓÞ ßÞÛï, ÚÐÚ ÒØÔÝÞ Ø× äÞàÜãÛë
(3.44), ÞßàÕÔÕÛïÕâáï áÞÞâÝÞèÕÝØÕÜ:

~E ′ =
1

c
~v ×B′ (Á³Á), ~E ′ = ~v ×B′ (Á¸). (3.45)

¾ÑáãÖÔÐÕÜëÕ ×ÔÕáì ÒÞßàÞáë âÕáÝÞ áÒï×ÐÝë á ×ÐÚÞÝÞÜ íÛÕÚâàÞÜÐÓÝØâÝÞÙ ØÝ-
ÔãÚæØØ ÄÐàÐÔÕï. ÁÞÓÛÐáÝÞ íâÞÜã ×ÐÚÞÝã íÛÕÚâàÞÔÒØÖãéÐï áØÛÐ ØÝÔãÚæØØ (íÔá)
Ò ×ÐÜÚÝãâÞÜ ÚÞÝâãàÕ ßàÞßÞàæØÞÝÐÛìÝÐ áÚÞàÞáâØ Ø×ÜÕÝÕÝØï ßÞâÞÚÐ ÜÐÓÝØâÝÞÙ ØÝ-
ÔãÚæØØ çÕàÕ× ßÞÒÕàåÝÞáâì, ÞÓàÐÝØçÕÝÝãî íâØÜ ÚÞÝâãàÞÜ. ´ÞßãáâØÜ, çâÞ Ø×ÜÕÝÕÝØÕ
ßÞâÞÚÐ áÒï×ÐÝÞ á ÔÒØÖÕÝØÕÜ ÚÞÝâãàÐ ÞâÝÞáØâÕÛìÝÞ ØáâÞçÝØÚÞÒ ßÞáâÞïÝÝÞÓÞ ÜÐÓ-
ÝØâÝÞÓÞ ßÞÛï (ßàÞÒÞÔÝØÚÞÒ á âÞÚÞÜ ØÛØ ßÞáâÞïÝÝëå ÜÐÓÝØâÞÒ). Á âÞçÚØ ×àÕÝØï ÛÐ-
ÑÞàÐâÞàÝÞÙ áØáâÕÜë ÞâáçÕâÐ íÔá Ò ÚÞÝâãàÕ ÞÑãáÛÞÒÛÕÝÐ àÐÑÞâÞÙ áØÛë »ÞàÕÝæÐ,
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ÔÕÙáâÒãîéÕÙ ÝÐ ÔÒØÖãéØÙáï ÒÜÕáâÕ á ÚÞÝâãàÞÜ ßàÞÑÝëÙ ×ÐàïÔ (àÐÑÞâÐ ÒëçØáÛï-
Õâáï ßàØ ÜëáÛÕÝÝÞÜ ßÕàÕÜÕéÕÝØØ ßàÞÑÝÞÓÞ ×ÐàïÔÐ ÒÔÞÛì ÔÒØÖãéÕÓÞáï ÚÞÝâãàÐ).

¿ÕàÕÙÔÕÜ Ò áØáâÕÜã ÞâáçÕâÐ, ÔÒØÖãéãîáï ÒÜÕáâÕ á ÚÞÝâãàÞÜ. ² íâÞÙ áØáâÕ-
ÜÕ ÞâáçÕâÐ ßàÞÑÝëÙ ×ÐàïÔ ÝÕßÞÔÒØÖÕÝ Ø, áÛÕÔÞÒÐâÕÛìÝÞ, áØÛÐ »ÞàÕÝæÐ ÝÐ ÝÕÓÞ ÝÕ
ÔÕÙáâÒãÕâ. ½Þ íÔá Ò ÚÞÝâãàÕ � íâÞ áÚÐÛïàÝÐï ÒÕÛØçØÝÐ, ÚÞâÞàÐï ÝÕ ×ÐÒØáØâ Þâ âÞ-
ÓÞ, Ò ÚÐÚÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÕÕ ÒëçØáÛïâì. ²Þ×ÝØÚÐÕâ ÒÞßàÞá: àÐÑÞâÐ ÚÐÚÞÙ áØÛë
ÞÑãáÛÐÒÛØÒÐÕâ ÒÞ×ÝØÚÝÞÒÕÝØÕ íÔá Ò ÚÞÝâãàÕ á âÞçÚØ ×àÕÝØï áÒï×ÐÝÝÞÙ á ÚÞÝâãàÞÜ
áØáâÕÜë ÞâáçÕâÐ?

¸× àÐááÜÞâàÕÝÝëå Ò íâÞÜ àÐ×ÔÕÛÕ ßàØÜÕàÞÒ ïáÝÞ, çâÞ Ò áÒï×ÐÝÝÞÙ á ÚÞÝâãàÞÜ
áØáâÕÜÕ ÞâáçÕâÐ ÔÕÙáâÒãîéÐï ÝÐ ßàÞÑÝëÙ ×ÐàïÔ áØÛÐ Òë×ÒÐÝÐ íÛÕÚâàØçÕáÚØÜ ßÞ-
ÛÕÜ, ÚÞâÞàÞÕ ÞâáãâáâÒãÕâ Ò ÛÐÑÞàÐâÞàÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ, ÝÞ áãéÕáâÒãÕâ Ò áÒï×ÐÝ-
ÝÞÙ á ÚÞÝâãàÞÜ áØáâÕÜÕ ÞâáçÕâÐ, ÔÒØÖãéÕÙáï ÞâÝÞáØâÕÛìÝÞ ØáâÞçÝØÚÞÒ ÜÐÓÝØâÝÞÓÞ
ßÞÛï. ½ÐßàïÖÕÝÝÞáâì íâÞÓÞ ßÞÛï ÞßàÕÔÕÛïÕâáï áÞÞâÝÞèÕÝØÕÜ (3.43).

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 190�196, áâà. 214�220.

3.7 ¿àÕÞÑàÐ×ÞÒÐÝØÕ íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï
ßàØ ßÕàÕåÞÔÕ Ò ÔàãÓãî áØáâÕÜã ÞâáçÕâÐ.
¸ÝÒÐàØÐÝâë íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï

·ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï íÛÕÚâàØçÕáÚÞÓÞ Ø ÜÐÓÝØâÝÞÓÞ ßÞÛÕÙ ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ
ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ò ÔàãÓãî ÜÞÖÝÞ ×ÐßØáÐâì Ò ÞçÕÝì ßàÞáâÞÙ äÞàÜÕ Ò
âÞÜ áÛãçÐÕ, ÚÞÓÔÐ ÞâÝÞáØâÕÛìÝÐï áÚÞàÞáâì àÐááÜÐâàØÒÐÕÜëå áØáâÕÜ ÞâáçÕâÐ ÜÐÛÐ
ßÞ áàÐÒÝÕÝØî áÞ áÚÞàÞáâìî áÒÕâÐ (v ¿ c). ¾ÓàÐÝØçØÜáï íâØÜ áÛãçÐÕÜ. ¾ÑàÐâØÜáï
Ú äÞàÜãÛÕ (3.24). µáÛØ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ØÜÕÕâáï âÞÛìÚÞ íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ
~E ′, âÞ Ò áØáâÕÜÕ K ßÞïÒÛïÕâáï ÕéÕ Ø ÜÐÓÝØâÝÞÕ ßÞÛÕ, ØÝÔãÚæØï ÚÞâÞàÞÓÞ ÒëàÐ-
ÖÐÕâáï äÞàÜãÛÞÙ (3.24). ÍÛÕÚâàØçÕáÚÞÕ ßÞÛÕ Ò áØáâÕÜÕ ÞâáçÕâÐ K ÞâÛØçÐÕâáï Þâ
~E ′ âÞÛìÚÞ ÚÒÐÔàÐâØçÝëÜØ ßÞ v/c çÛÕÝÐÜØ, ÚÐÚ íâÞ ÒØÔÝÞ Ø× äÞàÜãÛ (3.6) Ø (3.7).
¿ÞíâÞÜã Ò äÞàÜãÛÕ (3.24) ~E ÜÞÖÝÞ ×ÐÜÕÝØâì ÝÐ ~E ′:

~B =
1

c
~v × ~E ′ (Á³Á), ~B =

1

c2
~v × ~E ′ (Á¸). (3.46)

ÍâÐ äÞàÜãÛÐ ÔÐÕâ âÞ ÔÞÑÐÒÞçÝÞÕ ÜÐÓÝØâÝÞÕ ßÞÛÕ Ò áØáâÕÜÕ ÞâáçÕâÐ K, ÚÞâÞàÞÕ ÞÑã-
áÛÞÒÛÕÝÞ ÔÒØÖÕÝØÕÜ (ÒÜÕáâÕ á áØáâÕÜÞÙ ÞâáçÕâÐ K ′) áÞ áÚÞàÞáâìî ~v ×ÐàïÔÞÒ, áÞ-
×ÔÐîéØå íÛÕÚâàØçÕáÚÞÕ ßÞÛÕ ~E ′. µáÛØ ÖÕ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ãÖÕ áãéÕáâÒÞÒÐÛÞ
ÕéÕ Ø ÝÕÚÞâÞàÞÕ ÜÐÓÝØâÝÞÕ ßÞÛÕ ~B′, âÞ Ò àÐááÜÐâàØÒÐÕÜÞÜ ßàØÑÛØÖÕÝØØ (v ¿ c)
ÕÓÞ ßàÞáâÞ áÛÕÔãÕâ ÔÞÑÐÒØâì Ò ßàÐÒãî çÐáâì äÞàÜãÛë (3.46):

~B ≈ ~B′ +
1

c
~v × ~E ′ (Á³Á), ~B ≈ ~B′ +

1

c2
~v × ~E ′ (Á¸). (3.47)

ÁÞÒÕàèÕÝÝÞ ÐÝÐÛÞÓØçÝÞ, àÐááÜÐâàØÒÐï äÞàÜãÛã (3.43) Ø ßàÕÝÕÑàÕÓÐï àÐ×ÛØçØÕÜ
ÜÕÖÔã B Ø B′ (çâÞ ÔÞßãáâØÜÞ ßàØ v ¿ c), Üë ÜÞÖÕÜ áçØâÐâì, çâÞ (3.43) ÔÐÕâ ÒëàÐ-
ÖÕÝØÕ ÔÛï âÞÓÞ ÔÞÑÐÒÞçÝÞÓÞ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï, ÚÞâÞàÞÕ ÞÑãáÛÞÒÛÕÝÞ ÔÒØÖÕÝØ-
ÕÜ ØáâÞçÝØÚÞÒ ÜÐÓÝØâÝÞÓÞ ßÞÛï (ÝÕßÞÔÒØÖÝëå Ò K ′) ÞâÝÞáØâÕÛìÝÞ áØáâÕÜë ÞâáçÕâÐ
K. µáÛØ Ò ØáåÞÔÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ K ′ ãÖÕ áãéÕáâÒÞÒÐÛÞ ÝÕÚÞâÞàÞÕ íÛÕÚâàØçÕ-
áÚÞÕ ßÞÛÕ ~E ′, âÞ ÕÓÞ áÛÕÔãÕâ ÒÚÛîçØâì Ò ßàÐÒãî çÐáâì äÞàÜãÛë (3.43). ² àÕ×ãÛìâÐâÕ
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ßÞÛãçÐÕÜ áÛÕÔãîéãî ßàØÑÛØÖÕÝÝãî (áßàÐÒÕÔÛØÒãî ßàØ v ¿ c) äÞàÜãÛã ÔÛï ßàÕ-
ÞÑàÐ×ÞÒÐÝØï íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë
ÞâáçÕâÐ Ò ÔàãÓãî:

~E ≈ ~E ′ − 1

c
~v × ~B′ (Á³Á), ~E ≈ ~E ′ − ~v × ~B′ (Á¸). (3.48)

¸áßÞÛì×ãï äÞàÜãÛë ßàÕÞÑàÐ×ÞÒÐÝØï ßÞÛÕÙ (3.47) Ø (3.48), ÜÞÖÝÞ ßÞÚÐ×Ðâì,
çâÞ áÚÐÛïàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ ~E ~B Ø àÐ×ÝÞáâì ÚÒÐÔàÐâÞÒ E2 − B2 (Ò ÕÔØÝØæÐå Á¸
E2 − c2B2) ÝÕ Ø×ÜÕÝïîâáï ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ò
ÔàãÓãî, â. Õ. ßàÕÔáâÐÒÛïîâ áÞÑÞÙ ØÝÒÐàØÐÝâë íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï ÞâÝÞ-
áØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ:

~E ~B = ~E ′ ~B′ (Á³Á),
E2 −B2 = E ′2 −B′2 (Á³Á),

~E ~B = ~E ′ ~B′ (Á¸),
E2 − c2B2 = E ′2 − c2B′2 (Á¸).

(3.49)

² ÔÕÙáâÒØâÕÛìÝÞáâØ íâØ ØÝÒÐàØÐÝâë âÞçÝëÕ (Ò ÞâÛØçØÕ Þâ ßàØÒÕÔÕÝÝëå ×ÔÕáì
ßàØÑÛØÖÕÝÝëå äÞàÜãÛ ÔÛï ßàÕÞÑàÐ×ÞÒÐÝØï ßÞÛÕÙ), â. Õ. ÒÕÛØçØÝë ~E ~B Ø E2−B2 (Ò
Á¸ ~E ~B Ø E2−c2B2) ÞáâÐîâáï ØÝÒÐàØÐÝâÝëÜØ ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ
áØáâÕÜë ÞâáçÕâÐ Ò ÔàãÓãî ßàØ ÛîÑëå ÞâÝÞáØâÕÛìÝëå áÚÞàÞáâïå áØáâÕÜ ÞâáçÕâÐ,
ÒßÛÞâì ÔÞ áÚÞÛì ãÓÞÔÝÞ ÑÛØ×ÚØå Ú áÚÞàÞáâØ áÒÕâÐ.

¸× ÝÐÛØçØï íâØå ØÝÒÐàØÐÝâÞÒ ÒëâÕÚÐîâ áÛÕÔãîéØÕ áÒÞÙáâÒÐ íÛÕÚâàÞÜÐÓÝØâ-
ÝÞÓÞ ßÞÛï. µáÛØ Ò ÚÐÚÞÙ-âÞ áØáâÕÜÕ ÞâáçÕâÐ ÒÕÚâÞàë ~E Ø ~B Ò×ÐØÜÝÞ ÞàâÞÓÞÝÐÛìÝë,
âÞ ÞÝØ ÞàâÞÓÞÝÐÛìÝë Ø Ò ÛîÑÞÙ ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ. µáÛØ Ò ÚÐÚÞÙ-ÝØÑãÔì áØ-
áâÕÜÕ ÞâáçÕâÐ ÒëßÞÛÝïÕâáï áÞÞâÝÞèÕÝØÕ E = B (Ò ÕÔØÝØæÐå Á¸ E = cB), âÞ ÞÝÞ
ÒëßÞÛÝïÕâáï Ø Ò ÛîÑÞÙ ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ. ¾àâÞÓÞÝÐÛìÝÞáâì íÛÕÚâàØçÕáÚÞÓÞ
Ø ÜÐÓÝØâÝÞÓÞ ßÞÛÕÙ Ø áÞÞâÝÞèÕÝØÕ E = B (Ò Á¸ E = cB) ÜÕÖÔã Øå ÜÞÔãÛïÜØ
åÐàÐÚâÕàÝë ÔÛï íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï ÑÕÓãéÕÙ íÛÕÚâàÞÜÐÓÝØâÝÞÙ ÒÞÛÝë Ò ÒÐÚã-
ãÜÕ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, íâØ áÒÞÙáâÒÐ íÛÕÚâàÞÜÐÓÝØâÝÞÙ ÒÞÛÝë ÒëßÞÛÝïîâáï áàÐ×ã ÒÞ
ÒáÕå ØÝÕàæØÐÛìÝëå áØáâÕÜÐå ÞâáçÕâÐ.

ÀÕÚÞÜÕÝÔãÕÜÐï ÛØâÕàÐâãàÐ: [5], áâà. 214�220.

3.8 ÍääÕÚâ ´ÞßÛÕàÐ Ø ÐÑÕààÐæØï áÒÕâÐ
ÍâØ ïÒÛÕÝØï ãÖÕ ÑëÛØ àÐááÜÞâàÕÝë àÐÝÕÕ (áÜ. áâà. 21 Ø 32). ÍääÕÚâ ´ÞßÛÕàÐ, â. Õ.
Ø×ÜÕÝÕÝØÕ çÐáâÞâë ßàØÝØÜÐÕÜëå áØÓÝÐÛÞÒ ßàØ ÞâÝÞáØâÕÛìÝÞÜ ÔÒØÖÕÝØØ ØáâÞçÝØ-
ÚÐ Ø ßàØÕÜÝØÚÐ áØÓÝÐÛÞÒ, ÞÑêïáÝïÛáï âÐÜ ÝÐ ÞáÝÞÒÕ àÕÛïâØÒØáâáÚÞÓÞ ÚØÝÕÜÐâØ-
çÕáÚÞÓÞ íääÕÚâÐ ßàÕÞÑàÐ×ÞÒÐÝØï ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ (1.6). ÏÒÛÕÝØÕ ÐÑÕààÐæØØ
ÞÑêïáÝïÛÞáì ÝÐ ÞáÝÞÒÕ àÕÛïâØÒØáâáÚÞÓÞ ßàÕÞÑàÐ×ÞÒÐÝØï ÝÐßàÐÒÛÕÝØï áÚÞàÞáâØ,
ÒëâÕÚÐîéÕÓÞ Ø× (1.23). ·ÔÕáì Üë ßàØÒÕÔÕÜ àÕÛïâØÒØáâáÚÞÕ ÞÑêïáÝÕÝØÕ íâØå ïÒÛÕ-
ÝØÙ á ÝÕáÚÞÛìÚÞ ØÝÞÙ âÞçÚØ ×àÕÝØï, àÐááÜÐâàØÒÐï íääÕÚâ ´ÞßÛÕàÐ ÚÐÚ ßàÕÞÑàÐ×Þ-
ÒÐÝØÕ çÐáâÞâë ßÛÞáÚÞÙ ÜÞÝÞåàÞÜÐâØçÕáÚÞÙ íÛÕÚâàÞÜÐÓÝØâÝÞÙ ÒÞÛÝë, Ð ÐÑÕààÐæØî
� ÚÐÚ ßàÕÞÑàÐ×ÞÒÐÝØÕ ÝÐßàÐÒÛÕÝØï ÒÞÛÝë ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ
áØáâÕÜë ÞâáçÕâÐ Ò ÔàãÓãî.

·ÐÒØáØÜÞáâì ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Þâ ÚÞÞàÔØÝÐâ Ø ÒàÕÜÕÝØ Ò
ßÛÞáÚÞÙ ÜÞÝÞåàÞÜÐâØçÕáÚÞÙ ÒÞÛÝÕ ØÜÕÕâ ÒØÔ:

~E(~r, t) = ~E0 cos(ωt− ~k~r). (3.50)
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ÁÞáâÞïÝØÕ íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï (ÝÐßàØÜÕà, ÜÐÚáØÜãÜ ØÛØ ÝãÛì ÝÐßàïÖÕÝÝÞ-
áâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï Ø ØÝÔãÚæØØ ÜÐÓÝØâÝÞÓÞ ßÞÛï) Ò ÝÕÚÞâÞàÞÙ ÜØàÞÒÞÙ (ßàÞ-
áâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝÞÙ) âÞçÚÕ (ct, r) ÝÕ ÜÞÖÕâ ×ÐÒØáÕâì Þâ ÒëÑÞàÐ áØáâÕÜë Þâ-
áçÕâÐ. ÂÐÚ ÚÐÚ íâÞ áÞáâÞïÝØÕ ÞßàÕÔÕÛïÕâáï äÐ×ÞÙ ÒÞÛÝë (ωt− ~k~r), âÞ äÐ×Ð ÔÞÛÖÝÐ
Ñëâì ØÝÒÐàØÐÝâÞÜ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ. ¸ÝÒÐàØÐÝâÝÞáâì äÐ×ë ÜÞÖÝÞ ßÞïá-
ÝØâì ÕéÕ Ø áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ. ¿àÕÔáâÐÒØÜ áÕÑÕ æãÓ íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ á
ÞÔØÝÐÚÞÒÞÙ ÔÛØÝÞÙ ÒÞÛÝë, ØÜÕîéØÙ ÚÞÝÕçÝãî ßàÞâïÖÕÝÝÞáâì. ÇØáÛÞ ÞâÔÕÛìÝëå
ÒÞÛÝ, â. Õ. ßÕàØÞÔÞÒ Ò íâÞÜ æãÓÕ, ÞßàÕÔÕÛïÕâáï àÐ×ÝÞáâìî ×ÝÐçÕÝØÙ äÐ×ë, áÞÞâÒÕâ-
áâÒãîéØå ÝÐçÐÛã Ø ÚÞÝæã æãÓÐ. ½Þ çØáÛÞ ßÕàØÞÔÞÒ, ãÚÛÐÔëÒÐîéØåáï ÝÐ ßàÞâïÖÕ-
ÝØØ ÔÐÝÝÞÓÞ æãÓÐ, ÞÔØÝÐÚÞÒÞ ÔÛï ÒáÕå ÝÐÑÛîÔÐâÕÛÕÙ. ¿ÞíâÞÜã äÐ×Ð ÔÞÛÖÝÐ ÞáâÐ-
ÒÐâìáï ÝÕØ×ÜÕÝÝÞÙ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ.

¸ÝÒÐàØÐÝâÝÞáâì äÐ×ë (ωt − ~k~r) ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ ßÞ×-
ÒÞÛïÕâ àÐááÜÐâàØÒÐâì íâÞ ÒëàÐÖÕÝØÕ ÚÐÚ áÚÐÛïàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ áÛÕÔãîéØå çÕ-
âëàÕåÒÕÚâÞàÞÒ: çÕâëàÕåÜÕàÝÞÓÞ àÐÔØãáÐ-ÒÕÚâÞàÐ (ct, ~r) Ø çÕâëàÕåÜÕàÝÞÓÞ ÒÞÛÝÞ-
ÒÞÓÞ ÒÕÚâÞàÐ (ω/c,~k), ßàÞáâàÐÝáâÒÕÝÝÞÙ ÚÞÜßÞÝÕÝâÞÙ ÚÞâÞàÞÓÞ áÛãÖØâ âàÕåÜÕà-
ÝëÙ ÒÞÛÝÞÒÞÙ ÒÕÚâÞà ~k, Ð ÒàÕÜÕÝÝ �ÞÙ � çÐáâÞâÐ ÒÞÛÝë ω, ÔÕÛÕÝÝÐï ÝÐ c. ´Ûï íÛÕÚ-
âàÞÜÐÓÝØâÝÞÙ ÒÞÛÝë Ò ÒÐÚããÜÕ k = ω/c, ßÞíâÞÜã çÕâëàÕåÜÕàÝëÙ ÒÞÛÝÞÒÞÙ ÒÕÚâÞà
ØÜÕÕâ ÝãÛÕÒãî ØÝÒÐàØÐÝâÝãî �ÔÛØÝã�: (ω/c)2 − k2 = 0.

y y'

z z'

x x'

v

O O'

K K'

k k'

θ θ'

ÀØá. 3.10: ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÒÞÛÝÞÒÞÓÞ ÒÕÚâÞàÐ ßÛÞáÚÞÙ ÜÞÝÞåàÞÜÐâØçÕáÚÞÙ íÛÕÚ-
âàÞÜÐÓÝØâÝÞÙ ÒÞÛÝë ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ò Ôàã-
Óãî

²ÒÕÔÕÝØÕ çÕâëàÕåÜÕàÝÞÓÞ ÒÞÛÝÞÒÞÓÞ ÒÕÚâÞàÐ ãÔÞÑÝÞ ßÞâÞÜã, çâÞ ×ÐÚÞÝ ßàÕ-
ÞÑàÐ×ÞÒÐÝØï ÕÓÞ ßàÞÕÚæØÙ ßàØ ßÕàÕåÞÔÕ Ø× ÞÔÝÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜë ÞâáçÕ-
âÐ Ò ÔàãÓãî ßÞ×ÒÞÛïÕâ áàÐ×ã ÝÐÙâØ ßàÕÞÑàÐ×ÞÒÐÝØÕ çÐáâÞâë ÒÞÛÝë Ø ÕÕ ÝÐßàÐÒÛÕ-
ÝØï, â. Õ. ßÞÛãçØâì àÕÛïâØÒØáâáÚØÕ ÒëàÐÖÕÝØï ÔÛï íääÕÚâÐ ´ÞßÛÕàÐ Ø ÐÑÕààÐæØØ.
´Ûï íâÞÓÞ ÔÞáâÐâÞçÝÞ Ò äÞàÜãÛÐå ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ (1.17) áÔÕÛÐâì ×ÐÜÕ-
Ýã ct → ω/c, ~r → ~k. ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÝÐßàÐÒÛÕÝØï ÒÕÚâÞàÐ ~k ÞßØáëÒÐÕâ íääÕÚâ
ÐÑÕààÐæØØ, â. Õ. ßàÕÞÑàÐ×ÞÒÐÝØÕ ÝÐßàÐÒÛÕÝØï ÒÞÛÝë, Ð ßàÕÞÑàÐ×ÞÒÐÝØÕ ÒàÕÜÕÝÝ �ÞÙ
áÞáâÐÒÛïîéÕÙ çÕâëàÕåÜÕàÝÞÓÞ ÒÞÛÝÞÒÞÓÞ ÒÕÚâÞàÐ, â. Õ. çÐáâÞâë ÒÞÛÝë, ÞßØáëÒÐÕâ
íääÕÚâ ´ÞßÛÕàÐ.

¿àÞÕÚæØØ çÕâëàÕåÜÕàÝÞÓÞ ÒÞÛÝÞÒÞÓÞ ÒÕÚâÞàÐ Ò K, àÐÒÝëÕ (ω/c, kx, ky, kz), Òë-
àÐÖÐîâáï çÕàÕ× ßàÞÕÚæØØ Ò áØáâÕÜÕ K ′ (ω′/c, k′x, k

′
y, k

′
z) ßÞ äÞàÜãÛÐÜ ßàÕÞÑàÐ×ÞÒÐ-

ÝØÙ »ÞàÕÝæÐ (1.17), ÕáÛØ Ò ÝØå áÔÕÛÐâì ×ÐÜÕÝã ct → ω/c, x → kx, y → ky, z → kz.
¿ãáâì Ò áØáâÕÜÕ ÞâáçÕâÐ K ÝÐßàÐÒÛÕÝØÕ ÒÞÛÝë ÞÑàÐ×ãÕâ ãÓÞÛ θ á Þáìî x (àØá. 3.10),
Ð çÐáâÞâÐ ÒÞÛÝë àÐÒÝÐ ω. ÂÞÓÔÐ k = ω/c Ø kx = (ω/c) cos θ, ky = (ω/c) sin θ, kz = 0.
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¿ÞÔáâÐÒÛïï íâØ ÒÕÛØçØÝë Ò äÞàÜãÛë (1.17), ßÞÛãçÐÕÜ:

ω =
ω′ + vk′x√
1− v2/c2

= ω′
1 + (v/c) cos θ′√

1− v2/c2
. (3.51)

ω

c
cos θ =

ω′

c

cos θ′ + v/c√
1− v2/c2

,
ω

c
sin θ =

ω′

c
sin θ′, (3.52)

±ãÔÕÜ ÔÛï ÞßàÕÔÕÛÕÝÝÞáâØ áØáâÕÜã ÞâáçÕâÐ K ′ áÒï×ëÒÐâì á ØáâÞçÝØÚÞÜ ÒÞÛÝë, Ð
áØáâÕÜã K � á ÝÐÑÛîÔÐâÕÛÕÜ (â. Õ. á ßàØÕÜÝØÚÞÜ). ÄÞàÜãÛã ÔÛï ÐÑÕààÐæØØ ÜÞÖÝÞ
ßÞÛãçØâì, àÐ×ÔÕÛØÒ ßÞçÛÕÝÝÞ ÒâÞàÞÕ Ø× àÐÒÕÝáâÒ (3.52) ÝÐ ßÕàÒÞÕ:

tg θ =
sin θ′

√
1− v2/c2

cos θ′ + v/c
. (3.53)

µáÛØ Ò áØáâÕÜÕ ÞâáçÕâÐ K ′ ÝÐßàÐÒÛÕÝØÕ ÒÞÛÝë ßÕàßÕÝÔØÚãÛïàÝÞ áÚÞàÞáâØ ÝÐÑÛî-
ÔÐâÕÛï (θ′ = 90◦), âÞ ÔÛï áØáâÕÜë K, áÒï×ÐÝÝÞÙ á ÝÐÑÛîÔÐâÕÛÕÜ, äÞàÜãÛÐ (3.53)
ÔÐÕâ tg θ =

√
c2/v2 − 1. ¾âáîÔÐ ÔÛï ãÓÛÐ ÐÑÕààÐæØØ α = π/2− θ ßÞÛãçÐÕÜ sin α =

v/c, çâÞ áÞÒßÐÔÐÕâ áÞ ×ÝÐçÕÝØÕÜ, ÝÐÙÔÕÝÝëÜ ÒëèÕ Ø× àÕÛïâØÒØáâáÚÞÓÞ ×ÐÚÞÝÐ ßàÕ-
ÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ (áÜ. áâà. 33).

ÄÞàÜãÛÐ (3.51) ÒëàÐÖÐÕâ ÒÞáßàØÝØÜÐÕÜãî ÝÐÑÛîÔÐâÕÛÕÜ çÐáâÞâã ω ÒÞÛÝë çÕ-
àÕ× áÞÑáâÒÕÝÝãî çÐáâÞâã (çÐáâÞâã ØáâÞçÝØÚÐ) ω0 = ω′. ÁÛãçÐÙ θ′ = 0 áÞÞâÒÕâáâÒãÕâ
áÑÛØÖÕÝØî ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ ÒÔÞÛì ÞÔÝÞÙ ßàïÜÞÙ (ßàÞÔÞÛìÝëÙ íääÕÚâ ´Þ-
ßÛÕàÐ). ÇÐáâÞâÐ ω ßàØ íâÞÜ, ÚÐÚ áÛÕÔãÕâ Ø× (3.51), ÑÞÛìèÕ áÞÑáâÒÕÝÝÞÙ çÐáâÞâë
ØáâÞçÝØÚÐ ω0 (�áØÝÕÕ� áÜÕéÕÝØÕ):

ω = ω0

√
1 + v/c

1− v/c
, (3.54)

µáÛØ ØáâÞçÝØÚ ãÔÐÛïÕâáï Þâ ÝÐÑÛîÔÐâÕÛï ÒÔÞÛì áÞÕÔØÝïîéÕÙ Øå ÛØÝØØ, âÞ θ′ =
π, cos θ′ = −1 Ø (3.51) ÔÐÕâ ÔÛï çÐáâÞâë àÕÓØáâàØàãÕÜÞÙ ßàØÕÜÝØÚÞÜ ÒÞÛÝë ×ÝÐçÕ-
ÝØÕ, ÜÕÝìèÕÕ áÞÑáâÒÕÝÝÞÙ çÐáâÞâë (�ÚàÐáÝÞÕ� áÜÕéÕÝØÕ):

ω = ω0

√
1− v/c

1 + v/c
, (3.55)

çâÞ áÞÒßÐÔÐÕâ á ÞâÝÞáïéÕÙáï Ú íâÞÜã áÛãçÐî äÞàÜãÛÞÙ (1.12). ² ÞÑéÕÜ áÛãçÐÕ
ÒÜÕáâÞ (3.51) ãÔÞÑÝÕÕ ØÜÕâì äÞàÜãÛã, Ò ÚÞâÞàÞÙ çÐáâÞâÐ ω ÒëàÐÖÐÛÐáì Ñë ÝÕ çÕàÕ×
ãÓÞÛ θ′, Ð çÕàÕ× ãÓÞÛ θ, åÐàÐÚâÕàØ×ãîéØÙ ÝÐßàÐÒÛÕÝØÕ ÒÞÛÝë Ò áØáâÕÜÕ ÞâáçÕâÐ K,
áÒï×ÐÝÝÞÙ á ÝÐÑÛîÔÐâÕÛÕÜ. ´Ûï íâÞÓÞ ÒëàÐ×ØÜ cos θ′ á ßÞÜÞéìî äÞàÜãÛë (3.52),
ßÞÔáâÐÒØÒ Ò ÝÕÕ ßàÕÔÒÐàØâÕÛìÝÞ ω/ω′ Ø× (3.51):

cos θ′ =
cos θ − v/c

1− (v/c) cos θ
. (3.56)

ÍâÞ ÒëàÐÖÕÝØÕ íÚÒØÒÐÛÕÝâÝÞ äÞàÜãÛÕ (3.53), â. Õ. âÐÚÖÕ ÞßØáëÒÐÕâ ÐÑÕààÐæØî.
¿ÞÔáâÐÒÛïï (3.56) Ò (3.51), ÞÚÞÝçÐâÕÛìÝÞ ÝÐåÞÔØÜ:

ω = ω0

√
1− v2/c2

1− (v/c) cos θ
. (3.57)
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ÄÞàÜãÛÐ (3.57) ÞßØáëÒÐÕâ àÕÛïâØÒØáâáÚØÙ íääÕÚâ ´ÞßÛÕàÐ ßàØ ßàÞØ×ÒÞÛìÝÞÜ ÝÐ-
ßàÐÒÛÕÝØØ ÒÞÛÝë. ÁÛãçÐÙ θ = 0 (ØÛØ θ = π) áÞÞâÒÕâáâÒãÕâ áÑÛØÖÕÝØî (ØÛØ ãÔÐÛÕ-
ÝØî) ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ ÒÔÞÛì ÞÔÝÞÙ ßàïÜÞÙ, â. Õ. ßàÞÔÞÛìÝÞÜã íääÕÚâã ´Þ-
ßÛÕàÐ. µáÛØ ÒÞÛÝÐ ßàØåÞÔØâ Ú ÝÐÑÛîÔÐâÕÛî ßÞ ÝÐßàÐÒÛÕÝØî, ßÕàßÕÝÔØÚãÛïàÝÞ-
Üã áÚÞàÞáâØ ØáâÞçÝØÚÐ, âÞ Ò äÞàÜãÛÕ (3.57) áÛÕÔãÕâ ßÞÛÞÖØâì θ = π/2, çâÞ ÔÐÕâ
ω = ω0

√
1− v2/c2. ÍâÞ áÞÒßÐÔÐÕâ á ßàØÒÕÔÕÝÝëÜ Ò ³ÛÐÒÕ 1 ÒëàÐÖÕÝØÕÜ (1.14) ÔÛï

ßÞßÕàÕçÝÞÓÞ íääÕÚâÐ ´ÞßÛÕàÐ.
ÍääÕÚâ ´ÞßÛÕàÐ áãéÕáâÒãÕâ ÝÕ âÞÛìÚÞ ÔÛï íÛÕÚâàÞÜÐÓÝØâÝëå ÒÞÛÝ Ò ÒÐÚããÜÕ,

ÝÞ Ø ÔÛï ÒÞÛÝ ÛîÑÞÙ ßàØàÞÔë, ÝÐßàØÜÕà, ÔÛï ×ÒãÚÞÒëå ÒÞÛÝ Ò ÒÞ×ÔãåÕ, àÐáßàÞ-
áâàÐÝÕÝØÕ ÚÞâÞàëå ÞßØáëÒÐÕâáï ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÞÙ. ¿àØÝæØßØÐÛìÝÞÕ ÞâÛØ-
çØÕ íääÕÚâÐ ´ÞßÛÕàÐ ÔÛï ÒÞÛÝ Ò ÝÕÚÞâÞàÞÙ áàÕÔÕ áÒï×ÐÝÞ á âÕÜ, çâÞ áÚÞàÞáâì ÒÞÛÝ
Ò áàÕÔÕ, Ò ßàÞâØÒÞßÞÛÞÖÝÞáâì áÚÞàÞáâØ áÒÕâÐ Ò ÒÐÚããÜÕ, ×ÐÒØáØâ Þâ áØáâÕÜë ÞâáçÕ-
âÐ. µáÛØ Ò áØáâÕÜÕ ÞâáçÕâÐ, ÓÔÕ áàÕÔÐ ßÞÚÞØâáï, áÚÞàÞáâì ÒÞÛÝ àÐÒÝÐ u, âÞ Ò ÛîÑÞÙ
ÔàãÓÞÙ áØáâÕÜÕ ÞâáçÕâÐ áÚÞàÞáâì ÒÞÛÝ ÑãÔÕâ ×ÐÒØáÕâì Þâ Øå ÝÐßàÐÒÛÕÝØï Ø Ø×ÜÕ-
ÝïÕâáï Ò ßàÕÔÕÛÐå Þâ v − u ÔÞ v + u (ßàØ v ¿ c). ² áÒï×Ø á íâØÜ áÔÒØÓ çÐáâÞâë Ò
íääÕÚâÕ ´ÞßÛÕàÐ ÔÛï ÒÞÛÝ Ò áàÕÔÕ ×ÐÒØáØâ ÝÕ Þâ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ØáâÞçÝØ-
ÚÐ Ø ßàØÕÜÝØÚÐ, Ð Þâ áÚÞàÞáâÕÙ ÚÐÖÔÞÓÞ Ø× ÝØå ÞâÝÞáØâÕÛìÝÞ áàÕÔë.

¸× ßàØÒÕÔÕÝÝÞÓÞ Ò ³ÛÐÒÕ 1 ÒëÒÞÔÐ (áÜ. áâà. 21) ÞâçÕâÛØÒÞ ÒØÔÝÞ, çâÞ ÒÞ×ÝØÚ-
ÝÞÒÕÝØÕ íääÕÚâÐ ´ÞßÛÕàÐ áÒï×ÐÝÞ, ÒÞ-ßÕàÒëå, á ÝÕßàÕàëÒÝÞ Ø×ÜÕÝïîéØÜáï àÐá-
áâÞïÝØÕÜ ÜÕÖÔã ØáâÞçÝØÚÞÜ Ø ßàØÕÜÝØÚÞÜ Ø, ÒÞ-ÒâÞàëå, á àÕÛïâØÒØáâáÚØÜ ßàÕÞÑ-
àÐ×ÞÒÐÝØÕÜ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕ-
Üë ÞâáçÕâÐ Ú ÔàãÓÞÙ. ¿ÕàÒÞÕ ÞÑáâÞïâÕÛìáâÒÞ ÝÕ ØÜÕÕâ ÝØÚÐÚÞÓÞ ÞâÝÞèÕÝØï Ú âÕÞ-
àØØ ÞâÝÞáØâÕÛìÝÞáâØ, Ø ØÜÕÝÝÞ ÞÝÞ ÞßàÕÔÕÛïÕâ áãéÕáâÒÞÒÐÝØÕ íääÕÚâÐ ´ÞßÛÕàÐ Ò
ÚÛÐááØçÕáÚÞÙ âÕÞàØØ. ·ÐÒØáØÜÞáâì ÖÕ áÚÞàÞáâØ ÒÞÛÝ Þâ áØáâÕÜë ÞâáçÕâÐ ßàØÒÞÔØâ
Ú âÞÜã, çâÞ Ò áÛãçÐïå ÔÒØÖÕÝØï ØáâÞçÝØÚÐ ÒÞÛÝ ÞâÝÞáØâÕÛìÝÞ áàÕÔë ØÛØ ÔÒØÖÕÝØï
ßàØÕÜÝØÚÐ (ÝÐÑÛîÔÐâÕÛï) ÚÛÐááØçÕáÚØÕ äÞàÜãÛë ÔÛï áÔÒØÓÐ çÐáâÞâë ßÞÛãçÐîâ-
áï àÐ×ÝëÜØ ÔÐÖÕ ßàØ ÞÔÝÞÙ Ø âÞÙ ÖÕ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞáâØ ÔÒØÖÕÝØï ØáâÞç-
ÝØÚÐ ÒÞÛÝ Ø ÝÐÑÛîÔÐâÕÛï. ½ÐßàØÜÕà, ßàØ áÑÛØÖÕÝØØ ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ áÞ
áÚÞàÞáâìî v çÐáâÞâÐ àÕÓØáâàØàãÕÜëå ÚÞÛÕÑÐÝØÙ ω Ò áÛãçÐÕ ÝÕßÞÔÒØÖÝÞÓÞ ÞâÝÞ-
áØâÕÛìÝÞ áàÕÔë ØáâÞçÝØÚÐ àÐÒÝÐ ω0(1 + v/u), Ð Ò áÛãçÐÕ ÝÕßÞÔÒØÖÝÞÓÞ ßàØÕÜÝØ-
ÚÐ àÐÒÝÐ ω0/(1− v/u). ÀÐ×ÛØçØÕ íâØå áÛãçÐÕÒ áâÐÝÞÒØâáï ÝÕáãéÕáâÒÕÝÝëÜ âÞÛìÚÞ
ßàØ v ¿ u: Ò ßàÕÔÕÛìÝÞÜ áÛãçÐÕ ÔÒØÖÕÝØï áÞ áÚÞàÞáâìî, ÜÐÛÞÙ ßÞ áàÐÒÝÕÝØî
áÞ áÚÞàÞáâìî ÒÞÛÝ Ò áàÕÔÕ, áÔÒØÓ çÐáâÞâë ×ÐÒØáØâ ÛØèì Þâ ÞâÝÞáØâÕÛìÝÞÙ áÚÞàÞ-
áâØ ØáâÞçÝØÚÐ Ø ßàØÕÜÝØÚÐ. ÁÞÞâÒÕâáâÒãîéÐï äÞàÜãÛÐ ∆ω/ω0 ≈ v/u áÞÒßÐÔÐÕâ á
äÞàÜãÛÞÙ (1.13) ÔÛï ßàÞÔÞÛìÝÞÓÞ íääÕÚâÐ ´ÞßÛÕàÐ ßàØ v ¿ c.

¾âÜÕâØÜ, çâÞ ßÞßÕàÕçÝëÙ íääÕÚâ ´ÞßÛÕàÐ, áÒï×ÐÝÝëÙ á ßàÕÞÑàÐ×ÞÒÐÝØÕÜ ßàÞ-
ÜÕÖãâÚÞÒ ÒàÕÜÕÝØ ÜÕÖÔã áÞÑëâØïÜØ ßàØ ßÕàÕåÞÔÕ Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú Ôàã-
ÓÞÙ, ïÒÛïÕâáï çØáâÞ àÕÛïâØÒØáâáÚØÜ Ø ÒÞÞÑéÕ ÞâáãâáâÒãÕâ Ò ÚÛÐááØçÕáÚÞÙ âÕÞàØØ.

92



»ØâÕàÐâãàÐ

[1] ºØââÕÛì Ç., ½ÐÙâ Ã., ÀãÔÕàÜÐÝ ¼. ¼ÕåÐÝØÚÐ (ÑÕàÚÛØÕÒáÚØÙ Úãàá äØ×ØÚØ, â. 1).
¼., �½ÐãÚÐ�, 1971.

[2] ÁâàÕÛÚÞÒ Á.¿. ¼ÕåÐÝØÚÐ. ¼., �½ÐãÚÐ�, 1975.

[3] ÂíÙÛÞà Í.Ä., ÃØÛÕà ´Ö.°. ÄØ×ØÚÐ ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ. ¼., �¼Øà�, 1969.

[4] ÄÕÙÝÜÐÝ À., »ÕÙâÞÝ À., ÁíÝÔá ¼. ÄÕÙÝÜÐÝÞÒáÚØÕ ÛÕÚæØØ ßÞ äØ×ØÚÕ. ²ëß.
2 (ßàÞáâàÐÝáâÒÞ, ÒàÕÜï, ÔÒØÖÕÝØÕ); Òëß. 6 (íÛÕÚâàÞÔØÝÐÜØÚÐ). ¼., �¼Øà�,
1966.

[5] ¿ÐàáÕÛÛ Í., ÍÛÕÚâàØçÕáâÒÞ Ø ÜÐÓÝÕâØ×Ü (ÑÕàÚÛØÕÒáÚØÙ Úãàá äØ×ØÚØ, â. 2). ¼.,
�½ÐãÚÐ�, 1972.

[6] ÁÑÞàÝØÚ ×ÐÔÐç ßÞ ÞÑéÕÜã Úãàáã äØ×ØÚØ. ¼ÕåÐÝØÚÐ (ßÞÔ àÕÔ. ÏÚÞÒÛÕÒÐ ¸.°.).
¸×Ô. 4-Õ, ¼., �½ÐãÚÐ�, 1977.

[7] ÄÞÚ ². °. ÂÕÞàØï ßàÞáâàÐÝáâÒÐ, ÒàÕÜÕÝØ Ø âïÓÞâÕÝØï. ¼., �ÄØ×ÜÐâÓØ×�, 1961.

[8] ¼ÐÝÔÕÛìèâÐÜ ». ¸. »ÕÚæØØ ßÞ ÞßâØÚÕ, âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ø ÚÒÐÝâÞÒÞÙ
ÜÕåÐÝØÚÕ. ¼., �½ÐãÚÐ�, 1972.

93



¾ÓÛÐÒÛÕÝØÕ

1 ¾áÝÞÒÝëÕ ßÞÛÞÖÕÝØï âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ Ø àÕÛïâØÒØáâáÚÐï ÚØ-
ÝÕÜÐâØÚÐ 3
1.1 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ò ÚÛÐááØçÕáÚÞÙ ÜÕåÐÝØÚÕ. ¿àÕÞÑàÐ×ÞÒÐ-

ÝØï ³ÐÛØÛÕï . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 4
1.1.1 ¸ÝÕàæØÐÛìÝëÕ áØáâÕÜë ÞâáçÕâÐ. ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ

³ÐÛØÛÕï . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 4
1.1.2 ¼ÐâÕÜÐâØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ßàØÝæØßÐ ÞâÝÞáØâÕÛìÝÞáâØ ÚÛÐá-

áØçÕáÚÞÙ ÜÕåÐÝØÚØ . . . . . . . . . . . . . . . . . . . . . . . 5
1.1.3 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ø íÛÕÚâàÞÔØÝÐÜØÚÐ. ¾ßëâ ¼ÐÙ-

ÚÕÛìáÞÝÐ Ø ¼ÞàÛØ . . . . . . . . . . . . . . . . . . . . . . . . 8
1.2 ¿ÞáâãÛÐâë âÕÞàØØ ÞâÝÞáØâÕÛìÝÞáâØ . . . . . . . . . . . . . . . . . . 9
1.3 ÀÕÛïâØÒØáâáÚÐï ÚØÝÕÜÐâØÚÐ. ¸×ÜÕàÕÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐá-

áâÞïÝØÙ. ÁØÝåàÞÝØ×ÐæØï çÐáÞÒ . . . . . . . . . . . . . . . . . . . . . 12
1.3.1 ¾ÔÝÞÒàÕÜÕÝÝÞáâì áÞÑëâØÙ Ø Ø×ÜÕàÕÝØÕ ÒàÕÜÕÝØ . . . . . . . 12
1.3.2 ¸×ÜÕàÕÝØÕ ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ . . . . . . . . . . 13

1.4 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ Ø àÐááâÞïÝØÙ . . . . . . . . 14
1.4.1 ¾âÝÞáØâÕÛìÝÞáâì ÞÔÝÞÒàÕÜÕÝÝÞáâØ . . . . . . . . . . . . . . 14
1.4.2 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞÜÕÖãâÚÞÒ ÒàÕÜÕÝØ . . . . . . . . . . . . 15
1.4.3 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ßàÞáâàÐÝáâÒÕÝÝëå àÐááâÞïÝØÙ . . . . . . . 17
1.4.4 ÍÚáßÕàØÜÕÝâÐÛìÝëÕ ßÞÔâÒÕàÖÔÕÝØï àÕÛïâØÒØáâáÚØå ÚØÝÕÜÐ-

âØçÕáÚØå íääÕÚâÞÒ . . . . . . . . . . . . . . . . . . . . . . . 20
1.4.5 ÀÕÛïâØÒØáâáÚØÙ íääÕÚâ ´ÞßÛÕàÐ . . . . . . . . . . . . . . . 21

1.5 ¿àÕÞÑàÐ×ÞÒÐÝØï »ÞàÕÝæÐ . . . . . . . . . . . . . . . . . . . . . . . . 24
1.5.1 ²ëÒÞÔ ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ . . . . . . . . . . . . . . . . 24
1.5.2 ÁÛÕÔáâÒØï ßàÕÞÑàÐ×ÞÒÐÝØÙ »ÞàÕÝæÐ . . . . . . . . . . . . . 26

1.6 ÀÕÛïâØÒØáâáÚØÙ ×ÐÚÞÝ ßàÕÞÑàÐ×ÞÒÐÝØï áÚÞàÞáâØ . . . . . . . . . . . 28
1.6.1 ¿àÕÞÑàÐ×ÞÒÐÝØÕ áÚÞàÞáâØ Ø ßàÕÔÕÛìÝÐï áÚÞàÞáâì . . . . . . 29
1.6.2 ¾âÝÞáØâÕÛìÝÐï áÚÞàÞáâì Ø áÚÞàÞáâì àÐ×ÛÕâÐ . . . . . . . . . 29
1.6.3 ´ÒØÖãéØÙáï Ø×ÞâàÞßÝëÙ ØáâÞçÝØÚ áÒÕâÐ . . . . . . . . . . . 31
1.6.4 °ÑÕààÐæØï áÒÕâÐ ×ÒÕ×Ô . . . . . . . . . . . . . . . . . . . . . 32

1.7 ¿àÞáâàÐÝáâÒÕÝÝÞ-ÒàÕÜÕÝÝÞÙ ØÝâÕàÒÐÛ ÜÕÖÔã áÞÑëâØïÜØ . . . . . . 34
1.7.1 ¾ßàÕÔÕÛÕÝØÕ ØÝâÕàÒÐÛÐ ÜÕÖÔã áÞÑëâØïÜØ Ø ØÝÒÐàØÐÝâÝÞáâì

ØÝâÕàÒÐÛÐ . . . . . . . . . . . . . . . . . . . . . . . . . . . . 34
1.7.2 ºÛÐááØäØÚÐæØï ØÝâÕàÒÐÛÞÒ . . . . . . . . . . . . . . . . . . 35

1.8 ³ÕÞÜÕâàØï ßàÞáâàÐÝáâÒÐ-ÒàÕÜÕÝØ . . . . . . . . . . . . . . . . . . . 37
1.8.1 °ÝÐÛÞÓØï á ÕÒÚÛØÔÞÒÞÙ ÓÕÞÜÕâàØÕÙ . . . . . . . . . . . . . . 37
1.8.2 ¿àÞáâàÐÝáâÒÞ-ÒàÕÜï Ø ÓÕÞÜÕâàØï ¼ØÝÚÞÒáÚÞÓÞ . . . . . . . 38

94



1.8.3 ´ØÐÓàÐÜÜë ¼ØÝÚÞÒáÚÞÓÞ Ø áØáâÕÜë ÞâáçÕâÐ . . . . . . . . . 39
1.8.4 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÜÐáèâÐÑÞÒ ÝÐ ÔØÐÓàÐÜÜÐå ¼ØÝÚÞÒáÚÞÓÞ . . 41

1.9 ÇÕâëàÕåÜÕàÝëÕ ÒÕÚâÞàë . . . . . . . . . . . . . . . . . . . . . . . . 43
1.9.1 ¿àÞáâàÐÝáâÒÕÝÝëÕ Ø ÒàÕÜÕÝÝ �ëÕ ÚÞÞàÔØÝÐâë . . . . . . . . . 44
1.9.2 ¸ÝÒÐàØÐÝâÝÞáâì ãàÐÒÝÕÝØÙ ÞâÝÞáØâÕÛìÝÞ ßàÕÞÑàÐ×ÞÒÐÝØÙ »Þ-

àÕÝæÐ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 44

2 ÀÕÛïâØÒØáâáÚÐï ÔØÝÐÜØÚÐ 47
2.1 ¸ÜßãÛìá çÐáâØæë Ò àÕÛïâØÒØáâáÚÞÙ ÜÕåÐÝØÚÕ . . . . . . . . . . . . . 47

2.1.1 ¿àØÝæØß áÞÞâÒÕâáâÒØï Ø àÕÛïâØÒØáâáÚØÙ ØÜßãÛìá . . . . . . 48
2.1.2 ¿ÞßÕàÕçÝÐï áÞáâÐÒÛïîéÐï ØÜßãÛìáÐ Ò ÔÒãå áØáâÕÜÐå ÞâáçÕâÐ 48
2.1.3 ²ëÒÞÔ ÒëàÐÖÕÝØï ÔÛï àÕÛïâØÒØáâáÚÞÓÞ ØÜßãÛìáÐ . . . . . . 50

2.2 ÀÕÛïâØÒØáâáÚÐï íÝÕàÓØï . . . . . . . . . . . . . . . . . . . . . . . . . 52
2.2.1 ºØÝÕâØçÕáÚÐï íÝÕàÓØï çÐáâØæë . . . . . . . . . . . . . . . . . 52
2.2.2 ¼ÐááÐ ßÞÚÞï Ø íÝÕàÓØï ßÞÚÞï . . . . . . . . . . . . . . . . . 54
2.2.3 ¿àÞßÞàæØÞÝÐÛìÝÞáâì ÜÐááë Ø íÝÕàÓØØ . . . . . . . . . . . . 56

2.3 ¿àÕÞÑàÐ×ÞÒÐÝØÕ íÝÕàÓØØ-ØÜßãÛìáÐ . . . . . . . . . . . . . . . . . . 59
2.4 ·ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ-ØÜßãÛìáÐ . . . . . . . . . . . . . . . . . 61
2.5 ¿àÕÞÑàÐ×ÞÒÐÝØÕ áØÛë . . . . . . . . . . . . . . . . . . . . . . . . . . 63
2.6 ¿àÞáâëÕ ×ÐÔÐçØ àÕÛïâØÒØáâáÚÞÙ ÔØÝÐÜØÚØ . . . . . . . . . . . . . . 66

3 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ò ÚãàáÕ íÛÕÚâàØçÕáâÒÐ Ø ÜÐÓÝÕâØ×ÜÐ 71
3.1 ¸×ÜÕàÕÝØÕ ÒÕÛØçØÝë ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ. ¸ÝÒÐàØÐÝâÝÞáâì ×ÐàïÔÐ 72
3.2 ¿àÕÞÑàÐ×ÞÒÐÝØÕ ÝÐßàïÖÕÝÝÞáâØ íÛÕÚâàØçÕáÚÞÓÞ ßÞÛï . . . . . . . . 74
3.3 ÍÛÕÚâàØçÕáÚÞÕ ßÞÛÕ àÐÒÝÞÜÕàÝÞ ÔÒØÖãéÕÓÞáï âÞçÕçÝÞÓÞ ×ÐàïÔÐ . . 75
3.4 ¿ÞÛÕ Ø×ÛãçÕÝØï ãáÚÞàÕÝÝÞ ÔÒØÖãéÕÓÞáï âÞçÕçÝÞÓÞ ×ÐàïÔÐ . . . . . 76
3.5 ¿àØÝæØß ÞâÝÞáØâÕÛìÝÞáâØ Ø íÛÕÚâàÞáâÐâØÚÐ. ¼ÐÓÝØâÝÞÕ ßÞÛÕ . . . 79

3.5.1 ÁØÛÐ Ò íÛÕÚâàÞáâÐâØçÕáÚÞÜ ßÞÛÕ Ø áØÛÐ »ÞàÕÝæÐ . . . . . . 79
3.5.2 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ßàØ ÔÒØÖÕÝØØ ×ÐàïÔÞÒ . . . . . . . . . . . . 80
3.5.3 ²×ÐØÜÞÔÕÙáâÒØÕ ÔÒØÖãéØåáï ×ÐàïÔÞÒ . . . . . . . . . . . . . 81
3.5.4 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ÔÒØÖãéÕÓÞáï ×ÐàïÔÐ Ø âÞÚÐ . . . . . . . . . 83

3.6 ¼ÐÓÝØâÝÞÕ ßÞÛÕ ßàÞÒÞÔÝØÚÐ á âÞÚÞÜ Ø âÕÞàØï ÞâÝÞáØâÕÛìÝÞáâØ . . . 84
3.7 ¿àÕÞÑàÐ×ÞÒÐÝØÕ íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï ßàØ ßÕàÕåÞÔÕ Ò ÔàãÓãî áØ-

áâÕÜã ÞâáçÕâÐ. ¸ÝÒÐàØÐÝâë íÛÕÚâàÞÜÐÓÝØâÝÞÓÞ ßÞÛï . . . . . . . . . 88
3.8 ÍääÕÚâ ´ÞßÛÕàÐ Ø ÐÑÕààÐæØï áÒÕâÐ . . . . . . . . . . . . . . . . . . 89

95


	РЕЛЯТИВИСТСКИЕ ПРЕДСТАВЛЕНИЯ В КУРСЕ ОБЩЕЙ ФИЗИКИ

	Предисловие

	Глава 1. Основные положения теории относительности и релятивистская кинематика

	1.1 Принцип относительности в классической механике. Преобразования Галилея

	1.2 Постулаты теории относительности

	1.3 Релятивистская кинематика. Измерение промежутков времени и расстояний

	1.4 Преобразование промежутков времени и расстояний

	1.5 Преобразования Лоренца

	1.6 Релятивистский закон преобразования скорости

	1.7 Пространственно- временной интервал между событиями

	1.8 Геометрия пространства -времени
	1.9 Четырехмерные векторы

	Глава 2. Релятивистская динамика

	2.1 Импульс частицы в релятивистской механике

	2.2 Релятивистская энергия

	2.3 Преобразование энергии-импульса

	2.4 Закон сохранения энергии-импульса

	2.5 Преобразование силы

	2.6 Простые задачи релятивистской динамики

	Глава 3. Принцип относительности в курсе электричества и магнетизма
	3.1 Измерение величины движущегося заряда. Инвариантность заряда

	3.2 Преобразование напряженности электрического поля

	3.3 Электрическое поле равномерно движущегося точечного заряда

	3.4 Поле излучения ускоренно движущегося точечного заряда

	3.5 Принцип относительности и электростатика. Магнитное поле

	3.6 Магнитное поле проводника с током и теория относительности

	3.7 Преобразование электромагнитного поля при переходе в другую систему отсчета. Инварианты поля
	3.8 Эффект Доплера и аберрация света

	Литература
	Оглавление

